NS :
ompany profile

BREHNREBEHNERAERE—REXLEEBERR. KEERFFNREBEH
RIEH |, NERAIER2017F , WER=AE. . FEHHBENREEET O
ZmEBLETRFAERE  tEnMNESBEXE B LsREHRE , RIERKR

—ERILBBESINE | WEBUEEH , RBEEF.

A B HWEELI8000F 5K |, i E’J RBERARIKINERK. EmEZARIT
R, RERIE. TXEEE. M. s8R, ES. BEEEE , hEHESE

SFWRX "FRAET. BREH NES , BE "'mERERNESR" NR
8, AEFRHEERNRE. &E5 ?735’]1?3*% B-—m,E’JE&HEF

Ningbo Xindu Hydraulic Machinery Co.,Ltd. is a professional manufactory, which
engaged in produce hydraulic fitting: hose connector,pipe fitting and ferrule. It was
founded in 2017, located in Shengshan Industrial Development Zone Cixi city, where
is the transportation hub of Shanghai, Hangzhou and Ningbo in Yangtze River Delta,
leans on the Hangzhou Bay Sea-Crossing Bridge to North, close to Shainghai, only 50
kms away from Ningbo Beilun Harbor on East. Company has convenient
transportation in advantageous geographical position.

Company covers an area of 18000 square meters, more than 200 employees.
Company owns advanced equipment and a strong R & D team. Our products are
widely used in fields of Construction machinery, Automobile manufacturing, Industrial
pipe, Marine,Energy,Defence and Automation. Products are exported to Europe , the
United States and all over the world.

XINDU adhered to the "pioneering and innovative, the pursuit of excellence"
philosophy, the principle of "quality is the life", to provide customers with the best
quality, the most competitive prices, the first-class after-sales service.

XINDU %%IWI'I:T:

rrml Oz AT IETM. [RESIE. TUEE. fafa. s8R, Efh. BatEauE

Products are widely used in construction machlnery, automotive manufacturing, industrial
pipelines, ships, energy, national defense, automation and other fields.




£ 8B i &

XINDU HYDRAULIC

— /
- Z PRODUCT CONTENT
. Z
=
=
‘3 o
d
> ESFERE—EN | REGERENRS 73S mla
2 l t —RORERRT —ROEE
EEL RS
How To Order Adaptor 01-02
TERELERAR
How To Order Adaptor 03-06
DINtTE#%
DIN Adaptor A1-A53
2 i i B Sk
America Adaptor B1-B97
Tl o B Sk
British Adaptor C1-C73
P HT i Sk
Metric Adaptor D1-D47
sk
Flange Coupling(Flange Joint) E1-E21
B o % 4
Information F1 'F30
Y= I3 =5 1z
BERENE mEIFRE o
o G1-G2

Manufacturing Excellent To Earn Future Index




ik

Adaptor XINDU HYDRAULIC

£ &b i Jx

iTiEiELX S50 How To Order Adapter

1. BB EREL{ S Straight part no.

Bk RS T Jedibig T A S b o L 4L
Straight series Left size code Right size code Material

2AEEELAS  EEEGEELAISEN 4" FR45° SHTEEL  FEBGEELAISFMN 9" FR00T ST ERE
3L, #N1BG9-040G,1JT4-08-06SPZ,

Elbow part NO.:Add suffix “4”for 45° elbow and suffix “9” for 90° elbow to the straight part numbe e.g, 1BG9-040G and 1JT4-08-
06SP.

3. ZiELEREEL S Tee part NO.

S TIBUR$0 it e — Je b by 5 R Hh S b R A S b S — L Mk
Tee series Left size code Mid size code Right size code Material

4. 1Y@ iERESL S Cross part NO.

=0

AR —— e b

Cross series Size code Material

B EEL— R NmEER , ERE—MrS. WlnARE , WE—HRR LR , F2EFR LR, $=HRTAR , 8
PY4BZRRN i,

In general for cross fitting, the four ends thread is the same. If different, the first group means left, the second group means up,
the third group means right and the fouth group means down.

5.5 EMUSHIRES , WAREMRS | BRI SU TR,

# ¥ MATERIAL s CARBON STEEL il BRASS N5 4W STAINLESS STEEL
5 Code | e BR SS

sk £ 20 i J
Adaptor XINDU HYDRAULIC

6 R ESIRIBIRSE R T K/INRIIE , BETERFI7R. Size code table:

MR G1/8" | G1/4" G3/8" | G1/2" | G5/8" | G3/4" | G1" |G1.1/4"| G1.1/2"| G2"
BSPTHREAD | X28 X19 X19 X14 X14 X14 X1 X1 X11 X1
HHEAG R R1/8" | R1/4" R3/8" | R1/2" R3/4" | R1" |R1.1/4"| R1.1/2"| R2"
BSPTTHREAD | X28 X19 X19 X14 X14 X11 X1 X11 X1
AR IR AL z1/8" | z1/4" z3/8" | z1/2" G3/4" | z1" | zZ1.4/4" | Z1.4/2" | Z2"
NPTTHREAD | Xx27 X18 X18 X14 X14 | X115 | X115 | X115 | X115
SEHIJICIZEL 7/16" | 12" | 9/16" | 3/4" 7/8" | 1.1/16" | 1.5/16" | 1.5/8" | 1.7/8" | 2.1/2"
JIC THREAD X20 X20 X18 X16 X14 X12 X12 X12 X12 X12
%HIORFSIZL | | 916" 116" | 13/16" | ¢ | 1.3/16" | 1.7/16" |1.11/16"] o
ORFS THREAD X18 X16 X16 X14 X12 X12 X12 X12
S 4HISAEIZLL 5/8" _taer |
SAE THREAD X18 X14
VR
AR S 12 5/8 3/4 1 1.1/4" | 1.1/2 2
b= SIZE CODE | 02 04 05 06 08 10 12 16 20 24 32
I B gk HiBarshz—3k. Note:The dash of metric thread accords with the O.D. Of thread

tRERG)

1BCEBIIEELRS , AiniEIEMNG1/2"X14, Aln SR 8G3/4" X 14, BBSRIFRYESL | KS/91BG-08-12 iNFAAREN
#IE , K551BG-08-12S8S,

AJINZIBITERELRY | AimiEeskiBar99/16"X18, AimiE AR 9Z1/2"X 14, BN EIERTEEL , K SJ9AJIN-06-06-08,

Example:

If 1BG left end thread is G1/2"X14, and right end thread is G3/4"X14, the fitting number is 1BG-08-12. If made of stainless steel,
the fitting number is 1BG-08-12SS.

If AJUN left end thread is 9/16"X18 and right end thread is Z1/2"X14, the fitting number is AJJN-06-06-08.



gL iEiR

Model selection table

DIN FERX Ei&k

DIN BIT TYPE TUBE FITTINGS

EilR= 1C 1C9 1CB 1CB-WD 1CG 1CG4-0G 1CG9-0G
PART NO. 1D 1D9 1DB 1DB-WD 1DG  1DG4-OG 1DG9-0G
Page/T1%% A1-A2 A3 A4 A5 A6 A7 A8

= 1CI-B 1CJ 1CM  1CM-WD 1CN 1CN9 1CO
PART NO. 1DI-B 1DJ 1DM  1DM-WD 1DN 1DN9 1DO
Page/T1%5 A13 A14 A15 A16 A17 A18 A19

BB 1CW9 1C-Y  2BC-WD 2¢ 2C9 2D 2GC
PART NO. 1DW9 1D-Y  2BD-WD 2D9 2GD
Page/T1 55 A24 A25 A26 A27 A28 A29 A30

M= 4C 5CB 5CM 6C 6C9 8C 9C
PART NO. 4D 5DB 5DM 6D 6D9 9D
Page/T1%5 A35 A36 A37 A38 A39 A40 A40

e ACGC-OG ACHC-OG ACOC-0OG BC CC NL RL
PART NO. ADGD-OG ADHD-OG ADOD-OG BD CD NS RS
Page/T1 55 A45 A46 A47 A48 A49 A50 A50

, N S
Sl iE gk
AMERICA ADAPTOR

BS 1J 1J4 1J9 1JB-WD 1JF 1JG
PART NO.

Page/T1 55 B1 B2 B2 B3 B4 B5 B6

s
PART NO. 1JM-WD 1JN 1JN4 1JN9 TINO-L  1JNO-LL 1JO
Page/T1%5 B11 B12 B13 B14 B15 B15 B16

zs 1JT9-SP 10 10-0G 2J 2J4 2J9 2JF
PART NO.

Page/T1%5 B21 B22 B22 B23 B24 B24 B25
= 5J

PART NO. 40 40N 5)-S 5JN 5JN4 5JN9 5J-S

Page/T1%5 B27 B28 B29 B30 B31 B31 B32

S
PART NO. 6J4 6J9 8J 9J 9J-CAP AJ AJ6JJ
Page/T1%5 B36 B37 B38 B38 B38 B39 B40

1CH
1DH

A9

1C09-0G
1D09-0G

A20

2JC
2JD

A31

AC
AD

Ad1

XC

A51

1JG4-0G 1JG9-0G

B7

1J04-0G

B17

2NJ

B25

5JT

B33

1CH9-0G
1DH9-0G

A10

1CT9-SO
1DT9-SP

A21

2MC-WD
2MD-WD

A32

ACCG-0G
ADDG-0G

A42

1JH

B8

1J09-0G

B18

2TJ-SP

B26

5JT9

B33

£ &b i Jx

XINDU HYDRAULIC

1CH4-0G 1CI
1DH4-0G 1DI

A11 A12
1CT-SO 1CwW
1DT-SP 1DW

A22 A23

2wWC 3C
2WD 3D

A33 A34

ACCH-OG ACCO-0G
ADDH-OG ADDO-0OG

A43 Ad4
1JL 1JM
B9 B10
1JT-SP  1JT4-SP
B19 B20
3J 4J
B26 B27
50 6J
B34 B35

AJJG-OG AJJO-OG  AJNJ

B41

B42

B43

BJ

B44

1) =3
BS&Es|
Part No. Index

s

PART NO. ¢

Page/T1 %5 B45
S

PART NO. 1FG

Page/TT 5 B53
S

PART NO. 2F4

Page/T1 %5 B64
Bs

PART NO. 9F

Page/TT 55 B71
S

PART NO. N9

Page/T1%5 B80
S

PART NO. IN-CAP

Page/T1 5 B88
S

PARTNO.  /NU9-S

Page/TT %5 B96
s

PART NO. 1S

Page/TT %5 c1
s

PART NO. 9s

Page/T1 %5 (o]
pils

PART NO.

Page/TT %5 C16
s

PART NO. 1BL

Page/T1%5 C26

DJ

B46

1FG4-0G 1FG9-0G

B54

2F9

B64

AF

B71

4N

B81

AN

B89

1TP-SP

B96

1SB

C1

BS

C8

c17

1BM

C27

EJ

B46

B55

2FJ

B65

AFOF-0OG

B72

4NN

B81

GN-PK

B89

2P9

B97

18G

c2

CS

(02

1BG-OG 1BG4-OG 1BG9-OG

Cc18

1BM-WD

C28

KJINJ

B47

1FH

B56

2NF

B66

BF

B73

5N

B82

KN

B90

4P

B97

NB200 NB300 NB500
B48 B49 B49
1FN 1FN4 1FN9
B57 B58 B59
20F 3F 4F
B67 B68 B68

CF NB200-F NB300-F NBS500-F

B74 B75 B76
5N4 5N9 5NO
B83 B84 B85
ZN 2NU 2NU4
B90 B91 B92
6P 6P9 9P
B98 B98 B99

R Bk

1ST4-SP 1ST9-SP

C2

1B

Cc9

1BH

c19

1BN

C29

British Adaptor

1ST-SP 28

C3 C4 C5

1B-WD  1B-2WD 1B4

C10 Cc1 C12

1BH4-OG 1BH9-OG 1B-HS
C20 C21 Cc22
1BN9 1BO 1BT-SP
C30 C31 C32

XJ

B50

1FO

B60

6F

B69

B76

50N

B86

2NU9

B93

BP

B99

254

Cé

1B9

C13

1BJ

C23

C33

1F

B51

£ 80 il JE

XINDU HYDRAULIC

1F4 1F9

B52 B52

1F04-0G 1F09-0G 2F

B61

6F4

B69

XF

B77

7N

B87

20U

B94

CP

B99

289

C6

1BF

C14

1BJ4

Cc23

1BT4-SP 1BT9-SP

C34

B62 B63
6F9 8F
B70 B70
1N 1N4
B78 B79
7N4-PK | 7N9-PK
B87 B88
3U 7NU-S
B95 B95
48 6S
Cc7 Cc7
1BF9 1BG
C15 C16
1BJ9 1BK
C24 C25
1G 2B
C35 C36




OR:f D Stk = 6 T BS&R5 = 80 iR E

Model selection table XINDU HYDRAULIC Part No. Index XINDU HYDRAULIC

1) = : Y5 N
b A%T‘?N o 2B4 2B9 2BA 2BF 2BJ | 2BJ-WD 2B-WD 2NB  2TB-SP 3B 3B9 lﬁ:ﬁ*
. Flange Coupling
Page/T %5 c37 c37 Cc38 c39 c40 ca41 c42 c43 c44 c45 C46
FIE= EE= 2CFL 1CFL9
PART NO. 4B 4B-WD 4BN  4BN-WD 5B 5B9 5BN 5BT 5BT9 = 5B-WD 5GB PART NO. 1BFL 1BFL9 1BFS  1BFS9 55~ 1DFS | {5rlg 1DFS9 1FFL 1FFL9 1FFS
Page/T1#5 C46 c4a7 c47 c48 c49 C50 C50 C51 C52 C53 C54 Page/TT 5 E1 E1 E2 E2 E3 E4 E5 E6 E7 E7 E8
e e 1FLW  1FLW-PM
PART NO. 5NB  5TB-SP 6B 7B 7B9-PK 8B 9B AB BB CB DB PART NO. TFFS9  rsw  1rsw.pm TFLWAIN 1FSW-IN . 1JFL 1JFL4  1JFL9 1JFS 1JFS4 = 1JFS9
Page/T1 75 c55 C56 c57 c58 c59 c59 C59 C60 C61 C62 c63 Page/TT &5 E8 E9 E10 E11 E12 E13 E14 E15 E16 E17 E18
EiUR= ER= 4FL 4FL-M FL FL-W
PART NO. GB-PK XB ZB 1T-SP | 1T4-SP  1T9-SP = 4T-SP  5T-SP  5T9-SP 7T 7T4-PK PART NO. 4FS AFS-M Fs FS-W
Page/l g c64 c64 C65 C65 C66 c67 c68 C68 C69 c70 c71 Page/TT 5 E19 E20 E21 E22
Bs 7T9-PK = AT-SP = GT-PK zZT 9A
PART NO. ; . )
Page/Ti g c71 c72 c72 c73 Cc73

2Bk

Metric Adaptor
2
PART NO. 1E 1E9 1EG 1EH  1EH4-OG 1EH9-O0G  1EL 1EN 1EO  1ET-SP  2E9
Page/T 5 D1 D2 D3 D4 D5 D6 D7 D8 D9 D10 D11
BE -
PART NO. 2WE 4E 6E 6E9 9E AE  AEHE-OG  BE CE XE 1Q
Page/T1%3 D1 D12 D13 D14 D15 D15 D16 D17 D17 D18 D19
s ; ) 3 :
PART NO. 1QB 1QG  1QH9-0G  1QL 1QN  1QT9-SP 1QT-SP  2Q9 4Q 6Q 6Q-LN
Page/TT%g D20 D21 D22 D23 D24 D25 D26 D27 D28 D29 D29
BE )

PART NO. 6Q9  6Q9-LN 9Q AQ 1H 1M 2M 4H 4HN 4L 4M

Page/T1%3 D30 D30 D31 D32 D33 D34 D35 D36 D36 D37 D37
e

PART NO. 4MN  4MN-WD 1K 1K9 1KG 1KH 1KN 1KN9  1KT-SP  1KT4-SP 1KT9-SP

Page/T1%g D38 D38 D39 D39 D40 D41 D42 D43 D43 D44 D44
BE

PART NO. 2K 2K9 4K 9K AK DK BK CK

Page/TT%g D45 D45 D45 D46 D46 D46 D47 D47



DIN FEREi%k

DIN BIT TYPE TUBE FITTINGS

£ &b i Jx

XINDU HYDRAULIC

A

HiB#Ek

STRAIGHT FITTINGS

L1
11
NN
8 WimiwEE
S2 S1 S3
1C/1D 1C-RN/1D-RN

® =2 #2 4 THREAD &EF5ME TUBE O.D. R <t DIMENSIONS FEHER
PART NO. E F D1 D2 3] L1 S1 S2 S3 MPa

1C-12 M12X15 | Mi2X15 6 6 10 39 12 | 14 14

1C-14 M14X15 | M14X1.5 8 8 11 40 14 | 17 17

1C-16 M16X15 | M16X1.5 10 10 13 42 17 | 19 | 19 31.5

1C-18 M18X15 | M18X1.5 12 12 14 43 19 | 22 22 %;Zwu

1C-22 M22X15 |  M22X1.5 15 15 16 46 24 | 27 27

1C-26 M26X15 | M26X1.5 18 18 16 48 27 | 32 32

1C-30 M30X2 M30X2 22 22 20 52 32 | 36 36

1C-36 M36X2 M36X2 28 28 21 54 a1 | M 41 16

1C-45 M45X2 M45X2 35 35 20 63 46 | 50 50 %L%@J

1C-52 M52X2 M52X2 42 42 21 66 55 | 60 60

1D-14 M14X15 | M14X1.5 6 6 16 45 14 | 17 17

1D-16 M16X1.5 | M16X1.5 8 8 18 47 17 | 19 19 63

1D-18 Mi8X15 | Mi8X1.5 10 10 17 49 19 | 22 22 55

1D-20 M20X15 | M20X1.5 12 12 19 51 22 | 24 24 S

1D-22 M22X15 | M22X1.5 14 14 22 57 24 | 27 27

1D—24 M24X15 | M24X1.5 16 16 21 57 27 | 30 30

1D-30 M30X2 M30X2 20 20 23 66 32 | 36 36 40 1

1D-36 M36X2 M36X2 25 25 26 74 4 | 46 46 ifﬂ

1D-42 M42X2 M42X2 30 30 27 80 46 | 50 50

1D-52 M52X2 M52X2 38 38 29 90 55 60 60 31.5E&RJIS

E: MFHFFERFTERSEERITS, WEEKSEM “RN” ,301C9-30RN,

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our

part no., for example 1C9-30RN.




DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

BEEEEL
STRAIGHT REDUCERS
L1
11
NN
5 %r 1] %
S2 S1 S3
1C/1D 1C-RN/1D-RN
K = 12 4 THREAD &F5MZ TUBE O.D. R ~F DIMENSIONS EHZER
PART NO. E F D1 D2 L1 §] S1 S2 S3 MPa
1C-12-14 M12X1.5 M14X1.5 6 8 40 11 14 15 17
1C-12-16 M12X1.5 M16X1.5 6 10 41 12 17 15 19
1C-12-18 M12X1.5 M18X1.5 6 12 42 13 19 15 22
1C-14-16 M14X1.5 M16X1.5 8 10 41 13 17 17 19 31.5
1C-14-18 M14X1.5 M18X1.5 8 12 42 13 19 17 22 Lz
1C-16-18 M16X1.5 M18X1.5 10 12 43 14 19 19 22 L
1C-16-22 M16X1.5 M22X1.5 10 15 445 15 24 19 27
1C-16-26 M16X1.5 M26X1.5 10 18 46 | 155 27 19 32
1C-18-22 M18X1.5 M22X1.5 12 15 44.5 15 24 22 27
1C-18-26 M18X1.5 M26X1.5 12 18 46 | 155 27 22 32
1C-18-30 M18X1.5 M30X2 12 22 48 | 175 32 22 36
1C-22-26 M22X1.5 M26X1.5 15 18 475 | 165 27 27 32
1C-22-30 M22X1.5 M30X2 15 22 495 | 185 32 27 36
1C-26-30 M26X1.5 M30X2 18 22 50 18 32 32 36 16
1C-26-36 M26X1.5 M36X2 18 28 51.5 19 41 32 41 Lz
1C-30-36 M30X2 M36X2 22 28 53.5 21 41 36 41 L
1C-30-45 M30X2 M45X2 22 35 58.5 21 46 36 50
1C-36-45 M36X2 M45X2 28 35 59 21 46 41 50
1D-14-16 M14X1.5 M16X1.5 6 8 47 18 17 17 19
1D-14-18 M14X1.5 M18X1.5 6 10 48 | 175 19 17 22
1D-14-20 M14X1.5 M20X1.5 6 12 50 | 19.5 22 17 24 63
1D-16-18 M16X1.5 M18X1.5 8 10 48 | 175 19 19 22 —_
1D-16-20 M16X1.5 M20X1.5 8 12 50 | 19.5 22 19 24 s
1D-18-20 M18X1.5 M20X1.5 10 12 51 19 22 22 24
1D-18-22 M18X1.5 M22X1.5 10 14 54 | 205 24 22 27
1D-18-30 M18X1.5 M30X2 10 20 59.5 22 32 22 36
1D-20-22 M20X1.5 M22X1.5 12 14 54 | 205 24 24 27
1D-20-24 M20X1.5 M24X1.5 12 16 54 20 27 24 30
1D-20-30 M20X1.5 M30X2 12 20 59.5 22 32 24 36
1D-22-24 M22X1.5 M24X1.5 14 16 57 | 215 27 27 30
1D-24-30 M24X1.5 M30X2 16 20 62.5 23 32 30 36 40
1D-24-36 M24X1.5 M36X2 16 25 675 | 255 41 30 46 e
1D-30-36 M30X2 M36X2 20 25 71 25.5 41 36 46 S
1D-30-42 M30X2 M42X2 20 30 74 26 46 36 50
1D-36-42 M36X2 M42X2 25 30 77 | 265 46 46 50
1D-42-52 M42X2 M52X2 30 38 865 | 285 55 50 60 31 5ERFIS

I WERFERFEERSEEITS, WEEKSEM “RN” ,311C9-30RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1C9-30RN.



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

90°Z HhiEsk

90° ELBOW FITTINGS

el

e (IS
=5
55 11
L1
1C9/1D9 1C9-RN/1D9-RN
g2 ¥ 4 THREAD &FHME TUBE O.D. R ~f DIMENSIONS EHER
PART NO. E F D1 D2 11,12 L1,L2 St S2,53 MPa
1C9-12 M12X1.5 M12X1.5 6 6 12 27 12 14
1C9-14 M14X1.5 M14X1.5 8 8 14 29 12 17
1C9-16 M16X1.5 M16X1.5 10 10 15 30 14 19 815
B&R75
1C9-18 M18X1.5 M18X1.5 12 12 17 32 17 22 L
1C9-22 M22X1.5 M22X1.5 15 15 21 36 19 27
1C9-26 M26X1.5 M26X1.5 18 18 235 40 24 32
1C9-30 M30X2 M30X2 22 22 275 44 27 36 16
1C9-36 M36X2 M36X2 28 28 30.5 47 36 41 LZEL ]|
1C9-45 M45X2 M45X2 35 35 34.5 56 41 50 L
1C9-52 M52X2 M52X2 42 42 40 63 50 60
1D9-14 M14X1.5 M14X1.5 6 6 16 31 12 17
1D9-16 M16X1.5 M16X1.5 8 8 17 32 14 19 63
1D9-18 M18X1.5 M18X1.5 10 10 17.5 34 17 22 EZ7
1D9-20 M20X1.5 M20X1.5 12 12 215 38 17 24 S
1D9-22 M22X1.5 M22X1.5 14 14 22 40 19 27
1D9-24 M24X1.5 M24X1.5 16 16 245 43 24 30 40
1D9-30 M30X2 M30X2 20 20 26.5 48 27 36 Y|
1D9-36 M36X2 M36X2 25 25 30 54 36 46 s
1D9-42 M42X2 M42X2 30 30 355 62 41 50 31.5
1D9-52 M52X2 M52X2 38 38 41 72 50 60 ERJIS

I WERFERFERSEEITS, WEEKSEM “RN” ,311C9-30RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1C9-30RN.



DIN FEREi&k

DIN BIT TYPE TUBE FITTINGS

£ &b i Jx

XINDU HYDRAULIC

EEIRN60 R E SR EHR AR

BSP THREAD 60° CONE SEALING OR BONDED SEAL STUD ENDS

L1 B .
L 11
A7 =
T SO,
w4, - L o ©
S2 S1
1CB/1DB 1CB-RN/1DB-RN

rR 2 #2 5 THREAD &F4MZ TUBE O.D. R <t DIMENSIONS EHER
PART NO. E F D1 B x L1 L s1 | s2 MPa
1CB-12-02 M12X1.5 G1/8"X28 6 10 8 23 | 24 | 14 14
1CB-12-04 M12X1.5 G1/4"X19 6 12 9 24 | 28 | 19 14
1CB-14-02 M14X1.5 G1/8"X28 8 10 8 23 | 25 | 14 17
1CB-14-04 M14X1.5 G1/4"X19 8 12 9 25 | 28 | 19 17
1CB-14-06 M14X1.5 G3/8"X19 8 135 | 9 24 | 285 | 22 | 17
1CB-16-04 M16X1.5 G1/4"X19 10 12 10 | 25 | 28 | 19 19
1CB-16-06 M16X1.5 G3/8"X19 10 135 | 125 | 25 | 33 | 22 | 19
1CB-16-08 M16X1.5 G1/2'X14 10 16 | 11 | 26 | 32 | 27 | 19 é;f;}l
1CB-18-04 M18X1.5 G1/4"X19 12 12 10 | 25 | 29 | 19 | 22 i
1CB-18-06 M18X1.5 G3/8"X19 12 135 | 10 | 25 | 305 | 22 | 22
1CB-18-08 M18X1.5 G1/2'X14 12 16 11 26 | 33 | o7 | 22
1CB-18-12 M18X1.5 G3/4"X14 12 185 | 11 26 | 365 | 32 | 22
1CB-22-06 M22X1.5 G3/8"X19 15 135 | 11 26 | 315 | 24 | 27
1CB-22-08 M22X1.5 G1/2'X14 15 16 12 | 27 | 34 | o7 | 27
1CB-26-08 M26X1.5 G1/2'X14 18 16 | 115 | 28 | 35 | 27 | 32
1CB-26-12 M26X1.5 GR/4"X14 18 185 | 115 | 28 | 355 | 32 | 32
1CB-30-12 M30X2 G3/4"X14 22 185 | 135 | 30 | 395 | 32 | 36
1CB-36-16 M36X2 G1"X11 28 205 | 145 | 31 | 425 | 41 | 41 iégﬁll
1CB-45-20 MA45X2 G1.1/4"X11 35 205 | 155 | 37 | 455 | 50 | 50 L
1CB-52-24 M52X2 G1.1/2"X11 42 23 16 | 30 | 50 | 55 | 60
1DB-14-04 M14X1.5 G1/4"X19 6 12 13 | 28 | 30 | 19 17
1DB-16-04 M16X1.5 G1/4"X19 8 12 13 | 28 | 32 | 19 19
1DB-16-06 M16X1.5 G3/8"X19 8 135 | 15 | 32 | 355 | 220 | 19
1DB-18-04 M18X1.5 G1/4"X19 10 12 | 125 | 20 | 32 | 19 | 22
1DB-18-06 M18X1.5 G3/8"X19 10 135 | 145 | 31 | 335 | 22 | 22 E‘% '
1DB-18-08 M18X1.5 G1/2"X14 10 16 | 145 | 31 36 27 22 s
1DB-20-04 M20X1.5 G1/4"X19 12 12 | 145 | 31 34 | 22 | 24
1DB-20-06 M20X1.5 G3/8"X19 12 135 | 145 | 31 | 355 | 20 | 24
1DB-20-08 M20X1.5 G1/2'X14 12 16 | 145 | 31 38 | 27 | 24
1DB-22-08 M22X1.5 G1/2'X14 14 16 16 | 34 | 40 | 27 | 27
1DB-24-06 M24X1.5 G3/8"X19 16 135 | 155 | 34 | 375 | 27 | 30
1DB-24-08 M24X1.5 G1/2'X14 16 16 | 155 | 34 | 40 | 27 | 30
1DB-24-12 M24X1.5 G3/4"X14 16 185 | 175 | 36 | 445 | 32 | 30
1DB-30-12 M30X2 G3/4"X14 20 185 | 175 | 39 | 485 | 32 | 36 i‘% '
1DB-36-08 M36X2 G1/2'X14 25 16 19 | 43 | 48 | 38 | 46 a
1DB-36-12 M36X2 G3/4"X14 25 185 | 19 | 43 | 505 | 38 | 46
1DB-36-16 M36X2 G1"X11 25 205 | 20 | 44 | 525 | 41 46
1DB-42-20 M42X2 G1.1/4"X11 30 205 | 215 | 48 | 545 | 50 | 50
1DB-52-24 M52X2 G1.1/2"X11 38 23 23 54 62 55 60 | 31.5ERJIS

I WERFERFEERSEEITS, WEEKSEM “RN” |, 111DB-20-08RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our

part no., for example 1DB-20-08RN.



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

B E RN R iR

BSP THREAD WITH CAPTIVE SEAL

L1 B
11
1 1 NN
-
T — s O ==
s2 o
1CB-WD/1DB-WD 1CB-WD/RN
) ) 1DB-WD/RN
7S el 2 40 THREAD &F M2 TUBE O.D. R ~f DIMENSIONS EHER
PART NO. £ E D1 B I L1 st s2 MPa
1CB-12-02WD M12X1.5 G1/8"X28 6 8 85 |235 | 14 14
1CB-12-04WD M12X1.5 G1/4"X19 6 12 10 25 19 14
1CB-12-06WD M12X1.5 G3/8"X19 6 12 | 115 | 265 | 22 14
1CB-14-02WD M14X1.5 G1/8"X28 8 8 9 24 14 17
1CB-14-04WD M14X1.5 G1/4"X19 8 12 10 24 19 17
1CB-14-06WD M14X1.5 G3/8'X19 8 12 11 26 22 17
1CB-16-04WD M16X1.5 G1/4"X19 10 12 11 245 | 19 19
1CB-16-06WD M16X1.5 G3/8"X19 10 12 | 125 | 26 22 19 315
1CB-16-08WD M16X1.5 G1/2'X14 10 14 13 28 27 19 B2
1CB-18-04WD M18X1.5 G1/4"X19 12 12 12 27 19 22 L
1CB-18-06WD M18X1.5 G3/8"X19 12 12 | 125 | 26 22 22
1CB-18-08WD M18X1.5 G1/2'X14 12 14 14 28 27 22
1CB-22-04WD M22X1.5 G1/4"X19 15 12 13 28 24 27
1CB-22-06WD M22X1.5 G3/8'X19 15 12 | 135 | 28 24 27
1CB-22-08WD M22X1.5 G1/2"X14 15 14 14 29 27 27
1CB-22-12WD M22X1.5 G3/4"X14 15 16 15 29 32 27
1CB-26-08WD M26X1.5 G1/2"X14 18 14 | 145 | 31 27 32
1CB-26-12WD M26X1.5 G3/4"X14 18 16 | 145 | 31 32 32
1CB-30-12WD M30X2 G3/4"X14 22 16| 165 | 33 32 36
1CB-36-16WD M36X2 G1'X11 28 18 | 175 | 34 Za| 4 5*1% "
1CB-45-20WD M45X2 G1.1/4"X11 35 20 | 175 | 39 50 50 “L
1CB-52-24WD M52X2 G1.1/2"X11 42 22 19 42 55 60
1DB-14-04WD M14X1.5 G1/4"X19 6 12 15 19 17
1DB-16-04WD M16X1.5 G1/4"X19 8 12 15 30 19 19
1DB-16-06WD M16X1.5 G3/8"X19 8 12 | 155 | 30 22 19
1DB-18-04WD M18X1.5 G1/4"X19 10 12 | 145 | 31 19 22 63
1DB-18-06WD M18X1.5 G3/8"X19 10 12 | 145 | 3t 22 22 E |
1DB-18-08WD M18X1.5 G1/2"X14 10 14 | 175 | 34 27 22 S
1DB-20-04WD M20X1.5 G1/4"X19 12 12 | 165 | 33 22 24
1DB-20-06WD M20X1.5 G3/8"X19 12 12 15 33 22 24
1DB-20-08WD M20X1.5 G1/2"X14 12 14 | 175 | 34 27 24
1DB-22-08WD M22X1.5 G1/2'X14 14 14 19 37 27 27
1DB-24-06WD M24X1.5 G3/8"X19 16 12 18 | 365 | 27 30
1DB-24-08WD M24X1.5 G1/2'X14 16 14 | 185 | 37 27 30
1DB-24-12WD M24X1.5 G3/4"X14 16 16 | 205 | 39 32 30
1DB-30-12WD M30X2 G3/4"X14 20 16 | 205 | 42 32 36 E‘gﬂ
1DB-36-08WD M36X2 G1/2"X14 25 14 23 47 41 46 s
1DB-36-12WD M36X2 G3/4"X14 25 16 23 47 41 46
1DB-36-16WD M36X2 G1'X11 25 18 23 47 Za| 46
1DB-42-20WD M42X2 G1.1/4"X11 30 20 | 235 | 50 50 50
1DB-52-24WD M52X2 G1.1/2"X11 38 22 26 57 55 60 31.5ERIIS

I MBEHFFERFERSEEITR, WEEKRS/EM “RN” |, #0 1DB-20-08WD/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after
our part no., for example 1DB-20-08WD/RN.



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

HERNOR BB B ttin
BSP THREAD STUD ENDS WITH O-RING SEALING

L1 B
1
= )
W - O
-
\ ) S1
1CG/ADG 1CG-RN/1DG-RN
R = #8 40 THREAD % F4Mz TUBE O.D. R ~ DIMENSIONS EHER
PART NO. E F D1 B 1 L1 S1 S2 MPa
1CG-12-02 M12X1.5 G1/8"'X28 6 95 | 85 | 23 14 | 14
1CG-12-04 M12X1.5 G1/4"X19 6 10 10 | 25 19 | 14
1CG-14-04 M14x1.5 G1/4"X19 8 10 10 | 25 19 | 17
1CG-14-06 M14x1.5 G3/8"'X19 8 115 | 115 | 26 22 | 17
1CG-14-08 M14x1.5 G1/2'X14 8 14 13 | 275 27 | 34
1CG-16-04 M16x1.5 G1/4"X19 10 10 11 26 19 | 19
1CG-16-06 M16x1.5 | G3/8"X19 10 15 [125 | 27 | 22 | 19 ;;‘;J
1CG-16-08 M16x1.5 G1/2'X14 10 14 14 | 29 27 | 19 =
1CG-18-06 M18x1.5 G3/8"X19 12 115 | 125 | 27 22 | 22
1CG-18-08 M18x1.5 G1/2'X14 12 14 13 | 28 27 | 22
1CG-22-06 M22x1.5 G3/8"'X19 15 115 | 135 | 29 24 | 27
1CG-22-08 M22x1.5 G1/2'X14 15 14 14 | 29 27 | 27
1CG-22-12 M22x1.5 G3/4"X14 15 155 | 20 | 30 32 | 3
1CG-26-08 M26x1.5 G1/2'X14 18 14 | 145 | 31 27 | 32
1CG-26-12 M26x1.5 G3/4"X14 18 155 | 145 | 32 32 | 32
1CG-30-12 M30x2 G3/4"X14 22 155 | 165 | 33 32 | 36
1CG-30-16 M30x2 G1"X11 22 18 |175 | 35 4 | 36
1CG-36-16 M36x2 Gl 28 18 | 175 34 41 41 16
1CG-45-20 M45x2 G1.1/4"X11 35 20 |175 | 39 50 | 50 BRI
1CG-52-20 M52X2 G1.1/4"X11 42 20 19 | 42 55 | 60 L
1CG-52-24 M52x2 G1.1/2"X11 42 215 | 19 | 42 55 | 60
1CG-52-32 M52x2 G2"X11 42 245 | 25 | 44 70 | 60
1DG-14-04 M14X1.5 G1/4"X19 6 10 13 | 28 19 | 17
1DG-16-04 M16X1.5 G1/4"X19 8 10 15 | 31 19 | 19
1DG-18-04 M18x1.5 G1/4"X19 10 10 | 145 | 31 19 | 22
1DG-18-06 M18x1.5 G3/8"'X19 10 115 | 15 | 31 22 | 22 63
1DG-20-06 M20x1.5 G3/8"'X19 12 115 | 17 | 32 22 | 24 E'zw”
1DG-20-08 M20x1.5 G1/2'X14 12 14 |175 | 34 27 | 24
1DG-22-06 M22x1.5 G3/8"'X19 14 115 | 19 | 37 24 | 27
1DG-22-08 M22x1.5 G1/2'X14 14 14 19 | 37 27 | 27
1DG-24-04 M24x1.5 G1/4'X19 16 11 18 | 37 27 | 30
1DG-24-08 M24x1.5 G1/2'X14 16 14 |185 | 37 27 | 30
1DG-30-12 M30x2 G3/4"X14 20 155 | 205 | 42 32 | 36
1DG-36-12 M36x2 G3/4"X14 25 155 | 23 | 47 41 46 40 |
1DG-36-16 M36x2 G1"X11 25 18 |175 | 47 4 | 46 E’?J
1DG-42-16 M42x2 G1"X11 30 18 |235 | 48 46 | 50
1DG-42-20 M42x2 G1.1/4"X11 30 20 |235 | 50 50 | 50
1DG-52-24 M52x2 G1.1/2"X11 38 215 | 26 | 57 55 | 60 31 5BZFIS

I WERFERFEERSEEITS, WEEKSEM “BRN” , #11DG-20-08RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN”
after our part no., for example 1DG-20-08RN.



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

45° SR E RS AR O B B Httik
45° ELBOW BSP THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING

S
g
w| -
1CG4-0G/1DG4-0G 1CG4-OG/RN
1DG4-OG/RN
g =2 $2 4 THREAD &EF5ME TUBE O.D. R ~t DIMENSIONS EHZER
PART NO. E F D1 1 L1 L2 St s2 s3 MPa
1CG4-12-020G | M12X1.5 G1/8"X28 6 10 25 24 11 14 14
1CG4-14-040G | M14X1.5 G1/4"X19 8 11 26 27 14 17 19
1CG4-16-040G | M16X1.5 G1/4"X19 10 123 | 27.3 27 16 19 19 315
1CG4-16-060G | M16X1.5 G3/8"X19 10 123 | 27.3 30 16 19 22 Y|
1CG4-18-060G | M18X1.5 G3/8"X19 12 13 28 31 19 22 22
1CG4-22-080G | M22X1.5 G1/2"X14 15 15 30 36 22 27 27 -
1CG4-26-080G | M26X1.5 G1/2"X14 18 16.5 33 37.5 27 32 27
1CG4-26-120G | M26X1.5 G3/4"X14 18 16.5 33 42 27 32 32
1CG4-30-120G M30X2 G3/4"X14 22 19.7 | 362 | 425 | 30 36 32 16
1CG4-36-160G M36X2 G1"X11 28 21.5 38 445 | 36 41 41 B&RI
1CG4-45-200G M45X2 G1.1/4"X11 35 25.5 47 50.5 | 48 50 50 L
1DG4-14-040G | M14X1.5 G1/4"X19 6 13 28 27 14 17 19
1DG4-16-040G | M16X1.5 G1/4"X19 8 13.3 | 28.3 27 16 19 19 63
1DG4-18-060G | M18X1.5 G3/8"X19 10 13.5 30 31 19 22 22 BRI
1DG4-20-060G | M20X1.5 G3/8"X19 12 135 30 31 19 24 22 S
1DG4-22-080G | M22X1.5 G1/2"X14 14 16.3 | 34.3 36 22 27 27
1DG4-24-080G | M24X1.5 G1/2"'X14 16 162 | 347 | 365 24 30 27 40
1DG4-30-120G M30X2 G3/4"X14 20 18.7 | 402 | 425 30 36 32 —
1DG4-36-160G M36X2 G1"X11 25 21 45 445 | 36 46 4 S
1DG4-42-200G M42X2 G1.1/4"X11 30 243 | 508 | 475 41 50 50

I MEHFFERFERSEEITR, WEEKLSEM “BN” , #1 1CG4-30-120G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1CG4-30-120G/RN.



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

90°= W E 1R AT MO B & 1t i
90° ELBOW BSP THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING

1CG9-OG/RN
1CG9-0G/1DG9-0G 1DG9-OG/RN
K= #2 4 THREAD &F 42 TUBE O.D. R st DIMENSIONS FEHER
PART NO. E F D1 Il L1 | L2 | st s2 | s3 MPa
1CG9-12-020G | M12X1.5 | G1/8"'X28 6 13 28 | 262 | 11 14 | 14
1CG9-14-040G | M14X1.5 | G1/4"X19 8 155 | 305 | 313 | 14 | 17 | 19
1CG9-16-040G | M16X1.5 | G1/4"X19 10 175 | 325 | 325 16 | 19 | 19 315
1CG9-16-060G | M16X1.5 | G3/8"X19 10 175 | 325 | 358 | 16 | 19 | 22 Z 25
1CG9-18-060G | M18X1.5 | G3/8"X19 12 19 34 | 368 | 19 | 22 | 22 L
1CG9-22-080G | M22X1.5 | G1/2'X14 15 22 37 | 432 | 22 | 27 | 27
1CG9-26-080G | M26X1.5 | G1/2'X14 18 255 42 46 | 27 | 32 | 27
1CG9-26-120G | M26X1.5 | G3/4"X14 18 255 42 | 493 | 27 | 32 | 32
1CG9-30-120G |  M30X2 G3/4"X14 22 293 | 458 | 52 | 30 | 36 | 32
1CG9-30-160G | M30X2 G1"X11 o0 315 48 53 | 33 | 36 | 41 16
1CG9-36-160G |  M36X2 G1"X11 o8 33 | 498 | 56 | 36 | 41 41 BRF
1CG9-36-200G | M36X2 | G1.1/4"X11 o8 36 | 528 | 59 | 41 41 50 L
1CG9-45-200G | M45X2 | G1.1/4"X11 35 392 | 607 | 63 | 48 | 50 | 50
1CG9-52-240G M52X2 G1.1/2"X11 42 44.8 67.8 68.5 55 60 55
1DGY-14-040G | M14X1.5 | G1/4"X19 6 175 | 325 | 313 | 14 | 17 | 19
1DGY-16-040G | M16X1.5 | G1/4"X19 8 187 | 337 | 325 16 | 19 | 19
1DGY-16-060G | M16X1.5 | G3/8"X19 8 187 | 337 | 358 | 16 | 19 | 22 63
1DGY-18-060G | M18X1.5 | G3/8"X19 10 195 3 | 368 | 19 | 22 | 22 BRI
1DG9-20-060G | M20X1.5 | G3/8"X19 12 195 36 | 368 | 19 | 24 | 22 S
1DG9-22-080G | M22X1.5 | G1/2'X14 14 23 41 | 432 | 22 | 27 | 27
1DG9-24-080G | M24X1.5 | G1/2'X14 16 24 | 425 | 43 | 24 | 30 | 27
1DGY-30-120G | M30X2 G3/4"X14 20 28 | 495 | 52 | 30 | 3 | 32 40
1DGY-36-160G | M36X2 G1"X11 25 328 | 568 | 56 | 36 | 46 | 4 ERI
1DG9-42-200G | M42X2 | G1.1/4"X11 30 362 | 627 | 58 | a4 50 | 50 S
1DGY-52-240G | M52X2 | G1.1/2"X11 38 458 | 768 | 685 | 55 | 60 | 55 |315EZRFIS

i WEFFERFEBSEEITS, WIEERSEM “RN” , #11CG9-30-120G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1CG9-30-120G/RN.




DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

AW IMELIELR ISO 6149
METRIC THREAD STUD ENDS ISO 6149

L1 B
| ﬁ :
4 N
- - S| N
-
0]
S2 S1
1CH/MDH 1CH-RN/1DH-RN

K = # 4 THREAD EFHME DI | O ® M W DHEEONS ENELH
PART NO. E F TUBE O.D. O RING B I L1 St s2 Al
1CH-12-10 M12X1.5 M10X1 6 008.1X1.6 85 | 95 23 14 14

1CH-14 M14X1.5 M14X1.5 8 011.3X2.4 11 10 25 19 17
1CH-14-12 M14X1.5 M12X1.5 8 009.3X2.4 11 10 25 17 17
1CH-16-14 M16X1.5 M14X1.5 10 011.3X2.4 11 13 26 19 19
1CH-18-14 M18X1.5 M14X1.5 12 011.3X2.4 11 11 | 255 19 22
1CH-14-18 M14X1.5 M18X1.5 8 0153X2.4 | 125 | 115 | 265 24 17

1CH-16 M16X1.5 M16X1.5 10 0133x2.4 | 115 | 13 28 22 19
1CH-16-18 M16X1.5 M18X1.5 10 015.3X2.4 125 | 125 28 24 19 315
1CH-18-16 M18X1.5 M16X1.5 12 0133X2.4 | 115 | 12 27 22 22 —
1CH-22-16 M22X1.5 M16X1.5 15 0133X2.4 | 115 | 135 | 295 24 27
1CH-22-18 M22X1.5 M18X1.5 15 0153X2.4 | 125 | 135 | 29 24 27 L
1CH-16-22 M16X1.5 M22X1.5 10 019.3X2.4 13 14 | 295 27 19
1CH-22-20 M22X1.5 M20X1.5 15 017.3X2.4 12 15 | 305 27 27

1CH-22 M22X1.5 M22X1.5 15 019.3X2.4 13 15 31 27 27
1CH-26-22 M26X1.5 M22X1.5 18 019.3X2.4 13 | 145 | 31 27 32

1CH-26 M26X1.5 M26X1.5 18 0235X30 | 135 | 135 | 31 32 32
1CH-26-27 M26X1.5 M27X2 18 023.5X3.0 16 | 145 | 32 32 32
1CH-26-33 M26X1.5 M33X2 18 029.5X3.0 16 | 155 | 33 P 32
1CH-30-22 M30X2 M22X1.5 22 019.3X2.4 13 | 175 | 33 32 4
1CH-30-27 M30X2 M27x2 22 023.5X3.0 16 | 165 | 33 32 36

1CH-30 M30X2 M30X2 22 026.5X3.0 16 | 175 | 33 36 36
1CH-36-27 M36X2 M27X2 28 023.5X3.0 16 | 175 | 34 41 41 16
1CH-36-33 M36X2 M33X2 28 029.5X3.0 16 | 175 | 34 PR 4 BR5
1CH-36-42 M36X2 Ma2x2 28 038.5X3.0 16 | 185 | 35 50 4 L
1CH-45-33 M45X2 M33X2 35 029.5X3.0 16 | 175 | 37 46 50
1CH-45-42 M45X2 M42x2 35 038.5X3.0 16 | 175 | 37 50 50
1CH-52-48 M52X2 M48X2 42 0445X30 | 175 | 19 55 60

1DH-14 M14X1.5 M14X1.5 6 011.3X2.4 11 15 28 19 17
1DH-14-12 M14X1.5 M12X1.5 6 009.3X2.4 11 13 28 17 17
1DH-16-14 M16X1.5 M14X1.5 8 011.3X2.4 11 15 30 19 19 63
1DH-18-16 M18X1.5 M16X1.5 10 0133X2.4 | 115 | 15 31 22 22
1DH-20-14 M20X1.5 M14X1.5 12 011.3X2.4 11 15 31 22 24 LES
1DH-20-16 M20X1.5 M16X1.5 12 0133X2.4 | 115 | 15 31 22 24 S
1DH-20-18 M20X1.5 M18X1.5 12 015.3X2.4 | 125 | 17 33 24 24
1DH-20-22 M20X1.5 M22X1.5 12 019.3X2.4 13 | 175 | 35 27 30
1DH-24-22 M24X1.5 M22X1.5 16 019.3X2.4 13 | 185 | a7 27 30

1DH-30 M30X2 M30X2 20 026.5X3.0 16 | 205 | 42 36 36
1DH-30-27 M30X2 M27X2 20 023.5X3.0 16 | 205 | 42 32 36 40
1DH-30-33 M30X2 M33X2 20 029.5X3.0 16 | 225 | 42 M 36
1DH-36-27 M36X2 M27X2 25 023.5X3.0 16 23 47 4 46 EX 3
1DH-36-33 M36X2 M33X2 25 029.5X3.0 16 23 47 P 46 s

1DH-42 M4a2x2 M4a2x2 30 038.5X3.0 16 | 235 | 50 50 50
1DH-42-48 Ma2x2 M48x2 30 0445X30 | 175 | 265 | 52 55 50

i MEHFERFERSEEITSR, WEEKS/EM “RN” , 10 1DH-20-18RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1DH-20-18RN.



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A45°B 2HIIMBRB24°HE/ 2 HISMBEN ATE R HEIRISO 6149-2

45° ELBOW METRIC MALE 24° CONE/METRIC MALE ADJUSTABLE STUD END ISO 6149-2

1CH4-0G/1DH4-0G 1CH4-OG/RN
1DH4-0G/RN
g =2 # 4 THREAD EFHZEDI | O B B R~ DIMENSIONS EHES
PART NO. E F TUBE O.D. O RING 1 L1 L2 Sq s2 S3 MPa
1CH4-12-100G M12X1.5 M10X1 6 008.1X1.6 10 25 25.5 1 14 14
1CH4-14-120G M14X1.5 M12X1.5 8 009.3X2.4 11 26 30 14 17 17 31.5
1CH4-16-140G M16X1.5 M14X1.5 10 011.3X2.4| 123 27.3 30.5 16 19 19 =¥
1CH4-18-160G M18X1.5 M16X1.5 12 013.3X2.4 13 28 34 19 22 22 L
1CH4-22-180G M22X1.5 M18X1.5 15 015.3X2.4 15 30 38 22 27 24
1CH4-26-220G M26X1.5 M22X1.5 18 019.3X2.4| 16.5 33 40.5 27 32 27
1CH4-30-270G M30X2 M27X2 22 023.5X3.0| 19.7 36.2 48 30 36 32 16
1CH4-36-330G M36X2 M33X2 28 029.5X3.0| 215 38 49.5 36 41 41 = =9]]
1CH4-45-420G M45X2 M42X2 35 038.5X3.0| 25.5 47 55 48 50 50 L
1DH4-14-120G M14X1.5 M12X1.5 6 009.3X2.4 13 28 30 14 17 17
1DH4-16-140G M16X1.5 M14X1.5 8 011.3X2.4| 13.3 28.3 30.5 16 19 19 40
1DH4-18-160G M18X1.5 M16X1.5 10 013.3X2.4| 135 30 34 19 22 22 FERY
1DH4-20-180G M20X1.5 M18X1.5 12 015.3X2.4| 135 30 37 19 24 24 S
1DH4-24-220G M24X1.5 M22X1.5 16 019.3X2.4| 16.2 34.7 40 24 30 27
1DH4-30-270G M30X2 M27X2 20 023.5X3.0| 18.7 40.2 48 30 36 32
1DH4-36-330G M36X2 M33X2 25 029.5X3.0 21 45 49.5 36 46 41 31.5E&%]S
1DH4-42-420G M42X2 M42X2 30 038.5X3.0| 24.3 50.8 54 41 50 50 258 &%IS

1 IEHFERFEREREITE, WEAERS/EM “RN” ,111CH4-30-270G/RN, 2 Fi#51S0O 997415k O4HAT,
FIFFHE N 51S0 6149-15h OHEE,

Note: 1 In case if you are interested to order the adapter in complete set with cutting ring and nut ,it isnecessary to insert suffix "RN" after
our part no., for example 1CH4-30-270G/RN. 2 F end is connectedwith ISO 9974-1 port and connected with ISO 6149-1 port without
retaining ring.

A10



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

90°E A HlIMRL ATE TR ISO 6149
90° ELBOW METRIC THREAD ADJUSTABLE STUD ENDS ISO 6149

S3
S2
N\
s T
LIJ 1 ||
L1
1CH9-0G /1DH9-0G 1CH9-OG/RN
1DH9-OG/RN
g2 #2 4 THREAD & F HMZED o W & R <+ DIMENSIONS EHZER
PART NO. E E TUBE O.D. O RING 1 L1 Lo S1 S s3 MPa

1CH9-12-100G M12X15 | M10X1 6 008.1X1.6 13 28 265 | 11 14 14
1CH9-14-120G M14X15 | M12X15 8 009.3X2.4 | 155 | 30.5 32 14 17 17 5
1CH9-16-140G M16X1.5 | M14X1.5 10 011.3X2.4 | 175 | 325 34 16 19 19
1CH9-18-160G M18X1.5 | M16X1.5 12 013.3X2.4 19 34 36 19 22 22 =R
1CH9-22-180G M22X15 | M18X1.5 15 015.3X2.4 22 37 395 | 22 27 24 -
1CH9-26-220G M26X1.5 | M22X1.5 18 019.3X2.4 | 255 | 42 435 | 27 32 27
1CH9-30-270G M30X2 M27X2 22 023.5X3.0 | 29.3 | 458 50 30 36 32 16
1CH9-36-330G M36X2 M33X2 o8 029.5X3.0 | 33.3 | 49.8 54 36 41 41 BRIIL
1DH9-14-120G M14X15 | M12X1.5 6 009.3X2.4 | 175 | 325 32 14 17 17
1DH9-16-140G M16X15 | M14X15 8 011.3X2.4 | 18.7 | 337 34 16 19 19 63
1DH9-18-160G M18X1.5 | M16X1.5 10 013.3X24 | 195 | 36 36 19 22 22 ——
1DH9-20-180G M20X1.5 | M18X1.5 12 015.3X2.4 | 195 | 36 37 19 24 24 s
1DH9-22-200G M22X1.5 | M20X1.5 14 017.3X2.4 23 41 40 22 27 27
1DH9-24-220G M24X15 | M22X1.5 16 019.3X2.4 24 42 375 | 24 30 27
1DH9-30-270G M30X2 M27X2 20 023.5X3.0 | 283 | 49.8 50 30 36 32 40
1DH9-36-330G M36X2 M33X2 25 029.5X3.0 | 328 | 56.8 54 36 46 41 BRI

1DH9-420G M42X2 M42X2 30 038.5X3.0 | 362 | 627 | 57.2 | 41 50 50 S

I WERFERFEERSEEITS, WEEKSEM “RN” , #11DH9-20-180G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1DH9-20-180G/RN.



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

QIR RS

METRIC BANJO

121 L2

/ﬂ
?—RING ] /l:'

. S3
\ | s2
. 7 . :
| \ @ I
]
A 1
BEE
SEAL L -
1CI/1DI 1CI-RN/1DI-RN
ke | BETHREAD | g gapy R <HDIMENSIONS @ | owm |wamm | Erea
PART NO.|  E F TUBEOD. | | | 1 | L1 | 12 [L2|st|s2|ss| BOLT | O-RING | SEAL MPa
1CI-12-10|M12X1.5 | M10X1 6 8 | 11 |255| 12 | 27 |14 | 17 | 14 | 700M-10l | 008.1X1.6 | ZHD-10
1C1-14-12|M14X1.5 | M12X1.5 8 12 | 145 | 33 | 145 | 29 |17 | 22 | 17 | 700M-12I | 009.3X2.4 | ZHD-12
315
1C1-16-14 M16X1.5 | M14X1.5 10 12 | 145 | 33 | 165 31 19 | 24| 10 | 700M-141 | O11.0X24 | ZHD-14 |
=Y
1C1-18-16 M18X1.5 | M16X1.5 12 12 | 17 | 39 | 19 | 34 |22 | 27 | 22 | 700M-16] | 013.3X2.4 | ZHD-16 |
L
1C1-22-18 M22X1.5 | M18X1.5 15 12 | 185 | 42 | 215 | 37 | 24 | 30 | 27 | 700M-18I | O15.3X2.4 | ZHD-18
1C1-26-22 M26X1.5 | M22X1.5 18 14 | 215 | 49 | 22 | 38 |27 | 32 | 32 | 700M-22I | 019.3X2.4 | ZHD-22
1C1-30-26) M30X2 | M26X1.5 22 16 | 24 | 56 | 285 45 |36 | 41| 36 | 700M-261 | 0285X30  ZHD-27 |
1C1-36-33| M36X2 | M33X2 28 18 | 305 | 71 | 33 | 50 |41 | 50| 41| 700M-331 | 0295X30 | ZHD-33 |
g iba
1C1-45-42| M45X2 | Ma2x2 35 20 | 355 | 82 | 37 | 59 |50 | 60 | 50 | 700M-42 | 038.5X3.0 | ZHD-42 )
1CI-52-48| M52X2 | M4sx2 42 22 | 40.5 | 93 | 41.5 | 64 | 55 | 70 | 60 | 700M-48 | 044.5X3.0 | ZHD-48
1DI-14-12|M14X1.5 | M12X1.5 6 12 | 145 | 33 | 165 | 31 | 17 | 22| 17 | 700M-12I | 009.3X2.4 | ZHD-12
1DI-16-14M16X1.5 | M14X1.5 8 12 | 145 | 33 | 175 | 32 | 19 | 24| 19 | 700M-14I | 011.3X2.4 | ZHD-14
63
1DI-18-16 M18X1.5 | M16X1.5 10 12 | 17 | 39 | 195| 36 | 22 | 27 | 22 | 700M-161 | 013.3X2.4 | ZHD-16
1]
1DI-20-18 M20X1.5 | M18X1.5 12 12 | 185 | 42 | 21 | 87 |24 | 30| 24 | 700M_181 | O15.3x2.4 | zHD-18 | EFY
1DI-22-20 M22X1.5 | M20X1.5 14 14 | 20 | 46 | 235 | 41 |27 | 382 | 27 | 700M-201 | 017.3X2.4 | ZHD-20 S
1DI-24-22 M24X1.5 | M22X1.5 16 14 | 215 | 49 | 23 | 41 |27 | 382 | 30 | 700M-22I | 019.3X2.4 | ZHD-22
1DI-30-27| M30X2 | M27x2 20 16 | 24 | 56 | 27.5| 49 | 36 | 41 | 36 | 700M-271 | 0235X3.0 | ZHD-27
40
1DI-36-33| M36X2 | M33X2 25 18 | 305 | 71 | 325 | 57 | 41 | 50 | 46 | 700M-33I | 029.5X3.0 | ZHD-33
BERY
1DI-42 | M42X2 | M42x2 30 20 | 355 | 82 | 38 | 65 |50 | 60 | 50 | 700M—42l | O38.5X3.0 | ZHD-42
s
1DI-52-48| M52X2 | M48X2 38 22 | 405 | 93 | 425 | 73 |55 | 70 | 60 | 700M-48 | 044.5X3.0 | ZHD-48

i MEHFFERFEESEEITS, WEEXSHEM “RN” , 301D1-36-33RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1D1-36-33RN.

A12



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A HERLRIEES

BSP BANJO
121 L2
BOLT 2 s1
OFE I
O-RING _I]
. ) s3 /
) N . |.s2
| S
. 7 . :
| : @il I
]
A 1
EHHE
SEAL L -
1CI-B/RN
1CI1-B/1DI-B
1DI-B/RN
K | BETHREAD | mrspzpt R < DIMENSIONS g | OWE |EmHRE | ENER
FARIT MO F | TUBEOD. | | | |y | L1 | 12 | L2 |S1[S2|S3| BOLT | O-RING | SEAL MPa
1CI-12-B02| M12X1.5| G1/8" 6 8 | 11 |255| 12 | 27 |14 17| 14 | 720B-02I| O08.1X1.6 | ZHD-10
1CI-14-B04| M14X1.5| G1/4" 8 12 | 145 | 33 | 155 | 30 |19 | 24 | 17 | 720B-04| O11.3X2.4 | ZHD-14
1CI-16-B04| M16X1.5| G1/4" 10 12 | 145 | 33 | 165 | 31 |19| 24 | 19 |720B-04I| O11.3X2.4 | ZHD-14 | 315
1CI-18-B06| M18X1.5| G3/8" 12 12 | 165 | 38 | 19 |345 |24 | 27 | 22 | 720B-06l| O15.3X2.4 | ZHD-18 | %3
1C1-22-B08| M22X1.5| G1/2" 15 14 | 215 | 49 |225 | 38 |27 | 32 | 27 | 720B-08| 019.3X2.4 | ZHD-22 L
1C1-26-B08| M26X1.5| G1/2" 18 14 | 215 | 49 | 22 | 38 |27 | 32 | 32 | 720B-08I| 019.3X2.4 | ZHD-22
1CI-30-B12| M30X2 | G3/4' 22 16| 24 | 56 |285 | 45 |36 | 41 | 36 | 720B-12I| 023.5X3.0 | ZHD-27
16
1CI-36-B16| M36X2 | G1" 28 18 | 305 | 71 | 33 | 50 |41 |50 | 41 |720B-161| 029.5X3.0 | ZHD-33
BR7
1CI-45-B20| M45X2 | G1.1/4" 35 20 | 355 | 82 | 37 | 59 |50 | 60 | 50 | 720B-201) O38.5X3.0 | ZHD-42 |
L
1C1-52-B24| M52X2 | G1.1/2" 42 22 | 405 | 93 |415 | 64 |55 70| 60 | 720B-241| 044.5X3.0 | ZHD-48
1DI-14-B04| M14X1.5| G1/4" 6 12 | 145 | 33 |175 | 32 |19| 24 | 17 | 720B-04| O11.3X2.4 | ZHD-14
1DI-16-B04| M16X1.5| G1/4" 8 12 | 145 | 33 |17.5 | 32 |19 | 24 | 19 | 720B-04| O11.3X2.4 | ZHD-14
1DI-18-B06| M18X1.5| G3/8" 10 12 | 165 | 38 | 21 | 38 |24 | 30 | 22 | 720B-06l| O15.3X2.4 | ZHD-18 63
1DI-20-B06| M20X1.5| G3/8" 12 12 | 165 | 38 | 21 | 38 |24 | 30 | 24 | 720B-06l| O15.3X2.4 | ZHD-18 | HZ3|
1DI-22-B08| M22X1.5| G1/2" 14 14 | 215 | 49 |235 | 41 |27 | 32 | 27 | 720B-08I| 019.3X2.4 | ZHD-22 S
1DI-24-B08| M24X1.5| G1/2" 16 14 | 215 | 49 | 23 | 41 |27 | 32 | 30 | 720B-08I| 019.3X2.4 | ZHD-22
1DI-30-B12| M30X2 | G3/4' 20 16| 24 | 56 |27.5| 49 |36 | 41 | 36 | 720B-12I| 023.5X3.0 | ZHD-27
40
1DI-36-B16| M36X2 | G1 25 18 | 305 | 71 |325 | 57 |41 | 50 | 46 | 720B-161| 029.5X3.0 | ZHD-33
BER7Y
1DI-42-B20| M42X2 | G1.1/4" 30 20 | 355 | 82 | 38 | 65 |50 | 60 | 50 | 720B-201| O38.5X3.0 | ZHD-42
s
1DI-52-B24| M52X2 | G1.1/2" 38 22 | 40.5 | 93 |42.5 | 73 |55 | 70 | 60 | 720B-241| O44.5X3.0 | ZHD-48

i MEHFERFERSEEITE, WEEKSEM “BRN” , #11D1-36-B16RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1D1-36-B16RN.

A13



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

EHJICT 4R H

JIC 74°CONE SEALING

5[ f ><)74°
S2 S1
1CJ/M1DJ 1CJ-RN/1DJ-RN
k= 48 47 THREAD & F4M2 TUBE O.D. R <+ DIMENSIONS EhEs
PART NO. E F D1 B N L1 s1 | s2 MPa
1CJ-10-04LL M10x1 7/116"X20 6 14 | 65 | 20 12 | 12
1CJ-12A-04LL M12x1 716"X20 8 14 | 85 | 22 12 | 14
1CJ-12-04 M12x1.5 7/16"X20 6 14 9 24 14 | 14
1CJ-14-04 M14x1.5 716"X20 8 14 8 23 15 | 17 .
1CJ-14-06 M14x1.5 9/16"X18 8 14.1 8 23 15 | 17
1CJ-16-06 M16x1.5 9/16"X18 10 14.1 9 24 17 | 19
1CJ-18-06 M18x1.5 9/16"X18 12 141 | 10 25 19 | 22 BAR5
1CJ-18-08 M18x1.5 3/4"X16 12 167 | 10 25 22 | 22
1CJ-22-08 M22x1.5 3/4"X16 15 167 | 108 | 26 24 | 27 L
1CJ-22-10 M22x1.5 7/8"X14 15 193 | 11 26 24 | 27
1CJ-26-10 M26X1.5 7/8"X14 18 193 | 115 | 28 27 | 32
1CJ-26-12 M26X1.5 1.1/16"X12 18 219 | 116 | 28 30 | 32
1CJ-30-12 M30x2 1.1/16"X12 22 219 |135 | 30 32 | 36
1CJ-30D-12 M30X1.5 1.1/16"X12 22 219 |135 | 30 32 | 36
1CJ-30D-16 M30X1.5 1.5/16"X12 22 231 | 145 | 31 36 | 36
1CJ-36-16 M36x2 1.5/16"X12 28 231 | 145 | 31 s | M 1
1CJ-36D-12 M36X1.5 1.1/16"X12 28 219 | 145 | 31 a1 | 4
1CJ-36D-16 M36X1.5 1.5/16"X12 28 231 | 145 | 31 M| 41 BHR
1CJ-45-20 M45X2 1.5/8"X12 35 243 | 145 | 36 46 | 50 L
1CJ-45D-20 M45X1.5 1.5/8"X12 35 243 | 155 | 37 46 | 50
1CJ-52-20 M52X2 1.5/8"X12 42 243 | 16 39 55 | 60
1CJ-52-24 M52X2 1.7/8"X12 42 275 | 16 39 55 | 60
1DJ-14-04 M14x1.5 7/16"X20 6 14 11 26 14 | 14
1DJ-16-04 M16x1.5 716"X20 8 14 13 28 17 | 19
1DJ-16-06 M16x1.5 9/16"X18 8 141 | 129 | 28 17 | 34 63
1DJ-18-04 M18x1.5 716"X20 10 14 [ 125 | 29 19 | 22 _—
1DJ-18-06 M18x1.5 9/16"X18 10 141 | 125 | 29 19 | 22
1DJ-20-06 M20x1.5 9/16"X18 12 141 | 145 | 31 22 | 24 S
1DJ-20-08 M20x1.5 3/4"X16 12 167 | 143 | 31 220 | 24
1DJ-22-08 M22x1.5 3/4"X16 14 167 | 16 34 24 | 27
1DJ—24-08 M24x1.5 3/4"X16 16 167 | 155 | 34 27 | 30
1DJ-24-10 M24x1.5 7/8"X14 16 19.3 | 155 | 34 27 | 30 40
1DJ-30-12 M30x2 1.1/16"X12 20 219 |175 | 39 32 | 36 _—
1DJ-36-12 M36x2 1.1/16X12 25 219 | 19 43 38 | 46
1DJ-36-16 M36x2 1.5/16X12 25 231 | 19 43 38 | 46 s
1DJ-42-20 Md2x2 1.5/8"X12 30 243 | 205 | 47 46 | 50
1DJ-52-24 M52X2 1.7/8"X12 38 275 | 23 54 55 | 60 31.5E R3S

I MEHFFERFERSEEITSR, WEEKSEM “BRN” , f11DJ-20-18RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1DJ-20-18RN.

A14



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A AHIRN60° R IIEE S B EH P AR

METRIC THREAD 60° CONE SEALING OR BONDED SEAL STUD ENDS

L1
L "
\ NN
w| -t S TS o - fl M- 60°
1CM/1DM 1CM-RN/1DM-RN
g = 12 4 THREAD &F4ME TUBE O.D. R =t DIMENSIONS FEHER

PART NO. E F D1 B I L1 st | s2 ilP
1CM-12-10 M12X1.5 M10X1 6 8 | 85 | 23 14 | 14
1CM-14-12 M14X1.5 M12X1.5 8 12 10 25 17 17
1CM-14-18 M14X1.5 M18X1.5 8 12 11.5 26 24 17
1CM-16-14 M16X1.5 M14X1.5 10 12 11 26 19 19

1CM-16 M16X1.5 M16X1.5 10 12 12 27 22 19
1CM-16-18 M16X1.5 M18X1.5 10 12 12.5 27 24 19
1CM-16-22 M16X1.5 M22X1.5 10 14 14 29 27 19 315
1CM-18-14 M18X1.5 M14X1.5 12 12 11 26 19 22
1CM-18-16 M18X1.5 M16X1.5 12 12 12 27 22 22 BRI

1CM-18 M18X1.5 M18X1.5 12 12 12.5 27 24 22 L
1CM-18-22 M18X1.5 M22X1.5 12 14 14 29 27 22
1CM-22-16 M22X1.5 M16X1.5 15 12 13 28 24 27
1CM-22-18 M22X1.5 M18X1.5 15 12 13.5 29 24 27

1CM-22 M22X1.5 M22X1.5 15 14 15 30 27 27
1CM-26-18 M26X1.5 M18X1.5 18 12 14 30 27 32
1CM-26-22 M26X1.5 M22X1.5 18 14 14.5 31 27 32
1CM-30-22 M30X2 M22X1.5 22 14 16.5 33 32 36
1CM-30-26 M30X2 M26X1.5 22 16 16.5 33 32 36 16
1CM-30-27 M30X2 M27X2 22 16 18.5 35 32 36 2577
1CM-36-33 M36X2 M33X2 28 18 17.5 34 41 41
1CM-45-42 M45X2 M42X2 35 20 17.5 39 50 50 L
1CM-52-48 M52X2 M48X2 42 2 | 19 42 55 | 60
1DM-14-12 M14X1.5 M12X1.5 6 12 13 28 17 17
1DM-16-14 M16X1.5 M14X1.5 8 12 15 30 19 19 63
1DM-18-16 M18X1.5 M16X1.5 10 12 15 31 22 22
1DM-20-18 M20X1.5 M18X1.5 12 12 17 33 24 24 =R
1DM-20-22 M20X1.5 M22X1.5 12 14 17.5 34 27 24 S
1DM-22-20 M22X1.5 M20X1.5 14 14 19 37 27 27
1DM-24-18 M24X1.5 M18X1.5 16 12 18 36 27 30 40
1DM-24-22 M24X1.5 M22X1.5 16 14 18.5 37 27 30 EZ3)
1DM-30-27 M30X2 M27X2 20 16 20.5 42 32 36 S
1DM-36-33 M36X2 M33X2 25 18 23 47 41 46

1DM-42 M42X2 M42X2 30 20 23.5 50 50 50 25
1DM-52-48 M52X2 M48X2 38 22 57 55) 60 BERIS

I WERFERFEESEEITS, WSEEKRSEM “RN” , 10 1DM-20-18RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1DM-20-18RN.

A15



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

2 RS R T i

METRIC THREAD WITH CAPTIVE SEAL

L1 B
1 11
NN
L - - w - ]
= | R
S2 S1
1CM-WD/1DM-WD 1CM-WD/RN
1DM-WD/RN
® = # 5 THREAD BF5MZE TUBE O.D. R <t DIMENSIONS EHEG

PART NO. E F D1 B X L1 S s2 MPa
1CM-12-10WD M12X1.5 M10X1 6 8 8.5 23 14 14
1CM-14-12WD M14X1.5 M12X1.5 8 12 10 25 17 17
1CM-16-12WD M16X1.5 M12X1.5 10 12 11 25 17 19
1CM=16-14WD M16X1.5 M14X1.5 10 12 11 26 19 19
1CM-16-18WD M16X1.5 M18X1.5 10 12 | 125 | 27 24 19 o8
1CM-18-16WD M18X1.5 M16X1.5 12 12 | 125 | 27 22 22 P

1CM-18WD M18X1.5 M18X1.5 12 12 | 125 | 27 24 22
1CM-18-22WD M18X1.5 M22X1.5 12 14 14 29 27 22 L
1CM-22-18WD M22X1.5 M18X1.5 15 12 | 135 | 29 24 27

1CM-22WD M22X1.5 M22X1.5 15 14 15 30 27 27
1CM-26-22WD M26X1.5 M22X1.5 18 14 | 145 | 31 27 32
1CM-30-26WD M30X2 M26X1.5 22 16 | 165 | 33 32 36
1CM-30-27WD M30X2 M27X2 22 16 | 165 | 33 32 36 16
1CM-36-33WD M36X2 M33X2 28 18 | 175 | 34 41 41 BR5
1CM-45-42WD M45X2 M42X2 35 20 | 175 | 39 50 50 L
1CM-52-48WD M52X2 M48X2 42 22 19 42 55 60
1DM-14-12WD M14X1.5 M12X1.5 6 12 13 28 17 17
1DM-16-14WD M16X1.5 M14X1.5 8 12 15 30 19 19 63
1DM-18-16WD M18X1.5 M16X1.5 10 12 15 31 22 22 BRI
1DM-20-18WD M20X1.5 M18X1.5 12 12 17 33 24 24 s
1DM-22-20WD M22X1.5 M20X1.5 14 14 19 37 27 27
1DM-24-22WD M24X1.5 M22X1.5 16 14 | 185 | 37 27 30
1DM-30-27WD M30X2 M27X2 20 16 | 205 | 42 32 36 40
1DM-36-33WD M36X2 M33X2 25 18 23 47 41 46 E?ﬂj

1DM-42WD Ma2x2 Ma2x2 30 20 | 235 | 50 50 50
1DM-52-48WD M52X2 M48X2 38 22 26 57 55 60 31 5B RIS

E: MEEFERFERSEEITS, WHEKSEM “RN” ,211DM-20-18WD/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1DM-20-18WD/RN.

A16



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A I EIMRN

NPT MALE

=

-
I [m)
1CN/1DN 1CN-RN/1DN-RN
R S ¥ 4 THREAD &F5MZE TUBE O.D. R <t DIMENSIONS FEHER
PART NO. E F D1 " 1| st | s2 MPa
1CN-08-02 M8X1 Z1/8"X27 4 144 | 244 11 10 10
1CN-10-02LL M10X1 Z1/8"X27 6 12.9 | 24.4 11 12 BERY
1CN-12-02LL M12X1 Z1/8"X27 8 13.9 | 254 12 14 LL
1CN-12-02 M12X1.5 Z1/8"X27 6 134 | 284 12 14
1CN-12-04 M12X1.5 Z1/4"X18 6 172 | 322 17 14
1CN-14-04 M14X1.5 Z1/4"X18 8 17.2 | 322 14 17
1CN-16-04 M16X1.5 Z1/4"X18 10 18.2 | 332 17 19 25
1CN-16-06 M16X1.5 Z3/8"X18 10 19.9 | 53.0 19 19 -
1CN-18-04 M18X1.5 Z1/4"X18 12 19.2 | 342 19 22
1CN-18-06 M18X1.5 73/8"X18 12 19.9 | 34.9 19 22 L
1CN-18-08 M18X1.5 Z1/2"X14 12 214 | 364 22 22
1CN-22-08 M22X1.5 Z1/2"X14 15 224 | 374 24 27
1CN-22-20 M22X1.5 Z1.1/4"X11.5 15 298 | 374 46 27
1CN-26-08 M26X1.5 Z1/2"X14 18 229 | 394 27 32
1CN-26-12 M26X1.5 Z3/4"X14 18 224 | 389 30 32
1CN-30-08 M30X2 Z1/2"X14 22 244 | 405 32 36 16
1CN-30-12 M30X2 Z3/4"X14 22 244 | 40.9 32 36
1CN-36-16 M36X2 Z1"X11.5 28 298 | 46.3 41 41 BRJl
1CN-36-20 M36X2 Z1.1/4"X11.5 28 31.3 | 46.3 46 41 L
1CN-45-20 M45X2 Z1.1/4"X11.5 35 30.3 | 51.8 46 50
1CN-52-20 M52X2 Z1.1/4"X11.5 42 31.8 | 55.8 55 60
1CN-52-24 M52X2 Z1.1/2'X11.5 42 328 | 55.8 55 60
1DN-14-04 M14X1.5 Z1/4"X18 6 222 | 872 17 17
1DN-16-04 M16X1.5 Z1/4"X18 8 222 | 372 17 19
1DN-18-04 M18X1.5 Z1/4"X18 10 217 | 382 19 22 40
1DN-18-06 M18X1.5 Z3/8"X18 10 224 | 389 19 22
1DN-20-04 M20X1.5 Z1/4"X18 12 237 | 402 22 24 BRYI
1DN-20-06 M20X1.5 Z3/8"X18 12 244 | 40.9 22 24
1DN-20-08 M20X1.5 Z1/2"X14 12 259 | 424 22 24 S
1DN-22-08 M22X1.5 Z1/2"X14 14 274 | 454 24 27
1DN-24-08 M24X1.5 Z1/2"X14 16 269 | 454 27 30
1DN-30-12 M30X2 Z3/4"X14 20 284 | 49.9 32 36
1DN-36-12 M36X2 Z3/4"X14 25 30.9 | 34.0 41 46 25
1DN-36-16 M36X2 Z1"X11.5 25 353 | 59.3 41 46 —
1DN-42-16 M42X2 Z1"X11.5 25 358 | 59.3 46 46
1DN-42-20 M42X2 Z1.1/4"X11.5 30 36.3 | 62.8 46 50 S
1DN-52-24 M52X2 Z1.1/2"X11.5 38 39.8 | 70.8 55 60

I WERFERFEESEEITE, WEEKSEM “BN” 3110N-30-12RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN” after
our part no., for example 10N-30-12RN.

A17



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

90 T HEE IMBLL

90° ELBOW NPT MALE

L2

lﬁii S1

- 11
L1
1CN9/1DN9 1CN9-RN/1DN9-RN
R = 12 4 THREAD &F4MZE TUBE O.D. R st DIMENSIONS EHZGR
PART NO. E F D1 I L1 L2 S1 S2 MPa

1CN9-12-02 M12X1.5 Z1/8"X27 6 13 28 21 11 14

1CN9-12-04 M12X1.5 Z1/4"X18 6 155 | 305 | 255 14 14

1CN9-14-04 M14X1.5 Z1/4"X18 8 155 | 305 | 255 14 17

1CN9-16-06 M16X1.5 73/8"X18 10 175 | 325 | 295 16 19 25
1CN9-18-04 M18X1.5 Z1/4"X18 12 19 34 28 19 22 BR5
1CN9-18-06 M18X1.5 73/8"X18 12 19 34 31 19 22 L
1CN9-18-08 M18X1.5 Z1/2"X14 12 21 36 | 367 22 22

1CN9-22-06 M22X1.5 Z3/8"X18 15 22 37 | 325 22 27

1CN9-22-08 M22X1.5 Z1/2"X14 15 22 37 | 367 22 27

1CN9-26-08 M26X1.5 Z1/2"X14 18 255 42 40 27 32

1CN9-26-12 M26X1.5 Z3/4"X14 18 255 42 44 27 32

1CN9-30-12 M30X2 Z3/4"X14 22 293 | 458 45 30 36 16
1CN9-30-16 M30X2 Z1"X11.5 22 32 50 33 36 BR7
1CN9-36-16 M36X2 Z1"X11.5 28 333 | 498 | 515 36 41 L
1CN9-45-20 M45X2 Z1.1/4"X11.5 35 39.2 | 60.7 63 48 50

1CN9-52-24 M52X2 Z1.1/2"X11.5 42 448 | 67.8 65 55 60

1DN9-14-04 M14X1.5 Z1/4"X18 6 175 | 325 | 255 14 17

1DN9-16-04 M16X1.5 Z1/4"X18 8 185 | 337 | 265 16 19

1DN9-18-06 M18X1.5 73/8"X18 10 19.5 36 31 19 22

1DN9-20-04 M20X1.5 Z1/4"X18 12 19.5 36 28 19 24 40
1DN9-20-06 M20X1.5 73/8"X18 12 19.5 36 31 19 24 E]
1DN9-22-06 M22X1.5 73/8"X18 14 23 41 325 22 27 S
1DN9-22-08 M22X1.5 Z1/2"X14 14 23 41 36.7 22 27

1DN9-24-06 M24X1.5 73/8"X18 16 24 | 425 | 335 24 30

1DN9-24-08 M24X1.5 Z1/2"X14 16 24 | 425 | 375 24 30

1DN9-30-08 M30X2 Z1/2"X14 20 28 | 49.8 41 30 36

1DN9-30-12 M30X2 Z3/4"X14 20 28 | 49.8 45 30 36

1DN9-36-12 M36X2 Z3/4"X14 25 328 | 56.8 49 36 46

1DN9-36-16 M36X2 Z1"X11.5 25 328 | 568 | 515 36 46 25
1DN9-42-16 M42X2 Z1"X11.5 30 362 | 62.7 | 545 41 50 £l
1DN9-42-20 M42X2 Z1.1/4"X11.5 30 362 | 627 | 54.5 41 50 S
1DN9-52-20 M52X2 Z1.1/4"X11.5 38 458 | 76.8 65 55 60

1DN9-52-24 M52X2 Z1.1/2"X11.5 38 458 | 76.8 65 55 60

I MEHFERFERSEEITR, WEEKSEM “RN” ,301CN9-30-12RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1CN9-30-12RN.

A18



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A EHIZN O B R it ik

UN. UNF THREAD STUD ENDSWITH O-RING SEALING

L1 B
re ey :
N\
wl SN N SO
5 ] _ __l
S2 S1
1C0O/1DO 1CO-RN/1DO-RN
= #2 4 THREAD &F 42 TUBE O.D. R <t DIMENSIONS EhER

PART NO. E F D1 B §] L1 S1 S2 MPa
1C0-14-04 M14X1.5 7/16"X20 8 9 10 25 17 17
1C0-16-04 M16X1.5 7/16"X20 10 9 11 26 17 19
1C0O-18-06 M18X1.5 9/16"X18 12 10 11 26 19 22
1C0O-18-08 M18X1.5 3/4"X16 12 11 13 28 24 22 315
1C0O-18-10 M18X1.5 7/8"X14 12 12.7 | 14.3 29 27 22 o
1C0-22-08 M22X1.5 3/4"X16 15 11 14 29 24 27
1C0-22-10 M22X1.5 7/8"X14 15 12.7 | 15.3 30 27 27 L
1C0-22-12 M22X1.5 1.1/16"X12 15 15.09 | 11.91 | 30 32 27
1C0O-26-08 M26X1.5 3/4"X16 18 11 14.5 31 27 32
1C0-26-10 M26X1.5 7/8"X14 18 12.7 | 14.8 31 27 32
1C0-30-08 M30X2 3/4"X16 18 11.13 | 13.87 | 33 32 36
1C0O-30-10 M30X2 7/8"X14 22 12.7 | 16.8 33 32 36
1C0-30-12 M30X2 1.1/16"X12 22 15 16.5 33 32 36
1C0O-30-16 M30X2 1.5/16"X12 22 15 17.5 34 41 36 16
1C0-36-12 M36X2 1.1/16"X12 28 15.09 | 14.41 | 34 41 41 =z5)
1C0O-36-16 M36X2 1.5/16"X12 28 15 17.5 34 41 41
1C0O-45-16 M45X2 1.5/16"X12 35 15 17.5 39 46 50 L
1C0-45-20 M45X2 1.5/8"X12 35 15.09 | 1641 | 39 50 50
1C0-52-20 M52X2 1.5/8"X12 42 15.09 | 1591 | 42 55 60
1DO-16-04 M16X1.5 7/16"X20 8 9 15 30 17 19 63
1DO-18-06 M18X1.5 9/16"X18 10 10 14.5 31 19 22 ER1
1DO-20-06 M20X1.5 9/16"X18 12 10 14.5 31 22 24 S
1D0-20-08 M20X1.5 3/4"X16 12 11 17.5 34 24 24
1DO-24-08 M24X1.5 3/4"X16 16 11 15.5 34 24 30
1D0O-24-10 M24X1.5 7/8"X14 16 12.7 | 18.8 37 27 30
1DO-30-08 M30X2 3/4"X16 20 11 20.5 42 32 36 40
1DO-30-10 M30X2 7/8"X14 20 12.7 | 208 42 32 36
1D0-30-12 M30X2 1.1/16"X12 20 15 20.5 42 32 36 EZ7
1DO-36-12 M36X2 1.1/16"X12 25 15.09 | 19.91 | 47 41 46
1DO-36-16 M36X2 1.5/16"X12 25 15 23 47 41 46 S
1DO-42-16 M42X2 1.5/16"X12 30 15 235 50 46 50
1D0O-42-20 M42X2 1.5/8"X12 30 15 23.5 50 50 50
1D0-52-20 M52X2 1.5/8"X12 38 15.09 | 229 | 53.9 55 60 31.5ERJIS

i WEFFERFERSEEITR, WEAERS/EM “RN” ,311C9-30RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1C9-30RN.

A19



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

90°E EHIR N AT iE MOz B & £t ik

90° ELBOW UN, UNF THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING

1C09-0G/1D09-0G 1C09-OG/RN
1D09-OG/RN
g = ¥2 4 THREAD &F4MZ2 TUBE O.D. R st DIMENSIONS ENER
PART NO. E F D1 ] L1 L2 S1 S2 S3 MPa
1C09-12-040G M12X1.5 7/16"X20 6 13 28 | 272 11 14 17
1C09-14-060G M14X1.5 9/16"X18 8 155 | 305 | 318 | 14 17 19
1C09-16-060G M16X1.5 9/16"X18 10 175 | 325 | 333 16 19 19 815
1C09-18-080G | M18X1.5 3/4"X16 12 19 | 384 | 375 | 19 22 24 BRI
1C09-22-100G M22X1.5 7/8"X14 15 22 37 44 22 27 27 L
1C09-22-080G M22X1.5 3/4"X16 15 22 37 39.5 22 27 24
1C09-26-120G M26X1.5 1.1/16"X12 18 255 42 51 27 32 32
1C09-30-120G M30X2 1.1/16"X12 22 293 | 458 | 535 30 36 32
1C09-36-120G M36X2 1.1/16"X12 28 335 | 478 | 575 | 36 4 4 16
1C09-36-160G M36X2 1.5/16"X12 28 333 | 498 | 575 | 36 41 41 BE7
1C09-45-200G M45X2 1.5/8"X12 35 39.2 | 60.7 63 48 50 50 L
1C09-52-240G M52X2 1.7/8"X12 42 448 | 678 | 705 | 55 60 55
1D09-14-040G M14X1.5 7/16"X20 6 175 | 325 30 14 17 17
1D09-16-060G M16X1.5 9/16"X18 8 187 | 837 | 333 | 16 19 19 63
1D09-18-060G M18X1.5 9/16"X18 10 19.5 36 | 335 | 19 22 19 EET|
1D09-18-080G M18X1.5 3/4"X16 10 19.5 36 | 375 | 19 22 24 s
1D09-20-080G M20X1.5 3/4"X16 12 19.5 3 | 375 | 19 24 24
1D09-22-100G M22X1.5 7/8"X14 14 23 41 44 22 27 27
1D09-24-100G M24X1.5 7/8"X14 16 24 | 425 | 465 | 24 30 27 4
1D09-30-120G M30X2 1.1/16"X12 20 283 | 498 | 535 30 36 32
1D09-36-160G M36X2 1.5/16"X12 25 328 | 568 | 575 | 36 46 41 ifﬁu
1D09-42-200G M42X2 1.5/8"X12 30 362 | 627 | 595 | 41 50 50
1D09-52-240G M52X2 1.7/8"X12 38 458 | 768 | 705 55 60 55 | 31.5B&J%IS

I WERFERFERSEEITE, WEEKSEM “RN” ,311C09-30-120G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1C0O9-30-120G/RN.

A20



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A HHEE JMRN

BSPT MALE
L1
11
w| ] ]
}
\ 52 S1
1CT-SP/DT-SP 1CT-SP/RN
1DT-SP/RN
R =2 12 4 THREAD &F5MZE TUBE O.D. R < DIMENSIONS EHER
PART NO. E F D I L1 st s2 MPa
1CT-12-02SP | M12x1.5 | R1/8'x28 6 13 28 12 14
1CT-12-04SP | M12x1.5 | R1/4'x19 8 8 14 14
1CT-14-04SP | M14x1.5 | R1/4’x19 8 16.5 315 | 14 17
1CT-14-06SP | M14x1.5 | R3/8'x19 8 176 | 326 | 19 17 05
1CT-16-04SP | M16x1.5 | R1/4'x19 10 17.5 325 | 17 19
1CT-16-06SP | M16x1.5 | R3/8'x19 10 186 | 336 | 19 19 —
1CT-16-08SP | M16x1.5 | R1/2'x14 10 218 | 368 | 22 19
1CT-16-12SP | M16x1.5 | R3/4'x14 10 215 | 365 | 30 19 L
1CT-18-04SP | M18x1.5 | R1/4'x19 12 185 335 | 19 22
1CT-18-06SP | M18x1.5 | R3/8'x19 12 186 | 336 | 19 22
1CT-18-08SP | M18x1.5 | R1/2'x14 12 218 | 368 | 22 22
1CT-22-08SP | M22x1.5 | Ri1/2'x14 15 228 | 378 | 24 27
1CT-26-08SP | M26x1.5 | R1/2'x14 18 233 | 398 | 27 32
1CT-26-12SP | M26x1.5 | R3/4'x14 18 22 385 | 30 32
1CT-30-125P |  M30x2 R3/4'x14 22 24 405 | 32 36 16
1CT-36-16SP |  M36x2 R1"x11 28 29.6 461 | 38 4
1CT-36-20SP | M3éx2 | Ri1.1/4'11 28 203 | 458 | 46 41 755
1CT-45-16SP | M45x2 R1"x11 35 29.6 511 | 46 50
1CT-45-20SP |  M45x2 | Ri1.1/4'11 35 283 | 498 | 46 50 L
1CT-52-20SP | Ms52x2 | R1.1/4'11 42 208 | 528 | 55 60
1CT-52-24SP | M52x2 | R1.1/2'11 42 208 | 528 | 55 60
1DT-14-04SP | M14x1.5 | R1/4'x19 6 13 365 | 17 17
1DT-16-04SP | M16x1.5 | R1/4'x19 8 215 | 365 | 17 19
1DT-18-04SP | M18x1.5 | R1/4'x19 10 21 375 | 19 22 40
1DT-20-04SP | M20x1.5 | R1/4'x19 12 23 395 | 22 24
1DT-20-06SP | M20x1.5 | R3/8'x19 12 23.1 396 | 22 24 B3
1DT-22-06SP | M22x1.5 | R3/8'x19 14 246 | 426 | 24 27
1DT-22-08SP | M22x1.5 | Ri1/2'x14 14 278 | 458 | 24 27 s
1DT-24-06SP | M24x1.5 | R3/8'x19 16 24.1 426 | 27 30
1DT-24-08SP | M24x1.5 | Ri1/2'x14 16 273 | 458 | o7 30
1DT-30-12SP |  M30x2 R3/4'x14 20 28 495 | 32 36
1DT-36-12SP |  M36x2 R3/4'x14 25 205 | 535 | 38 46 ”s
1DT-36-16SP |  M36x2 R1"x11 25 34.1 581 | 38 46
1DT-42-16SP |  M42x2 R1"x11 30 35.6 621 | 46 50 ER5
1DT-42-20SP | M42x2 | Ri1.1/4'11 30 343 | 608 | 46 50 S
1DT-52-20SP | M52x2 | R1.1/4'11 38 368 | 678 | 55 60
1DT-52-24SP | M52x2 | R1.1/2'11 38 368 | 678 | 55 60

I WERFERFEESEEITS, WSEEKSEM “RN” |, 101DT-22-08SP/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1DT-22-08SP/RN.



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

90 T HEHEE IMBLL

90°ELBOW BSPT MALE

ﬂi,
S2 | ~
‘ —
_ |
i
\
S1
1
L1
1CT9-SP/1DT9-SP 1CT9-SP/RN
1DT9-SP/RN
® = 2 47 THREAD EHF5MZ TUBE O.D. R <+ DIMENSIONS EHER
ARG E F D1 H | L2 | st | s2 MPa
1CT9-12-02SP M12X1.5 R1/8"X28 6 13 28 21 11 14
1CT9-12-04SP M12X1.5 R1/4"X19 6 155 30.5 25.5 14 14
1CT9-14-02SP M14X1.5 R1/8"X28 8 15.5 30.5 23.5 14 17
1CT9-14-04SP M14X1.5 R1/4"X19 8 15.5 30.5 255 14 17
1CT9-16-04SP M16X1.5 R1/4"X19 10 17.5 32.5 26.5 16 19 25
1CT9-16-06SP M16X1.5 R3/8"X19 10 175 32.5 28.5 16 19
1CT9-16-08SP M16X1.5 R1/2"X14 10 21 36 36 22 19 23|
1CT9-18-04SP M18X1.5 R1/4"X19 12 21 34 28 19 22
1CT9-18-06SP M18X1.5 R3/8"X19 12 19 34 30.5 19 22 L
1CT9-18-08SP M18X1.5 R1/2"X14 12 21 36 36 22 22
1CT9-22-06SP M22X1.5 R3/8"X19 15 22 37 32.5 22 27
1CT9-22-08SP M22X1.5 R1/2"X14 15 22 37 36 22 27
1CT9-22-12SP M22X1.5 R3/4"X14 15 25.5 40.5 43.5 27 27
1CT9-26-08SP M26X1.5 R1/2"X14 18 25.5 42 39.5 27 32
1CT9-26-12SP M26X1.5 R3/4"X14 18 25.5 42 43.5 27 32
1CT9-30-12SP M30X2 R3/4"X14 22 29.5 45.8 45.3 30 36 16
1CT9-30-16SP M30X2 R1"X11 22 31.5 48 50 33 36 7z
1CT9-36-16SP M36X2 R1"X11 28 33.3 49.8 52 36 41
1CT9-36-20SP M36X2 R1.1/4"X11 28 36.2 52.7 57 41 41 L
1CT9-45-20SP M45X2 R1.1/4"X11 35 39.2 60.7 61 48 50
1CT9-52-24SP M52X2 R1.1/2"X11 42 44.8 67.8 68 55 60
1DT9-14-04SP M14X1.5 R1/4"X19 6 175 32.5 25.5 14 17
1DT9-16-04SP M16X1.5 R1/4"X19 8 18.7 33.7 26.5 16 19
1DT9-18-06SP M18X1.5 R3/8"X19 10 19.5 36 30.5 19 22 40
1DT9-20-04SP M20X1.5 R1/4"X19 12 19.5 36 28 19 24
1DT9-20-06SP M20X1.5 R3/8"X19 12 19.5 36 30.5 19 24 e
1DT9-22-06SP M22X1.5 R3/8"X19 14 23 41 32.5 22 27
1DT9-22-08SP M22X1.5 R1/2"X14 14 23 41 36 22 27 S
1DT9-24-06SP M24X1.5 R3/8"X19 16 24 425 33.5 24 30
1DT9-24-08SP M24X1.5 R1/2"X14 16 24 42.5 37.3 24 30
1DT9-30-08SP M30X2 R1/2"X14 20 28.3 49.8 41 30 36
1DT9-30-12SP M30X2 R3/4"X14 20 28.3 49.8 45.3 30 36
1DT9-36-12SP M36X2 R3/4"X14 25 33.3 57.3 52 36 46 25
1DT9-36-16SP M36X2 R1"X11 25 32.8 56.8 52.5 36 46 EZ5
1DT9-42-16SP M42X2 R1"X11 30 36.2 62.7 56.5 41 50
1DT9-42-20SP M42X2 R1.1/4"X11 30 36.2 62.7 57 41 50 S
1DT9-52-20SP M52X2 R1.1/4"X11 38 45.8 76.8 67 55 60
1DT9-52-24SP M52X2 R1.1/2"X11 38 45.8 76.8 68 55 60

i WEFFERFERSERITS, WEERSEM “RN” ,101CT9-30-12SP/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1CT9-30-12SP/RN.

A22



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A R

WELD FITTINGS

L1 B
) 11
L e I
s2 S1
1CW/1DW 1CW-RN /1DW-RN
g = ¥ 4 THREAD &FHME TUBE O.D. R < DIMENSIONS FEHEg
PART NO. E D1 D2 B D I L1 S1 | s2 MPa
1CW-12-06 M12x1.5 6 6 7 10 7 22 12 | 14
1CW-14-08 M14x1.5 8 8 8 12 8 23 14 | 17
1CW-16-10 M16x1.5 10 10 8 14 9 24 17 19 31.5
1CW-18-12 M18x1.5 12 12 8 16 10 25 19 22 %%’Eﬂ
1CW-22-15 M22x1.5 15 15 10 19 11 26 22 27
1CW-26-18 M26X1.5 18 18 10 22 11.5 28 27 32
1CW=26-22 M26X1.5 18 22 10 27 | 135 28 27 | 32
1CW-30-22 M30x2 22 22 12 27 13.5 30 32 36
1CW-30-25 M30x2 22 25 12 31 13.5 30 32 36 16
1CW-36-28 M36x2 28 28 12 32 16.5 33 38 41 5%%’;:5[]
1CW-45-35 M45X2 35 35 14 40 14.5 36 46 50
1CW-52-42 M52X2 42 42 16 46 16 39 55 60
1DW-14-06 M14x1.5 6 6 7 11 11 26 14 17
1DW-16-08 M16x1.5 8 8 8 13 13 28 17 | 19 63
1DW-18-10 M18x1.5 10 10 8 15 12.5 29 19 22 BRI
1DW-20-12 M20x1.5 12 12 10 17 | 145 31 o2 | 24 S
1DW-22-14 M22x1.5 14 14 10 19 16 34 24 27
1DW-24-16 M24x1.5 16 16 10 21 515 34 27 30
1DW-30-20 M30x2 20 20 12 26 17.5 39 32 36 40
1DW-36-25 M36x2 25 25 12 31 20 44 41 46 ® iZﬂJ
1DW-42-30 M42x2 30 30 14 36 20.5 47 46 50
1DW-52-38 M52X2 38 38 16 44 23 54 55 | 60 | 315&ZJIS

I WETFERFERSEEITE, WEEKRSEM “RN” ,211C9-30RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1C9-30RN.

A23



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

90° R EiEL

90°WELD FITTINGS

D
o2
S2 | E[
%) | o
]
w| 1AL 5 - T,
| s
1
L1
1CW9/1DW9 1CW9-RN/1DW9-RN
g = 12 40 THREAD &F4ME TUBE O.D. R s+ DIMENSIONS EHEE
PART NO. E D1 D2 B B1 D 11 L1 S1 | s2 MPa
1CW9-12-06 M12x1.5 6 6 15 7 10 13 28 11 | 14
1CW9-14-08 M14x1.5 8 8 18.5 8 12 | 155 | 305 | 14 | 17
1CW9-16-10 M16x1.5 10 10 19.5 8 14 | 175 | 325 | 16 | 19 315
1CW9-18-12 M18x1.5 12 12 21 8 16 19 34 19 | 22 gfﬁu
1CW9-22-15 M22x1.5 15 15 25.5 10 19 22 37 22 | 27
1CW9-26-18 M26X1.5 18 18 28 10 22 | 255 42 27 | 32
1CW9-26-22 M26X1.5 18 22 28 10 27 | 255 42 27 | 32
1CW9-30-22 M30x2 22 22 32 12 27 | 293 | 458 | 30 | 36
1CW9-30-25 M30x2 22 25 32 12 31 | 203 | 458 | 30 | 36 %:%u
1CW9-36-28 M36x2 28 28 355 12 32 36 528 | 36 | 41 L
1CW9-45-35 M45X2 35 35 45 14 40 | 39.2 | 60.7 | 48 | 50
1CW9-52-42 M52X2 42 42 48.5 16 46 | 405 | 635 | 50 | 60
1DW9-14-06 M14x1.5 6 6 17.5 7 11 | 175 | 325 | 14 | 17
1DW9-16-08 M16x1.5 8 8 19.5 8 13 | 187 | 337 | 16 | 19 63
1DW9-18-10 M18x1.5 10 10 21 8 15 | 195 36 19 | 22 BRI
1DW9-20-12 M20x1.5 12 12 23 10 17 | 195 36 19 | 24 S
1DW9-22-14 M22x1.5 14 14 25.5 10 19 23 4 22 | 27
1DW9-24-16 M24x1.5 16 16 26.5 10 21 24 425 | 24 | 30
1DW9-30-20 M30x2 20 20 32 12 26 28 49.5 30 36 40
1DW9-36-25 M36x2 25 25 35.5 12 31 32.8 56.8 36 46 = i?‘]
1DW9-42-30 M42x2 30 30 39.5 14 36 36.2 62.7 41 50
1DW9-52-38 M52X2 38 38 485 16 44 | 415 | 725 | 50 | 60 31.5E &3S

iE: MEHFERFERSEEITR, WEEKSEM “BN” , #11DW9-20-12RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1DW9-20-12RN.

A24



A25

DIN FEREi%k

DIN BIT TYPE TUBE FITTINGS

STRAIGHT BULKHEAD FITTINGS

£ &b i Jx

XINDU HYDRAULIC

L1

i

:IL o
sz S3
1C-YID-Y 1C-Y/RN
1D-Y/RN

= 48 47 THREAD & F5ME TUBE O.D. R <t DIMENSIONS EHER
PART NO. E F D1 D2 11 L1 d 82,53 MPa

1C-12Y M12X1.5 M12X1.5 6 6 56 85 18 14

1C-14Y M14X1.5 M14X1.5 8 8 56 85 20 17

1C-16Y M16X1.5 M16X1.5 10 10 58 87 22 19 4‘2:@1

1C-18Y M18X1.5 M18X1.5 12 12 58 87 25 22 L

1C-22Y M22X1.5 M22X1.5 15 15 70 100 | 28 27

1C-26Y M26X1.5 M26X1.5 18 18 69 101 | 32 32

1C-30Y M30X2 M30X2 22 22 73 105 | 36 36

1C-36Y M36X2 M36X2 28 28 73 106 | 40 41 ﬁgﬁ '

1C-45Y M45X2 M45X2 35 35 71 114 | 50 50 L

1C-52Y M52X2 M52X2 42 42 70 115 | 60 60

1D-14Y M14X1.5 M14X1.5 6 6 60 89 20 17

1D-16Y M16X1.5 M16X1.5 8 8 60 89 22 19 63

1D-18Y M18X1.5 M18X1.5 10 10 59 91 25 22 ER7

1D-20Y M20X1.5 M20X1.5 12 12 59 o1 28 24 S

1D-22Y M22X1.5 M22X1.5 14 14 72 107 | 30 27

1D-24Y M24X1.5 M24X1.5 16 16 71 107 | 35 30

1D-30Y M30X2 M30X2 20 20 71 114 | 38 36 E‘% '

1D-36Y M36X2 M36X2 25 25 72 120 | 45 46 S

1D-42Y M42x2 M42Xx2 30 30 73 126 | 50 50

1D-52Y M52X2 M52X2 38 38 72 133 | 60 60 31.5 ERFIS

E: WETFERFEERERITS, WEEKRSEMN “RN” ,A11CY-30RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 1CY-30RN.



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

B E RN R iR

BSP THREAD WITH CAPTIVE SEAL

A L1
SNt
=
[ :
60°w || : H;‘ =
|
f \%4)\
S P
S1 S2

2BC-WD/2BD-WD

= #2 4 THREAD &ETHMETUBE O.D. R < DIMENSIONS EHER

PART NO. E F D1 A L1 St s2 MPa
2BC-02-12WD G1/8"X28 M12X1.5 6 8 245 14 14
2BC-04-14WD G1/4"X19 M14X1.5 8 12 29.5 19 17
2BC-04-16WD G1/4"X19 M16X1.5 10 12 27.5 19 19 é;ﬁu
2BC-06-18WD G3/8"X19 M18X1.5 12 12 34 22 22 L
2BC-08-22WD G1/2"X14 M22X1.5 15 14 32 27 27
2BC-08-26WD G1/2"'X14 M26X1.5 18 14 315 27 32
2BC-12-30WD G3/4"X14 M30X2 22 16 32.5 32 36
2BC-16-36WD G1"X11 M36X2 28 18 35 41 41 %;{fﬂ
2BC-20-45WD G1.1/4"X11 M45X2 35 20 425 50 50 L
2BC-24-52WD G1.1/2"X11 M52X2 42 22 46.5 55 60
2BD-04-14WD G1/4"X19 M14X1.5 6 12 27 19 17
2BD-04-16WD G1/4"X19 M16X1.5 8 12 29.5 19 19 63
2BD-06-18WD G3/8"X19 M18X1.5 10 12 32 22 22 BRI
2BD-06-20WD G3/8"X19 M20X1.5 12 12 34 22 24 S
2BD-08-22WD G1/2"X14 M22X1.5 14 14 36.5 27 27
2BD-08-24WD G1/2"X14 M24X1.5 16 14 37 27 30
2BD-12-30WD G3/4"X14 M30X2 20 16 43 32 36 E‘%{J
2BD-16-36WD G1"X11 M36X2 25 18 48 41 46 s
2BD-20-42WD G1.1/4"X11 M42X2 30 20 51 50 50
2BD-24-52WD G1.1/2"X11 M52X2 38 22 60 55 60 31.5E RIS

A26



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A FMRL RO EE IR T L

REDUCER TUBE ADAPTOR WITH SWIVEL NUT

2C 2C-RN

g =2 #2 %7 THREAD &F4MZ TUBE O.D. R <t DIMENSIONS EhHEg
PART NO. E F D1 D2 j] L1 St S2 33 MPa
2C-12-14 M12X1.5 M14X1.5 6 8 23.5 38 12 14 17
2C-12-16 M12X1.5 M16X1.5 6 10 25 40 14 14 19
2C-14-16 M14X1.5 M16X1.5 8 10 25 40 14 17 19
2C-12-18 M12X1.5 M18X1.5 6 12 25 40 17 14 22
2C-14-18 M14X1.5 M18X1.5 8 12 25 40 17 17 22 315
2C-16-18 M16X1.5 M18X1.5 10 12 26 41 17 19 22 5’:‘%5']
2C-12-22 M12X1.5 M22X1.5 6 15 28.5 43 19 14 27 L
2C-14-22 M14X1.5 M22X1.5 8 15 28.5 43 19 17 27
2C-16-22 M16X1.5 M22X1.5 10 15 29.5 44 19 19 27
2C-18-22 M18X1.5 M22X1.5 12 15 29.5 44 19 22 27
2C-12-26 M12X1.5 M26X1.5 6 18 28 43 24 14 32
2C-22-26 M22X1.5 M26X1.5 15 18 30 45 24 27 32
2C-12-30 M12X1.5 M30X2 6 22 32 47 27 14 36
2C-14-30 M14X1.5 M30X2 8 22 32 47 27 17 36
2C-16-30 M16X1.5 M30X2 10 22 33 48 27 19 36
2C-18-30 M18X1.5 M30X2 12 22 88 48 27 22 36
2C-22-30 M22X1.5 M30X2 15 22 34 49 27 27 36
2C-26-30 M26X1.5 M30X2 18 22 33.5 50 27 32 36
2C-12-36 M12X1.5 M36X2 6 28 34 49 36 14 41
2C-14-36 M14X1.5 M36X2 8 28 34 49 36 17 41
2C-16-36 M16X1.5 M36X2 10 28 35 50 36 19 41
2C-18-36 M18X1.5 M36X2 12 28 35 50 36 22 41
2C-22-36 M22X1.5 M36X2 15 28 36 51 36 27 41
2C-26-36 M26X1.5 M36X2 18 28 35.5 52 36 32 41
2C-30-36 M30X2 M36X2 22 28 37.5 54 36 36 41
2C-12-45 M12X1.5 M45X2 6 35 37 52 41 14 50 16
2C-14-45 M14X1.5 M45X2 8 35 37 52 41 17 50 225
2C-16-45 M16X1.5 M45X2 10 35 38 53 41 19 50 L
2C-18-45 M18X1.5 M45X2 12 35 38 53 41 22 50
2C-22-45 M22X1.5 M45X2 15 85) 39 54 41 27 50
2C-26-45 M26X1.5 M45X2 18 35 38.5 55 41 32 50
2C-30-45 M30X2 M45X2 22 35 40.5 57 41 36 50
2C-36-45 M36X2 M45X2 28 35 40.5 57 41 41 50
2C-12-52 M12X1.5 M52X2 6 42 40.5 55 50 14 60
2C-14-52 M14X1.5 M52X2 8 42 40.5 55 50 17 60
2C-16-52 M16X1.5 M52X2 10 42 415 56 50 19 60
2C-18-52 M18X1.5 M52X2 12 42 41.5 56 50 22 60
2C-22-52 M22X1.5 M52X2 15 42 425 58 50 27 60
2C-26-52 M26X1.5 M52X2 18 42 42 58 50 32 60
2C-30-52 M30X2 M52X2 22 42 44 60 50 36 60
2C-36-52 M36X2 M52X2 28 42 44 61 50 41 60
2C-45-52 M45X2 M52X2 35 42 43 65 50 50 60

I MERFERFERSEEITR, WEEKSEM “RN” , #12C-30-52RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 2C-30-52RN.




DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

IMBEAERAEERIESL 90° 5

REDUCER TUBE ADAPTOR WITH SWIVEL NUT 90° ELBOW

F D2
S f—i RIRES
! |
. T,
. Yy
| o A | i
w —#— = 1
ez "
‘ L1
2C9/2D9 2C9-RN/2D9-RN
R =2 12 4 THREAD &Mz TUBE O.D. R <t DIMENSIONS FEHER
PART NO. E F D1 D2 X L1 L2 s1 | s2 s3 il
2C9-12 Mi2X15 | M12X15 6 6 12 27 26 12 | 14 14
2C9-14 M14X1.5 |  M14X1.5 8 8 14 20 | 275 | 12 | 17 17
2C9-16 M16X1.5 | M16X1.5 10 10 15 30 29 14 | 19 19 %:ﬁlj
2C9-18 M18X1.5 | M18X1.5 12 12 17 32 | 205| 17 | 22 22 L
2C9-22 M22X1.5 | M22X1.5 15 15 21 3 | 325 | 19 | 27 27
2C9-26 M26X15 | M26X1.5 18 18 235 | 40 | 355 | 24 | 32 32
2C9-30 M30X2 M30X2 22 22 275 | 44 | 385 | 27 | 36 36
2C9-36 M36X2 M36X2 28 28 3.5 | 47 | 415 | 36 | 41 41 16
2C9-45 M45X2 M45X2 35 35 345 | 56 51 41 | 50 50 | BRIIL
2C9-52 M52X2 M52X2 42 42 40 63 56 50 | 60 60
2D9-14 M14X1.5 | M14X1.5 6 6 16 31 27 12 | 17 17
2D9-16 M16X1.5 | M16X1.5 8 8 17 32 | 275 | 14 | 19 19 63
2D9-18 M18X1.5 | Mi8X1.5 10 10 175 | 34 30 17 | 22 22 £
2D9-20 M20X15 | M20X1.5 12 12 215 | 38 31 17 | 24 24 s
2D9-22 M22X1.5 | M22X1.5 14 14 22 40 35 19 | 27 27
2D9-24 M24X1.5 | M24X1.5 16 16 245 | 43 | 365 | 24 | 30 30
2D9-30 M30X2 M30X2 20 20 265 | 48 | 445 | 27 | 36 36 E%u
2D9-36 M36X2 M36X2 25 25 30 54 50 36 | 46 46 s
2D9-42 M42X2 M42X2 30 30 365 | 62 55 41 | 50 50
2D9-52 M52X2 M52X2 38 38 41 72 63 50 | 60 60 | 31.5ERIIS

I MESTFERFERSEEITSR, WFERSEM “RN” , I12C9-30RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 2C9-30RN.

A28



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A FMRL RO EE IR T L

REDUCER TUBE ADAPTOR WITH SWIVEL NUT

L1
11
R
A | N
o E)* | ﬁo
)
J
T \s2 S1\83
2D 2D-RN
g = #2 4 THREAD &F4M2 TUBE O.D. R <t DIMENSIONS EHER

PART NO. E F D1 D2 11 L1 S1 s2 S3 MPa
2D-14-16 M14X1.5 M16X1.5 6 8 27 42 14 17 19
2D-14-18 M14X1.5 M18X1.5 6 10 27.5 42 17 17 22
2D-16-18 M16X1.5 M18X1.5 8 10 27.5 42 17 19 22
2D-14-20 M14X1.5 M20X1.5 6 12 29 44 17 17 24 63
2D-16-20 M16X1.5 M20X1.5 8 12 29 44 17 19 24 E%5)
2D-18-20 M18X1.5 M20X1.5 10 12 31 46 19 22 24 S
2D-14-22 M14X1.5 M22X1.5 6 14 315 46 19 17 27
2D-16-22 M16X1.5 M22X1.5 8 14 315 46 19 19 27
2D-18-22 M18X1.5 M22X1.5 10 14 31 47 19 22 27
2D-20-22 M20X1.5 M22X1.5 12 14 31 47 22 24 27
2D-14-24 M14X1.5 M24X1.5 6 16 32 47 22 17 30
2D-16-24 M16X1.5 M24X1.5 8 16 32 47 22 19 30
2D-18-24 M18X1.5 M24X1.5 10 16 31.5 48 22 22 30
2D-20-24 M20X1.5 M24X1.5 12 16 33.5 50 oD 24 30
2D-22-24 M22X1.5 M24X1.5 14 16 33 51 24 27 30
2D-14-30 M14X1.5 M30X2 6 20 36 51 27 17 36
2D-16-30 M16X1.5 M30X2 8 20 36 51 27 19 36
2D-18-30 M18X1.5 M30X2 10 20 355 52 27 22 36
2D-20-30 M20X1.5 M30X2 12 20 35.5 52 27 24 36
2D-22-30 M22X1.5 M30X2 14 20 37 55 27 27 36
2D-24-30 M24X1.5 M30X2 16 20 37.5 55 30 30 36
2D-14-36 M14X1.5 M36X2 6 25 38.5 53 36 17 46
2D-16-36 M16X1.5 M36X2 8 25 38.5 53 36 19 46 E‘gﬂ
2D-18-36 M18X1.5 M36X2 10 25 38 54 36 2 46 s
2D-20-36 M20X1.5 M36X2 12 25 38 54 36 24 46
2D-22-36 M22X1.5 M36X2 14 25 39.5 57 36 27 46
2D-24-36 M24X1.5 M36X2 16 25 39 57 36 30 46
2D-30-36 M30X2 M36X2 20 25 39 61 36 36 46
2D-14-42 M14X1.5 M42X2 6 30 44 59 41 17 50
2D-16-42 M16X1.5 M42x2 8 30 44 59 41 19 50
2D-18-42 M18X1.5 M42X2 10 30 435 60 41 22 50
2D-20-42 M20X1.5 M42X2 12 30 435 60 41 24 50
2D-22-42 M22X1.5 M42X2 14 30 45 63 41 27 50
2D-24-42 M24X1.5 M42X2 16 30 445 63 41 30 50
2D-30-42 M30X2 M42X2 20 30 445 66 41 36 50
2D-36-42 M36X2 M42X2 25 30 44 69 41 46 50
2D-14-52 M14X1.5 M52X2 6 38 475 62 50 17 60
2D-16-52 M16X1.5 M52X2 8 38 475 62 50 19 60
2D-18-52 M18X1.5 M52X2 10 38 47 63 50 22 60
2D-20-52 M20X1.5 M52X2 12 38 47 63 50 24 60 315
2D-22-52 M22X1.5 M52X2 14 38 485 66 50 27 60 EE
2D-24-52 M24X1.5 M52X2 16 38 48 66 50 30 60 S
2D-30-52 M30X2 M52X2 20 38 48 70 50 36 60
2D-36-52 M36X2 M52X2 25 38 48.5 73 50 46 60
2D-42-52 M42X2 M52X2 30 38 49 76 50 50 60

i MEHFERFEESEERITS, MEEKSEM “RN” ,102D-30-52RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our part no., for
example 2D-30-52RN.

A29



DIN FEREi&k

DIN BIT TYPE TUBE FITTINGS

£ &b i Jx

XINDU HYDRAULIC

HEIRY O BB H iR
BSP THREAD STUD ENDS WITH O-RING SEALING

A L1

\ AN\ “J\
| —
W - - - Lr— A Wb

g
S1 S2
2GC/2GD
g = #2 4 THREAD &F45MZ TUBE O.D. R ~f DIMENSIONS ENER
PART NO. E F D1 A L1 st s2 MPa

2GC-02-12 | G1/8"X28 M12X1.5 6 9.5 20.5 14 14
2GC-04-14 | G1/4"X19 M14X1.5 8 10 23.5 19 17
2GC-04-16 | G1/4"X19 M16X1.5 10 10 24 19 19 %3;;5%
2GC-06-18 | G3/8"X19 M18X1.5 12 1.5 255 22 22 L
2GC-08-22 | G1/2'X14 M22X1.5 15 14 28.5 27 27
2GC-08-26 | G1/2'X14 M26X1.5 18 14 29 27 32
2GC-12-30 | GB3/4"X14 M30X2 22 15.5 32 32 36
2GC-16-36 G1"X11 M36X2 28 18 35 41 41 5;; 5
2GC-20-45 | G1.1/4"X11 M45X2 35 20 38 50 50 L
2GC-24-52 | G1.1/2"X11 M52X2 42 215 415 55 60
2GD-04-14 | G1/4"X19 M14X1.5 6 10 23 19 17
2GD-04-16 | G1/4"X19 M16X1.5 8 10 26 19 19 63
2GD-06-18 | G3/8"X19 M18X1.5 10 1.5 25 22 22 BRI
2GD-06-20 | G3/8"X19 M20X1.5 12 1.5 28.5 22 24 S
2GD-08-22 | G1/2'X14 M22X1.5 14 14 31.5 27 27
2GD-08-24 | G1/2'X14 M24X1.5 16 14 30 27 30
2GD-12-30 | GB3/4"X14 M30X2 20 15.5 36 32 36 E‘%u
2GD-16-36 G1"X11 M36X2 25 18 38.5 41 46 s
2GD-20-42 | G1.1/4"X11 M42X2 30 20 42 50 50
2GD-24-52 | G1.1/2"X11 M52X2 38 215 475 55 60 31.5E&5IS

I MFHFFERFERSER]

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our

%, MIFERSEM “RN” |, #112C9-30RN,

part no., for example 2C9-30RN.

A30



DIN FEREi%k

DIN BIT TYPE TUBE FITTINGS

EHJIC 74° R H

JIC 74°CONE SEALING

£ &b i Jx

XINDU HYDRAULIC

2JC/2JD
K = 2 47 THREAD BF4ME TUBE OD. R ~f DIMENSIONS EHEE
PART NO. E E D1 A L1 S s2 MPa
2JC-04-12 716"X20 M12x1.5 6 14 235 14 17
2JC-04-14 716"X20 M14X1.5 8 14 215 14 19
2JC—-05-14 1/2"X20 M14X1.5 8 14 215 14 19
2JC—-05-16 1/2"X20 M16X1.5 10 14 22 17 22
2JC—-06-14 9/16"X18 M14X1.5 8 14.1 215 17 19
2JC-06-16 9/16"X18 M16X1.5 10 14.1 22 17 22 315
2JC-06-18 9/16"X18 M18X1.5 12 14.1 22 17 24 BR75
2JC-08-18 3/4"X16 M18X1.5 12 16.7 23 22 24 L
2JC-08-22 3/4"X16 M22X1.5 15 16.7 25.5 22 27
2JC-10-22 7/8"X14 M22X1.5 15 19.3 255 24 27
2JC-10-26 7/8"X14 M26X1.5 18 19.3 26 27 32
2JC-12-26 1.1/16"X12 M26X1.5 18 21.9 26 30 32
2JC-12-30 1.1/16"X12 M30X2 22 21.9 29 30 36
2JC-12-30D 1.1/16"X12 M30X1.5 22 21.9 29 30 36
2JC-16-36 1.5/16X12 M36X2 28 23.1 32 36 4
2JC-16-36D 1.5/16X12 M36X1.5 28 23.1 32 36 4 E;;ﬂ
2JC-16-45 1.5/16X12 M45X2 35 23.1 39 41 50 T
2JC-16-45D 1.5/16X12 M45X1.5 35 23.1 39 41 50
2JC-20-45 1.5/8"X12 M45X2 35 24.3 39 46 50
2JC-20-52 1.5/8"X12 M52X2 42 24.3 43 50 60
2JC—24-52 1.7/8"X12 M52X2 42 275 43 50 60
2JD-04-14 716"X20 M14X1.5 6 14 24 14 17
2JD-04-16 716"X20 M16X1.5 8 14 245 17 19
2JD-04-18 7/16"X20 M18X1.5 10 14 225 17 24
2JD-05-18 1/2"X20 M18X1.5 10 14 225 17 24 63
2JD-06-16 9/16"X18 M16X1.5 8 14.1 245 17 19 BE5
2JD-06-18 9/16"X18 M18X1.5 10 14.1 225 17 24 S
2JD-06-20 916"X18 M20X1.5 12 14.1 24 19 27
2JD-06-22 916"X18 M22X1.5 14 14.1 28,5 22 27
2JD-08-22 3/4"X16 M22X1.5 14 16.7 28,5 22 27
2JD-08-24 3/4"X16 M24X1.5 16 16.7 27 24 30
2JD-10-30 7/8"X14 M30X2 20 19.3 31 30 36
2JD-10-36 7/8"X14 M36X2 25 19.3 345 36 46
2JD-12-30 1.1/16"X12 M30X2 20 21.9 31 30 36 40
2JD-12-36 1.1/16"X12 M36X2 25 21.9 345 36 46 BRI
2JD-16-42 1.5/16"X12 M42X2 30 23.1 435 41 50 s
2JD-20-42 1.5/8"X12 M42X2 30 24.3 43 46 50
2JD-20-52 1.5/8"X12 M52X2 38 24.3 475 50 60
2JD-24-52 1.7/8"X12 M52X2 38 275 47 50 60




DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

2 RS R T i

METRIC THREAD WITH CAPTIVE SEAL

A | L1
r77
NR-E
i
60°w || : H;‘ LB

|
\ f w}%i\
© mu,

S1 S2

2MC-WD/2MD-WD

K= # 4 THREAD &FSMETUBE O.D. R <t DIMENSIONS EHEE
PART NO. E F D1 A L1 S1 S2 MPa
2MC-10-12WD M10X1 M12X1.5 6 8 24.5 14 14
2MC-12-14WD M12X1.5 M14X1.5 8 12 26.5 17 17
315
2MC-14-16WD M14X1.5 M16X1.5 10 12 27.5 19 19 2751
2MC-16-18WD M16X1.5 M18X1.5 12 12 30.5 22 22 L
2MC-18-22WD M18X1.5 M22X1.5 15 12 31.5 24 27
2MC-22-26WD M22X1.5 M26X1.5 18 14 31.5 27 32
2MC-26-30WD M26X1.5 M30X2 22 16 32.5 32 36
2MC-33-36WD M33X2 M36X2 28 18 35 41 41 $§1%U
2MC-42-45WD M42X2 M45X2 35 20 425 50 50 L
2MC-48-52WD M48X2 M52X2 42 22 46.5 55 60
2MD-12-14WD M12X1.5 M14X1.5 6 12 27 17 17
2MD-14-16WD M14X1.5 M16X1.5 8 12 295 19 19 63
2MD-16-18WD M16X1.5 M18X1.5 10 12 32 22 22 E?‘J
2MD-18-20WD M18X1.5 M20X1.5 12 12 34 24 24
2MD-20-22WD M20X1.5 M22X1.5 14 14 36.5 27 27
2MD-22-24WD M22X1.5 M24X1.5 16 14 37 27 30
2MD-27-30WD M27X2 M30X2 20 16 43 32 36 E‘;:ﬂ
2MD-33-36WD M33X2 M36X2 25 18 48 41 46 s
2MD-42-42WD M42X2 M42X2 30 20 51 50 50
2MD-48-52WD MA48X2 M52X2 38 22 60 55 60 |31.5ERFIS

A32



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A IR

WELD FITTINGS

L
ng-———- - 8 24°
2WC/2WD
R =2 #2 4 THREAD HFR~F TUBE SIZE R s DIMENSIONS EHEG

AR Lex F Dixt L DO D2 s2 MPa
2WC-6X1.5 M12X1.5 6X1.5 30 25 6 14

SWC-8X2.0 M14X1.5 8X2.0 30 4 8 17
2WC-10X2.0 M16X1.5 10X2.0 31 6 10 19 25
SWC-12X2.0 M18X1.5 12X2.0 31 7.5 12 22 BRIIL
2WC-15X2.0 M22X1.5 15X2.0 35 10 15 27
2WC-18X2.0 M26X1.5 18X2.0 35 13 18 32
SWC—-29X2.0 M30X2 22X2.0 35 17 22 36
2WGC_28X2.5 M36X2 28X2.5 41 23 28 41 g;fg '
2WC-35X3.0 M45X2 35X3.0 48 29 35 50 L
2WC—-42X3.0 M52X2 42X3.0 50.5 36 42 60

2WD-6X1.5 M14X1.5 6X1.5 28.5 25 6 17

2WD-8X2.0 M16X1.5 8X2.0 29 4 8 19
2WD-10X1.0 M18X1.5 10X1.0 32 6.5 10 22 63
2WD-10X1.5 M18X1.5 10X1.5 32 6.5 10 22 EEF|
SWD-10X2.0 M18X1.5 10X2.0 32 6 10 22 s
2WD-12X1.5 M20X1.5 12X1.5 32.5 8 12 27
2WD-12X2.0 M20X1.5 12X2.0 325 8 12 27
2WD-12X2.5 M20X1.5 12X2.5 32.5 7 12 27
2WD-16X1.5 M24X1.5 16X1.5 39 13 16 30
2WD-16X2.0 M24X1.5 16X2.0 39 12 16 30
SWD-16X2.5 M24X1.5 16X2.5 39 1 16 30
2WD-16X3.0 M24X1.5 16X3.0 39 10 16 30
2WD-20X2.0 M30X2 20X2.0 43 15 20 36
SWD-20X2.5 M30X2 20X2.5 43 15 20 36 40
2WD-20X3.0 M30X2 20X3.0 43 14 20 36 BRI
SWD-20X4.0 M30X2 20X4.0 43 12 20 36 s
2WD-25X2.5 M36X2 25X2.5 50 20 25 46
2WD-25X3.0 M36X2 25X3.0 50 19 25 46
2WD-25X4.0 M36X2 25X4.0 50 17 25 46
2WD-25X5.0 M36X2 25X5.0 50 15 25 46
2WD-30X3.0 M42X2 30X3.0 52 24 30 50
SWD-30X4.0 M42X2 30X4.0 52 22 30 50
2WD-30X5.0 M42X2 30X5.0 52 20 30 50 25
2WD-_30X6.0 M42X2 30X6.0 52 18 30 50 EE]
SWD-38X4.0 M52X2 38X4.0 56.5 30 38 60 S
2WD-38X5.0 M52X2 38X5.0 56.5 28 38 60
2WD-38X6.0 M52X2 38X6.0 56.5 26 38 60
>WD-38X7.0 M52X2 38X7.0 56.5 24 38 60

A33



DIN FEREi&k

DIN BIT TYPE TUBE FITTINGS

AR B &k

STRAIGHT TUBE ADAPTERS WITH SWIVEL NUT

L1

L2

£ &b i Jx

XINDU HYDRAULIC

g = #2 40 THREAD #F 412 TUBE O.D. R < DIMENSIONS EheEg
PR O, EF D1,D2 L1 L2 51,52 MPa

3c-12 M12X1.5 6 33 32 14
3C-14 M14X1.5 8 33 32 17

315
3C-16 M16X1.5 10 34 33 19 G
3Cc-18 M18X1.5 12 34 33 22 L
3C-22 M22X1.5 15 39 38 27
3C-26 M26X1.5 18 41 39 32
3C-30 M30X2 22 44 42 36

16
3C-36 M36X2 28 48 46 46 a2
3C-45 M45X2 35 52 48 50 L
3C-52 M52X2 42 57 52 60
3D-14 M14X1.5 6 33 32 17
3D-16 M16X1.5 8 34 33 19 63
3D-18 M18X1.5 10 35 33 22 E?’"
3D-20 M20X1.5 12 38 36 24
3D-22 M22X1.5 14 41 39 27
3D-24 M24X1.5 16 42 39 30

40
3D-30 M30X2 20 48 44 36 B2
3D-36 M36X2 25 53 46 46 s
3D-42 M42X2 30 62 52 50
3D-52 M52X2 38 67 52 60 31.5B %3S

A34



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A &k

PLUG
L1
S2 11
NN /g
S0 I I
4C/4D 4C-RN/4D-RN

K = 48 47 THREAD &F5ME TUBE O.D. R < DIMENSIONS EHEg
PART NO. E D1 » L1 S1 s MPa
4C-12 M12x1.5 6 7 22 12 14

4C-14 M14x1.5 8 8 23 14 17

4C-16 M16x1.5 10 9 24 17 19 315
4C-18 M18x1.5 12 10 25 19 22 Eé?fﬁu
4C-22 M22x1.5 15 11 26 24 27

4C-26 M26X1.5 18 1.5 28 27 32

4C-30 M30x2 22 13,5 30 32 36

4C-30D M30x1.5 22 135 30 32 36

4C-36 M36x2 28 145 31 4 41 16
4C-36D M36x1.5 28 14.5 31 41 41 23]
4C-45 M45X2 35 145 36 46 50 -
4C-45D M45X1.5 35 145 36 46 50

4C-52 M52X2 42 16 39 55 60

4D-14 M14X1.5 6 11 26 14 17

4D-16 M16X1.5 8 13 28 17 19 .
4D-18 M18x1.5 10 125 29 19 22 575
4D-20 M20x1.5 12 145 31 22 24 S
4D-22 M22x1.5 14 16 34 24 27

4D-24 M24x1.5 16 155 34 27 30

40

4D-30 M30x2 20 175 39 32 36 gy
4D-36 M36x2 25 20 44 38 46 S
4D-42 M42x2 30 205 47 46 50

4D-52 M52X2 38 23 54 55 60 31.5ERFIS

i MEFFERFERSEEITSR, WEEKS/EM “RN” , 10 4C-30RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 4C-30RN.

A35



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

RERRS R

BSP FEMALE STUD FITTINGS

L1

=
=
}_
N

S2 S
5CB/5DB 5CB-RN/5DB-RN
® = 2 47 THREAD &FHME TUBE O.D. R ~t DIMENSIONS EHZR
PART NO. E F D1 B | I L1 st | s2 MPa
5CB-12-02 M12X1.5 G1/8"X28 6 12 | 19 | 34 14 | 14
5CB-12-04 Mi2X1.5 G1/4"X19 6 16 | 23 | 36 19 | 17
5CB-14-04 M14X1.5 G1/4"X19 8 17 | 24 | 39 19 | 17
5CB-14-06 M14X1.5 G3/8"X19 8 17 | 25 | 40 24 | 17
5CB-14-08 M14X1.5 G1/2"X14 8 20 | 29 | 44 27 | 17
5CB-16-04 M16X1.5 G1/4"X19 10 17 | 25 | 40 19 | 19
5CB-16-06 M16X1.5 G3/8"X19 10 17 | 26 | 41 24 | 19 815
BRI
5CB-16-08 M16X1.5 G1/2'X14 10 20 | 30 | 45 27 | 19 L
5CB-18-04 M18X1.5 G1/4"X19 12 17 | 23 | 38 19 | 22
5CB-18-06 M18X1.5 G3/8"X19 12 17 | 26 | 41 24 | 22
5CB-18-08 M18X1.5 G1/2'X14 12 20 | 30 | 45 27 | 22
5CB-22-06 M22X1.5 G3/8"X19 15 17 | 28 | 43 24 | 27
5CB-22-08 M22X1.5 G1/2"X14 15 20 | 3t 46 27 | 27
5CB-26-08 M26X1.5 G1/2"'X14 18 20 305 | 47 27 | 32
5CB-30-12 M30X2 G3/4"X14 22 22 355 | 52 36 | 36
5CB-36-16 M36X2 G1"X11 28 245 | 38 | 55 a1 | 4 16
BRI
5CB-45-20 M45X2 G1.1/4"X11 35 265 | 41 63 55 | 50 L
5CB-52-24 M52X2 G1.1/2"X11 42 285 |425 | 65 60 | 60
5DB-14-04 M14X1.5 G1/4"X19 6 17 | 26 | 41 19 | 17
5DB-16-04 M16X1.5 G1/4"X19 8 17 | 26 | 41 19 | 19
5DB-18-06 M18X1.5 G3/8"X19 10 17 |265 | 43 24 | 22 E;SW
5DB-20-06 M20X1.5 G3/8"X19 12 17 |275 | 28 24 | 24 s
5DB-20-08 M20X1.5 G1/2'X14 12 20 |305 | 3t 24 | 24
5DB-22-08 M22X1.5 G1/2"X14 14 20 | 32 | 50 30 | 27
5DB-24-08 M24X1.5 G1/2'X14 16 20 315 | 50 30 | 30
5DB-30-12 M30X2 G3/4"X14 20 22 345 | 56 36 | 36 E;Oﬂ
5DB-36-16 M36X2 G1"X11 25 245 |375 | 62 41 | 48 s
5DB-42-20 M42Xx2 G1.1/4"X11 30 265 | 42 | 69 55 | 50
5DB-52-24 M52X2 G1.1/2"X11 38 285 |435 | 74 60 | 60 315ERFIS

I WERFERFEERSEEITS, WSEEKSEM “RN” , 10 5CB-45-20RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 5CB-45-20RN.

A36



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A 2 HI RS IR E Sk

METRIC FEMALE STUD FITTINGS

L1

7 :
T o

S2 S1
5CM/5DM 5CM-RN/5DM-RN

g = #2 5 THREAD &F5MZ TUBE O.D. R < DIMENSIONS EHEE
PART NO. E F D1 B 1 L1 s1 | s2 MPa
5CM-12-10 M12X1.5 M10X1 6 125|195 | 34 | 14 | 14
5CM-14-12 M14X1.5 M12X1.5 8 17 | 24 | 39 | 17 | 17
5CM-16-14 M16X1.5 M14X1.5 10 17 | 25 | 40 | 19 | 19 %2;’5[]
5CM-18-16 M18X1.5 M16X1.5 12 17 | 26 | 41 22 | 22 L
5CM-22-18 M22X1.5 M18X1.5 15 17 | 28 | 43 | 24 | 27
5CM-26-22 M26X1.5 M22X1.5 18 19 | 205| 46 | 30 | 32
5CM-30-26 M30X2 M26X1.5 22 21 | 345 | 51 32 | 36
5CM-36-33 M36X2 M33X2 28 24 | 375 | 54 | 41 | 41 ié:’;’lj
5CM-45-42 M45X2 M42x2 35 26 | 405| 62 | 55 | 50 L
5CM-52-48 M52X2 M48X2 42 28 | 42 | 65 | 60 | 60
5DM-14-12 M14X1.5 M12X1.5 6 17 | 26 | 41 17 | 17
5DM-16-14 M16X1.5 M14X1.5 8 17 | 26 | 41 19 | 19 63
5DM-18-16 M18X1.5 M16X1.5 10 17 | 265 | 43 | 22 | 22 BRI
5DM-20-18 M20X1.5 M18X1.5 12 17 | 275 | 44 | 24 | 24 S
5DM-22-20 M22X1.5 M20X1.5 14 19 | 31 | 49 | 27 | 27
5DM-24-22 M24X1.5 M22X1.5 16 19 | 305| 49 | 30 | 30
5DM-30-27 M30X2 M27X2 20 22 | 345 | 56 3 | 36 40 [
5DM-36-33 M36X2 M33X2 25 24 | 37 | 6t 41 | 46 Efﬂ

5DM-42 M42x2 M42x2 30 26 | 415| 68 | 55 | 50
5DM-52-48 M52X2 M48X2 38 28 | 43 | 74 | 60 | 60 25ERTIS

*: MERFERFEESEEITR, WEEKRSEN “RN” |, #1 5DM-30-27RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example 5DM-30-27RN.

A37



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

BB Rk

STRAIGHT BULKHEAD FITTINGS

Luj Tt

s2  \st @

6C 6C-LN 6C-RN 6C-LN/RN
6D 6D-LN 6D-RN 6D-LN/RN

Kk = #2 % THREAD #F5Mz TUBE O.D. R < DIMENSIONS [
PART NO. E E D1 D2 11 12 L1 L2 St | $2,83 | s4 MPa

6C-12 M12X1.5 | M12X1.5 6 6 7 27 | 22 42 | 17 14 17

6C—14 M14X15 | M14X15 8 8 8 27 | 23 42 | 19 17 | 19

6C-16 M16X1.5 | M16X1.5 10 10 10 28 | 25 43 | 22 19 22 él{gu

6C-18 M18X1.5 | M18X1.5 12 12 10 20 | 25 | 44 | 24 22 | 24 L

6C-22 M22X15 | M22X1.5 15 15 12 31 | 27 46 | 27 27 | 30

6C-26 M26X1.5 | M26X1.5 18 18 135 | 325 | 30 49 | 32 32 | 36

6C-30 M30X2 M30X2 22 22 165 | 345 | 33 51 | 36 3% | 41

6C-36 M36X2 M36X2 28 28 185 | 355 | 35 52 | 41 41 | 46 16

6C-45 M45X2 M45X2 35 35 185 | 365 | 40 58 | 50 50 | 55 | BRI

6C-52 M52X2 M52X2 42 42 19 36 | 42 50 | 60 60 | 65

6D-14 M14X15 | M14X15 6 6 12 20 | 27 4 | 19 17 | 19

6D-16 M16X1.5 | M16X1.5 8 8 13 20 | 28 | 44 | 22 19 | 22 63

6D-18 M18X15 | M18X1.5 10 10 145 | 295 | 31 46 | 24 22 | 24 | EES

6D-20 M20X15 | M20X1.5 12 12 145 | 305 | 31 47 | 27 24 | 27 S

6D-22 M22X1.5 | M22X1.5 14 14 17 32 | 35 50 | 30 27 | 30

6D-24 M24X15 | M24X1.5 16 16 165 | 315 | 35 50 | 32 30 | 32

6D-30 M30X2 M30X2 20 20 175 | 335 | 39 55 | 41 36 | 4 E‘%}J

6D-36 M36X2 M36X2 25 25 20 3 | 44 59 | 46 46 | 46 s

6D-42 M42X2 M42X2 30 30 215 | 375 | 48 64 | 50 50 | 50

6D-52 M52X2 M52X2 38 38 22 37 | 53 68 | 65 60 | 65 |31.5EZRAIS

i MEHGEITE, MEEKRSEM “LN” |, 81 6C-30LN; MEFFERFEZESITS, ERSEM “RN” , 11 6C-30RN; NFEHHIE
. FERFEZERITE, £RSEM “LN/RN” , f16C-30LN/RN,

Note: In case if you are interestedto order the adapter with lock nut,please insert suffix "LN" after our part no.for example 6C-30LN,order
the adapter with cutting ring and nut,insert suffix "RN" after part no.,for example 6C-30RN,order the adapter with lock nut and cutting ring
and nut,insert suffix "LN/RN" afterpart no.,for example 6C-30LN/RN.

A38



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A 90° S HRiZ:L
90° ELBOW BULKHEAD FITTINGS
F

—

S2
6C9 6C9-LN 6C9-RN 6C9-LN/RN
6D9 6D9-LN 6D9-RN 6D9-LN/RN

g = #2 4 THREAD &F5MZE TUBE O.D. R < DIMENSIONS EHZS
PART NO. E F D1 D2 I 2 | 1B | L1 | 2| St |s283| s4 MPa
6C9-12 M12X1.5 | M12X1.5 6 6 27 12 | 14 | 42 27 | 12 14 17

6C9-14 M14X1.5 | M14X1.5 8 8 27 14 | 17 | 42 29 | 12 17 19

6C9-16 M16X1.5 | M16X1.5 10 10 28 15 | 18 | 43 30 | 14 19 22 é;u
6C9-18 M18X1.5 | M18X1.5 12 12 29 17 | 20 | 44 32 17 22 24 L
6C9-22 M22X1.5 | M22X1.5 15 15 31 21 | 23 | 46 3 | 19 27 30

6C9-26 M26X1.5 | M26X1.5 18 18 325 | 235 | 24 | 49 40 | 24 32 36

6C9-30 M30X2 M30X2 22 22 345 | 275 | 30 51 a4 | 27 36 41

6C9-36 M36X2 M36X2 28 28 355 | 305 | 34 | 52 47 | 36 41 46 $§1,=§§u
6C9-45 M45X2 M45X2 35 35 365 | 345 | 39 | 58 56 41 50 55 L
6C9-52 M52X2 M52X2 42 42 36 40 | 43 | 59 63 | 50 60 65

6D9-14 M14X1.5 | M14X1.5 6 6 29 16 17 44 31 12 17 19

6D9-16 M16X1.5 | M16X1.5 8 8 29 17 | 18 | 44 32 14 19 22 63
6D9-18 M18X1.5 | M18X1.5 10 10 295 | 175 | 20 | 46 34 | 17 22 24 BRI
6D9-20 M20X1.5 | M20X1.5 12 12 305 | 215 | 21 47 38 | 17 24 27 s
6D9-22 M22X1.5 | M22X1.5 14 14 32 22 | 23 | 50 40 | 19 27 30

6D9-24 M24X1.5 | M24X1.5 16 16 315 | 245 | 24 | 50 43 | 24 30 32

6D9-30 M30X2 M30X2 20 20 335 | 265 | 30 | 55 48 | 27 36 41 E;??U
6D9-36 M36X2 M36X2 25 25 35 30 | 34 | 59 54 | 36 46 46 S
6D9-42 M42X2 M42X2 30 30 375 | 355 | 39 | 64 62 41 50 50

6D9-52 M52X2 M52X2 38 38 37 41 | 43 | 68 72 | 50 60 65 |31.5E&JIS

i MEHEITE, MEEKRSEM “LN” 316C9-30LN; METFERFEEEITH, ERSHEM “RN” ,q16C9-30RN; EHHiE
. FERFEZEITSR, #RSEM “LN/RN” , #16C9-30LN/RN,

Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our part no.for example 6C9-30LN,order
the adapter with cutting ring and nut,insert suffix "RN" after part no.,for example 6C9-30RN,order the adapter with lock nut and cutting ring
and nut,insert suffix "LN/RN" after part no.,for example 6C9-30LN/RN.

A39



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

KRN

METRIC LOCK NUT

® = 2 4 THREAD R <~ DIMENSIONS
PART NO. B A S1
8C-10 M10X1 6 14
8C-12 M12x1.5 7.5 17
8C-12(M12X1.25) M12X1.25 7.5 17
8C-14 M14x1.5 7.5 19
A 8C-16 M16x1.5 7.5 22
8C-16(A8.5) M16x1.5 8.5 22
8C-18 M18x1.5 7.5 24
8C-20 M20x1.5 8 27
8C-20(S24XA9) M20x1.5 9 24
w 8C-20(S30XA9) M20x1.5 9 30
8C-22 M22x1.5 8 27
( 8C-22(S30XA9) M22x1.5 9 30
8C-24 M24x1.5 8 30
S1 8C—26 M26x1.5 8 32
8C-27 M27x1.5 8 32
8C-27A M27x2 10 32
8C-30 M30x2 10 36
8C 8C-33 M33x2 10 41
8C-33A M33X1.5 10 41
8C-36 M36x2 10 41
8C-42 M42x2 10 50
8C-45 M45x2 10 55
8C-48 M48x2 10 55
8C-52 M52x2 10 60
8C-60 MB0x2 10 65
RIRSE Sk
FEMALE PLUG
® 5 #2 4 THREAD &FHMZE TUBE O.D. R ~t DIMENSIONS EHER
PART NO. E D L L1 s2 MPa
9C-12 M12X1.5 6 155 | 175 14
L1 9C-14 M14X1.5 8 15.5 18 17 ;
L 9c-16 M16X1.5 10 165 | 18 | 19 é%f;{]
9Cc-18 M18X1.5 12 18 | 195 | 22 L
™\ 9C-22 M22X1.5 15 195 | 20 27
(777 9C-26 M26X1.5 18 20 22 32
77 9C-30 M30X2 22 215 | 225 | 36
g 9C-36 M36X2 28 225 | 245 | 41 $§_1?§§u
L L A w 9C-45 M45X2 35 25 29 55 L
}‘ % \ 9C-52 M52X2 42 27 | 315 | 60
M I ‘%4/ 9D-14 M14X1.5 6 16 18 17
)\ I 9D-16 M16X1.5 8 165 | 185 | 19 63
L/ 9D-18 M18X1.5 10 18 20 22 ERY|
Jt 9D-20 M20X1.5 12 185 | 205 | 24 s
S2 9D-22 M22X1.5 14 19 | 215 | 27
9D-24 M24X1.5 16 185 | 215 | 30
9D-30 M30X2 20 225 | 25 36 E‘%U
9C/9D 9D-36 M36X2 25 235 | 285 | 46 s
9D-42 M42X2 30 255 | 32 50
9D-52 M52X2 38 26.5 36 60 31.5ERSIS

A40



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A ZiEiEk

EQUAL TEES

S3

L2

SR = e i
S2

il 13 S4
L1 L3
AC/AD AC-RN/AD-RN
g = 2 4L THREAD &F4ME TUBE O.D. R <t DIMENSIONS EHZER
PART NO. E.F.G D1,D2,D3 11,12,13 L1,L2,L3 S1 S2,53,54 MPa
AC-08 M8X1 4 11 21 9 10
AC-10 M10X1 5 9.5 21 9 12 10
AC-10LL M10X1 6 9.5 21 9 12 m?fﬁu
AC-12LL M12X1 8 1.5 23 12 14
AC-12 M12X1.5 6 12 27 12 14
AC-14 M14X1.5 8 14 29 12 17
AC-16 M16X1.5 10 15 30 14 19 25
AC-18 M18X1.5 12 17 32 17 22 E’Tﬂ
AC-22 M22X1.5 15 21 36 19 27
AC-26 M26X1.5 18 235 40 24 32
AC-30 M30X2 22 27.5 44 27 36
AC-36 M36X2 28 30.5 47 36 41 16
AC-45 M45X2 35 34.5 56 41 50 EE ]
AC-52 M52X2 42 40 63 50 60 L
AD-14 M14X1.5 6 16 31 12 17
AD-16 M16X1.5 8 17 32 14 19 63
AD-18 M18X1.5 10 17.5 34 17 22 E ]
AD-20 M20X1.5 12 21.5 38 17 24 S
AD-22 M22X1.5 14 22 40 19 27
AD-24 M24X1.5 16 24.5 43 24 30
AD-30 M30X2 20 26.5 48 27 36 40
AD-36 M36X2 25 30 54 36 46 iiﬁu
AD-42 M42x2 30 35.5 62 41 50
AD-52 M52X2 38 41 72 50 60 31.5E&5IS

i MERFERFERSEEITE, WEEKSEM “RN” IHAC-22RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example AC-22RN.

A41



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

ZiBAREERNTRREO KB =
BARREL TEE BSP THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING

D2
— "
‘ S2 |
_ | | 9
w| [N Lo - B
QLH i
L1 L3
ACCG-0G ACCG-OG/RN
ADDG-0G ADDG-OG/RN
g = ¥ 4 THREAD &F4Mz TUBE O.D. R <t DIMENSIONS EHZR
PART NO. EF G D1,D2 02 | L1,L2 | L3 S1 | s2,83| s4 MPa
ACCG-12-12-020G | M12X1.5 | G1/8'X28 6 13| 28 | 262 | 11 14 14
ACCG-14-14-040G | M14X15 | G1/4"X19 8 155| 305 | 313 | 14 17 19
ACCG-16-16-040G | M16X1.5 | G1/4"X19 10 175| 325 | 325 | 16 19 19 315
ACCG-18-18-060G | M18X1.5 | G3/8"X19 12 19| 34 | 368 | 19 22 22 *é?fj“
ACCG-22-22-080G | M22X15 | G1/2'X14 15 22 | 37 | 432 | 22 27 27
ACCG-26-26-080G | M26X1.5 | G1/2"X14 18 255| 42 | 465 | 27 32 27
ACCG-30-30-120G |  M30X2 G3/4"X14 22 293| 458 | 52 30 36 32 16
ACCG-36-36-160G | M36X2 G1"X11 28 333 | 498 | 56 36 41 41 %'fﬂ
ACCG-45-45-200G | M45X2 | G1.1/4"X11 35 39.2| 60.7 | 63 48 50 50
ADDG-14-14-040G | M14X1.5 | G1/4"X19 6 175| 325 | 313 | 14 17 19
ADDG-16-16-040G | M16X1.5 | G1/4"X19 8 187| 337 | 325 | 16 19 19 63
ADDG-18-18-060G | M18X1.5 | G3/8"'X19 10 195| 36 | 368 | 19 22 22 Efju
ADDG-20-20-060G | M20X1.5 | G3/8"'X19 12 195| 36 | 368 | 19 24 22
ADDG-22-22-080G | M22X1.5 | G1/2'X14 14 23 | 41 | 432 | 22 27 27
ADDG-24-24-080G | M24X1.5 | G1/2'X14 16 24 | 425 | 44 24 30 27
ADDG-30-30-120G |  M30X2 GB3/4"X14 20 283| 498 | 52 30 36 32 E‘;’ﬂ
ADDG-36-36-160G |  M36X2 G1"X11 25 32.8| 56.8 | 56 36 46 41 S
ADDG-42-42-200G | M42X2 | G1.1/4"X11 30 36.2| 627 | 58 41 50 50

T MERFERFERS ITHMEERSEM “RN” ,JACCG-18-18-060G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for exampleACCG-18-18-060G/RN.

A42



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A ZBRFIIMRES24°HE /2 FISMRS AT FE @EIRISO 6149-2

METRIC MALE 24° CONE / METRIC MALE ADJUSTABLE STUD END ISO 6149-2 RUN TEE

F D2
‘ s3 [
S2 ‘ N
| ‘ o
IR o= ~
11 @84
L1 L3
ACCH-0G ACCH-OG/RN
ADDH-0OG ADDH-OG/RN
® = # 41 THREAD BFMEDID2 | 0 m E R ~t DIMENSIONS [
PART NO. EF G TUBE O.D. O RING M2 | L2 | L3 S1 | s2,83| s4 MPa
ACCH-12-12-100G | M12X1.5 M10X1 6 008.1X1.6 | 13 28 | 265 | 11 14 | 14
ACCH-14-14-120G | M14X1.5 M12X1.5 8 009.3X2.4 | 155 | 305 | 32 | 14 17 | 17
ACCH-16-16-140G M16X1.5 M14X1.5 10 011.3X2.4 | 175 | 325 34 16 19 19 él%gu
ACCH-18-18-160G | M18X1.5 M16X1.5 12 013.3X2.4 | 19 34 36 | 19 22 | 22 L
ACCH-22-22-180G | M22X1.5 M18X1.5 15 015.3X2.4 | 22 37 | 395 | 22 27 | 24
ACCH-26-26-220G | M26X1.5 M22X1.5 18 019.3x24 | 255 | 42 | 435 | 27 32 | 27
ACCH-30-30-270G M30X2 M27X2 22 0235X30 | 293 | 458 | 50 | 30 36 | 32 16
ACCH-36-36-330G M36X2 M33X2 28 029.2X30 | 333 | 498 | 54 | 36 s | M BRI
ADDH-14-14-120G | M14X1.5 M12X1.5 6 009.3X2.4 | 175 | 325 | 32 | 14 17 | 17
ADDH-16-16-140G | M16X1.5 M14X1.5 8 011.3X24 | 187 | 337 | 34 | 16 19 | 19
ADDH-18-18-160G | M18X1.5 M16X1.5 10 0133X2.4 | 195 | 36 36 | 19 22 | 22 g?au
ADDH-20-20-180G | M20X1.5 M18X1.5 12 015.3X2.4 | 195 | 36 37 | 19 24 | 24 s
ADDH-24-24-220G | M24X1.5 M22X1.5 16 019.3x2.4 | 24 42 | 375 | 24 30 | 27
ADDH-30-30-270G M30X2 M27X2 20 0235X30 | 283 | 498 | 50 | 30 36 | 32 20
ADDH-36-36-330G M36X2 M33X2 25 029.2X30 | 328 | 568 | 54 | 36 46 | 41 Ef’;’“
ADDH-42-42-420G M42X2 M42X2 30 0385X3.0 | 362 | 627 | 572 | 4 50 | 50

E: 1 MEHFFERFTERSEEITR, WiEEKSEM “RN” ,JACCH-30-30-270G/RN,
2 Gih 5180 99741l O48EL, K= EN 51SO 6149-1ih OFEEL,
Note: 1 In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after
our part no., for example ACCH-30-30-270G/RN.
2 G end is connected with ISO 9974-1 port and connected with ISO 6149-1 port without retaining ring.

A43



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

ZiBAmEFIENTRREO FE =
BARREL TEE UN, UNF THREAD ADJUSTABLESTUD ENDS WITH O-RING SEALING

D2
S3 ;

12

: HIE=—HL

L1 L3
ACCO-0G ACCO-OG/RN
ADDO-0OG ADDO-OG/RN
g = # 40 THREAD &F4METUBE O.D. R < DIMENSIONS EHER
PART NO. EF G D1,D2 HJ2 | L1L2 L3 S1 | $283 | sS4 MPa

ACCO-12-12-040G M12X1.5 7/16"X20 6 13 28 27.2 11 14 17
ACCO-14-14-060G M14X1.5 9/16"X18 8 155 | 305 31.8 14 17 19
ACCO-16-16-060G M16X1.5 9/16"X18 10 175 | 325 | 333 16 19 19 ég '
ACCO-18-18-080G M18X1.5 3/4"X16 12 19 34 37.5 19 22 24 L
ACCO-22-22-100G M22X1.5 7/8"X14 15 22 37 44 22 27 27
ACCO-26-26-120G M26X1.5 1.1/16"X12 18 25.5 42 51 27 32 32
ACCO-30-30-120G M30X2 1.1/16"X12 22 293 | 458 53.5 30 36 32 16
ACCO-36-36-160G M36X2 1.5/16"X12 28 333 | 498 | 575 36 41 41 $é,l_%§u
ACCO-45-45-200G M45X2 1.5/8"X12 35 392 | 607 63 48 50 50
ADDO-14-14-040G M14X1.5 7/16"X20 6 175 | 325 30 14 17 17
ADDO-16-16-060G M16X1.5 9/16"X18 8 187 | 337 33.3 16 19 19 63
ADDO-18-18-060G M18X1.5 9/16"X18 10 19.5 36 335 19 22 19 Efﬁﬂ
ADDO-20-20-080G M20X1.5 3/4"X16 12 19.5 36 375 19 24 24
ADDO-22-22-100G M22X1.5 7/8"X14 14 23 4 44 22 27 27
ADDO-24-24-100G M24X1.5 7/8"X14 16 24 425 46.5 24 30 27
ADDO-30-30-120G M30X2 1.1/16"X12 20 28.3 | 49.8 535 30 36 32 Eﬁ?(:ﬁu
ADDO-36-36-160G M36X2 1.5/16"X12 25 328 | 56.8 575 36 46 41 S
ADDO-42-42-200G M42X2 1.5/8"X12 30 362 | 62.7 595 41 50 50

i MEHFERFERSEEITE, WEEKSEM “RN” , 31 ACCO-30-30-120G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix"RN" after our
part no., for example ACCO-30-30-120G/RN.

A44



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A =B AR R SRV A EROR B &
BRANCH TEE BSP THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING

S3

L3

L1 L2
ACGC-0G ACGC-OG/RN
ADGD-0G ADGD-OG/RN
g = #2 % THREAD & F4Mz TUBE O.D. R <t DIMENSIONS EHER
HRIELNe E.G F D1,D2 MJ2 | Li,L2 | L3 S1 | s2,84| s3 MPa

ACGC-12-02-120G | M12X1.5 | G1/8"X28 6 13 28 | 262 | 11 14 | 14
ACGC-14-04-140G | M14X1.5 | G1/4"X19 8 155 | 305 | 313 | 14 17 | 19
ACGC-16-04-160G | M16X1.5 | G1/4"X19 10 175 | 325 | 325 | 16 19 | 19 é ;55,]
ACGC-18-06-180G | M18X1.5 | G3/8"X19 12 19 34 | 368 | 19 2 | 22 L
ACGC-22-08-220G | M22X1.5 | G1/2'X14 15 22 37 | 432 | 22 27 | 27
ACGC-26-08-260G | M26X1.5 | G1/2'X14 18 255 | 42 | 465 | 27 32 | 27
ACGC-30-12-300G | M30X2 | G3/4"X14 22 293 | 458 | 52 | 30 3% | 32 16
ACGC-36-16-360G | M36X2 G1"X11 28 333 | 498 | 56 | 36 41 41 *é"fﬂ
ACGC-45-20-450G | M45X2 | G1.1/4"X11 35 392 | 607 | 63 | 48 50 | 50
ADGD-14-04-140G | M14X1.5 | G1/4"X19 6 175 | 325 | 313 | 14 17 | 19
ADGD-16-04-160G | M16X1.5 | G1/4"X19 8 187 | 337 | 325 | 16 19 | 19 63
ADGD-18-06-180G | M18X1.5 | G3/8"X19 10 195 | 36 | 368 | 19 22 20 E?’“
ADGD-20-06-200G | M20X1.5 | G3/8"X19 12 195 | 36 | 368 | 19 24 | o0
ADGD-22-08-220G | M22X1.5 | G1/2"X14 14 23 41 | 432 | 20 27 | o7
ADGD-24-08-240G | M24X1.5 | G1/2"X14 16 24 | 425 | 44 | o4 30 | o7 40
ADGD-30-12-300G | M30X2 | G3/4"X14 20 283 | 498 | 52 | 30 3% | 32 B2
ADGD-36-16-360G | M36X2 G1"X11 25 328 | 568 | 56 | 36 46 41 S
ADGD-42-20-420G | M42X2 | G1.1/4"X11 30 362 | 627 | 58 41 50 | 50

i MEFFERFERE ITHMEERSEM “RN” ,#1ACGC-18-06-180G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example ACGC-18-06-180G/RN.

A45



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

2FISMBRE 24°HE / AFIIMELEIEEERK SO 6149 32 =@

METRIC MALE 24° CONE / METRIC MALE ADJUSTABLE STUD END ISO 6149 BRANCH TEE

F !
; s
i i g
|
x e
[ [ L R VS O] L
‘ S 11 12 S4
s L1 L2
ACHC-0G ACHC-OG/RN
ADHD-0G ADHD-OG/RN
T 32 40 THREAD &EFIME D1,D2 0O & R <t DIMENSIONS EHEG
PART NO. EG F TUBE O.D. ORING | 4o | 12| L3 S1 | s2.54 | s3 e
ACHC-12-10-120G | M12X1.5 M10X1 6 008.1X1.6 13 28 | 265 11 14 14
ACHC-14-12-140G | M14X1.5 | M12X1.5 8 009.3X2.4 | 155 305 | 32 14 17 17 31.5
ACHC-16-14-160G | M16X1.5 | M14X1.5 10 011.3x2.4 | 175 325 | 34 16 19 19 5:%@]
ACHC-18-16-180G | M18X1.5 | M16X1.5 12 013.3X2.4 19 34 36 19 22 22
ACHC-22-18-220G | M22X1.5 | M18X1.5 15 015.3X2.4 22 37 | 395 22 27 24
ACHC-26-22-260G | M26X1.5 | M22X1.5 18 019.3x2.4 | 255 42 | 435 27 32 27
ACHC-30-27-300G M30X2 M27Xx2 22 023.5X3.0 | 29.3 458 | 50 30 36 32 16
ACHC-36-33-360G M36X2 M33X2 28 029.2X3.0 | 33.3 498 | 54 36 41 41 wRI
ADHD-14-12-140G | M14X1.5 | M12X1.5 6 009.3X2.4 | 17.5 325 | 32 14 17 17
ADHD-16-14-160G | M16X1.5 | M14X1.5 8 011.3x2.4 | 187 337 | 34 16 19 19 63
ADHD-18-16-180G | M18X1.5 | M16X1.5 10 013.3X2.4 | 195 36 36 19 22 22 Ez—%
ADHD-20-18-200G | M20X1.5 | M18X1.5 12 015.3X2.4 | 19.5 36 37 19 24 24
ADHD-24-22-240G | M24X1.5 | M22X1.5 16 019.3X2.4 24 42 | 375 24 30 27
ADHD-30-27-300G M30X2 M27X2 20 023.5X3.0 | 283 498 | 50 30 36 32 40
ADHD-36-33-360G M36X2 M33X2 25 029.2X3.0 | 328 56.8 | 54 36 46 4 Efﬁu
ADHD-42-42-420G M42x2 M42x2 30 038.5X3.0 | 36.2 62.7 | 57.2 41 50 50

E: IMEEFERFEESREITE, WEAERSEM “RN” WACHC-30-27-300G/RN, 2 Fi#51SO 99741 O+8EL, REE#LEM
51S0 6149-1if1 O48EL

Note: 1 In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN”
after our part no., for example ACHC-30-27-300G/RN. 2 F end is connected with ISO 9974-1port and connected with ISO 6149-1
port without retaining ring.

A46



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A =B EIREHIZNATERO FE %
BRANCH TEE UN, UNF THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING

.

:

| ™

i -

| S

ul A A o
—
ACOC-0G ACOC-OG/RN
ADOD-OG ADOD-OG/RN
R =2 42 41 THREAD &EF45MZ TUBE O.D. R =t DIMENSIONS EHER
PART NO. E,G F D1,D2 M2 | L1,L2| L3 | S1 |S284| S3 MPa

ACOC-12-04-120G M12X1.5 7/16"X20 6 13 28 27.2 11 14 17
ACOC-14-06-140G M14X1.5 9/16"X18 8 15.5 30.5 31.8 14 17 19
ACOC-16-06-160G M16X1.5 9/16"X18 10 17.5 32.5 33.3 16 19 19 Eésl;;lj
ACOC-18-08-180G M18X1.5 3/4"X16 12 19 34 37.5 19 22 24 L
ACOC-22-10-220G M22X1.5 7/8"X14 15 22 37 44 22 27 27
ACOC-26-12-260G M26X1.5 1.1/16"X12 18 2515) 42 51 27 32 32
ACOC-30-12-300G M30X2 1.1/16"X12 22 29.3 45.8 53.5 30 36 32 16
ACOC-36-16-360G M36X2 1.5/16"X12 28 33.3 49.8 575 36 41 41 BR5
ACOC-45-20-450G M45X2 1.5/8"X12 35 39.2 60.7 63 48 50 50 L
ADOD-14-04-140G M14X1.5 7/16"X20 6 17.5 B2A5 30 14 17 17
ADOD-16-06-160G | M16X1.5 | 9/16°X18 8 187 | 337 | 333 | 16 | 19 19 -
ADOD-18-06-180G | M18X15 | 9/16'X18 10 195 | 36 | 335 | 19 | 22 | 19 BRI
ADOD-20-08-200G M20X1.5 3/4"X16 12 19.5 36 37.5 19 24 24 S
ADOD-22-10-220G M22X1.5 7/8"X14 14 23 41 44 22 27 27
ADOD-24-10-240G M24X1.5 7/8"X14 16 24 42.5 46.5 24 30 27
ADOD-30-12-300G | M30X2 | 1.1/16'X12 20 283 | 498 | 535 | 30 | 36 | 32 Egﬁll
ADOD-36-16-360G M36X2 1.5/16"X12 25 32.8 56.8 57.5 36 46 41 S
ADOD-42-20-420G M42X2 1.5/8"X12 30 36.2 62.7 59.5 41 50 50

1 MEHFFERFERSEEITR, WEEKLSEM “BRN” ,IACOC-30-12-300G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example ACOC-30-12-300G/RN.

A47



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

FR )i PO SR = ik

BRANCH TEE FITTINGS WITH SWIVEL NUT

F
iR
2
BN
Y] Y A A O
BC/BD BC-RN/BD-RN
® = #2 4 THREAD &F5M2 TUBE O.D. R ~ DIMENSIONS EHER
PART NO. EG F D1,D3 D2 03 | L1,L3 | L2 S1 | s284| s3 MPa
BC-12 Mi2X1.5 | Mi2X1.5 6 6 12 27 26 12 14 14
BC-14 M14X1.5 | M14X1.5 8 8 14 29 | 275 | 12 17 17
BC-16 M16X15 | M16X1.5 10 10 15 30 29 14 19 19 é’l;;u
BC-18 M18X15 | M18X15 12 12 17 32 | 295 | 17 22 22 L
BC-22 M22X15 | M22X15 15 15 21 36 | 325 | 19 27 27
BC-26 M26X15 | M26X1.5 18 18 235 | 40 | 355 | 24 32 32
BC-30 M30X2 M30X2 22 22 275 | 44 | 385 | 27 36 36
BC-36 M36X2 M36X2 28 28 305 | 47 | 415 | 36 4 41 16
BC-45 M45X2 M45X2 35 35 345 | 56 51 41 50 | 50 BRIIL
BC-52 M52X2 M52X2 42 42 40 63 56 50 60 60
BD-14 M14X15 | M14X1.5 6 6 16 31 27 12 17 17
BD-16 M16X1.5 | M16X1.5 8 8 17 32 | 275 | 14 19 19 63
BD-18 M18X1.5 | M18X1.5 10 10 17.5 34 30 17 22 22 ER7
BD-20 M20X1.5 | M20X1.5 12 12 215 | 38 31 17 24 24 s
BD-22 M22X1.5 | M22X1.5 14 14 22 40 35 19 27 27
BD-24 M24X1.5 | M24X1.5 16 16 245 | 43 | 365 | 24 30 30
BD-30 M30X2 M30X2 20 20 265 | 48 | 445 | 27 36 36 i‘gjﬂ
BD-36 M36X2 M36X2 25 25 30 54 50 36 46 46 s
BD-42 M42X2 Ma2x2 30 30 355 | 62 55 41 50 50
BD-52 M52X2 M52X2 38 38 41 72 63 50 60 60 | 31.5ERJIS

I WEFFERFERSEERITR, WEERSEM “RN” , #1IBC-30RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example BC-30RN.

A48



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A BELEL S

BARREL TEE FITTINGS WITH SWIVEL NUT

F
|

|
Ve
AT

CC/CD CC-RN/CD-RN

g =2 ¥ 4 THREAD &F4M2 TUBE O.D. R < DIMENSIONS EHEg
PART NO. EF G D1,D2 D3 1,2 | L1,L2| L3 S1 | S$2,83| S4 MPa

cc-12 M12X1.5 | M12X1.5 6 6 12 27 26 12 14 14

CC-14 M14X1.5 | M14X1.5 8 8 14 29 | 275 | 12 17 17

CcC-16 M16X1.5 | M16X1.5 10 10 15 30 29 14 19 19 %31;@1

cc-18 M18X1.5 | M18X1.5 12 12 17 32 | 295 | 17 22 22 L

CC-22 M22X1.5 | M22X1.5 15 15 21 3 | 325 | 19 27 27

CC-26 M26X1.5 | M26X1.5 18 18 235 | 40 | 355 | 24 32 32

CC-30 M30X2 M30X2 22 22 275 | 44 | 385 | 27 36 36

CC-36 M36X2 M36X2 28 28 305 | 47 | 415 | 36 41 41 $é1r£§u

CC-45 M45X2 M45X2 35 35 345 | 56 51 41 50 50 L

CC-52 M52X2 M52X2 42 42 40 63 56 50 60 60

CD-14 M14X1.5 | M14X1.5 6 6 16 31 27 12 17 17

CD-16 M16X1.5 | M16X1.5 8 8 17 32 | 275 | 14 19 19 63

CD-18 M18X1.5 | M18X1.5 10 10 17.5 34 30 17 22 22 BRI

CD-20 M20X1.5 | M20X1.5 12 12 215 | 38 31 17 24 24 s

CD-22 M22X1.5 | M22X1.5 14 14 22 40 35 19 27 27

CD-24 M24X1.5 | M24X1.5 16 16 245 | 43 | 365 | 24 30 30

CD-30 M30X2 M30X2 20 20 265 | 48 | 445 | 27 36 36 E‘gﬂ

CD-36 M36X2 M36X2 25 25 30 54 50 36 46 46 S

CD-42 M42X2 M42x2 30 30 355 | 62 55 41 50 50

CD-52 M52X2 M52X2 38 38 41 72 63 50 60 60 | 315ERIIS

E: MEHFERFERSEEITE, WEEKSEM “RN” , 10 CC-30RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example CC-30RN.

A49



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

+EIRE

RETAINING NUTS

® 8 | 88 THREAD | wuo 1pe O R <t DIMENSIONS EHER
PART NO. E c d s2 MPa
NL-12 M12X1.5 6 145 6 14
NL-14 M14X1.5 8 145 8 17
C NL-16 M16X1.5 10 15.5 10 19
S2 NL-18 M18X1.5 12 155 12 22
~= NL-22 M22X1.5 15 17 15 27
NL-26 M26X1.5 18 18 18 32
NL-30 M30X2 22 20 22 36 BR5
N NL-30D M30X1.5 22 19 22 36 L
NL-36 M36X2 28 21 28 41
NL-36D M36X1.5 28 21 28 4
L o NL-45 M45X2 35 24 35 50
NL-45D M45X1.5 35 25 35 50
NL-52 M52X2 42 24 42 60
NS-14 M14X1.5 6 16.5 6 17
N\ NS-16 M16X1.5 8 16.5 8 19
NS-18 M18X1.5 10 17.5 10 22
NS-20 M20X1.5 12 17.5 12 24
NS-22 M22X1.5 14 205 14 27 —
NL NS-24 M24X1.5 16 205 16 30 3
NS NS-30 M30X2 20 24 20 36
NS-36 M36X2 25 27 25 46
NS-42 M42X2 30 29 30 50
NS-52 M52X2 38 325 38 60
+E
I~
CUTTING RING
® = EFIMED R <+ DIMENSIONS e
PART NO. TUBE 0.D. ‘ ‘ ‘
RL-06 6
RL-08 8
1o o SERIRRAE—H
RL-12 12 =3
RL-15 15 ;fu
RL-18 18 L
RL-22 22
Q RL-28 28
RL-35 35
RL-42 42
RS-06 6
= RS-08 8
RS-10 10
RL RS-12 12 -
RS-14 14 -
RS RS-16 16 5
RS-20 20 S
RS-25 25
RS-30 30
RS-38 38

A50



DIN EEX el = iR JE

DIN BIT TYPE TUBE FITTINGS XINDU HYDRAULIC

A BREEEES

CROSS FITTINGS

F
w| 4 H- —t-fto
N
H
XC/XD XC-RN/XD-RN
® = 2 4 THREAD &F4hMZ TUBE O.D. R <+ DIMENSIONS Ehes
PART NO. E,F.GH D1,D2,D3,D4 1" L1 S1 s2 MPa
XC-12 M12X1.5 6 12 27 12 14
XC-14 M14X1.5 8 14 29 12 17
315
XC-16 M16X1.5 10 15 30 14 19
BRI
XC-18 M18X1.5 12 17 32 17 22 L
XC-22 M22X1.5 15 21 36 19 27
XC-26 M26X1.5 18 23.5 40 24 32
XC-30 M30X2 22 275 44 27 36
16
XC-36 M36X2 28 30.5 47 41
36 757
XC-45 M45X2 35 345 56 41 50 L
XC-52 M52X2 42 40 63 50 60
XD-14 M14X1.5 6 16 31 12 17
XD-16 M16X1.5 8 17 32 14 19 63
XD-18 M18X1.5 10 17.5 34 17 22 E]
S
XD-20 M20X1.5 12 215 38 17 24
XD-22 M22X1.5 14 22 40 19 27
XD-24 M24X1.5 16 245 43 24 30
40
XD-30 M30X2 20 26.5 48 27 36
EE]
XD-36 M36X2 25 30 54 36 46 S
XD-42 M42X2 30 35.5 62 4 50
XD-52 M52X2 38 41 72 50 60 31.5ERJIS

I MEHFERFERSEEITR, WEEKLSEM “BN” , #1 XC-30RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our
part no., for example XC-30RN.

A51



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SEHIIIC JMRBLT 4°Gh

JIC MALE 74° CONE

2 R}
szssLeeve  RENUT

M°C<E mXQM°

S1
1J
rRE #2 47 THREAD R =t DIMENSIONS
PART NO. E F A B L S1
1J-02 5/16"X24 5/16"X24 1.4 1.4 29 12
1J-02-03 5/16"X24 3/8"X24 11.4 12.2 29.5 12
1J-03 3/8"X24 3/8"X24 12.2 12.2 30.5 12
1J-04 7/16"X20 7/16"X20 14 14 34 12
1J-04-05 7/16"X20 1/2"X20 14 14 34 14
1J-04-06 7/16"X20 9/16"X18 14 14.1 34.1 17
1J-04-08 7/16"X20 3/4"X16 14 16.7 38.5 22
1J-05 1/2"X20 1/2"X20 14 14 34 14
1J-05-06 1/2"X20 9/16"X18 14 141 34 17
1J-05-08 1/2"X20 3/4"X16 14 16.7 38.5 22
1J-05-10 1/2"X20 7/8"X14 14 19.3 41 24
1J-06 9/16"X18 9/16"X18 14.4 141 34.2 17
1J-06-08 9/16"X18 3/4"X16 141 16.7 38.5 22
1J-06-10 9/16"X18 7/8"X14 14.1 19.3 41.5 24
1J-06-12 9/16"X18 1.1/16"X12 141 21.9 46 30
1J-08 3/4"X16 3/4"X16 16.7 16.7 42 22
1J-08-10 3/4"X16 7/8"X14 16.7 19.3 44 24
1J-08-12 3/4"X16 1.1/16"X12 16.7 21.9 48.5 30
1J-08-16 3/4"X16 1.5/16"X12 16.7 23.1 51 36
1J-10 7/8"X14 7/8"X14 19.3 19.3 46.5 24
1J-10-12 7/8"X14 1.1/16"X12 19.3 21.9 51 30
1J-10-16 7/8"X14 1.5/16"X12 19.3 23.1 53.5 36
1J-12 1.1/16"X12 1.1/16"X12 21.9 21.9 54 30
1J-12-14 1.1/16"X12 1.3/16"X12 21.9 22.6 65515 32
1J-12-16 1.1/16"X12 1.5/16"X12 21.9 23.1 56 36
1J-14 1.3/16"X12 1.3/16"X12 22.6 22.6 56 32
1J-14-16 1.3/16"X12 1.5/16"X12 22.6 23.1 56.5 36
1J-16 1.5/16"X12 1.5/16"X12 23.1 23.1 57 36
1J-16-20 1.5/16"X12 1.5/8"X12 23.1 24.3 60.5 46
1J-16-24 1.5/16"X12 1.7/8"X12 23.1 27.5 65.5 50
1J-20 1.5/8"X12 1.5/8"X12 24.3 24.3 62 46
1J-20-24 1.5/8"X12 1.7/8"X12 24.3 27.5 67 50
1J-20-32 1.5/8"X12 2.1/2"X12 24.3 33.9 75 65
1J-24 1.7/8"X12 1.7/8"X12 27.5 27.5 70 50
1J-24-32 1.7/8"X12 2.1/2"X12 27.5 33.9 78.5 65
1J-32 2.1/2"X12 2.1/2"X12 33.9 33.9 85 65

it BERFAEERTIIR, EFERE D ANHN, BERBSRFAESFIEA NB200. NB500, EFHEAEFIR, BEABEBRHES %
F NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



il B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

45°ZEHIIC JMBLIT4°5 i

45° ELBOW JIC MALE 74° CONE

g = ¥ 4 THREAD R <t DIMENSIONS
PART NO. E F A B S1
1J4-04 7/16"X20 7/16"X20 215 | 215 11
1J4-05 1/2"X20 1/2"X20 23 23 14
1J4-06 9/16"X18 9/16"X18 228 | 228 14
1J4-08 3/4"X16 3/4"X16 268 | 2638 19
1J4-10 7/8"X14 7/8"X14 31 31 22
1J4-12 1.1/16"X12 1.1/16"X12 355 | 355 27
1J4-16 1.5/16"X12 1.5/16"X12 385 | 385 33

i BERHERSTITS, EFEE D AN, RAZSRAESFEA Nb200 ZNB500 . EFEEAXIN, AABESRHESSIER NB200,
NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable
for inch tube.

90°ZEHIJIC FMRLLT 4°Fh i

90° ELBOW JIC MALE 74° CONE

® = 82 57 THREAD R~ DIMENSIONS

F PART NO. E F A B St

ERY 1J9-02 5/16"X24 5/16"X24 205 20.5 11

| 1J9-03 3/8"X24 3/8"X24 22 22 11

R 1J9-04 7/16"X20 7/16"X20 245 24.5 11

T 1J9-05 1/2"X20 1/2"X20 26.6 26.6 14
74°(>m< Fﬂﬁ — 1J9-05-06 1/2"X20 9/16"X18 26.6 26.9 14
'—)<g 1J9-06 9/16"X18 9/16"X18 26.9 26.9 14

1J9-06-08 9/16"X18 3/4"X16 30 32 19

1J9-06-10 9/16"X18 7/8"X14 32 37.8 22

N 1J9-08 3/4"X16 3/4"X16 32 32 19

1J9-08-10 3/4"X16 7/8"X14 348 37.8 22

1J9-10 7/8"X14 7/8"X14 37.8 37.8 22

BT 1J9-10-12 7/8"X14 1.116°X12 41 442 27
HESLEEVE NN _/ 1J9-12 1.1/16"X12 1.1/16"X12 44.2 442 27
Al . 1J9-14 1.3/16"X12 1.3/16"X12 475 475 30

' :‘_-// 1J9-16 1.5/16"X12 1.5/16"X12 49 49 33
1J9-20 1.5/8"X12 1.5/8"X12 55.5 55.5 41

1J9 1J9-24 1.7/8"X12 1.7/8"X12 62.5 62.5 48

1J9-32 2.1/2"X12 2.1/2"X12 78 78 63

i BERWEERTITR, EFERZ D AAHN, ERABFSRHAESER NB200, NB500, &FHEARGN, RABZRHNES
#3%EF NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable
for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JIC JMBLT 4°5hsfE /R EIMBL R B BT

JIC MALE 74° CONE / BSP MALE CAPTIVE SEAL

L BENUT
A B
% HESLEEVE § @L%_
/. 24 ’
w74’ I a [ |
\
S1
1JB-WD
® = #2 50 THREAD A # CAPTIVE R~ DIMENSIONS
PART NO. E F Fis A B L st
1JB-04-02WD 7/16"X20 G1/8'X28 WD-B02 14 8 295 14
1JB-04WD 716"X20 G1/4"X19 WD-B04 14 12 34 19
1JB-04-06WD 716"X20 G3/8'X19 WD-B06 14 12 345 22
1JB-04-08WD 7/16"X20 G1/2'X14 WD-B08 14 14 41 27
1JB-05-04WD 1/2"X20 G1/4"X19 WD-B04 14 12 34 19
1JB-05-06WD 1/2"X20 G3/8"X19 WD-B06 14 12 345 22
1JB-06-02WD 9/16"X18 G1/8'X28 WD-B02 14.1 8 295 17
1JB-06-04WD 9/16"X18 G1/4"X19 WD-B04 14.1 12 34 19
1JB-06WD 9/16"X18 G3/8"X19 WD-B06 14.1 12 345 22
1JB-06-08WD 9/16"X18 G1/2'X14 WD-B08 14.1 14 41 27
1JB-08-04WD 3/4"X16 G1/4"X19 WD-B04 16.7 12 37 22
1JB-08-06WD 3/4"X16 G3/8"X19 WD-B06 16.7 12 375 22
1JB-08WD 3/4"X16 G1/2'X14 WD-B08 16.7 14 435 27
1JB-10-08WD 7/8"X14 G1/2'X14 WD-B08 19.3 14 465 27
1JB-10-12WD 7/8"X14 G3/4"X14 WD-B12 19.3 16 475 32
1JB-12-08WD 1.1/16"X12 G1/2'X14 WD-B08 21.9 14 485 30
1JB-12WD 1.1/16"X12 G3/4"X14 WD-B12 21.9 16 50 32
1JB-12-16WD 1.1/16"X12 G1"X11 WD-B16 21.9 18 56 41
1JB-16-12WD 1.5/16"X12 G3/4"X14 WD-B12 23.1 16 53 36
1JB-16WD 1.5/16"X12 G1"X11 WD-B16 23.1 18 57 41
1JB-16-20WD 1.5/16"X12 G1.1/4"X11 WD-B20 23.1 20 61 50
1JB-20-16WD 1.5/8"X12 G1"X11 WD-B16 24.3 18 58 46
1JB-20WD 1.5/8"X12 G1.1/4"X11 WD-B20 24.3 20 62 50
1JB-20-24WD 1.5/8"X12 G1.1/2"X11 WD-B24 243 22 64 55
1JB-24-20WD 1.7/8"X12 G1.1/4"X11 WD-B20 275 20 65.5 50
1JB-24WD 1.7/8"X12 G1.1/2"X11 WD-B24 275 22 675 55

T BEREEESTIISR. EFERDARXGIN, RABERFESFIEANB200, NB500, BEFHEZAXHE, BABRERHES LA
NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut Nb200 and sleeve NB50O is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SKHIJIC SMREIT 4°5hfE / ORFSHMREL

JIC MALE 74° CONE / ORFS MALE

N
7409@ 1_. "

st

IEEENUT

#ESLEEVE

1JF
®e #2 51 THREAD OFE O-RING R~ DIMENSIONS
PART NO. E F Fis A B L St
1JF-04 7/16"X20 9/16"X18 0011 14 9.8 29.5 17
1JF-05-04 1/2"X20 9/16'X18 0011 14 9.8 295 17
1JF-05-06 1/2"X20 1116"X16 0012 14 1.2 31.5 19
1JF-06-04 9/16"X18 9/16'X18 0011 14.1 9.8 30 17
1JF-06 9/16"X18 1116°X16 0012 14.1 1.2 31 19
1JF-08-06 3/4"X16 1116"X16 0012 16.7 1.2 36 22
1JF-08 3/4"X16 13/16"X16 0014 16.7 12.8 375 22
1JF-10-08 7/8"X14 13/16"X16 0014 19.3 12.8 40 24
1JF-10 7/8"X14 1"X14 0016 19.3 15.5 445 27
1JF-12-10 1.1162X12 1"X14 0016 21.9 15.5 475 30
1JF-12 1.1162X12 1.316"X12 0018 21.9 17 50 32
1JF-16-12 1.5/16"X12 1.3/16"X12 0018 23.1 17 51 36
1JF-16 1.5M16"X12 1.716"X12 0021 23.1 17.5 51.5 38
1JF-20-16 1.5/8"X12 1.7116"X12 0021 24.3 17.5 54.5 46
1JF-20 1.5/8"X12 1.11/16°X12 0025 24.3 175 54.5 46
1JF-24-20 1.7/8"X12 1.11/16°X12 0025 275 17.5 60 50
1JF-24 1.7/8"X12 2"X12 0029 275 175 60 55

i BERAEESTITHR, EFEHRE D ANGN, BRABSRFAESAEM NB200. NB500, EFHEAXFN, RABERAESE
FAINB200, NB300,

Note: Nut and sleeve should be ordered separately. The nut NB200and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EHIJIC FMBWT 4°5h i /R EIMELORZE

JIC MALE 74° CONE / BSP MALE O-RING

A L —5 BEEINUT
W ESLEEVE
72 f\s\v@ﬁ
74° Oé | |I |I [T (][R
S1
1JG
® = #2 5 THREAD O O-RING R < DIMENSIONS
PART NO. E F F i A B L S1
1JG-04-02 7/16"X20 G1/8"X28 0011 14 9.5 31 14
1JG-04 7/16"X20 G1/4"X19 0111 14 10 32.5 19
1JG-04-06 7/16"X20 G3/8"X19 0113 14 11.5 34 22
1JG-04-08 7/16"X20 G1/2"X14 0115 14 14 39 27
1JG-05-04 1/2"X20 G1/4"X19 O111 14 10 33 19
1JG-05-06 1/2"X20 G3/8"X19 0113 14 11.5 36 22
1JG-05-08 1/2"X20 G1/2"X14 0115 14 14 39 27
1JG-06-04 9/16"X18 G1/4"X19 O111 141 11 31.5 19
1JG-06 9/16"X18 G3/8"X19 0113 141 115 34 22
1JG-06-08 9/16"X18 G1/2"X14 0115 141 14 39 27
1JG-08-04 3/4"X16 G1/4"X19 0111 16.7 10 36 22
1JG-08-06 3/4"X16 G3/8"X19 0113 16.7 11.5 37 22
1JG-08 3/4"X16 G1/2"X14 0115 16.7 14 42 27
1JG-08-12 3/4"X16 G3/4"X14 0119 16.7 15.5 44 32
1JG-10-06 7/8"X14 G3/8"X19 0113 19.3 115 39.5 24
1JG-10-08 7/8"X14 G1/2"X14 0115 19.3 14 44.5 27
1JG-10-12 7/8"X14 G3/4"X14 0119 19.3 15.5 48.5 32
1JG-12-08 1.1/16"X12 G1/2"X14 0115 22 14 49 30
1JG-12 1.1/16"X12 G3/4"X14 0119 22 15.5 49.5 32
1JG-12-16 1.1/16"X12 G1"X11 0217 22 18 54 41
1JG-12-20 1.1/16"X12 G1.1/4"X11 0222 22 20 57 50
1JG-16-12 1.5/16"X12 G3/4"X14 0119 23 15.5 52.5 36
1JG-16 1.5/16"X12 G1"X11 0217 23 18 55 41
1JG-16-20 1.5/16"X12 G1.1/4"X11 0222 23 20 58 50
1JG-20-16 1.5/8"X12 G1"X11 0217 24.3 18 58 46
1JG-20 1.5/8"X12 G1.1/4"X11 0222 24.3 20 59.5 50
1JG-24-16 1.7/8"X12 G1"X11 0217 27.5 18 63.5 50
1JG-24-20 1.7/8"X12 G1.1/4"X11 0222 27.5 20 65.5 50
1JG-24 1.7/8"X12 G1.1/2"X11 0224 27.5 21.5 64 55

i BERAEZESHITITR. EFERDAXHIE, EABEBRFAESFIZANB200. NB500, EFHEAEGIR, BEABERFAESHI%ER
NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut Nb200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

A5°ZEHIIC FMBHT 4°5biE / REIMENORZE

45° ELBOW JIC MALE 74° CONE / BSP MALE O-RING

s2 &
74° (W ?
.=
A s1
1JG4-0G
k= #2 50 THREAD O O-RING R~ DIMENSIONS

PART NO. E F Fih A B S s2
1JG4-040G 7/16"X20 G1/4"X19 0111 21 28 14 19
1JG4-05-040G 1/2"X20 G1/4"X19 o111 21 28 14 19
1JG4-06-040G 9/16'X18 G1/4"X19 o111 22 28 14 19
1JG4-060G 9/16"X18 G3/8"X19 0113 23 32 19 22
1JG4-08-060G 3/4"X16 G3/8"X19 0113 25.8 32 19 22
1JG4-080G 3/4"X16 G1/2'X14 0115 275 36 22 27
1JG4-10-080G 7/8"X14 G1/2'X14 0115 295 38 22 27
1JG4-100G 7/8"X14 G5/8"X14 0910 295 38 22 30
1JG4-12-100G 1.1/16"X12 G5/8"X14 0910 34 385 27 30
1JG4-12-160G 1.1/16"X12 G1"X11 0217 375 44 33 41
1JG4-120G 1.1/16"X12 G3/4"X14 0119 34 42 27 32
1JG4-16-120G 1.5/16"X12 G3/4"X14 0119 38 44 33 32
1JG4-160G 1.5/16"X12 G1"X11 0217 38 44 33 41
1JG4-200G 1.5/8"X12 G1.1/4"X11 0222 43 475 41 50
1JG4-240G 1.7/8"X12 G1.1/2"X11 0224 49 515 48 55

i 1 BERFAEESHTITER, EFHERE D ARG, RABSRFESAEA NB200. NB500, EFHEFEAXFIN, RABESRWESS
EFNB200. NB300, 2 Fim5DIN 3852 i O4HEL,

Note: 1 Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metrictube,the nut NB200 and sleeve
NB300 is suitable for inch tube. 2 F end is connected with DIN 3852 port.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

90° ZEFNIIC JMENT 4°M i /HEIMENORZE

90° ELBOW JIC MALE 74° CONE / BSP MALE O-RING

1JG9-0G
e #2 51 THREAD OB O-RING R <t DIMENSIONS

PART NO. E F Fif A B s1 s2
1JG9-04-020G 7/16"X20 G1/8"X28 0011 245 26.2 11 14
1JG9-04-060G 7/16"X20 G3/8"X19 0113 27.5 36.8 16 22
1JG9-040G 7/16"X20 G1/4"X19 O111 26.6 31.3 14 19
1JG9-05-040G 1/2'X20 G1/4"X19 o111 26.5 31.8 14 19
1JG9-05-060G 1/2"X20 G3/8"X19 0113 27.5 35.8 16 22
1JG9-05-080G 1/2"X20 G1/2'X14 0115 315 432 22 27
1JG9-06-040G 9/16"X18 G1/4"X19 0111 26.9 31.3 14 19
1JG9-06-080G 9/16"X18 G1/2'X14 0115 325 432 27 27
1JG9-060G 9/16"X18 G3/8"X19 0113 28.5 35.8 16 22
1JG9-08-040G 3/4"X16 G1/4"X19 o111 32 33.5 19 19
1JG9-080G 3/4"X16 G1/2'X14 o115 34.8 432 22 27
1JG9-08-060G 3/4"X16 G3/8"X19 0113 32 36.8 19 22
1JG9-08-120G 3/4"X16 G3/4"X14 0119 37.9 49.3 27 32
1JG9-10-060G 7/8"X14 G3/8"X19 0113 37.8 39.2 22 22
1JG9-10-080G 7/8"X14 G1/2'X14 0115 37.8 432 22 27
1JG9-10-120G 7/8"X14 G3/4"X14 0119 41 49.3 27 32
1JG9-120G 1.1/16"X12 G3/4"X14 0119 44.2 49.3 27 32
1JG9-12-080G 1.1/16"X12 G1/2"X14 0115 442 46.5 27 27
1JG9-12-160G 1.1/16"X12 G1"X11 0217 48 53 33 41
1JG9-160G 1.5/16"X12 G1"X11 0217 49 53 33 41
1JG9-16-120G 1.5/16"X12 G3/4"X14 0119 49 53 33 32
1JG9-16-200G 1.5/16"X12 G1.1/4"X11 0222 53.8 58 41 50
1JG9-200G 1.5/8"X12 G1.1/4"X11 0222 55.5 58 41 50
1JG9-20-160G 1.5/8"X12 G1"X11 0217 55.5 58 41 41
1JG9-24-160G 1.7/8"X12 G1"X11 0217 62.5 63 48 41
1JG9-24-200G 1.7/8"X12 G1.1/4"X11 0222 62.5 63 48 50
1JG9-240G 1.7/8'X12 G1.1/2"X11 0224 62.5 63 48 55

E: 1 BEBRFAERRITITSR, EFHE D ARG, BERBGRFAESFIEM NB200. NB500, EFHEAXFHN, EABSRHMESS
£ NB200. NB300, 2 F i%5 DIN 3852 it O4HMAL,

Note: 1 Nut and sleeve should be ordered separately.The Nut and sleeve should be ordered separately.Thenut NB200 and sleeve NB500 is
suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube. 2 F end isconnected with DIN 3852 port.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JIC JMRA7 4°5hE /2 FIIMEN ATF R IRE S5 1SO 6149-3

JIC MALE 74° CONE / METIRC MALE ADJUSTABLE STUD END L-SERIES ISO 6149-3

A - B IERENUT
#ESLEEVE [§ m
7 ot
74°(><W \L m al | I L
S1
1JH
®e 2 40 THREAD O O-RING R~ DIMENSIONS
PART NO. E F Fif A B L S1
1JH-04-10 7/16"X20 M10X1 008.1X1.6 14 8.5 28.5 14
1JH-04-12 7/16"X20 M12X1.5 009.3X2.4 14 11 31 17
1JH-04-14 7/16"X20 M14X1.5 011.3X2.4 14 11 31 19
1JH-05-10 1/2"X20 M10X1 008.1X1.6 14 8.5 29 14
1JH-05-12 1/2"X20 M12X1.5 009.3X2.4 14 11 31 17
1JH-05-14 1/2"X20 M14X1.5 011.3X2.4 14 11 33 19
1JH-06-14 9/16"X18 M14X1.5 011.3X2.4 14.1 11 31 19
1JH-06-16 9/16"X18 M16X1.5 013.3X2.4 14.1 11.5 335 22
1JH-06-18 9/16"X18 M18X1.5 015.3X2.4 14.1 12,5 34.5 24
1JH-08-14 3/4"X16 M14X1.5 015.3X2.4 16.7 11 38 22
1JH-08-16 3/4"X16 M16X1.5 013.3X2.4 16.7 1.5 36 22
1JH-08-18 3/4"X16 M18X1.5 015.3X2.4 16.7 125 37 24
1JH-08-22 3/4"X16 M22X1.5 019.3X2.4 16.7 13 39.5 27
1JH-10-16 7/8"X14 M16X1.5 013.3X2.4 19.3 11.5 41 24
1JH-10-18 7/8"X14 M18X1.5 015.3X2.4 19.3 12.5 40 24
1JH-10-22 7/8"X14 M22X1.5 019.3X2.4 19.3 13 42 27
1JH-12-22 1.1/16"X12 M22X1.5 019.3X2.4 21.9 13 47.5 30
1JH-12-27 1.1/16"X12 M27X2 023.5X3.0 21.9 16 49 32
1JH-16-27 1.5/16"X12 M27X2 023.5X3.0 23.1 16 52.5 36
1JH-16-33 1.5/16"X12 M33X2 029.5X3.0 23.1 16 52 41
1JH-20-42 1.5/8"X12 M42X2 038.5X3.0 24.3 16 58 50
1JH-24-48 1.7/8"X12 M48X2 044.5X3.0 27.5 17.5 63 55

i 1 BEBRWEESTITR, EFHEED AXHIN, RABESRMAESHEANB200. NB500, HEFHEEAXGIN, RABSRAESH%
FINB200. NB300, 2 FitAI5ISO 9974-1 il O4EAL, XIEHEE5ISO 6149-1 il O4EAL,

Note: 1 Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable formetric tube,the nut NB200 and
sleeve NB300 is suitable for inch tube. 2 F end is fit for ISO 9974-1 port or ISO6149-1 port when useless of retaining ring.



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

JICHMENT A°GMEE /2RI TMESHSEE

JIC MALE 74° CONE / METRIC MALE WITH BONDED SEAL

A B BZBENUT
% ##SLEEVE § &%
R Em— I
N
S1
1JL
ke #2 5 THREAD B SEAL R ~ DIMENSIONS
PART NO. E F Fit A B L st
1JL-04-10 7/16"X20 M10X1 ZHD-10 14 8 29 17
1JL-04-12 7/16"X20 M12X1.5 ZHD-12 14 12 325 17
1JL-06-12 9/16"X18 M12X1.5 ZHD-12 14.1 12 335 17
1JL-06-14 9/16"X18 M14X1.5 ZHD-14 141 12 32 19
1JL-06-18 9/16"X18 M18X1.5 ZHD-18 141 12 355 24
1JL-06-22 9/16"X18 M22X1.5 ZHD-22 14.1 14 38 27
1JL-08-16 3/4"X16 M16X1.5 ZHD-16 16.7 12 37 22
1JL-08-18 3/4"X16 M18X1.5 ZHD-18 16.7 12 375 24
1JL-08-22 3/4"X16 M22X1.5 ZHD-22 16.7 14 405 27
1JL-10-18 7/8"X14 M18X1.5 ZHD-18 19.3 12 405 24
1JL-10-22 7/8"X14 M22X1.5 ZHD-22 19.3 14 43 27
1JL-12-22 1.1/16"X12 M22X1.5 ZHD-22 21.9 14 485 30
1JL-12-27 1.1/16"X12 M27X2 ZHD-27 21.9 16 49 36
1JL-16-33 1.5/16"X12 M33X2 ZHD-33 23.1 18 56 41

#: BEEHERSITITR, ETEZDALNHN, BRABSRAHESFEMRNB200. NB500, EFEZEANKEHRN, RABSRAENFIER
NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JIC SMRELT A°5hfE /22 HISMREI60° A HE

JIC MALE 74° CONE / METRIC MALE 60° SEAT

L
A B IRRENUT

/%_ HAESLEEVE §§ @%

74° > Wl Ll 60°
gty

1JM
® = %2 47 THREAD R st DIMENSIONS
PART NO. E F A B L S1
1JM-04-10 7/16"X20 M10X1 14 8 29 14
1JM-04-12 7/16"X20 M12X1.5 14 10 31 17
1JM-04-14 7/16"X20 M14X1.5 14 11 32 19
1JM-05-10 1/2"X20 M10X1 14 8 28 14
1JM-05-12 1/2"X20 M12X1.5 14 10 30 17
1JM-05-14 1/2"X20 M14X1.5 14 11 32 19
1JM-06-12 9/16"X18 M12X1.5 141 10 31 17
1JM-06-14 9/16"X18 M14X1.5 141 11 33 19
1JM-06-16 9/16"X18 M16X1.5 141 12 35 22
1JM-06-18 9/16"X18 M18X1.5 14.1 12 34 24
1JM-08-16 3/4"X16 M16X1.5 16.7 12 375 22
1JM-08-18 3/4"X16 M18X1.5 16.7 12 36.5 24
1JM-08-20 3/4"X16 M20X1.5 16.7 14 41 27
1JM-08-22 3/4"X16 M22X1.5 16.7 14 41 27
1JM-10-20 7/8"X14 M20X1.5 19.3 14 44 27
1JM-10-22 7/8"X14 M22X1.5 19.3 14 43.5 27
1JM-10-26 7/8"X14 M26X1.5 19.3 16 47.5 32
1JM-12-20 1.1/16"X12 M20X1.5 21.9 14 47 30
1JM-12-22 1.1/16"X12 M22X1.5 21.9 14 47 30
1JM-12-26 1.1/16"X12 M26X1.5 21.9 16 50 32

i BERVMEFHITITR. ETFEEDARFIN, BRABERFAESHEANB200. NB500, BEFHEEAXN, EABSRHESSIER
NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JIC SMRELT 4°5hifE / 2HIIMBEUER R Z

JIC MALE 74° CONE / METRIC MALE CAPTIVE SEAL

L BEEENUT
A B
74o(>|_u /_ - L 60°
S1
1JM-WD
= 12 47 THREAD B # CAPTIVE R <t DIMENSIONS

PART NO. E F Fi A B L St
1JM-04-10WD 7/16"X20 M10X1 WD-B02 14 8 29.5 17
1JM-04-12WD 7/16"X20 M12X1.5 WD-M12 14 12 34 17
1JM-05-14WD 1/2"X20 M14X1.5 WD-B04 14 12 34 19
1JM-06-14WD 9/16"X18 M14X1.5 WD-B04 14.1 12 34 19
1JM-06-18WD 9/16"X18 M18X1.5 WD-M18 14.1 12 365 24
1JM-06-20WD 9/16"X18 M20X1.5 WD-M20 14.1 14 405 27
1JM-08-18WD 3/4"X16 M18X1.5 WD-M18 16.7 12 39 24
1JM-08-20WD 3/4"X16 M20X1.5 WD-M20 16.7 14 43 27
1JM-08-22WD 3/4"X16 M22X1.5 WD-M22 16.7 14 43.5 27
1JM-10-18WD 7/8"X14 M18X1.5 WD-M18 19.3 12 415 24
1JM-10-20WD 7/8"X14 M20X1.5 WD-M20 19.3 14 455 27
1JM-10-22WD 7/8"X14 M22X1.5 WD-M22 19.3 14 46 27
1JM-12-20WD 1.1/16"X12 M20X1.5 WD-M20 21.9 14 485 30
1JM-12-22WD 1.1/16"X12 M22X1.5 WD-M22 21.9 14 49 30
1JM-12-26WD 1.1/16"X12 M26X1.5 WD-B12 21.9 16 52 32
1JM-12-27WD 1.1/16"X12 M27X2 WD-B12 21.9 16 52 32
1JM-16-26WD 1.5/16"X12 M26X1.5 WD-B12 23.1 16 53 36
1JM-16-33WD 1.5/16"X12 M33X2 WD-B16 23.1 18 57 41
1JM-20-42WD 1.5/8"X12 M42X2 WD-B20 24.3 20 62 50
1JM-20-48WD 1.5/8"X12 M48X2 WD-B24 24.3 22 64 55
1JM-24-48WD 1.7/8"X12 M48X2 WD-B24 27.5 22 67.5 55

iE: BERHNEFHITITHE. ETEEDARFN, BRABERAESHIEMANB200. NB500, EFEEAXHN, ERABESRAESHIER
NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

B11



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JIC SMRELT A°5hfE / FHEE IMRN

JIC MALE 74° CONE /NPT MALE

SERINUT
+ESLEEVE

i

74°<>Lu

1JN
K= # g THREAD R < DIMENSIONS

PART NO. E F A B L s1

1JN-02 5/16"'X24 Z1/8"x27 11.4 10.5 28 12
1JN-04-02 7/16"X20 Z1/8"x27 14 10.5 30.5 12

1JN-04 7/16"X20 Z1/4"X18 14 15 35 17
1JN-04-06 7/16"X20 Z3/8"X18 14 16 36 19
1JN-04-08 7/16"X20 Z1/2'X14 14 19.5 415 24
1JN-05-02 1/2'X20 Z1/8"X27 14 10.5 30.5 14
1JN-05-04 1/2'X20 Z1/4"X18 14 15 35 17
1JN-05-06 1/2'X20 73/8"X18 14 16 36 19
1JN-05-08 1/2'X20 Z1/2'X14 14 19.5 415 24
1JN-06-04 9/16"X18 Z1/4"X18 141 15 34.5 17

1JN-06 9/16"X18 73/8"X18 141 16 36 19
1JN-06-08 9/16"X18 Z1/2'X14 144 19.5 415 24
1JN-08-04 3/4"X16 Z1/4"X18 16.7 15 39 22
1JN-08-06 3/4"X16 Z3/8"X18 16.7 16 40 22

1JN-08 3/4"X16 Z1/2'X14 16.7 19.5 44 24
1JN-08-12 3/4"X16 Z3/4"X14 16.7 19.5 46.5 30
1JN-10-06 7/8"X14 73/8"X18 19.3 16 435 24
1JN-10-08 7/8"X14 Z1/2'X14 19.3 19.5 47 24
1JN-10-12 7/8"X14 Z3/4"X14 19.3 19.5 49 30
1JN-12-08 1.1/16"'X12 Z1/2'X14 21.9 19.5 51 30

1JN-12 1.1/16"'X12 Z3/4"X14 21.9 19.5 51.5 30
1JN-12-16 1.1/16"X12 Z1"X11.5 21.9 25.5 58.5 36
1JN-12-20 1.116"X12 Z1.1/4"X11.5 21.9 26.5 61.5 46
1JN-14-12 1.3/16"X12 73/4'X14 226 19.5 53 32
1JN-16-12 1.5/16"X12 Z3/4'X14 23.1 19.5 53.5 36

1JN-16 1.5/16"X12 Z1"X11.5 23.1 25.5 58.5 36
1JN-16-20 1.5/16"X12 Z1.1/4'X11.5 23.1 26.5 62.5 46
1JN-16-24 1.5/16"X12 Z1.1/2'X11.5 23.1 27.5 65.5 50
1JN-20-16 1.5/8"X12 Z1"X11.5 24.3 25.5 63 46

1JN-20 1.5/8"X12 Z1.1/4"X11.5 24.3 26.5 63.5 46
1JN-20-24 1.5/8"X12 Z1.1/2'X11.5 24.3 27.5 67 50
1JN-24-20 1.7/8"X12 Z1.1/4"X11.5 27.5 26.5 69 50

1JN-24 1.7/8"X12 Z1.1/2'X11.5 27.5 27.5 70 50
1JN-24-32 1.7/8"X12 72'X11.5 27.5 27.5 72 65

1JN-32 2.1/2'X12 72'X11.5 339 27.5 78.5 65
1JN-32-20 2.1/2"X12 Z1.1/4"X11.5 339 26.5 77 65
1JN-32-24 2.1/2'X12 Z1.1/2'X11.5 339 27.5 78.5 65

i BERFHEERTITS, EFERE D AAHIN, EABSRFAESFIER NB200. NB500, EFEEAXGMN, EABGRHNESHIE
FAINB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,thenut NB200 and sleeve
NB300 is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

45°Z)IC JMBEDIT 458/ i B JMB LY

45° ELBOWJIC MALE 74° CONE/NPT MALE

A S1
1JN4
RE #2 5 THREAD R~ DIMENSIONS
PART NO. E F A B S1
1JN4-02 5/16"X24 Z1/8"X27 18 17 11
1JN4-03-02 3/8"X24 Z1/8"X27 19 17 11
1JN4-04-02 7/16"X20 Z1/8"X27 215 17 11
1JN4-04 7/16"X20 71/4"X18 22.3 21 14
1JN4-04-06 7/16"X20 73/8"X18 23 24 19
1JN4-04-08 7/16"X20 Z1/2"X14 24.5 29.5 22
1JN4-05-02 1/2"X20 Z1/8"X27 22.3 18 14
1JN4-05-04 1/2"X20 Z1/4"X18 22.3 21 14
1JN4-06-02 9/16"X18 Z1/8"X27 22.8 17.3 14
1JN4-06-04 9/16"X18 71/4"X18 22.8 21 14
1JN4-06 9/16"X18 73/8"X18 24 24 19
1JN4-06-08 9/16"X18 Z1/2"X14 25 29.5 22
1JN4-08-04 3/4"X16 Z1/4"X18 26.8 22 19
1JN4-08-06 3/4"X16 73/8"X18 26.8 24 19
1JN4-08 3/4"X16 Z1/2"X14 28 29.5 22
1JN4-08-12 3/4"X16 Z3/4"X14 29 35 27
1JN4-10-08 7/8"X14 Z1/2"X14 31 29.5 22
1JN4-10-12 7/8"X14 Z3/4"X14 32 35 27
1JN4-12-08 1.1/16"X12 Z1/2"X14 35.5 31 27
1JN4-12 1.1/16"X12 Z3/4"X14 355 35 27
1JN4-12-16 1.1/16"X12 Z1"X11.5 37.5 39 33
1JN4-14-12 1.3/16"X12 Z3/4"X14 37 35.5 30
1JN4-16-12 1.5/16"X12 Z3/4"X14 38.5 36.5 33
1JN4-16 1.5/16"X12 Z1"X11.5 38.5 39 33
1JN4-16-20 1.5/16"X12 Z1.1/4"X11.5 42 425 41
1JN4-20-16 1.5/8"X12 Z1"X11.5 43 42.5 41
1JN4-20 1.5/8"X12 Z1.1/4"X11.5 43 42 41
1JN4-20-24 1.5/8"X12 Z1.1/2"X11.5 46 45 48
1JN4-24 1.7/8"X12 Z1.1/2"X11.5 49 45 48
1JN4-32 2.1/2"X12 Z2"X11.5 58 50 63

iE: BEERAEESHITITHR, EFEHRE D AXGN, RABRSRAESHEM NB200. NB500, EFHEAXFN, RABGRHESHE
FINB200, NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nutNB200 and sleeve
NB300 is suitable for inch tube.

B13



B14

Sl B gk

AMERICA ADAPTOR

90°E JIC JMRLT4°5bitE /10 HES JMBEN

90° ELBOW JIC MALE 74° CONE / NPT MALE

|
'_
|
|

BEEINUT

£ &b i Jx

XINDU HYDRAULIC

A
1JN9
R = 12 47 THREAD R st DIMENSIONS

PART NO. E F A B S
1JN9-02 5/16"X24 Z1/8"X27 21 21 11
1JN9-03-02 3/8"X24 Z1/8"X27 22 21 11
1JN9-04 7/16"X20 Z1/4"X18 26.6 255 14
1JN9-04-02 7/16"X20 Z1/8"X27 24.5 21 11
1JN9-04-06 7/16"X20 Z3/8"X18 29.5 31 19
1JN9-05-02 1/2"X20 Z1/8"X27 26.6 23.5 14
1JN9-05-04 1/2"X20 Z1/4"X18 26.6 255 14
1JN9-05-06 1/2"X20 Z3/8"X18 29.5 31 19
1JN9-06 9/16"X18 Z3/8"X18 30 31 19
1JN9-06-04 9/16"X18 Z1/4"X18 26.9 25.5 14
1JN9-06-08 9/16"X18 Z1/2"X14 32 36.7 22
1JN9-08 3/4"X16 Z1/2"X14 34.8 37.3 22
1JN9-08-04 3/4"X16 Z1/4"X18 32 28.5 19
1JN9-08-06 3/4"X16 Z3/8"X18 32 31 19
1JN9-08-12 3/4"X16 Z3/4"X14 37.9 44 27
1JN9-10-06 7/8"X14 Z3/8"X18 37.8 32,5 22
1JN9-10-08 7/8"X14 Z1/2"X14 37.8 37.3 22
1JN9-10-12 7/8"X14 Z3/4"X14 41 44 27
1JN9-10-16 7/8"X14 Z1"X11.5 445 50 33
1JN9-12 1.1/16"X12 Z3/4"X14 44.2 44 27
1JN9-12-08 1.1/16"X12 Z1/2"X14 44.2 40 27
1JN9-12-16 1.1/16"X12 Z1"X11.5 49 50 33
1JN9-12-20 1.1/16"X12 Z1.1/4"X11.5 52.5 54.5 41
1JN9-14-12 1.3/16"X12 Z3/4"X14 47.5 45 30
1JN9-14-16 1.3/16"X12 Z1"X11.5 48.7 50 33
1JN9-16 1.5/16"X12 Z1"X11.5 49 50 33
1JN9-16-12 1.5/16"X12 Z3/4"X14 49 45.2 33
1JN9-16-20 1.5/16"X12 Z1.1/4"X11.5 54 60.5 41
1JN9-16-24 1.5/16"X12 Z1.1/2"X11.5 59.4 59.5 48
1JN9-20 1.5/8"X12 Z1.1/4"X11.5 55.5 54.5 41
1JN9-20-16 1.5/8"X12 Z1"X11.5 55.5 54.5 41
1JN9-20-24 1.5/8"X12 Z1.1/2"X11.5 59.4 63 48
1JN9-24 1.7/8"X12 Z1.1/2"X11.5 62.5 63 48
1JN9-24-20 1.7/8"X12 Z1.1/4"X11.5 62.5 63 48
1JN9-32-24 2.1/2"X12 Z1.1/2"X11.5 75.4 70 63
1JN9-32 2.1/2"X12 Z2"X11.5 75.4 67.5 63

i BEBRWEERTITHR, EFEE D ARG, BRABESRAESAIEA NB200. NB500, HEFHEEAXGIN, EABSRHESRE

FAANB200, NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,thenut NB200 and sleeve

NB3O0O0 is suitable for inch tube.



EHlTEEL & 8% 5

AMERICA ADAPTOR XINDU HYDRAULIC

90° JIC HMRNT4°5ME/INIK T s E IMBLL

90° JIC MALE 74° CONE/LONG NPT MALE

ke ¥ 457  THREAD R~ DIMENSIONS
F ot PART NO. E F A B st
| 1JN9-04-02L 7/16"X20 Z1/8"X27 24.5 30 11
1JN9-04L 7/16"X20 Z1/4"X18 26.6 40.1 14
1JN9-05-02L 1/2"X20 Z1/8"X27 26.6 31 14
1JN9-05-04L 1/2"X20 Z1/4"X18 26.6 40.1 14
1JN9-06-04L 9/16"X18 Z1/4"X18 26.9 40.1 14
1JN9-06-08L 9/16"X18 Z1/2"X14 32 55.1 22
1JN9-08-06L 3/4"X16 73/8"X18 32 46.2 19
1JN9-08L 3/4"X16 Z1/2"X14 34.8 55.1 22
1JN9-10-08L 7/8"X14 Z1/2"X14 37.8 55.1 22
1JN9-12-08L 1.1/16"X12 Z1/2"X14 44.2 56.9 27
1JN9-12L 1.1/16"X12 Z3/4"X14 44.2 62 27
1JN9-16-12L 1.5/16"X12 Z3/4"X14 49 69.9 33
1JN9-16L 1.5/16"X12 Z1"X11.5 49 76.5 33
1JN9-20L 1.5/8"X12 Z1.1/4"X11.5 55.5 93.7 41
1JN9-24L 1.7/8"X12 Z1.1/2"X11.5 62.5 104.1 48
1JNO-L 1JN9-32L 2.1/2"X12 Z2"X11.5 78 122.2 63

i BERAERRTITN. ETERDAXHN, RABRSRAMESFEMANB200. NB500, EFEEANHEHN, RARSRAENFIER
NB200. NB300,

Note: Nut and sleeve should be ordered separately. The nut NB200and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

90°F JIC JMBLT4°51iE / MK TR HEE JMBN

90° ELBOW JIC MALE 74° CONE / LONGER NPT MALE

. ke 12 5 THREAD R <t DIMENSIONS
1 PART NO. E F A B St
= 1JN9-04-02LL 7/16"X20 Z1/8"X27 24.5 39.6 1
i o 1JN9-04LL 7/16"X20 Z1/4"X18 26.6 526 14
| 1JN9-05-04LL 1/2"X20 Z1/4"X18 26.6 52.6 14
T 1 1JN9-06-04LL 9/16"X18 Z1/4"X18 26.9 52.6 14
74°C'—IJ j1[|7| ) 1JN9-06LL 9/16"X18 Z3/8"X18 30 61.5 19
A >@ 1JN9-08-06LL 3/4"X16 Z3/8"X18 32 61.5 19
— 1JN9-10-08LL 7/8"X14 Z1/2"X14 37.8 72.9 22
1JN9-12LL 1.1/16"X12 Z3/4"X14 44.2 83.3 27
1JN9-16LL 1.5/16"X12 Z1"X11.5 49 102.9 33
1JN9-20LL 1.5/8"X12 Z1.1/4"X11.5 55.5 127 41
BANUT 1JN9—24LL 1.7/8"X12 Z1.1/2'X11.5 62.5 141 48
1JN9-32LL 2.1/2"X12 Z2'X11.5 78 168.4 63

1JN9-LL

i BERWEERTITS, EFERE D AAHIN, RABSRFAESSIER NB200. NB500, EFEEAXGMN, EABGRHNESHIE
FAINB200. NB300,

Note: Nut and sleeve should be ordered separately.The nutNB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

B15




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

= JIC JMRBT 4°5MtE / SAEIMELTHORZEIIR RSO 11926-3
JIC MALE 74° CONE / SAE O-RINGBOSS L-SERIES ISO 11926-3

AL B
778

g

IZRENUT

1JO
& = #2 51 THREAD OB O-RING R st DIMENSIONS
=

PART NO. E F Fi% A B L St
1J0-04-02 7/16"X20 5/16"X24 0902 14 7.54 275 14
1J0-04-03 7/16"X20 3/8"X24 0903 14 7.54 27.5 14

1J0-04 7/16"X20 7/16"X20 0904 14 9.14 29 14
1J0-04-05 7/16"X20 1/2"X20 0905 14 9.14 29 17
1J0-04-06 7/16"X20 9/16"X18 0906 14 9.93 30 17
1J0-04-08 7/16"X20 3/4"X16 0908 14 11.13 33 22

1J0-05 1/2"X20 1/2"X20 0905 14 9.14 29 17
1J0-05-04 1/2"X20 7/16"X20 0904 14 9.14 29 14
1J0-05-06 1/2"X20 9/16"X18 0906 14 9.93 30 17
1J0-05-08 1/2"X20 3/4"X16 0908 14 11.13 33 22

1J0-06 9/16"X18 9/16"X18 0906 141 9.93 30 17
1J0-06-04 9/16"X18 7/16"X20 0904 141 9.14 29 17
1J0-06-05 9/16"X18 1/2"X20 0905 1441 9.14 29.5 17
1J0-06-08 9/16"X18 3/4"X16 0908 141 11.13 33 22
1J0-06-10 9/16"X18 7/8"X14 0910 141 12.7 37 27
1J0-06-12 9/16"X18 1.1/16"X12 0912 141 15.09 40 32

1J0-08 3/4"X16 3/4"X16 0908 16.7 11.13 36 22
1J0-08-04 3/4"X16 7/16"X20 0904 16.7 9.14 34 22
1J0-08-06 3/4"X16 9/16"X18 0906 16.7 9.93 35 22
1J0-08-10 3/4"X16 7/8"X14 0910 16.7 12.7 40 27
1J0-08-12 3/4"X16 1.1/16"X12 0912 16.7 15.09 43 32
1J0-08-14 3/4"X16 1.3/16"X12 0914 16.7 15.09 43 36

1JO-10 7/8"X14 7/8"X14 0910 19.3 12.7 425 27
1J0-10-08 7/8"X14 3/4"X16 0908 19.3 11.13 39 24
1J0-10-12 7/8"X14 1.1/16"X12 0912 19.3 15.09 45.5 32
1J0-10-14 7/8"X14 1.3/16"X12 0914 19.3 15.09 45.5 36

1J0-12 1.1/16"X12 1.1/16"X12 0912 21.9 15.09 48 32
1J0-12-08 1.1/16"X12 3/4"X16 0908 21.9 11.13 43 30
1J0-12-10 1.1/16"X12 7/8"X14 0910 21.9 12.7 45 30
1J0-12-14 1.1/16"X12 1.3/16"X12 0914 21.9 15.09 48 36
1J0-12-16 1.1/16"X12 1.5/16"X12 0916 21.9 15.09 48 38

1J0-14 1.3/16"X12 1.3/16"X12 0914 22.6 15.09 48.5 36
1J0-14-12 1.3/16"X12 1.1/16"X12 0912 22.6 15.09 48.5 32
1J0-14-16 1.3/16"X12 1.5/16"X12 0916 226 15.09 50.5 38

1JO-16 1.5/16"X12 1.5/16"X12 0916 23.1 15.09 49 38
1J0-16-12 1.5/16"X12 1.1/16"X12 0912 23.1 15.09 49 36
1J0-16-14 1.5/16"X12 1.3/16"X12 0914 23.1 15.09 49 36
1J0-16-20 1.5/16"X12 1.5/8"X12 0920 23.1 15.09 53 50

1J0-20 1.5/8"X12 1.5/8"X12 0920 24.3 15.09 54.5 50
1J0-20-16 1.5/8"X12 1.5/16"X12 0916 24.3 15.09 52.5 46
1J0-20-24 1.5/8"X12 1.7/8"X12 0924 24.3 15.09 54.5 55

1J0-24 1.7/8"X12 1.7/8"X12 0924 27.5 15.09 57.5 55
1J0-24-20 1.7/8"X12 1.5/8"X12 0920 27.5 15.09 57.5 50
1J0-24-32 1.7/8"X12 2.1/2"X12 0932 27.5 15.09 59.5 70

1J0-32 2.1/2"X12 2.1/2"X12 0932 33.9 15.09 66 70

i BERVEESHTITHR, EFEEDAATIN, RABESRMESSEANB200. NB500, EFHEA RN, RABERHES LR
NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 andsleeve
NB300 is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

45°)IC JMBLIT 4°4béE / SAEIMBLIEORBE R FIISO 11926-3

45° ELBOW JIC MALE 74° CONE / SAE O-RING BOSS L-SERIES ISO 11926-3

S2

/ UEEENUT

7 / . wesieeve (77777
74OCLUj1H | AV %) DE -

A s1
1J04-0G
® = 12 57 THREAD O O-RING R~ DIMENSIONS

PART NO. E F Fis A B S1 s2
1J04-040G 7/16"X20 7/16"X20 0904 21 24 11 17
1J04-04-060G 716"X20 9/16"X18 0906 223 275 14 19
1J04-04-080G 716"X20 3/4"X16 0908 245 325 19 24
1J04-050G 1/2"X20 1/2"X20 0905 22 26.7 14 17
1J04-05-040G 1/2"X20 7/16"X20 0904 22 26.7 14 17
1J04-060G 9/16"X18 9/16"X18 0906 235 28 14 19
1J04-06-040G 9/16"X18 7/16"X20 0904 2238 26 14 17
1J04-06-050G 9/16"X18 1/2"X20 0905 2258 26 14 17
1J04-06-080G 9/16"X18 3/4"X16 0908 25 325 19 24
1J04-06-100G 9/16"X18 7/8"X14 0910 255 385 22 27
1J04-080G 3/4"X16 3/4"X16 0908 25.8 325 19 24
1J04-08-060G 3/4"X16 9/16"X18 0906 255 28 19 19
1J04-08-100G 3/4"X16 7/8"X14 0910 28 387 22 27
1J04-08-120G 3/4"X16 1.1/16"X12 0912 30 43.9 27 32
1J04-100G 7/8"X14 7/8"X14 0910 295 387 22 27
1J04-10-080G 7/8"X14 3/4"X16 0908 295 33 22 27
1J04-10-120G 7/8"X14 1.1/16"X12 0912 33 43.9 27 32
1J04-120G 1.1/16"X12 1.1/16"X12 0912 34 435 27 32
1J04-12-100G 1.1/16"X12 7/8"X14 0910 34 42 27 27
1J04-12-160G 1.1/16"X12 1.5/16"X12 0916 37 455 33 41
1J04-140G 1.3/16"X12 1.3/16"X12 0914 37 44 30 36
1J04-160G 1.5/16"X12 1.5/16"X12 0916 38 455 33 41
1J04-16-120G 1.5/16"X12 1.1/16"X12 0912 38 45 33 32
1J04-16-200G 1.5/16"X12 1.5/8"X12 0920 405 47 41 50
1J04-200G 1.5/8"X12 1.5/8"X12 0920 42 485 41 50
1J04-20-240G 1.5/8"X12 1.7/8"X12 0924 46 50 48 55
1J04-240G 1.7/8"X12 1.7/8"X12 0924 48 50 48 55
1J04-320G 2.1/2"X12 2.1/2"X12 0932 58 54 63 70

i 1 BEREEEFESHTITHR, EFERE D ARG, RABSRIESAEA NB200. NB500, EFHEAXFIN, RABSRAESS
EFANB200. NB300, 2 Fi5ISO 11926-1 if1 O48EL,

Note: 1 Nut and sleeveshould beordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube. 2 F end is connected with ISO 11926-1port.

B17



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

90°EXFIJICHMELNT4°5htE / SAEIMELHORZEERFIISO 11926-3
90° ELBOW JIC MALE 74° CONE / SAE O-RINGBOSS L-SERIES ISO 11926-3

-

S2

ol

s <>é J_” ”:

S1

A
1J09-0G
K= #2 41  THREAD O#2F8 O-RING R st DIMENSIONS
PART NO. E F Fii A B St S2
1J09-04-030G 7/16"X20 3/8"X24 0903 24.5 28 11 14
1J09-040G 7/16"X20 7/16"X20 0904 24.5 27.2 11 17
1J09-04-050G 7/16"X20 1/2"X20 0905 26.6 29.9 14 17
1J09-04-060G 7/16"X20 9/16"X18 0906 26.6 31.8 14 19
1J09-05-040G 1/2"X20 7/16"X20 0904 26.6 30 14 17
1J09-050G 1/2"X20 1/2"X20 0905 26.6 29 14 17
1J09-05-060G 1/2"X20 9/16"X18 0906 26.6 31.8 14 19
1J09-06-040G 9/16"X18 7/16"X20 0904 26.9 30 14 17
1J09-06-050G 9/16"X18 1/2"X20 0905 26.9 29.9 14 17
1J09-060G 9/16"X18 9/16"X18 0906 26.9 31.8 14 19
1J09-06-080G 9/16"X18 3/4"X16 0908 30 36.8 19 24
1J09-08-040G 3/4"X16 7/16"X20 0904 32 33 19 17
1J09-08-060G 3/4"X16 9/16"X18 0906 33 33.5 19 19
1J09-080G 3/4"X16 3/4"X16 0908 33 36.8 19 24
1J09-08-100G 3/4"X16 7/8"X14 0910 34.8 44 22 27
1J09-08-120G 3/4"X16 1.1/16"X12 0912 37.9 51 27 32
1JO9-10-080G 7/8"X14 3/4"X16 0908 38 40 22 27
1J09-100G 7/8"X14 7/8"X14 0910 37.8 44 22 27
1J09-10-120G 7/8"X14 1.1/16"X12 0912 41 51 27 32
1J09-12-080G 1.1/16"X12 3/4"X16 0908 45 44 27 24
1J09-12-100G 1.1/16"X12 7/8"X14 0910 44.2 47 27 27
1J09-120G 1.1/16"X12 1.1/16"X12 0912 44.2 51 27 32
1J09-12-160G 1.1/16"X12 1.5/16"X12 0916 47.8 54.5 33 41
1J09-140G 1.3/16"X12 1.3/16"X12 0914 47.5 53 30 36
1J09-14-160G 1.3/16"X12 1.5/16"X12 0916 48.5 54.5 33 41
1J09-16-120G 1.5/16"X12 1.1/16"X12 0912 48.8 54.5 33 32
1J09-16-140G 1.5/16"X12 1.3/16"X12 0914 49 56 33 36
1J09-160G 1.5/16"X12 1.5/16"X12 0916 48.8 54.5 33 41
1J09-16-200G 1.5/16"X12 1.5/8"X12 0920 53.8 59 41 50
1J09-20-160G 1.5/8"X12 1.5/16"X12 0916 55.5 59.5 41 41
1J09-200G 1.5/8"X12 1.5/8"X12 0920 55.3 59 41 50
1J09-20-240G 1.5/8" X12 1.7/8"X12 0924 59.4 63 48 55
1J09-240G 1.7/8"X12 1.7/8"X12 0924 62.5 63 48 55
1J09-320G 2.1/2"'x12 2.1/2"x12 0932 80 76 63 70

iE: 1 BEBRFAEERITITR, EFHEE D ANGN, RABESRAESFIEM NB200, NB500, EFHEZAXGIN, RABESRFED
£ NB200. NB300, 2 F #%5 1SO 11926-1 i O4HEL,

Note: 1 Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and
sleeve NB300 is suitable for inch tube. 2 F end is connected with ISO 11926-1port.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EHJIC JMBNT 4°5h i /SEHEES JMBL

JIC MALE 74° CONE / BSPT MALE

ERINUT
#1#ESLEEV! Q\\ W |
- : :
a ;iﬁw 1
74°(>€ 1 L \
\
1JT-SP
® = #2 40 THREAD R~ DIMENSIONS

PART NO. E F A B L S1
1JT-04-02SP 7/16"X20 R1/8"X28 14 10 30 12
1JT-04SP 7/16"X20 R1/4"X19 14 14.5 345 14
1JT-04-06SP 7/16"X20 R3/8"X19 14 15 35 17
1JT-05-02SP 1/2"X20 R1/8"X28 14 10.5 305 14
1JT-05-04SP 1/2"X20 R1/4"X19 14 145 34 14
1JT-05-06SP 1/2"X20 R3/8"X19 14 15 35 19
1JT-06-02SP 9/16"X18 R1/8"X28 14.1 10.5 305 17
1JT-06-04SP 9/16"X18 R1/4"X19 14.1 14.5 34 17
1JT-06SP 9/16"X18 R3/8"X19 14.1 15 34 17
1JT-06-08SP 9/16"X18 R1/2"X14 14.1 20 41 22
1JT-08-06SP 3/4"X16 R3/8"X19 16.7 15 39 22
1JT-08SP 3/4"X16 R1/2"X14 16.7 20 445 22
1JT-08-12SP 3/4"X16 R3/4"X14 16.7 20 46 30
1JT-10-06SP 7/8"X14 R3/8"X19 19.3 15 425 24
1JT-10-08SP 7/8"X14 R1/2"X14 19.3 20 465 24
1JT-10-12SP 7/8"X14 R3/4"X14 19.3 20 485 30
1JT-12-08SP 1.1/16"X12 R1/2"X14 21.9 20 51 30
1JT-12SP 1.1/16"X12 R3/4"X14 21.9 20 51 30
1JT-12-16SP 1.1/16"X12 R1"X11 21.9 255 575 36
1JT-14-12SP 1.3/16"X12 R3/4"X14 226 20 525 32
1JT-14-16SP 1.3/16"X12 R1"X11 226 255 575 36
1JT-16-12SP 1.5/16"X12 R3/4"X14 23.1 20 53 36
1JT-16SP 1.5/16"X12 R1"X11 23.1 255 59 36
1JT-16-20SP 1.5/16"X12 R1.1/4"X11 23.1 265 61.5 46
1JT-20-16SP 1.5/8"X12 R1"X11 24.3 255 62.5 46
1JT-20SP 1.5/8"X12 R1.1/4"X11 24.3 265 63 46
1JT-20-24SP 1.5/8"X12 R1.1/2"X11 24.3 265 66.5 50
1JT-24-20SP 1.7/8"X12 R1.1/4"X11 275 265 67.5 50
1JT-24SP 1.7/8"X12 R1.1/2"X11 275 265 69.5 50
1JT-24-32SP 1.7/8"X12 R2"X11 275 30 74.5 65
1JT-32-24SP 2.1/2"X12 R1.1/2"X11 33.9 265 775 65
1JT-32SP 2.1/2"X12 R2"X11 33.9 30 80 65

T BERFAEFHITITH. ETHRE D AXGN, RABRSRFAESHEM NB200. NB500, EFHEAEFIN, RABGRAESHE
A NB200. NB300,

Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

B19



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

A45°ZEHIIIC HMREIT 4G /EHEE JMELN

45° ELBOW JIC MALE 74° CONE / BSPT MALE

SRRENUT
*ESLEEVE

7/
NN\

1JT4-SP
g = #2 5 THREAD R <t DIMENSIONS
PART NO. E F A B S1
1JT4-04-02SP 7/16"X20 R1/8"'X28 215 17 11
1JT4-04SP 7/16"X20 R1/4"X19 22.3 21 14
1JT4-04-06SP 7/16"X20 R3/8"'X19 225 23 16
1JT4-04-08SP 7/16"X20 R1/2'X14 24.5 29.5 22
1JT4-05-02SP 1/2"X20 R1/8"X28 21.5 17.5 14
1JT4-05-04SP 1/2"X20 R1/4"X19 22.3 21 14
1JT4-05-06SP 1/2'X20 R3/8"'X19 22.8 23 16
1JT4-06-02SP 9/16"X18 R1/8"'X28 228 18 14
1JT4-06-04SP 9/16"X18 R1/4"X19 22.8 21 14
1JT4-06SP 9/16"X18 R3/8"'X19 23 23 16
1JT4-06-08SP 9/16"X18 R1/2'X14 25 29.5 22
1JT4-08-04SP 3/4"X16 R1/4"X19 26.8 22 19
1JT4-08-06SP 3/4"X16 R3/8"X19 26.8 24 19
1JT4-08SP 3/4"X16 R1/2'X14 28 29.5 22
1JT4-08-12SP 3/4"X16 R3/4"X14 29 30.5 27
1JT4-10-06SP 7/8'X14 R3/8"X19 31 25 22
1JT4-10-08SP 7/8"'X14 R1/2'X14 31 29.5 22
1JT4-10-12SP 7/8'X14 R3/4"X14 33 31.5 27
1JT4-12-08SP 1.116"X12 R1/2"X14 35.5 30 27
1JT4-12SP 1.116"X12 R3/4'X14 35.5 30.5 27
1JT4-12-16SP 1.116"X12 R1"X11 37.5 38 33
1JT4-16-12SP 1.5/16"X12 R3/4"X14 38.5 325 33
1JT4-16SP 1.516"X12 R1"X11 38.5 38 33
1JT4-16-20SP 1.5/16"X12 R1.1/4"X11 42 43 41
1JT4-20-16SP 1.5/8"X12 R1"X11 43 42 41
1JT4-20SP 1.5/8"X12 R1.1/4"X11 43 43 41
1JT4-20-24SP 1.5/8"X12 R1.1/2'X11 46 47.5 48
1JT4-24-20SP 1.7/8"X12 R1.1/4"X11 49 455 48
1JT4-24SP 1.7/8"X12 R1.1/2"X11 49 47.5 48
1JT4-328P 2.1/2'X12 R2"X11 58 50 63

it BERWAEERTIISR, EFERE D ANHE, BRABRSRAESFIEA NB200. NB500, EFHEEAXFIA, BEABEBRHEN %
FAINB200, NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

90°ZEHIJIC JMBHIT 4°5hitE /HEHEE JMBRBL

90° ELBOW JIC MALE 74° CONE / BSPT MALE

- ' IEEENUT D
JV L 1w ﬁﬁs%\ y
|

74° D@ D (@] ‘
A )@ p—0~——\|—

A A/
1JT9-SP
g2 2 51 THREAD R <t DIMENSIONS
PART NO. E E A B S
1JT9-02SP 5/16"X24 R1/8"X28 20.5 21 11
1JT9-04-02SP 7/16"X20 R1/8"X28 24.5 21 11
1JT9-04SP 7/16"X20 R1/4"X19 26.6 25.5 14
1JT9-04-06SP 7/16"X20 R3/8"X19 27.5 28 16
1JT9-05-02SP 1/2"X20 R1/8"X28 26.6 23.5 14
1JT9-05-04SP 1/2"X20 R1/4"X19 26.6 25.5 14
1JT9-05-06SP 1/2"X20 R3/8"X19 27.5 28 16
1JT9-06-02SP 9/16"X18 R1/8"X28 26.9 23.5 14
1JT9-06-04SP 9/16"X18 R1/4"X19 26.9 25.5 14
1JT9-06SP 9/16"X18 R3/8"X19 28.5 28.5 16
1JT9-06-08SP 9/16"X18 R1/2"X14 32 36 22
1JT9-08-04SP 3/4"X16 R1/4"X19 32 28 19
1JT9-08-06SP 3/4"X16 R3/8"X19 32 30.5 19
1JT9-08SP 3/4"X16 R1/2"X14 34.8 36 22
1JT9-08-12SP 3/4"X16 R3/4"X14 37.9 43.5 27
1JT9-10-06SP 7/8"X14 R3/8"X19 38 32 22
1JT9-10-08SP 7/8"'X14 R1/2"X14 37.8 36 22
1JT9-10-12SP 7/8"X14 R3/4"X14 4 43.5 27
1JT9-12-08SP 1.1/16"X12 R1/2"X14 44.2 40 27
1JT9-12SP 1.1/16"X12 R3/4"X14 44.2 43.5 27
1JT9-12-16SP 1.1/16"X12 R1"X11 47.8 50 33
1JT9-16-12SP 1.5/16"X12 R3/4"X14 49 47.5 33
1JT9-16SP 1.5/16"X12 R1"X11 49 50 33
1JT9-16-20SP 1.5/16"X12 R1.1/4"X11 54 56.5 41
1JT9-20-16SP 1.5/8"X12 R1"X11 55.5 56.5 41
1JT9-20SP 1.5/8"X12 R1.1/4"X11 55.5 56.5 41
1JT9-24-20SP 1.7/8"X12 R1.1/4"X11 62.5 61 48
1JT9-24SP 1.7/8"X12 R1.1/2"X11 62.5 62.5 48
1JT9-24-32SP 1.7/8"X12 R2"X11 74.5 67 63
1JT9-32SP 2.1/2"X12 R2"X11 75.4 67 63

T BERHAESESHITITHR. ETHRE D ALGN, EABRSRFAESFEM NB200. NB500, EFHEAXFIN, RABGRAESE
A NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

B21



B22

Sl B gk

AMERICA ADAPTOR

SAE JMRENH O KB

SAE O-RING BOSS

£ &b i Jx

XINDU HYDRAULIC

10
r e # 4 THREAD O O-RING R <t DIMENSIONS
PART NO. E F Ei Fi A B L S1
10-04 7/16"X20 7/16"X20 8.92X1.83 8.92X1.83 9.14 9.14 245 14
10-05 1/2"X20 1/2"X20 10.52X1.83 10.52X1.83 9.14 9.14 24.5 17
10-06 9/16"X18 9/16"X18 11.89X1.98 11.89X1.98 9.93 9.93 26 17
10-08 3/4"X16 3/4"X16 16.36X2.21 16.36X2.21 11.13 11.13 30.5 22
10-10 7/8"X14 7/8"X14 19.18X2.46 19.18X2.46 12.7 12.7 35.5 27
10-12 1.1/16"X12 1.1/16"X12 23.47X2.95 23.47X2.95 15.09 15.09 41 32
10-16 1.5/16"X12 1.5/16"X12 29.74X2.95 29.74X2.95 15.09 15.09 41 38
- Aco S
SEHISAEIMBESHOR B LIZ R FIISO 11926-3
SAE O-RING BOSS PLUG L-SERIES ISO 11926-3
L
A B
<
L _r _ _ _ _[_LI_
S1 S2
10-0G
& = ¥ 4 THREAD OFE O-RING R <t DIMENSIONS
PART NO. E F Ett Fif A B L S1 s2
10-040G 7/16"X20 7/16"X20 0904 0904 9.14 18 33 14 17
10-04-060G 7/16"X20 9/16"X18 0904 0906 9.14 20 35.1 17 19
10-060G 9/16"X18 9/16"X18 0906 0906 9.93 20 36 17 19
10-06-080G 9/16"X18 3/4"X16 0906 0908 9.93 22 40 22 24
10-080G 3/4"X16 3/4"X16 0908 0908 11.13 22 40 22 24
10-08-120G 3/4"X16 1.1/16"X12 0908 0912 11.13 29 51 B2, 32
10-100G 7/8"X14 7/8"X14 0910 0910 12.7 26 46 27 27
10-120G 1.1/16"X12 1.1/16"X12 0912 0912 15.1 29 54 32 32
10-160G 1.5/16"X12 1.5/16"X12 0916 0916 15.1 29 54 38 41
10-200G 1.5/8"X12 1.5/8"X12 0920 0920 15.1 29 54 50 50
10-240G 1.7/8"X12 1.7/8"X12 0924 0924 15.1 29 54 55 55




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SEHIJIC JMRET 4°GMfE / JIC RIRNT 4° i

JIC MALE 74°CONE / JIC FEMALE 74° SEAT

#ESLEEVE MEEINUT

= L
2J
R 2 12 47 THREAD R ~F DIMENSIONS
PART NO. E F A B L S1 S2
2J-04 7/16"X20 7/16"X20 14 9 28 12 15
2J-04-05 7/16"X20 1/2"X20 14 9.5 28.5 12 17
2J-04-06 7/16"X20 9/16"X18 14 10.5 28.5 14 19
2J-04-08 7/16"X20 3/4"X16 14 11 30.5 19 24
2J-05 1/2"X20 1/2"X20 14 9.5 29 14 17
2J-05-06 1/2"X20 9/16"X18 14 10.5 28.5 14 19
2J-05-08 1/2"X20 3/4"X16 14 11 30.5 19 24
2J-06 9/16"X18 9/16"X18 141 10.5 29 17 19
2J-06-08 9/16"X18 3/4'X16 14.1 11 31 19 24
2J-06-10 9/16"X18 7/8"X14 141 13 335 22 27
2J-08 3/4"X16 3/4"X16 16.7 11 36 22 24
2J-08-06 3/4"X16 9/16"X18 16.7 10.5 34 22 19
2J-08-10 3/4"X16 7/8"X14 16.7 13 36.5 22 27
2J-08-12 3/4"X16 1.1/16"X12 16.7 15 39.5 27 32
2J-10 7/8"X14 7/8"X14 19.3 13 39 24 27
2J-10-08 7/8"X14 3/4"X16 19.3 11 38 24 24
2J-10-12 7/8"X14 1.1/16"X12 19.3 15 42 27 32
2J-12 1.1/16"X12 1.1/16"X12 21.9 15 445 30 32
2J-12-10 1.1/16"X12 7/8"X14 21.9 13 435 30 27
2J-12-16 1.1/16"X12 1.5/16"X12 21.9 16 455 36 41
2J-16 1.5/16"X12 1.5/16"X12 23.1 16 46.5 36 41
2J-16-20 1.5/16"X12 1.5/8"X12 23.1 17 53 41 50
2J-20 1.5/8"X12 1.5/8"X12 24.3 17 54.5 46 50
2J-20-24 1.5/8"X12 1.7/8"X12 24.3 20 55.5 46 55
2J-24 1.7/8"X12 1.7/8"X12 27.5 20 61 50 55
2J-24-32 1.7/8"X12 2.1/2"X12 27.5 245 63 65 75
2J-32 2.1/2"X12 2.1/2"X12 33.9 245 69.5 65 75

T BERVEESHTITR, EFHEHRE D ARG, RABSRFENFEM NB200. NB500, EFHEFEARXFN, RABBRAES %
FAINB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 andsleeve NB50O0 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

B23



B24

EHlTEEL & 8% 5

AMERICA ADAPTOR XINDU HYDRAULIC

A45°ZEHIIIC JMBEL 74°5biE / JIC RERET4° A5

45° ELBOW JIC MALE 74°CONE / JIC FEMALE 74° SEAT

R 2 47 THREAD R~ DIMENSIONS
PART NO. E F A B S1 S2
2J4-04 7/16"X20 7/16"X20 21.5 9 11 15
2J4-05 1/2"X20 1/2"X20 22 9.5 14 17
2J4-06 9/16"X18 9/16"X18 22.8 10.5 14 19
2J4-08 3/4"X16 3/4"X16 26.8 11 19 24
2J4-10 7/8"X14 7/8"X14 31 13 22 27
2J4-12 1.1/16"X12 1.1/16"X12 35.5 15 27 32
2J4-14 1.3/16"X12 1.3/16"X12 37 15 30 36
2J4-16 1.5/16"X12 1.5/16"X12 38.5 16 33 41
2J4-20 1.5/8"X12 1.5/8"X12 43 17 41 50
2J4-24 1.7/8"X12 1.7/8"X12 49 20 48 55}
2J4-32 2.1/2"X12 2.1/2"X12 58 245 63 75
2J4

i BERHMESHTITE. ETHRE D AnHN, EABRSRFAESFEM NB200. NB500, EFHEAXFN, BEABSRHESE
AINB200, NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

90°ZEHIJIC SMRAL 74°9iE / JIC RIRNT AR

90° ELBOW JIC MALE 74°CONE / JIC FEMALE 74° SEAT

=] 2 4L THREAD R <t DIMENSIONS
PART NO. E F A B S1 S2
2J9-02 5/16"X24 5/16"X24 21 5.6 1 12
2J9-03 3/8"X24 3/8"X24 22 5 11 14
2J9-04 7/16"X20 7/16"X20 24.5 9 1 15
2J9-05 1/2"X20 1/2"X20 26.5 9.5 14 17
2J9-06 9/16"X18 9/16"X18 26.9 10.5 14 19
2J9-06-08 9/16"X18 3/4"X16 28.5 11 16 24
2J9-08-06 3/4"X16 9/16"X18 32 10.5 19 19
2J9-08 3/4"X16 3/4"X16 32 11 19 24
2J9-08-10 3/4"X16 7/8"X14 32 13 19 27
2J9-10 7/8"X14 7/8"X14 37.8 13 22 27
2J9-10-08 7/8"X14 3/4"X16 37.8 11 22 24
2J9-10-12 7/8"X14 1.1/16"X12 39.5 15 24 32
2J9-12 1.1/16"X12 1.1/16"X12 44.2 15 27 32
2J9-12-10 1.1/16"X12 7/8"X14 44.2 13 27 27
WESLEEVE MEENUT 2J9-12-16 1.1/16"X12 1.5/16"X12 46 16 30 4
2J9-14 1.3/16"X12 1.3/16"X12 47.5 15 30 36
N 2J9-16 1.5/16"X12 1.5/16"X12 48.8 16 33 41
S 2J9-16-20 1.5/16"X12 1.5/8"X12 54 17 41 50
DE - L- 2J9-20-16 1.5/8"X12 1.5/16"X12 55.5 16 Ll 41
L. 2J9-20 1.5/8"X12 1.5/8"X12 65.5 17 41 50
2J9-20-24 1.5/8"X12 1.7/8"X12 59.5 20 48 55
2J9-24-20 1.7/8"X12 1.5/8"X12 62.5 17 48 50
2J9 2J9-24 1.7/8"X12 1.7/8"X12 62.5 20 48 55
2J9-32 2.1/2"X12 2.1/2"X12 75.5 245 63 75

i BERFAEESHTITHR, EFHEHRE D ANGN, RABSRFAESAEM NB200. NB500, EFHEHEARFN, EABERAESE
FAINB200, NB300,

Note: Nut and sleeve should be ordered separately.The nutNB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JIC JMBL 74°AE /ORFS PILELY

JIC MALE 74° CONE/ORFS FEMALE

Ty #2 51 THREAD R st DIMENSIONS
PART NO. E F A B L S1 S2
2JF-04 7/16"X20 9/16X18 14 85 | 355 14 19
740(> w 2JF-06 9/16"'x18 | 11/16"X16 14.1 10 385 17 22
2JF-08 3/4"X16 13/16"X16 16.7 11 45 22 27
2JF-10 7/8"X14 1"X14 19.3 | 135 | 515 24 30
2JF-12 1.1/16"X12 | 1.3/16"X12 21.9 15 58 30 36
JEEENUT 2JF-16 1.5/16"X12 | 1.7/16"X12 23.1 15 62 36 41
2JF-20 1.5/8"'X12 | 1.11/16'X12 | 243 15 64.5 46 50

2JF

i BERAEESHITITHR, EFHRE D ANGN, RABSRFAESAEM NB200. NB500, EFHEAXFN, BRABGRAESE
FAINB200, NB300,

Nut and sleeve should be ordered separately.The nut NB200and sleeve NB50O is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.

I EIMELY/ JICRIRNT4°AHE

NPT MALE/JIC FEMALE 74° SEAT

g = #2 4 THREAD R <t DIMENSIONS
PART NO. E F A B L St s2
2NJ-02-04 Z1/8"'X27 7/16'X20 10.5 9 245 12 17
2NJ-02-05 Z1/8"'X27 1/2"X20 10.5 9 25 12 17
2NJ-04 Z1/4"X18 7/16"X20 15 9 29 17 17
2NJ-04-05 Z1/4"X18 1/2"X20 15 9 295 17 17
L B 2NJ-04-06 Z1/4"X18 9/16'X18 15 105 | 295 17 19
A /\ 2NJ-04-08 Z1/4"X18 3/4"X16 15 105 | 315 19 24
W 2NJ-06 73/8"'X18 9/16°X18 16 105 | 305 19 19
) 2NJ-06-08 73/8"'X18 3/4"X16 16 105 | 325 19 24
2NJ-06-10 73/8"'X18 7/8"X14 16 12 35 22 27
N AL |7y 2NJ-08 Z1/2"X14 3/4"X16 195 | 105 | 375 | 22 24
‘ 2NJ-08-06 Z1/2'X14 9/16"X18 195 | 105 36 22 19
| ] 2NJ-08-10 Z1/2'X14 7/8"X14 19.5 12 38 22 27
2NJ-08-12 Z1/2"X14 1.1/16"X12 19.5 15 42 27 32
E 2NJ-12 73/4"X14 1.116"X12 19.5 15 42 30 32
S1 S2 2NJ-12-08 Z3/4"X14 3/4"X16 195 | 105 40 30 24
2NJ-12-10 23/4"X14 7/8"X14 19.5 12 405 30 27
2NJ-12-16 73/4"X14 1.5/16"X12 19.5 16 425 32 41
2NJ 2NJ-16 Z1"X11.5 1.5/16"X12 255 16 48 36 4
2NJ-16-12 Z1"X11.5 1.1/16"X12 255 15 49 36 32
2NJ-16-20 Z1"X11.5 1.5/8"X12 255 17 525 | 41 50
2NJ-20 Z1.1/4"X11.5 1.5/8"X12 26.5 17 525 | 46 50
2NJ-20-24 Z1.1/4"X11.5 1.7/8"X12 26.5 20 54 46 60
2NJ-24-20 Z1.1/2°X11.5 1.5/8"X12 275 17 56.5 50 50
2NJ-24 Z1.1/2"X11.5 1.7/8"X12 275 | 235 57 50 60

B25



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

HWHEE MRS / £ JIC PIIEN 74° i

BSPT MALE/JIC FEMALE 74° SEAT

= #2 40 THREAD R ~t DIMENSIONS
PART NO. E F A B L S1 S2
2TJ-02-04SP | R1/8"X28 7/16"X20 10 9 24 12 17
2TJ-04SP R1/4'X19 7/16"X20 14 9 28 14 17
2TJ-04-05SP R1/4'X19 1/2"X20 14 9 285 | 14 17
2TJ-04-06SP R1/4'X19 9/16"X18 14 | 105 | 285 | 14 19
2TJ-06-05SP | R3/8"X19 1/2"X20 15 9 295 | 19 17
74° 2TJ-06SP R3/8"X19 9/16"X18 15 | 105 | 295 | 17 19
2TJ-06-08SP | R3/8"X19 3/4"X16 15 | 105 | 315 | 19 24
2TJ-08SP R1/2'X14 3/4"X16 19 | 105 | 375 | 24 24
2TJ-08-10SP | R1/2'X14 7/8"X14 19 12 38 | 24 27
2TJ-08-12SP | R1/2'X14 | 1.146'X12 | 20 15 | 415 | 27 32
2TJ-12SP R3/4'X14 | 1.116'X12 | 19 15 | 415 | 30 32
2TJ-12-16SP | R3/4'X14 | 1.516'X12 | 20 16 | 435 | 32 41
2TJ-sP 2TJ-16SP R1"X11 1.516"X12 | 24 16 | 475 | 36 41
2TJ-20SP R1.1/4"X11 | 1.5/8"X12 25 17 52 | 46 50
2TJ-24SP R1.1/2'X11 | 1.7/8'X12 | 265 | 20 56 | 50 55
el JIC IR 74°AiE
JIC FEMALE 74°SEAT

&= 2 5 THREAD R <t DIMENSIONS
PART NO. E F A B L S2 S3
3J-04 7116"X20 716"X20 9 9 19 15 15
3J-04-05 716"X20 1/2"X20 9 95 | 205 | 15 17
3J-04-06 7/116"X20 9/16"X18 9 105 | 205 | 15 19
A L B 3J-05 1/2"X20 1/2"X20 95 | 95 21 17 17
/\ 3J-05-06 1/2"X20 9/16"X18 95 | 105 | 21 17 19
S\ X3 3J-06 9/16"X18 9/16"X18 105 | 105 | 21 19 19
3J-06-08 9/16"X18 3/4"X16 105 | 1 23 | 19 24
74° | Wl ST S| )74° 3J-08 3/4"X16 3/4"X16 11 11 26 | 24 24
3J-08-10 3/4"X16 7/8"X14 11 13 | 265 | 24 27
3J-08-12 3/4"X16 1.1/16"X12 11 15 27 | 24 32
) 33 3J-10 7/8"X14 7/8"X14 13 13 27 | 27 27
3J-10-12 7/8"X14 1.1/16"X12 13 15 28 | 27 32
3J-12 14/16"°X12 | 1.1/16"X12 15 15 29 | 32 32
3J 3J-12-14 1.1/16"°X12 | 1.3/16"X12 15 15 29 | 32 36
3J-12-16 1.1/16"°X12 | 1.5/16"X12 15 16 29 | 32 41
3J-16 1.516"X12 | 1.5/16"X12 16 16 29 41 41
3J-20 1.5/8"X12 1.5/8"X12 17 17 33 | 50 50
3J-24 1.7/8"X12 1.7/8"X12 20 20 | 355 | 55 55
3J-32 2.1/2"X12 21/2'X12 | 235 | 235 | 37 | 75 75




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SEHJIC FMBA 74°JMtERE Sk

JIC MALE 74° CONE PLUG

T WESLEEVE IERENUT

D =

(—

S1
4)

=) #2 40 THREAD R st DIMENSIONS

PART NO. E A L S1
4J-02 5/16"X24 11.4 17.5 11
4J-03 3/8"X24 12.2 18 11
4J-04 7/16"X20 14 20 12
4J-05 1/2"X20 14 20 14
4J-06 9/16"X18 14.1 20 17
4J-08 3/4"X16 16.7 25 22
4J-10 7/8"X14 19.3 27.5 24
4J-12 1.1/16"'X12 21.9 32 30
4J-14 1.3/16"X12 22.6 33.5 32
4J-16 1.5/16"X12 23.1 34 36
4J-20 1.5/8"X12 24.3 38 46
4J-24 1.7/8"X12 27.5 445 50
4J-32 2.1/2"X12 33.9 51 65

i BERAEESRTITHR, EFHRE D ANGN, EABFSRAESAEM NB200. NB500, EFEHEARFIN, BABESRHESHE
FAINB200, NB300,

Nut and sleeve should be ordered separately. The nut Nb200and sleeve NB50O is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.

B27



B28

Sl B gk

AMERICA ADAPTOR

il SAE SMREIE O iZE L

SAE O-RING BOSS PLUG

£ &b i Jx

XINDU HYDRAULIC

L
A
S1
| o1
40
= #2 47 THREAD O.HE O-RING R <t DIMENSIONS
PART NO. E Ei% A L St
40-02 5/16"X24 6.07X1.63 7.54 14.6 12
40-03 3/8"X24 7.65X1.63 7.54 14.6 14
40-04 7/16"X20 8.92X1.83 9.1 16 14
40-05 1/2"X20 10.52X1.83 9.1 16 17
40-06 9/16"X18 11.89X1.98 9.9 175 17
40-08 3/4"X16 16.36X2.21 11.1 19.5 22
40-10 7/8"X14 19.18X2.46 12.7 23 27
40-12 1.1/16"X12 23.47X2.95 15.1 26.5 32
40-14 1.3/16"X12 26.62X2.95 15.1 27 36
40-16 1.5/16"X12 29.74X2.95 15.1 27.5 38
40-20 1.5/8"X12 37.46X3.00 15.1 30 50
40-24 1.7/8"X12 43.69X3.00 15.1 30 55
40-32 2.1/2"X12 59.36X3.00 15.1 32 70
—t N
SAE MR A AL
SAE O-RING BOSS HOLLOW HEX PLUG
L
A
S1
40N
(= i 41 THREAD O O-RING R <t DIMENSIONS
PART NO. E Eif A L S1
40N-04 7/16"X20 8.92X1.83 9.1 11.5 5
40N-05 1/2"X20 10.52X1.83 9.1 115 5
40N-06 9/16"X18 11.89X1.98 9.9 12.2 6
40N-08 3/4"X16 16.36X2.21 11.1 14.3 8
40N-10 7/8"X14 19.18X2.46 12.7 16 10
40N-12 1.1/16"X12 23.47X2.95 15.1 19 14
40N-16 1.5/16"X12 29.74X2.95 15.1 19 16
40N-20 1.5/8"X12 37.46X3.00 15.1 19 19




Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

JIC JMBLL 74°9ME /JIC RIBL 74° 4

JIC MALE 74° CONE/JIC FEMALE 74°SEAT

X L L B BEINUT
A BEEENUT
74°<>LU 74° o (4 N RIS 74° [
IR o
5J 5J-S
K= #8 41 THREAD R <t DIMENSIONS

PART NO. E E A L S1 B
5J-04-05 7/16"X20 1/2"X20 14 30.6 17

5J-04-06S 7/16"X20 9/16"X18 14 26.2 19 9.8
5J-04-08S 7/16"x20 3/4"X16 14 26.2 24 10.9
5J-04-10S 7/16"X20 7/8"X14 14 28 27 12.8
5J-04-12S 7/16"X20 1.1/16"X12 14 29.8 32 15
5J-04-14S 7/16"X20 1.3/16"X12 14 32.5 36 15.2
5J-05-06 1/2"X20 9/16"X18 14 33.7 19

5J-05-08S 1/2"X20 3/4"X16 14 26.2 24 10.9
5J-05-10S8 1/2"X20 7/8"X14 14 28 27 12.8
5J-05-12S8 1/2"X20 1.1/16"X12 14 29.8 32 15
5J-06-04 9/16"X18 7/16"X20 141 30.6 17

5J-06-08S 9/16"X18 3/4"X16 141 26.3 24 10.9
5J-06-10S 9/16"X18 7/8"X14 141 28.2 27 12.8
5J-06-12S 9/16"X18 1.1/16"X12 141 30.1 32 15
5J-06-14S 9/16"X18 1.3/16"X12 141 32.5 36 15.2
5J-06-16S 9/16"X18 1.5/16"X12 141 33 38 15.9
5J-08-04 3/4"X16 7/16"X20 16.7 33 22

5J-08-06 3/4"X16 9/16"X18 16.7 36.5 22

5J-08-10 3/4"X16 7/8"X14 16.7 36.2 30

5J-08-12S 3/4"X16 1.1/16"X12 16.7 cieie) 32 15
5J-08-14S 3/4"X16 1.3/16"X12 16.7 35 36 15.2
5J-08-16S 3/4"X16 1.5/16"X12 16.7 35.6 38 15.9
5J-08-20S 3/4"X16 1.5/8"X12 16.7 35.5 50 16.8
5J-10-08 7/8"X14 3/4"X16 19.3 40.5 24

5J-10-12 7/8"X14 1.1/16"X12 19.3 451 32

5J-10-16S 7/8"X14 1.5/16"X12 19.3 SIES) 38 15.9
5J-10-20S 7/8"X14 1.5/8"X12 19.3 37.9 50 16.8
5J-10-24S 7/8"X14 1.7/8"X12 19.3 42 60 19.7
5J-12-08 1.1/16"X12 3/4"X16 21.9 43 30

5J-12-10 1.1/16"X12 7/8"X14 21.9 43 30

5J-12-16S 1.1/16"X12 1.5/16"X12 22 40.2 38 15.9
5J-12-20S 1.1/16"X12 1.5/8"X12 22 40.6 50 16.8
5J-12-248 1.1/16"X12 1.7/8"X12 22 42 60 19.7
5J-16-08 1.5/16"X12 3/4"X16 23.1 44 36

5J-16-10 1.5/16"X12 7/8"X14 23.1 44 36

5J-16-12 1.5/16"X12 1.1/16"X12 23.1 50 36

5J-16-20S 1.5/16"X12 1.5/8"X12 23 41.8 50 16.8
5J-16-24S 1.5/16"X12 1.7/8"X12 23 43.2 60 19.7
5J-16-32S 1.5/16"X12 2.1/2"X12 23 49 75 29.1
5J-20-12 1.5/8"X12 1.1/16"X12 24.3 50 46

5J-20-16 1.5/8"X12 1.5/16"X12 24.3 50 46

5J-20-24S 1.5/8"X12 1.7/8"X12 24.3 44.3 60 19.7
5J-20-32S 1.5/8"X12 2.1/2"X12 24.3 50 75 29.1
5J-24-20 1.7/8"X12 1.5/8"X12 27.5 56 50

T BERAEFSHITITSR, ETHRZ D AXGN, RABRSRAESHEM NB200. NB500, EFHEAEFN, RABGRAESHE
FAINB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 andsleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

B29



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EHJIC FMRNT 4°5M i / i E IR

JIC MALE 74° CONE /NPT FEMALE

FESLEEVE 2 RNUT
.

7 S A
74°0<W E o \7 |

5JN
ke #2 50 THREAD R~ DIMENSIONS
PART NO. £ F A L S1
5JN-04-02 7/16"X20 z1/8"X27 14 30 17
5JN-04 7/16"X20 Z1/4"X18 14 35.5 19
5JN-05-04 1/2"X20 Z1/4"X18 14 35.3 19
5JN-06-04 9/16"X18 Z1/4"X18 14.1 35.6 19
5JN-06 9/16"X18 23/8"X18 14.1 37.1 22
5JN-06-08 9/16"X18 Z1/2"'X14 14.1 425 30
5JN-08-06 3/4"X16 23/8"X18 16.7 39.6 22
5JN-08 3/4"X16 z1/2'X14 16.7 45.6 30
5JN-08-12 3/4"X16 23/4"X14 16.7 45 36
5JN-10-08 7/8"X14 Z1/2'X14 19.3 48 30
5JN-10-12 7/8"X14 23/4"X14 19.3 49.7 36
5JN-12-08 1.1/16"X12 Z1/2'X14 21.9 52.1 30
5IN-12 1.1/16"X12 Z3/4"X14 21.9 52.3 36
5IN-16-12 1.5/16"X12 Z3/4"X14 23.1 50 36
5N-16 1.5/16"X12 Z1"X11.5 23.1 59.7 41
5JN-20 1.5/8"X12 Z1.1/4"X11.5 24.3 61.5 50
5N-24 1.7/8"X12 Z1.1/2"X11.5 275 62.5 60
5JN-32 2.1/2"X12 22'X11.5 33.9 70 70

i BERHAEEAITITSR, EFEEDAATN, EABSRMESSIEMANB200. NB500, EFHEARHN, EABSRHMESSIER
NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

B30



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

45°JIC JMRA 74°9MiE / BB AIRN

45°JIC MALE 74°CONE/NPT FEMALE

K = #2 4 THREAD R <t DIMENSIONS
S1 F PART NO. £ g A B S1
1 / 5JN4-04 | 7/16"X20 Z1/4"X18 23 20 19
7 4f.kUJ 5JN4-06-04| 9/16"X18 Z1/4"X18 24 20 19
\/ %) 5JN4-06 | 9/16"X18 73/8"X18 26 19 24
A 5JN4-08-06| 3/4"X16 73/8"X18 29.5 19 24
5JN4-08 3/4"X16 Z1/2"X14 29.5 28 30
5JN4-10-08| 7/8"X14 Z1/2"X14 33 28 30
5JN4-12 | 1.1/16"X12 Z3/4"X14 37.5 30 33
5JN4-14-12| 1.3/16'X12 Z3/4"X14 38 30 33
5JN4-16 | 1.5/16"X12 Z1"X11.5 42 37.5 41
5JN4-20 | 15/8'X12 | Z1.1/4"X11.5 46 30 48
5JN4-24 | 1.7/8"X12 | Z1.1/2"X11.5 58 36 63
5JN4-RN

T BEERAEFSHITITHR, EFHR D ARG, BRABRSRAESAEM NB200. NB500, EFHEAXFN, BRABGRAESHE
FAINB200. NB300,

Nut and sleeve should be ordered separately. The nut Nb200and sleeve NB50O is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.

45°)1C JMEBLL 74°5ME / TRiEE RN

45°JIC MALE 74°CONE/NPT FEMALE

K2 8 %7 THREAD R < DIMENSIONS
F PART NO. £ E A B -
5JN9-04-02 7/16"X20 71/8"X27 275 16.8 16
7 1 m 5JN9-04 7/16"X20 Z1/4"X18 30.9 224 19
T 5JN9-06-04 9/16"X18 Z1/4"X18 31.2 224 19
74°<>"” \|_” | Y, 5JN9-06 9/16"X18 73/8"X18 335 25.9 24
A& 5JN9-08-04 3/4"X16 Z1/4"X18 316 224 19
A 5JN9-08 3/4"X16 Z1/2"X14 39.5 31.2 30
5JN9-12-08 | 1.1/16"X12 Z1/2"X14 46 31.2 30
5JN9-12 1.1/16"X12 Z3/4"X14 48 345 33
5JN9-12-16 | 1.1/16'X12 Z1"X11.5 52.5 41.1 41
5JN9-16-12 | 1.5/16'X12 Z3/4"X14 49 345 33
5JN9-16 1.5/16"X12 Z1"X11.5 55.1 411 41
: y 5JN9-20 1.5/8"X12 | Z1.1/4"X115 59.2 43.2 48
| 5JN9-24 1.7/8"X12 | Z1.1/2"X11.5 73.4 52.8 63

it BERVUEESHTITHR, EFHRE D ANGN, RABSRFIESAEA NB200. NB500, EFEHEAXFIN, EABERAES %
FAINB200. NB300,

Nut and sleeve should be ordered separately. The nut Nb200and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.

B31




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SEHIJIC SMREL / 3K JIC IR

JIC MALE/JIC FEMALE

IEEENUT
A
RO memd I IR
S1
5J-S
® = 8 % THREAD R <+ DIMENSIONS
PART NO. E F A B L St
5J-04-06S 7/16"X20 9/16"X18 14 0.8 26.2 19
5J-04-08S 7/16"x20 3/4"X16 14 10.9 26.2 24
5J-04-10S 7/16"X20 7/8"X14 14 12.8 28 27
5J-04-12S 7/16"X20 1.1/16"X12 14 15 29.8 32
5J-04-14S 716"X20 1.3/16"X12 14 15.2 325 36
5J-05-08S 1/2"X20 3/4"X16 14 10.9 26.2 24
5J-05-108 1/2"X20 7/8"X14 14 12.8 28 27
5J-05-12S 1/2"X20 1.1/16'X12 14 15 208 32
5J-06-08S 9/16"X18 3/4"X16 14.1 10.9 26.3 24
5J-06-10S 9/16"X18 7/8"X14 14.1 12.8 28.2 27
5J-06-12S 9/16"X18 1.1/16"X12 14.1 15 30.1 32
5J-06-14S 9/16"X18 1.3/16"X12 14.1 15.2 325 36
5J-06-16S 9/16"X18 1.5/16"X12 14.1 15.9 33 38
5J-08-12S 3/4"X16 1.1/16"X12 16.7 15 33.3 32
5J-08-14S 3/4"X16 1.3/16"X12 16.7 15.2 35 36
5J-08-16S 3/4"X16 1.5/16"X12 16.7 15.9 35.6 38
5J-08-20S 3/4"X16 1.5/8"X12 16.7 16.8 35.5 50
5J-10-16S 7/8"X14 1.5/16"X12 19.3 15.9 375 38
5J-10-20S 7/8"X14 1.5/8"X12 19.3 16.8 37.9 50
5J-10-24S 7/8'X14 1.7/8"X12 19.3 19.7 42 60
5J-12-16S 1.1/16"X12 1.5/16"X12 22 15.9 40.2 38
5J-12-20S 1.1/16"X12 1.5/8"X12 22 16.8 40.6 50
5J-12-24S 1.1/16"X12 1.7/8"X12 22 19.7 42 60
5J-16-20S 1.5/16"X12 1.5/8"X12 23 16.8 41.8 50
5J-16-24S 1.5/16"X12 1.7/8"X12 23 19.7 43.2 60
5J-16-32S 1.5/16"X12 A/22X12 23 29.1 49 75
5J-20-24S 1.5/8"X12 1.7/8"X12 24.3 19.7 44.3 60
5J-20-32S 1.5/8"X12 A/22X12 243 29.1 50 75

iE: BEEAERSITITR. ETERDAANHN, RARESRAESFEMANB200. NB500, EFEZENEHN, RABSRAENHIER
NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



Sl B gk

AMERICA ADAPTOR

Kl JIC FMRLLT 4°Fh /S EE PR

JIC MALE 74° CONE /BSPT FEMALE

£ &b i Jx

XINDU HYDRAULIC

4 w -:I

g = 18 51 THREAD R <+ DIMENSIONS
PART NO. £ F A L S
5JT-04-02 7/16"X20 Rc1/8"X28 14 30 14

5JT-04 7/16"X20 Rc1/4"X19 14 35.5 19
5JT-06-04 9/16"X18 Rc1/4"X19 14 35.5 19

5JT-06 9/16"X18 RC3/8"X19 14 36.5 22
5JT-08-06 3/4"X16 RC3/8"X19 16.7 39.5 22

5JT-08 3/4"X16 Rc1/2"X14 16.7 455 27
5JT-10-08 7/8"X14 Rc1/2"X14 19.3 48 27

5JT-12 1.1/16"X12 Rc3/4"X14 22 52,5 36

5JT-16 1.5/16"X12 Re1"X11 23 59.5 41

i BERFAEERTITS, EFTEEDAXGN, RABERAESAEANB200. NB500, BEFEEAXFN, EABBRFMES LR

NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve

NB3O0O0 is suitable for inch tube.

90° JIC JMBL 74° JMifE / LS RIBL]

90° JIC MALE 74° CONE/BSPT FEMALE

e w i

5JT9

® = 12 4 THREAD R <F DIMENSIONS

PART NO. E = A B S9
5JT9-04-02 7/16"x20 Rc1/8"X28 275 20 16
5JT9-04 7/16"x20 Rc1/4"X19 30 25 19
5JT9-05-04 1/2"X20 Rc1/4"X19 30 25 19
5JT9-06 9/16"X18 Rc3/8"X19 33.5 27 24
5JT9-06-04 9/16"X18 Rc1/4"X19 30.5 25 19
5JT9-08 3/4"X16 Rc1/2"X14 39.5 31.5 30
5JT9-08-06 3/4"X16 Rc3/8"X19 36 27 24
5JT9-10-08 7/8"X14 Rc1/2"X14 425 31.5 30
5JT9-12 1.1/16"X12 Rc3/4"X14 48 37 33
5JT9-12-08 1.1/16"X12 Rc1/2"X14 46.2 31.5 30
5JT9-16 1.5/16"X12 Rc1"X11 54 43 4
5JT9-20 1.5/8"X12 Rc1.1/4"X11 62 46 50
5JT9-24 1.7/8"X12 Rc1.1/2"X11 74.5 55 63

iE: BEBRHEERTITHE., ETHEED AXHN, EABSRFAESAIEANB200. NB500, EFHEARHN, EABRTRAESHE

FAINB200, NB300,

Nut and sleeve should be ordered separately.The nut NB200 andsleeve NB50O is suitable for metric tube,the nut NB200 and sleeve NB300

is suitable for inch tube.

B33




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SEHISAEIMESFOREE RS 1S011926-3 /EHISAEAIRANISO 11926-1
SAE O-RING BOSS L-SERIES SO 11926-3 / SAE FEMALE 1SO 11926-1

w
g = #2 57 THREAD O O-RING R <t DIMENSIONS

PART NO. E F Eig A L St
50-04-06 7/16"X20 9/16"X18 0904 9.14 31 22
50-06-04 9/16"X18 7/16"X20 0906 9.93 28 17
50-06-08 9/16"X18 3/4"X16 0906 9.93 36 27
50-08-06 3/4"X16 9/16"X18 0908 11.13 315 22
50-08-10 3/4"X16 7/8"X14 0908 11.13 38 30
50-08-12 3/4"X16 1.1/16"X12 0908 11.13 36 32
50-10 7/8"X14 7/8"X14 0910 12.7 38 30
50-10-06 7/8"X14 9/16"X18 0910 12.7 206 27
50-10-08 7/8"X14 3/4"X16 0910 12.7 35 27
50-10-12 7/8"X14 1.1/16"X12 0910 127 43 36
50-12-08 1.1/16"X12 3/4"X16 0912 15.09 26 32
50-12-10 1.1/16"X12 7/8"X14 0912 15.1 405 32
50-12-16 1.1/16"X12 1.5/16"X12 0912 15.1 45 41
50-14-12 1.3/16"X12 1.1/16"X12 0914 15.1 43 36
50-16-06 1.5/16"X12 9/16"X18 0916 15.1 26 38
50-16-10 1.5/16"X12 7/8"X14 0916 15.1 26 38
50-16-12 1.5/16"X12 1.1/16"X12 0916 15.1 435 38
50-16-14 1.5/16"X12 1.3/16"X12 0916 15.1 43 38
50-16-20 1.5/16"X12 1.5/8"X12 0916 15.1 465 50
50-20-12 1.5/8"X12 1.1/16"X12 0920 15.1 35 50
50-20-16 1.5/8"X12 1.5/16"X12 0920 15.1 42 50
50-20-24 1.5/8"X12 1.7/8"X12 0920 15.1 48 55
50-24-16 1.7/8"X12 1.5/16"X12 0924 15.1 35 55
50-24-20 1.7/8"X12 1.5/8"X12 0924 15.1 45 55
50-32-20 2.1/2"X12 1.5/8"X12 0932 15.1 32 70
50-32-24 2.1/2"X12 1.7/8"X12 0932 15.1 32 70

iE: BEEAEESITITR. ETHEZRDAAHN, RARESRAESFEMANB200. NB500, EFEZENEHN, RARSRAENHIER
NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

S JIC JMRE 74° HhifEidtRIESk

JIC MALE 74° CONE BULKHEAD

L HifFLOCK NUT

— i
A app——
74°<>§ | | u Q74° :
S1 H H H H

W AESLEEVE #2RINUT

S2
6J 6J-LN
g2 12 4 THREAD R <t DIMENSIONS
PART NO. E F A B L St S2
6J-02 5/16"X24 5/16"X24 11.4 28.2 47.5 14 14
6J-03 3/8"X24 3/8"X24 12.2 28.2 48.3 16 16
6J-04 7/16"X20 7/16"X20 14 32.5 52.5 17 17
6J-05 1/2"X20 1/2"X20 14 325 52.5 19 19
6J-06 9/16"X18 9/16"X18 14.1 32.5 54.5 22 22
6J-06(S19) 9/16"X18 9/16"X18 14.1 32.5 54.5 19 22
6J-08 3/4"X16 3/4"X16 16.7 36.5 61.5 24 24
6J-10 7/8'X14 7/8"X14 19.3 40 69.5 30 30
6J-12 1.1/16"X12 1.1/16"X12 21.9 445 78.5 36 36
6J-14 1.3/16"X12 1.3/16"X12 22.6 445 79.2 38 38
6J-16 1.5/16"X12 1.5/16"X12 23.1 445 79.8 41 41
6J-20 1.5/8"X12 1.5/8"X12 24.3 45.7 84 50 50
6J-24 1.7/8"X12 1.7/8"X12 27.5 46 89.5 55 55
6J-32 2.1/2"X12 2.1/2"X12 33.9 53.1 106.7 70 70

E: MEFMEITSE, MEERSEM “LN” , I 6J-12LN, BERFAEFTRITITR, EFHRZ D A/HN, EABSRFVES LR
NB200. NB500, &FHZEAZEHA, BABERAESSFIER NB200. NB300,
Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our partno , forexample 6J-12LN, Nut

and sleeve should be ordered separately, The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is
suitable for inch tube.

B35



Sl B gk

AMERICA ADAPTOR XINDU HYDRAULIC

£ &b i Jx

45° JIC JMBLL 74° JhE

45° JIC MALE 74° CONE

BRFRENUT
¥ ESLEEVE

6J4 6J4-LN
= #2 4 THREAD R st DIMENSIONS
PART NO. E F A B St S2
6J4-04 7/16"X20 7/16"X20 21 38.9 11 17
6J4-05 1/2"X20 1/2"X20 23 42.2 14 19
6J4-06 9/16"X18 9/16"X18 23 42.4 14 22
6J4-08 3/4"X16 3/4"X16 27 49.3 19 24
6J4-10 7/8"X14 7/8"X14 31 55.1 22 30
6J4-12 1.1/16"X12 1.1/16"X12 35 62 27 36
6J4-14 1.3/16"X12 1.3/16"X12 36 63.5 30 38
6J4-16 1.5/16"X12 1.5/16"X12 37.8 65 33 41
6J4-20 1.5/8"X12 1.5/8"X12 42.8 67.3 41 50
6J4-24 1.7/8"X12 1.7/8"X12 48.4 67.8 48 55

i mEEHEITE, WISERSEM “LN” , 0 6J4-12LN, BERHEEZEHITITH, EFER D AXHN, RABRSRHELSFIEHR
NB200. NB500, &FHEZEAZHN, RABERAESAIEEA NB200. NB300,
Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our partno , for example 6J4-12LN, Nut

and sleeve should be ordered separately, The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is
suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

90° JIC JMRE 74° 5T iz Sk

90° JIC MALE 74° CONE BULKHEAD

74° —
S ’ =
| SRS i?
! m LOCK NUT ’ g
V
e 7
74°<>|-U —
A S1
6J9 6J9-LN
R 2 # 4 THREAD R st DIMENSIONS
PART NO. E F A B S1 S2
6J9-04 7/16"X20 7/16"X20 245 40.4 11 17
6J9-05 1/2"X20 1/2"X20 26.6 43.7 14 19
6J9-06 9/16"X18 9/16"X18 27.7 46 14 22
6J9-08 3/4"X16 3/4"X16 34.5 53.5 19 24
6J9-10 7/8"X14 7/8"%14 39.6 60.7 22 30
6J9-12 1.1/16"X12 1.1/16"X12 45.2 67.8 27 36
6J9-14 1.3/16"X12 1.3/16"X12 48.2 69.5 30 38
6J9-16 1.5/16"X12 1.5/16"X12 50 71 33 41
6J9-20 1.5/8"X12 1.5/8"X12 57.5 79.2 41 50
6J9-24 1.7/8"X12 1.7/8"X12 63.1 80.9 48 55

E WEESETSE, WIEERSEM “UN” , 1 6J9-12LN, BEEFNEERITITSR, EFHERE D AXHN, ERBFSRFAESHER
NB200. NB500, &FHEEZEAHFIR, BEABSRFESFIER NB200. NB300,
Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our part no , for example 6J9-12LN,

Nut and sleeve should be ordered separately, The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

B37




ST EIEL & 2% E

AMERICA ADAPTOR XINDU HYDRAULIC

Sl JIC 1R

JIC LOCKNUT
= #2 4 THREAD R ~F DIMENSIONS
A PART NO. E A S1
8J-04 7/16"X20 7 17
22 8J-05 1/2"X20 7 19
8J-06 9/16"X18 7 22
L 8J-08 3/4"X16 8 24
8J-10 7/8"X14 9 30
>_°_°_ 8J-12 1.1/16"X12 10.5 36

8J-14 1.3/16"X12 10.5 38
S1 8J-16 1.5/16"X12 10.5 41

8J-20 1.5/8"X12 10.5 50
8J 8J-24 1.7/8"X12 10.5 55)
8J-32 1/22X12 10.5 70
£l JIC BIRY 74° PSSk
JIC FEMALE 74°SEAT PLUG
® 5 12 4 THREAD R < DIMENSIONS
PART NO. £ A L =
L A 9J-03 3/8"X24 8 10.5 14
9J-04 7/16"X20 9 10.5 15
9J-05 1/2"X20 9.5 11 17
9J-06 9/16"X18 10.5 11 19
9J-08 3/4"X16 11 13
A w747 9J-10 7/8"X14 13 135 ?
9J-12 1.1/16"X12 15 15 32
82 9J-14 1.3/16"X12 15 15 36
9J-16 1.5/16"X12 16 15.5 41
9J-20 1.5/8"X12 17 18.5 50
9J 9J-24 1.7/8"X12 20 19 55
9J-32 2.1/2"X12 235 20.5 75
JIC 74° P24k
JIC 74° FEMALE PLUG
K = 42 41 THREAD R =t DIMENSIONS
L PART NO. E L St
9J-04CAP 7/16"X20 15.1 15
9J-10CAP 7/8"X14 21.4 27
ﬂ 9J-05CAP 1/2"X20 15.5 17
77 N | S 9J-06CAP 9/16"X18 15.9 19
9J-08CAP 3/4"X16 19 24
>——< 9J-12CAP 1.1/16"X12 23 32

N 9J-20CAP 1.5/8"X12 27 50

S1 9J-24CAP 1.7/8"X12 30.2 60

9J-32CAP 2.1/2"X12 36.5 75
9J-16CAP 1.5/16"X12 25.8 41




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SEHIJIC SMREL 74° Hhife

JIC MALE 74° CONE

74°
e
s1 |
[a1]
7l N ok
0
A C
AJ
K= #2 40 THREAD R < DIMENSIONS
PART NO. E F G A B c St
AJ-02 5/16"X24 5/16"X24 5/16"X24 21 21 21 11
AJ-03 3/8"X24 3/8"X24 3/8"X24 22 22 22 11
AJ-04 7/16"X20 7/16"X20 7/16"X20 245 24.5 245 11
AJ-04-06-04 7/16"X20 9/16'X18 7/16"X20 26.6 26.9 26.6 14
AJ-05-04-05 1/2"X20 7/16"X20 1/2'X20 26 26.6 26 14
AJ-05 1/2"X20 1/2"X20 1/2"X20 26 26 26 14
AJ-06-04-06 9/16'X18 716"X20 9/16"X18 26.9 26.6 26.9 14
AJ-06 9/16'X18 9/16'X18 9/16"X18 26.9 26.9 26.9 14
AJ-06-08-06 9/16'X18 3/4"X16 9/16"X18 30 32 30 19
AJ-08 3/4"X16 3/4"X16 3/4"X16 32 32 32 19
AJ-08-06-06 3/4"X16 9/16'X18 9/16"X18 32 30 30 19
AJ-08-06-08 3/4"X16 9/16'X18 3/4"X16 32 30 32 19
AJ-08-10-08 3/4"X16 7/8"X14 3/4"X16 34.8 37.8 34.8 22
AJ-08-12-08 3/4"X16 1.116"X12 3/4"X16 37.9 442 37.9 27
AJ-10 7/8"X14 7/8"X14 7/8"X14 37.8 37.8 37.8 22
AJ-10-08-08 7/8"X14 3/4"X16 3/4"X16 37.8 34.8 348 22
AJ-10-08-10 7/8"X14 3/4"X16 7/8"X14 37.8 34.8 37.8 22
AJ-10-12-10 7/8"X14 1.116"X12 7/8"X14 41 442 41 27
AJ-12 1.116"X12 1.116"X12 1.116"X12 442 44.2 442 27
AJ-12-08-12 1.116"X12 3/4"X16 1.116"X12 442 37.9 442 27
AJ-12-10-12 1.1116"X12 7/8"X14 1.1116"'X12 442 41 442 27
AJ-12-16-12 1.1116"X12 1.516"X12 1.116"X12 48 49 48 33
AJ-14 1.3/16"X12 1.316"X12 1.3116"X12 475 475 475 30
AJ-16 1.5/16"X12 1.5M16"X12 1.5M16"X12 49 49 49 33
AJ-16-12-16 1.5/16"X12 1.116"X12 1.5/16"X12 49 48 49 33
AJ-20 1.5/8"X12 1.5/8"X12 1.5/8"X12 56.5 56.5 56.5 41
AJ-20-16-20 1.5/8"X12 1.5M16"X12 1.5/8"X12 56.5 54 56.5 41
AJ-24 1.7/8"X12 1.7/8"X12 1.7/8"X12 63 63 63 48
AJ-32 2.1/2"X12 2.1/2"X12 2.1/2"X12 78 78 78 63

i BERFAERERTITSR, EFHEE D HAHN, EABSRAESSIER NB200. NB500, EFEEAXKGN, RABGRHMES L
A NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metrictube,the nut NB200 and sleeve NB300
is suitable for inch tube.

B39



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JIC SMREL 74° Hhife

JIC MALE 74° CONE

74°
BEFLOCK NUT
S2
m S1
n 7Rl 7 U
e TR T e
A C
AJ6JJ AJ6JJ-LN
g = # 5 THREAD R <+ DIMENSIONS
PART NO. E F G A B C S1 S2
AJ6JJ-04 7/16"X20 7/16"X20 7/16"X20 24.5 40.4 24.5 11 17
AJBJJ-04-06-04 7/16"X20 9/16"X18 7/16"X20 26.4 46 26.4 14 22
AJ6JJ-05 1/2"X20 1/2"X20 1/2"X20 26.6 43.7 26.6 14 19
AJ6JJ-06 9/16"X18 9/16"X18 9/16"X18 26.9 46 26.9 14 22
AJ6JJ-08 3/4"X16 3/4"X16 3/4"X16 32 53.5 32 19 24
AJ6JJ-10 7/8"X14 7/8"X14 7/8"X14 37.8 60.7 37.8 22 30
AJBJJ-12 1.1/16"X12 1.1/16"X12 1.1/16"X12 44.2 67.8 44.2 27 36
AJ6JJ-14 1.3/16"X12 1.3/16"X12 1.3/16"X12 46.2 71 46.2 30 38
AJ6JJ-16 1.5/16"X12 1.5/16"X12 1.5/16"X12 49 71 49 33 41
AJ6JJ-20 1.5/8"X12 1.5/8"X12 1.5/8"X12 55.3 79.2 55.3 41 50
AJ6JJ-24 1.7/8"X12 1.7/8"X12 1.7/8"X12 63.5 86.9 63.5 48 55

i MFEHEHEITE, WEERSEM “LN” | 10 AJ6JJ-12LN, BEERHERESRITITER, EFERE D A4, RABERAESHIEA
NB200. NB500, HFEZAXHE, RABRERHESFEH NB200. NB300,
Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our partno , for example AJ6JJ-12LN,

Nut and sleeve should be ordered separately, The nut NB200 and sleeve Nb500 issuitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.



Sl B gk

AMERICA ADAPTOR

JIC SMREYL /JIC JMREL / T EIMRN O FiEE

JIC MALE/JIC MALE/BSP MALE O-RING

5

2

£ &b i Jx

XINDU HYDRAULIC

74°pW ~”: | H]:E}] ——[O
ALE C
AJJG-0G
® = #2 40 THREAD OF% [ O-RING R < DIMENSIONS

PART NO. E F G G A B C S1 S2
AJJG-040G 7116"X20 7/16"X20 G1/4"X19 10.77X2.62 26,6 | 265 | 31.9 14 19
AJJG-05-05-040G 1/2"X20 1/2"X20 G1/4"X19 10.77X2.62 266 | 266 | 31.3 14 19
AJJG-05-06-040G 1/2"X20 9/16"X18 G1/4"X19 10.77X2.62 266 | 269 | 313 14 19
AJJG-060G 9/16"X18 9/16"X18 G3/8"X19 13.94X2.62 28.5 28.5 36.8 16 22
AJJG-06-06-040G 9/16"X18 9/16"X18 G1/4"X19 10.77X2.62 26.9 26.9 31.3 14 19
AJJG-08-08-060G 3/4"X16 3/4"X16 G3/8"X19 13.94X2.62 32 32 36.8 19 22
AJJG-080G 3/4"X16 3/4"X16 G1/2"X14 17.12X2.62 35 35 | 432 22 27
AJJG-10-10-080G 7/8"X14 7/8"X14 G1/2"X14 17.12X2.62 37.8 | 3758 44 22 27
AJJG-120G 1.116"X12 | 1.1/16"X12 G3/4"X14 23.47X2.62 44 44 | 495 27 32
AJJG-160G 1.516"X12 | 1.5/16"X12 G1"X11 29.74X3.53 48.8 | 488 53 33 4

T BERHAESESHITITER. ETHRE D ANGN, RABRSRFAESFEM NB200. NB500, EFHEAXFIN, RABGRAESHE

A NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metrictube,the nut NB200 and sleeve NB300

is suitable for inch tube.

B41



B42

EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JIC MRS /JIC SMBRLD /SAE JMEN O FZE

JIC MALE/JIC MALE/SAE O-RING BOSS

74°

s2
]
1]
74 &
——
c

AJJO-0G
® =2 #2 4 THREAD OB O-RING R ~F DIMENSIONS

PART NO. E F G Gy A B C S S2
AJJO-020G 5/16"X24 5/16"X24 5/16"X24 6.07X1.63 23 21 21 11 12
AJJO-030G 3/8"X24 3/8"X24 3/8"X24 7.65X1.63 23 22 22 11 14
AJJO-040G 7/16"X20 7/16"X20 7/16"X20 8.92X1.83 24.5 245 | 272 | 11 17
AJJO-04-04-060G 7/16"X20 7/16"X20 9/16"X18 11.89X1.98 26.6 26.6 | 31.8| 14 19
AJJO-050G 1/2"X20 1/2"X20 1/2"X20 10.52X1.83 26.6 26.6 29 14 17
AJJO-05-05-040G 1/2"X20 1/2"X20 7/16"X20 8.92X1.83 26.6 26.6 30 14 17
AJJO-060G 9/16"X18 9/16"X18 9/16"X18 11.89X1.98 26.9 269 | 318 | 14 19
AJJO-06-06-040G 9/16"X18 9/16"X18 7/16"X20 8.92X1.83 26.9 26.9 30 14 17
AJJO-06-06-050G 9/16"X18 9/16"X18 1/2"X20 10.52X1.83 26.9 26.9 30 14 17
AJJO-06-06-080G 9/16"X18 9/16"X18 3/4"X16 16.36X2.21 30 30 375 | 19 24
AJJO-080G 3/4"X16 3/4"X16 3/4"X16 16.36X2.21 33 33 36.8 | 19 24
AJJO-08-08-060G 3/4"X16 3/4"X16 9/16"X18 11.89X1.98 32 32 335 | 19 19
AJJO-08-08-100G 3/4"X16 3/4"X16 7/8"X14 19.18X2.46 34.8 34.8 44 22 27
AJJO-100G 7/8"X14 7/8"X14 7/8"X14 19.18X2.46 37.8 37.8 44 22 27
AJJO-10-10-080G 7/8"X14 7/8"X14 3/4"X16 16.36X2.21 37.8 378 | 395 | 22 24
AJJO-120G 1.1/16"X12 1.1/16"X12 1.1/16"X12 23.47X2.95 44.2 44.2 51 27 32
AJJO-12-12-080G 1.1/16"X12 1.1/16"X12 3/4"X16 16.36X2.21 442 442 43 27 24
AJJO-12-12-100G 1.1/16"X12 1.1/16"X12 7/8"X14 19.18X2.46 442 442 49 27 27
AJJO-140G 1.3/16"X12 1.83/16"X12 1.3/16"X12 26.62X2.95 47.5 475 53 30 36
AJJO-160G 1.5/16"X12 1.5/16"X12 1.5/16"X12 29.74X2.95 48.8 488 | 545 | 33 41
AJJO-16-16-120G 1.5/16"X12 1.5/16"X12 1.1/16"X12 23.47X2.95 48.8 488 | 535 | 33 32
AJJO-200G 1.5/8"X12 1.5/8"X12 1.5/8"X12 37.46X3.00 55.3 55.3 59 41 50
AJJO-240G 1.7/8"X12 1.7/8"X12 1.7/8"X12 43.69X3.00 62.5 62.5 63 48 55
AJJO-320G 2.1/2"X12 2.1/2"X12 2.1/2"X12 59.36X3.00 78 78 79 63 70

it BERERAEESITITR, EFER D AN, BABERFESFEH NB200. NB500, EFEHEAXGN, AABERHEESFE
F NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable formetric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JIC SMREL / THEE IMRN /JIC JMRNY

JIC MALE/NPT MALE/JIC MALE

74°¢|.|J]]M- Ok} 74°
A ST

AJNJ
g = #2 4 THREAD R ~f DIMENSIONS
PART NO. E F G A B c St
AJINJ-02 5/16"X24 z1/8"x27 5/16"X24 21 21 21 11
AJNJ-03-02-03 3/8"X24 Z1/8"X27 3/8"X24 22 21 22 11
AJNJ-04 7/16"X20 Z1/4"X18 7/16"X20 26.6 25.5 26.6 14
AJNJ-04-02-04 7/16"X20 z1/8"x27 7/16"X20 245 21 245 11
AJNJ-05-02-05 1/2"X20 Z1/8"X27 1/2"X20 26.6 235 26.6 14
AJNJ-05-04-05 1/2"X20 Z1/4"X18 1/2'X20 26.6 255 26.6 14
AJNJ-06 9/16"X18 73/8"X18 9/16"X18 30 31 30 19
AJNJ-06-04-06 9/16'X18 Z1/4"X18 9/16"X18 26.9 25.5 26.9 14
AJNJ-06-08-06 9/16"X18 Z1/2"X14 9/16"X18 32 36.7 32 22
AJNJ-08 3/4"X16 Z1/2"X14 3/4"X16 34.8 37.3 34.8 22
AJNJ-08-06-08 3/4"X16 Z3/8"X18 3/4'X16 32 31 32 19
AJNJ-10-08-10 7/8"X14 Z1/2"X14 7/8"X14 37.8 36.7 37.8 22
AJNJ-12 1.1/16"X12 Z3/4"X14 1.1/16"X12 44.2 44 44.2 27
AJNJ-16 1.5/16"X12 Z1"'X11.5 1.5/16"X12 49 50 49 33
AJNJ-20 1.5/8"X12 Z1.1/4"X11.5 1.5/8"X12 55.5 54.5 55.5 41
AINJ-24 1.7/8'X12 Z1.1/2"X11.5 1.7/8"X12 62.5 63 62.5 48

i BERHEFHITITH. ETHEDARFN, EABERAESHIEMANB200. NB500, EFEHEAXGN, EABSRAESHIER
NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 andsleeveNB500 is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.

B43



Sl B gk

AMERICA ADAPTOR XINDU HYDRAULIC

£ &b i Jx

SEHIJIC SMREL / SEiH JIC PIIREY / S5l JIC MR

JIC MALE /JIC FEMALE/JIC MALE

74°
T F
m[ ‘ S2 IERENUT
S1 i HESLEEVE |
_ ! _ N
74° Ul —[Egr Oki7ac DE L. —
A | _C
BJ

® = 98 4 THREAD R <t DIMENSIONS

PART NO. E F G A B © St s2
BJ-04 7/16"X20 7/16"X20 7/16"X20 245 9 245 11 15
BJ-05 1/2"X20 1/2"X20 1/2"X20 26.5 95 26.5 14 17
BJ-06 9/16"X18 9/16"X18 9/16"X18 26.9 10.5 26.9 14 19
BJ-08 3/4"X16 3/4"X16 3/4"X16 32 11 32 19 24
BJ-10 7/8"X14 7/8"X14 7/8"X14 37.8 14 37.8 22 27
BJ-12 1.1/16"X12 1.1/16"X12 1.1/16"X12 442 15 44.2 27 32
BJ-14 1.3/16"'X12 1.3/16"X12 1.3/16"X12 475 15 475 30 36
BJ-16 1.5/16"X12 1.5/16"X12 1.5/16"X12 49 16 49 33 41
BJ-20 1.5/8"X12 1.5/8"X12 1.5/8"X12 56 17 56 41 50
BJ-24 1.7/8"X12 1.7/8"X12 1.7/8"X12 63.5 20 63.5 48 55
BJ-32 2.1/2"X12 2.1/2"X12 2.1/2"X12 78 245 78 63 75

T BERFAEFHITITHR. ETHRE D ARG, RABRSRFAESHEM NB200. NB500, EFHEAEFIN, GRABGRAESHE
A NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable formetric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SEHIJIC SMREL / SEiH JIC JMRLY / 524l JIC RIRN

JIC MALE/JIC MALE/JIC FEMALE

74°
X7 1
F
C &
o S1 BENUT s

' HESLEEVE
74°CLIJ YL O g0 m i
e e
A s2

CcJ

R = 12 4 THREAD R <+ DIMENSIONS

PART NO. E F G A B C S S2
CJ-04 7/16"X20 7/16"X20 7/16"X20 24.5 245 9 11 15
CJ-05 1/2"X20 1/2"X20 1/2"X20 26.6 26.6 9.5 14 17
CJ-06 9/16"X18 9/16"X18 9/16"X18 26.9 26.9 10.5 14 19
CJ-08 3/4"X16 3/4"X16 3/4"X16 32 32 9.5 19 24
CJ-10 7/8"X14 7/8"X14 7/8"X14 37.8 37.8 13 22 27

CJ-10-08-10 7/8"X14 7/8"X14 7/8"X14 37.8 34.8 13 22 27
CJ-12 1.1/16"X12 1.1/16"X12 1.1/16"X12 442 44.2 15 27 32

CJ-12-08-12 1.1/16"X12 1.1/16"X12 1.1/16"X12 44.2 37.9 15 27 32
CJ-14 1.3/16"X12 1.3/16"X12 1.3/16"X12 47.5 47.5 15 30 36
CJ-16 1.5/16"X12 1.5/16"X12 1.5/16"X12 49 49 16 33 41
CJ-20 1.5/8"X12 1.5/8"X12 1.5/8"X12 55.5 55.5 17 41 50
CJ-24 1.7/8"X12 1.7/8"X12 1.7/8"X12 63 63 20 48 55
CJ-32 2.1/2"X12 2.1/2"X12 2.1/2"X12 78 78 245 63 75

i BERFAEESITITSR, EFEEDAATN, EABSRAMESIEMANB200. NB500, EFHEAXHN, EABSRHMESSIER
NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 andsleeveNB500 is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.

B45



B46

Sl B gk

AMERICA ADAPTOR

Sl JIC AIEN 74° A

JIC FEMALE 74° SEAT

£ &b i Jx

XINDU HYDRAULIC

DJ
g = 12 4 THREAD R s DIMENSIONS
PART NO. E F G AB,C S1 S2,83,54

DJ-04 7/16"X20 7/16"X20 7/16"X20 9 11 15
DJ-05 1/2"X20 1/2"X20 1/2"X20 9.5 11 17
DJ-06 9/16"X18 9/16"X18 9/16"X18 10.5 14 19
DJ-08 3/4"X16 3/4"X16 3/4"X16 11 16 24
DJ-10 7/8"X14 7/8"X14 7/8"X14 13 22 27
DJ-12 1.1/16"X12 1.1/16"X12 1.1/16"X12 15 24 32
DJ-16 1.5/16"X12 1.5/16"X12 1.5/16"X12 16 33 41

iE: BEERAERSHITITSR, EFEEDAATN, EABSRAESHIEMANB200. NB500, EFHEREAEHN, ERABSRMES XA

NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve

NB300 is suitable for inch tube.

SEHIJIC MRS / SEiHl JIC FMRLY / 555l JIC AIRY

JIC FEMALE/JIC MALE/JIC FEMALE

EJ
® = 88 4 THREAD R <t DIMENSIONS
PART NO. E F G A, C B St S2,54

EJ-04 7/16"X20 7/16"X20 7/16"X20 9 245 11 15
EJ—06 9/16"'X18 9/16"'X18 9/16'X18 10.5 269 14 19
EJ-08 3/4"X16 3/4"X16 3/4"X16 11 32 19 24
EJ-10 7/8"X14 7/8"X14 7/8"X14 %) 37.8 22 27
EJ-12 1.1/16"X12 1.1/16"X12 1.1/16"X12 15 44.2 24 32
EJ-16 1.5/16"X12 1.5/16"X12 1.5/16"X12 16 49 33 41
EJ-20 1.5/8"X12 1.5/8"X12 1.5/8"X12 17 56.5 41 50
EJ-24 1.7/8"X12 1.7/8"X12 1.7/8"'X12 20 63 48 55

i BERMEERTITHE. EFERED Ao, EABEBRFAESFIEANB200. NB500, EFEEAXFN, BABRSRAES %
FAINB200, NB300,

Nut and sleeve should be ordered separately.The nut NB200 andsleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JICHMREY/ i E MR/ JICHMRLL

JIC MALE/NPT FEMALE/JIC MALE

S1
- X %
74°<>Lu- ol ) 74°
L] [
A

Cc
KJNJ
K= 12 g THREAD R <+ DIMENSIONS
PART NO. E F G A B C S
KJINJ-04 7/16"X20 Z1/4"X18 7/16"X20 29.5 22.4 29.5 19
KJINJ-04-02-04 7/16"X20 Z1/8"X27 7/16"X20 26.5 16.8 26.5 16
KJNJ-05-02-05 1/2"X20 Z1/8"X27 1/2"X20 27.5 16.8 275 16
KJNJ-05-04-05 1/2"X20 Z1/4"X18 1/2"X20 29.5 22.4 29.5 19
KJINJ-06 9/16"X18 Z3/8"X18 9/16"X18 33.5 259 33.5 24
KJNJ-06-04-06 9/16"X18 Z1/4"X18 9/16"X18 30 224 30 19
KJNJ-08 3/4"X16 Z1/2"X14 3/4"X16 39.5 31.2 39.5 30
KJNJ-08-04-08 3/4"X16 Z1/4"X18 3/4"X16 31.6 22.4 32 19
KJNJ-08-06-08 3/4"X16 Z3/8"X18 3/4"X16 36 25.9 36 24
KJNJ-10-08-10 7/8"X14 Z1/2"X14 7/8"X14 42.5 31.2 42.5 30
KJNJ-10-12-10 7/8"X14 Z3/4"X14 7/8"X14 445 34.5 44.5 33
KJNJ-12 1.1/16"X12 Z3/4"X14 1.1/16"X12 48 34.5 48 33
KJNJ-12-08-12 1.1/16"X12 Z1/2"X14 1.1/16"X12 46 31.2 46 30
KINJ-14-12-14 1.3/16"X12 Z3/4"X14 1.3/16"X12 48.5 34.5 48.5 33
KJINJ-16 1.5/16"X12 Z1"X11.5 1.5/16"X12 54 411 54 41
KJINJ-16-12-16 1.5/16"X12 Z3/4"X14 1.5/16"X12 49 34.5 49 33
KJINJ-20 1.5/8"X12 Z1.1/4"X11.5 1.5/8"X12 59.4 43.2 59.4 48
KJINJ-24 1.7/8"X12 Z1.1/2"X11.5 1.7/8"X12 73.4 52.8 73.4 63

T BEERAEFHITITSR, ETEEDARTN, EABESRAESHIEMANB200, NB500, EFEHEARFHN, EABSRMESHER
NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 andsleeveNB500 is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.

B47



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

JIC 1283
JIC TRIPLE LOCK NUT
/_V'Vj
: : S2
-
L
N
NN
L
NB200

R =2 #2 4 THREAD EFIMEREAEE TUBE O.D.& SLEEVE R=FDIMENSIONS
PART NO. E In. ZHIEEINCH SLEEVE mm AHIEEMETRIC SLEEVE L S2
NB200-04 7/16"X20 1/4" NB300-04 6 NB500-06 15.8 14
NB200-05 1/2"X20 5/16" NB300-05 8 NB500-08 17.3 17
NB200-06 9/16"X18 3/8" NB300-06 10 NB500-10 18.5 19
NB200-08 3/4"X16 1/2" NB300-08 12 NB500-12 21.6 24
NB200-10 7/8"X14 14 NB500-14 24.9 27
NB200-10 7/8"X14 15 NB500-15 24.9 27
NB200-10 7/8"X14 5/8" NB300-10 16 NB500-16 24.9 27
NB200-12 1.1/16"X12 3/4" NB300-12 18 NB500-18 26.2 32
NB200-12A 1.1/16"X12 20 NB500-20A 26.2 32
NB200-14 1.3/16"X12 20 NB500-20 27.7 36
NB200-14 1.3/16"X12 7/8" NB300-14 22 NB500-22 27.7 36
NB200-16 1.5/16"X12 1" NB300-16 25 NB500-25 28.7 38
NB200-20 1.5/8"X12 28 NB500-28 31.2 50
NB200-20 1.5/8"X12 30 NB500-30 31.2 50
NB200-20 1.5/8"X12 1.1/4" NB300-20 32 NB500-32 31.2 50
NB200-24 1.7/8"X12 35 NB500-35 36.1 60
NB200-24 1.7/8"X12 1.1/2" NB300-24 38 NB500-38 36.1 60
NB200-32 2.1/2"X12 2" NB300-32 50 NB500-50 445 75

i BERFWEERTITS, EFERE D AAHIN, EABSRFAESSIER NB200. NB500, EFEEAXGMN, EABBRHMESHIE
A NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable formetric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

JICHHEE
JICINCH SLEEVE

® = #2847 THREAD | &F4MZ TUBE O.D. R < DIMENSIONS
L PART NO. In. D L
NB300-04 7/16"X20 1/4" 9.73 10.4
) NB300-05 1/2"X20 5/16" 11.3 11.2
NB300-06 9/16"X18 3/8" 12.75 12.7
NB300-08 3/4"X16 1/2" 17.32 14.2
- NB300-10 7/8"X14 5/8" 20.24 16.8
NB300-12 1.1/16"X12 3/4" 24.69 17.3
NB300-14 1.3/16"X12 7/8" 27.86 19.3
NB300-16 1.5/16"X12 1 31.04 19.8
NB300-20 1.5/8"X12 1.1/4" 38.96 23.1
NB300 NB300-24 1.7/8"X12 1.1/2" 45.31 28.4
NB300-32 2.1/2"X12 2" 61.19 30.2
JICAHEE
JICMETRIC SLEEVE
g = 247 THREAD |&F5MZTUBE O.D. R <t DIMENSIONS
PART NO. mm D L
NB500-06 7/16"X20 6 9.7 10.4
L NB500-08 1/2"X20 8 11.3 11.2
) NB500-10 9/16"X18 10 127 127
NB500-12 3/4"X16 12 17.3 14.2
NB500-14 7/8"X14 14 20.2 16.8
NB500-15 7/8"X14 15 20.2 16.8
T ] NB500-16 7/8"X14 16 20.2 16.8
NB500-18 1.1/16"X12 18 24.7 17.3
NB500-20 1.3/16"X12 20 27.8 19.3
NB500-22 1.3/16"X12 22 27.8 19.3
NB500-25 1.5/16"X12 25 31 19.8
NB500-28 1.5/8"X12 28 38.9 23.1
NB500-30 1.5/8"X12 30 38.9 23.1
NB500-32 1.5/8"X12 32 38.9 23.1
NB500-35 1.7/8"X12 35 45.3 28.4
NB500
NB500-38 1.7/8"X12 38 45.3 28.4
NB500-50 2.1/2"X12 50 61.2 30.2

B49




B50

Sl B gk

AMERICA ADAPTOR

SEHIJIC SMRSL 74°ME

JIC MALE 74° CONE

74°

£ &b i Jx

XINDU HYDRAULIC

v
/ |
WEEENUT
St L om #ESLEEVE i
74“% OKjras [T i
a7
R A I |
o
e !
A | C -
XJ
® = ¥ 4 THREAD R <t DIMENSIONS
PART NO. E, F, GH AB,C,D St
XJ-04 7/16"X20 245 11
XJ-05 1/2"X20 26.5 14
XJ-06 9/16"X18 26.9 14
XJ-08 3/4"X16 32 19
XJ-10 7/8"X14 37.8 22
XJ-12 1.1/16"X12 442 27
XJ-16 1.5/16"X12 49 33
XJ-20 1.5/8"X12 56.5 41
XJ-24 1.7/8"X12 62.5 48

T BEEAERSHITITHR, EFHRE D1 AXHN, BEREGRFAESHIER NB200, NB500, EFHEAEGIN, RABTRHAEDH

1% FANB200. NB300,

Nut and sleeve should be ordered separately.The nut Nb200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300

is suitable for inch tube.



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

ikl ORFSHMBEL OB FH =

ORFS MALE O-RING

L

K/A/'V% B/ﬂ

ETH

1F

® e 2 57 THREAD OF2F O-RING R~ DIMENSIONS
PART NO. E F Eif Fi% A B L S1
1F-04 9/16"X18 9/16"X18 0011 0011 9.8 9.8 27.5 17
1F-04-06 9/16"X18 11/16"X16 0011 0012 9.8 11.2 29.7 19
1F-04-08 9/16"X18 13/16"X16 0011 0014 9.8 12.8 325 22
1F-06 11/16"X16 11/16"X16 0012 0012 1.2 11.2 31.1 19
1F-06-08 11/16"X16 13/16"X16 0012 0014 1.2 12.8 33.8 22
1F-06-10 11/16"X16 1"X14 0012 0016 11.2 15.5 38 27
1F-08 13/16"X16 13/16"X16 0014 0014 12.8 12.8 35.4 22
1F-08-10 13/16"X16 1"X14 0014 0016 12.8 15.5 40 27
1F-08-12 13/16"X16 1.3/16"X12 0014 0018 12.8 17 43 32
1F-10 1"X14 1"X14 0016 0016 15.5 15.5 425 27
1F-10-12 1"X14 1.3/16"X12 0016 0018 15.5 17 45,5 32
1F-12 1.3/16"X12 1.3/16"X12 0018 0018 17 17 47.1 32
1F-12-16 1.3/16"X12 1.7/16"X12 0018 0021 17 17.5 455 38
1F-12-20 1.3/16"X12 1.11/16"X12 0018 0025 17 17.5 50.5 46
1F-16 1.7/16"X12 1.7/16"X12 0021 0021 17.5 17.5 49.3 38
1F-16-20 1.7/16"X12 1.11/16"X12 0021 0025 17.5 17.5 51.3 46
1F-16-24 1.7/16"X12 2"X12 0021 0029 17.5 17.5 53 55
1F-20 1.11/16"X12 1.11/16"X12 0025 0025 17.5 17.5 51.3 46
1F-20-24 1.11/16"X12 2"X12 0025 0029 17.5 17.5 53 55
1F-24 2"X12 2"X12 0029 0029 17.5 17.5 53 55

E: BEEAERSHITITSR, EFEHE D1 AXHN, BERZEGRFAESHIER NB200. NB500, EFHEAEFIN, RABFRAEDH

1% FANB200. NB300,

Nut and sleeve should be ordered separately.The nut Nb200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300

is suitable for inch tube.

B51




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

45°ZEHIORFS JMENOR B HZEH

45° ELBOW ORFS MALE O-RING

® =2 12 41 THREAD Of.E O-RING R st DIMENSIONS
PART NO. E F Ei Fih A B s1
1F4-04 9/16"X18 | 9/16"X18 0011 0011 18.3 18.3 14
1F4-04-06 | 9/16"X18 | 11/16"X16 0011 0012 19.5 20.5 19
1F4-06 | 11/16"X16 | 11/16"X16 0012 0012 20.5 20.5 19
1F4-06-08 | 11/16"X16 | 13/16"X16 0012 0014 22 24 22
1F4-08 | 13/16"X16 | 13/16"X16 0014 0014 24 24 22
1F4-08-10 | 13/16"X16 | 1'X14 0014 0016 25.5 28 27
1F4-10 1"X14 1"X14 0016 0016 28 28 27
1F4-12 | 1.3/16"X12 | 1.3/16"X12 0018 0018 31.5 315 33
1F4-12-16 | 1.3/16"X12 | 1.7/16"X12 0018 0021 325 33 36
1F4-16 | 1.7/16"X12 | 1.7/16"X12 0021 0021 33 33 36
1F4 1F4-20 |1.11/16"X12[1.11/16"'X12 | 0025 0025 35.5 355 4
1F4-24 2'X12 2"X12 0029 0029 39 39 50

90°Z X HIORFS SMRLOR B FH

90° ELBOW ORFS MALE O-RING

R = #2 41 THREAD O O-RING R ~t DIMENSIONS

E PART NO. E B E i F i A B S1

i 1F9-04 | 9/16"X18 | 9/16"X18 0011 0011 23 23 14

' 1F9-04-06 | 9/16"X18 | 11/16"X16 0011 0012 25.5 27 19

m 1F9-06 | 11/16"X16 | 11/16"X16 | 0012 0012 27.5 27.5 19

V . 1F9-06-08 | 11/16"X16 | 13/16"X16 | 0012 0014 29 31 22
" | 1F9-08 | 13/16"X16 | 13/16"X16 0014 0014 31 31 22
1F9-08-12 | 13/16"X16 | 1.3/16"X12| 0014 0018 35.5 40.3 30

! )<; 1F9-10 1"X14 1"X14 0016 0016 36.5 36.5 27

A S1 1F9-12 | 1.3/16"X12| 1.3/16"X12| 0018 0018 41 41 30
1F9-16 | 1.7/16"X12| 1.7/16"X12| 0021 0021 445 44.5 36

1F9 1F9-20 |1.11/16"X12/1.11/16"X12| 0025 0025 47.5 47.5 41
1F9-24 2"X12 2"X12 0029 0029 53.5 53.5 50




Sl B gk

AMERICA ADAPTOR

X HIORFSHMBL OB FEE L /HEIMEN O E

ORFS MALE O-RING / BSP MALE O-RING

£ &b i Jx

XINDU HYDRAULIC

1FG
=] 12 4 THREAD O B ORING R <t DIMENSIONS
PART NO. E F Eu Fifs A B L S1
1FG-04-02 9/16"x18 G1/8"x28 0011 0011 10 95 | 275 17
1FG-04 9/16"X18 G1/4"X19 0011 0111 10 10 29 19
1FG-04-06 9/16"X18 G3/8"X19 0011 0113 10 115 31 22
1FG-06 11/16"X16 G3/8"X19 0012 0113 112 | 115 | 325 22
1FG-06-04 11/16'X16 G1/4"X19 0012 0111 11.2 10 31 19
1FG-06-08 11/16"X16 G1/2"'X14 0012 0115 11.2 14 36.5 27
1FG-08 13/16"X16 G1/2"X14 0014 0115 13 14 38.5 27
1FG-08-06 13/16"X16 G3/8"X19 0014 0113 13 115 | 343 22
1FG-08-12 13/16"X16 G3/4"X14 0014 0119 13 15.5 42 32
1FG-10-08 1"x14 G1/2"x14 0016 0115 15.5 14 41 27
1FG-10-12 1"X14 G3/4"X14 0016 0119 155 | 155 44 32
1FG-12-08 1.3/16"X12 G1/2"'X14 0018 0115 17 14 44 32
1FG-12 1.3/16"x12 G3/4"x14 0018 0119 17 155 | 456 32
1FG-12-16 1.3/16"X12 G1"X11 0018 0217 17 18 48 41
1FG-16-12 1.7/16"X12 G3/4"x14 0021 0119 175 | 155 48 38
1FG-16 1.7/16"X12 G1"X11 0021 0217 17.5 18 495 41
1FG-20 1.11/16"X12 G1.1/4"X11 0025 0222 17.5 20 55.5 50
1FG-20-16 1.11/16"X12 G1"X11 0025 0217 17.5 18 51.5 46
1FG-24 2"x12 G1.1/2"x11 0029 0224 175 | 215 57 55

B53



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

45°Z £ # ORFSHMENOMEFEZ T /REIMELORE
45° ELBOW ORFS MALE O-RING / BSP MALE O-RING

S2 N
w L\ 2
A S1
1FG4-0G
RS #2 47 THREAD OF.E O RING R <t DIMENSIONS

PART NO. E F Eif Fif A B S1 S2
1FG4-040G 9/16"X18 G1/4"X19 0011 0111 18.3 27 14 19
1FG4-04-020G 9/16"X18 G1/8"X28 0011 0011 18.3 24.8 14 14
1FG4-04-060G 9/16"X18 G3/8"X19 0011 0113 18 30 16 22
1FG4-060G 11/16"X16 G3/8"X19 0012 0113 20.5 31 19 22
1FG4-06-040G 11/16"X16 G1/4"X19 0012 0111 20.5 28 19 19
1FG4-06-080G 11/16"X16 G1/2"X14 0012 0115 22 36 22 27
1FG4-080G 13/16"X16 G1/2"X14 0014 0115 24 36 22 27
1FG4-08-060G 13/16"X16 G3/8"X19 0014 0113 24 32 22 22
1FG4-10-080G 1"X14 G1/2"X14 0016 0115 28 37.5 27 27
1FG4-10-120G 1"X14 G3/4"X14 0016 0119 28 42 27 32
1FG4-120G 1.3/16"X12 G3/4"X14 0018 o119 30.7 425 30 32
1FG4-12-080G 1.3/16"X12 G1/2"X14 0018 0115 30.7 38.5 30 27
1FG4-12-160G 1.3/16"X12 G1"X11 0018 0217 31.5 44 33 41
1FG4-160G 1.7/16"X12 G1"X11 0021 0217 33 44.5 36 41
1FG4-16-120G 1.7/16"X12 G3/4"X14 0021 0119 33 44.5 36 32
1FG4-200G 1.11/16"X12 G1.1/4"X11 0025 0222 35.5 47.5 41 50

+: Fin5 DIN 3852 ii A4HEL, Note: F end is connected with DIN 3852 port.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

90°Z 551 ORFSHMENOREFHHE /REIMENONE

90° ELBOW ORFS MALE O-RING / BSP MALE O-RING

F
S2 @] ==
0
—
w
— s,
S1
A
1FG9-0G
= ¥ 47 THREAD O, O RING R ~f DIMENSIONS

PART NO. E F Eif Fif A B St s2
1FG9-04-020G 9/16"X18 G1/8"X28 0011 0011 23 29 14 14
1FG9-040G 9/16"X18 G1/4"X19 0011 0111 23 31.3 14 19
1FG9-04-060G 9/16"X18 G3/8"X19 0011 0113 24 35.8 16 22
1FG9-06-040G 11/16"X16 G1/4"X19 0012 0111 27 G515 19 19
1FG9-060G 11/16"X16 G3/8"X19 0012 0113 27 36.8 19 22
1FG9-06-080G 11/16"X16 G1/2"X14 0012 0115 29 43.2 22 27
1FG9-08-060G 13/16"X16 G3/8"X19 0014 0113 31 39.5 22 22
1FG9-080G 13/16"X16 G1/2"X14 0014 0115 31 43.2 22 27
1FG9-10-080G 1"X14 G1/2"X14 0016 0115 36.5 46.5 27 27
1FG9-10-120G 1"X14 G3/4"X14 0016 0119 36.5 49.3 27 32
1FG9-12-080G 1.3/16"'X12 G1/2"X14 o018 0115 40.3 475 30 27
1FG9-120G 1.3/16"X12 G3/4"X14 0018 0119 40.3 52 30 32
1FG9-12-160G 1.3/16"'X12 G1"X11 0018 0217 425 53 33 41
1FG9-16-120G 1.7/16"X12 G3/4"X14 0021 0119 445 56 36 32
1FG9-160G 1.7/16"'X12 G1"X11 0021 0217 445 56 36 41
1FG9-20-160G 1.11/16"X12 G1"X11 0025 0217 47.5 60 41 41
1FG9-200G 1.11/16"X12 G1.1/4"X11 0025 0222 475 60 41 50
1FG9-240G 2'X12 G1.1/2"X11 0029 0224 51.5 65.5 50 55

iE: Fin5 DIN 3852 ii 4B, Note: F end is connected with DIN 3852 port.

B55



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SEHIORFS JMENOR B EEZE /2FI IMES AT HRIEIHRERFIISO 6149-2
ORFS MALE O-RING / METIRC MALE ADJUSTABLE STUD END S-SERIES 1S06149-2

+ Lo
1FH
e #2 5L THREAD OFE O RING R < DIMENSIONS
PART NO. E F Eif Fi A B L S
1FH-04-10 9/16" X18 M10X1 0011 008.1X1.6 9.8 9.5 28 17
1FH-04-12 9/16" X18 M12X1.5 0011 009.3X2.4 9.8 11 295 17
1FH-06-12 11/16"X16 M12X1.5 0012 009.3X2.4 1.2 11 31 19
1FH-06-14 11/16"X16 M14X1.5 0012 011.3X2.4 1.2 11 31 19
1FH-06-16 11/16"X16 M16X1.5 0012 013.3X2.4 1.2 12,5 335 22
1FH-08-16 13/16"X16 M16X1.5 0014 013.3X2.4 12.8 12,5 36 22
1FH-08-18 13/16"X16 M18X1.5 0014 015.3X2.4 12.8 14 36.5 24
1FH-08-22 13/16"X16 M22X1.5 0014 019.3X2.4 12.8 15 37.5 27
1FH-10-22 1"X14 M22X1.5 0016 019.3X2.4 15.5 15 405 27
1FH-12-22 1.3/16"X12 M22X1.5 0018 019.3X2.4 17 15 455 32
1FH-12-27 1.3/16"X12 M27x2 0018 023.5X3.0 17 18.5 44 32
1FH-16-33 1.7/16"X12 M33X2 0021 029.5X3.0 17.5 18.5 51 41
1FH-20-42 11116"X12 M42x2 0025 038.5X3.0 17.5 19 54.5 50
1FH-24-48 2"X12 M48Xx2 0029 044.5X3.0 17.5 21.5 57 55

iE: Fim5 1SO 6149-1



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

X HIORFSHMBLIOR B HZ L /it EIMEN

ORFS MALE O-RING / NPT MALE

L

WA/ ?

w{ o — - — - e -

S1 F
1FN

R =2 #2 41 THREAD OB O-RING R ~t DIMENSIONS
PART NO. E F Ei A B L st
1FN-04-02 9/16"X18 Z1/8"X27 0011 9.8 10.5 26.5 17

1FN-04 9/16"X18 Z1/4"X18 0011 9.8 15 30.5 17
1FN-04-06 9/16"X18 Z3/8"X18 0011 9.8 16 30.5 19
1FN-06-04 11/16"X16 Z1/4"X18 0012 11.2 15 32 19

1FN-06 11/16"X16 73/8"X18 0012 11.2 16 33.5 19
1FN-06-08 11/16"X16 Z1/2"X14 0012 11.2 19.5 39 24
1FN-08-04 13/16"X16 Z1/4"X18 0014 12.8 15 36 22
1FN-08-06 13/16"X16 Z3/8"X18 0014 12.8 16 36.5 22

1FN-08 13/16"X16 Z1/2"X14 0014 12.8 19.5 40 24
1FN-08-12 13/16"X16 Z3/4"X14 0014 12.8 19.5 425 30
1FN-10-08 1"X14 Z1/2"X14 0016 15.5 19.5 45 27
1FN-10-12 1"X14 Z3/4"X14 0016 15.5 19.5 45 30
1FN-12-08 1.3/16"X12 Z1/2"X14 0018 17 19.5 46.5 32

1FN-12 1.3/16"X12 73/4"X14 0018 17 19.5 47 32
1FN-12-16 1.3/16"X12 Z1"X11.5 0018 17 25.5 53.5 36
1FN-16-12 1.7/16"X12 Z3/4"X14 0021 17.5 19.5 48 38

1FN-16 1.716"X12 Z1"X11.5 0021 17.5 25.5 53.5 38
1FN-16-20 1.716"X12 Z1.1/4"X11.5 0021 17.5 26.5 57 46
1FN-20-16 1.11/16"X12 Z1"X11.5 0025 17.5 25.5 56 46

1FN-20 1.11/16"X12 Z1.1/4"X11.5 0025 17.5 26.5 56.5 46
1FN-20-24 1.11/16"X12 Z1.1/2"X11.5 0025 17.5 27.5 60 50

1FN-24 2"X12 Z1.1/2"X11.5 0029 17.5 27.5 59.5 55

B57



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

45°ZEHIORFSHMENIOR B F I EH /S IMEN

45° ELBOW ORFS MALE O-RING / NPT MALE

B58

T —

1FN4
ke ¥ 47 THREAD O O-RING R <t DIMENSIONS

PART NO. E F Ei A B S1
1FN4-04-02 9/16"X18 Z1/8"X27 0011 18.3 18 14
1FN4-04 9/16"X18 Z1/4"X18 0011 18.3 21 14
1FN4-04-06 9/16"X18 Z3/8"X18 0011 19.5 25 19
1FN4-06-04 11/16"X16 Z1/4"X18 0012 205 22 19
1FN4-06 11/16"X16 73/8"X18 0012 205 25 19
1FN4-06-08 11/16"X16 Z1/2"X14 0012 22 29.5 22
1FN4-08-06 13/16"X16 Z3/8"X18 0014 24 26 22
1FN4-08 13/16"X16 Z1/2"X14 0014 24 295 22
1FN4-10-08 1"X14 Z1/2"X14 0016 28 31 27
1FN4-12 1.3/16"X12 Z3/4"X14 0018 30.7 35.5 30
1FN4-16 1.7/16"X12 Z1"X11.5 0021 33 40 36
1FN4-20 1.11/16"X12 Z1.1/4"X11.5 0025 355 425 41
1FN4-24 2"X12 Z1.1/2"X11.5 0029 39 465 50




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

90°SXHIORFSIMENOR B HEL /HHEEIMEN

90° ELBOW ORFS MALE O-RING / NPT MALE

1FN9
g = ¥ & THREAD OFF O-RING R~ DIMENSIONS

PART NO. E F Eift A B St
1FN9-04-02 9/16X18 Z1/8"X27 0011 23 24 14
1FN9-04 9/16X18 Z1/4"X18 0011 23 255 14
1FN9-06-04 11/16"X16 Z1/4"X18 0012 27 28.5 19
1FN9-06 11/16"X16 73/8"X18 0012 275 31 19
1FN9-06-08 11/16"X16 Z1/2"X14 0012 29 36.7 22
1FN9-08-06 13/16"X16 73/8"X18 0014 31 335 22
1FN9-08 13/16"X16 Z1/2'X14 0014 31 37.3 22
1FN9-08-12 13/16"X16 Z3/4"X14 0014 34.5 44 27
1FN9-10-08 1"X14 Z1/2"X14 0016 36.5 40 27
1FN9-10-12 1"X14 Z3/4"X14 0016 36.5 44 27
1FN9-12-08 1.3/16"'X12 Z1/2"X14 0018 40.3 415 30
1FN9-12 1.3/16"X12 Z3/4"X14 0018 41 455 30
1FN9-12-16 1.3/16"X12 Z1"X11.5 0018 43 50 33
1FN9-16-12 1.7/16"X12 Z3/4"X14 0021 445 49 36
1FN9-16 1.7/16"'X12 Z1"X11.5 0021 445 51.5 36
1FN9-20-16 1.11/16"X12 Z1"X11.5 0025 475 54.5 41
1FN9-20 1.11/16"X12 Z1.1/4"X11.5 0025 47.5 54.5 41
1FN9-24 2"X12 Z1.1/2'X11.5 0029 53.5 61 50

B59



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EHORFSHMEL O B F EZ /X HISAEIMBSITFOR B E R FUISO 11926-2
ORFS MALE O-RING/SAE O-RING BOSS S-SERIES 1SO 11926-2

L
iy, -
L - II_ - - Lo
S1
1FO
o #2 5 THREAD O O-RING R ~t DIMENSIONS
PART NO. E F Eif Fif A B L S1
1FO-04 9/16"X18 7/16"X20 0011 0904 9.8 11 28.7 17
1FO-04-05 9/16"X18 1/2"X20 0011 0905 9.8 11 28.7 17
1FO-04-06 9/16"X18 9/16"X18 0011 0906 9.8 12 29.5 17
1FO-04-08 9/16"X18 3/4"X16 0011 0908 9.8 14 33.5 22
1FO-06-04 11/16"X16 7/16"X20 0012 0904 11.2 11 31 19
1FO-06-05 11/16"X16 1/2"X20 0012 0905 11.2 11 30.9 19
1FO-06 11/16"X16 9/16"X18 0012 0906 11.2 12 31.9 19
1FO-06-08 11/16"X16 3/4"X16 0012 0908 11.2 14 35 22
1FO-06-10 11/16"X16 7/8"X14 0012 0910 11.2 16 38.5 27
1FO-08-06 13/16"X16 9/16"X18 0014 0906 12.8 12 34.5 22
1FO-08 13/16"X16 3/4"X16 0014 0908 12.8 14 36.6 22
1FO-08-10 13/16"X16 7/8"X14 0014 0910 12.8 16 40.5 27
1FO-08-12 13/16"X16 1.1/16"X12 0014 0912 12.8 18.5 445 32
1FO-10 1"X14 7/8"X14 0016 0910 155 16 431 27
1FO-10-08 1"X14 3/4"X16 0016 0908 15.5 14 41 27
1FO-10-12 1"X14 1.1/16"X12 0016 0912 15.5 18.5 47 32
1FO-12-10 1.3/16"X12 7/8"X14 0018 0910 17 16 46 32
1FO-12 1.3/16"X12 1.1/16"X12 0018 0912 17 18.5 48.6 32
1FO-12-16 1.3/16"X12 1.5/16"X12 0018 0916 17 18.5 49.8 38
1FO-16-12 1.7/16"X12 1.1/16"X12 0021 0912 17.5 18.5 50 38
1FO-16 1.7/16"X12 1.5/16"X12 0021 0916 17.5 18.5 50.3 38
1FO-16-20 1.7/16"X12 1.5/8"X12 0021 0920 17.5 18.5 52 50
1FO-20-16 1.11/16"X12 1.5/16"X12 0025 0916 17.5 18.5 52 46
1FO-20 1.11/16"X12 1.5/8"X12 0025 0920 17.5 18.5 52.3 50
1FO-24-20 2"X12 1.5/8"X12 0029 0920 17.5 18.5 54 55
1FO-24 2"X12 1.7/8"X12 0029 0924 17.5 18.5 541 55

E: Fim5ISO 11926-1 iiA4HEL, Note: F end is connected with ISO 11926—1port.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

45°Z X HIORFSHMEN O B FE % /55 HIS AEIMRMFHOR B E R FUISO 11926-2

45° ELBOW ORFS MALE O-RING/SAE O-RING BOSS S-SERIES I1SO 11926-2

s2 <
,//
/
W
A |\st
1F04-0G
=] #2 47 THREAD OF%F O-RING R <t DIMENSIONS

PART NO. E F Eif Fif A B S1 S2
1FO4-040G 9/16"X18 7/16"X20 0011 0904 18.3 26 14 17
1F04-04-060G 9/16"X18 9/16"X18 0011 0906 18.3 28 14 19
1F04-06-040G 11/16"X16 7/16"X20 0012 0904 20.5 27.3 19 17
1FO4-060G 11/16"X16 9/16"X18 0012 0906 20.5 29.5 19 19
1F04-06-080G 11/16"X16 3/4"X16 0012 0908 20.5 325 19 24
1F04-08-060G 13/16"X16 9/16"X18 0014 0906 24 30.8 22 19
1FO4-080G 13/16"X16 3/4"X16 0014 0908 24 34 22 24
1F04-08-100G 13/16"X16 7/8"X14 0014 0910 24 39.5 22 27
1F04-08-120G 13/16"X16 1.1/16"X12 0014 0912 25.5 44 27 32
1F04-10-080G 1"X14 3/4"X16 0016 0908 28 34 27 24
1FO4-100G 1"X14 7/8'X14 0016 0910 28 415 27 27
1F04-10-120G 1"X14 1.1/16"X12 0016 0912 28 44 27 32
1F04-12-100G 1.3/16"X12 7/8"X14 0018 0910 30.7 42 30 27
1F04-120G 1.3/16"X12 1.1/16"X12 0018 0912 30.7 455 30 32
1F04-12-160G 1.3/16"X12 1.5/16"X12 0018 0916 325 47.9 36 41
1F04-16-120G 1.7/16"X12 1.1/16"X12 0021 0912 33 47.9 36 32
1F04-160G 1.7/16"X12 1.5/16"X12 0021 0916 33 47.9 36 41
1F04-16-200G 1.7/16"X12 1.5/8"X12 0021 0920 35.5 485 41 50
1F04-200G 1.11/16"X12 1.5/8"X12 0025 0920 35.5 48.8 41 50
1F04-20-240G 1.11/16"X12 1.7/8"X12 0025 0924 38 51 48 55
1F04-240G 2"X12 1.7/8"X12 0029 0924 39 52 50 55

i£: Fiw5I1S0 11926-1 il O48E, Note: F end is connected with ISO 11926-1port.

B61



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

90°ZEHORFSHMESON B FEZEH /EFISAEIMELTHFORBERFIISO 11926-2
90° ELBOW ORFS MALE O-RING / SAE O-RING BOSS S-SERIES SO 11926-2

1F09-0G
= 12 4 THREAD O E O-RING R st DIMENSIONS
PART NO. E F Exif Fuf A B S S2
1F09-040G 9/16"X18 7/16"X20 0011 0904 23 30.3 14 17
1F09-04-060G 9/16"X18 9/16"X18 0011 0906 23 32 14 19
1FO9-06-040G 11/16"X16 7/16"X20 0012 0904 27.5 33.5 19 17
1FO9-060G 11/16"X16 9/16"X18 0012 0906 27.5 34.5 19 19
1F09-06-080G 11/16"X16 3/4"X16 0012 0908 27.5 38 19 24
1F09-06-100G 11/16"X16 7/8"X14 0012 0910 29 47 22 27
1FO9-08-060G 13/16"X16 9/16"X18 0014 0906 31 37 22 19
1F09-080G 13/16"X16 3/4"X16 0014 0908 31 40.5 22 24
1F09-08-100G 13/16"X16 7/8"X14 0014 0910 31 45.3 22 27
1FO9-08-120G 13/16"X16 1.1/16"X12 0014 0912 34.5 52 27 32
1F09-10-080G 1"X14 3/4"X16 0016 0908 36.5 45 27 24
1FO9-100G 1"X14 7/8"X14 0016 0910 36.5 50.8 27 27
1F09-10-120G 1"X14 1.1/16"X12 0016 0912 36.5 52 27 32
1FO9-12-100G 1.3/16"X12 7/8"X14 0018 0910 41 52.8 30 27
1F09-120G 1.3/16"X12 1.1/16"X12 0018 0912 41 54 30 32
1F09-12-160G 1.83/16"X12 1.5/16"X12 0018 0916 43 55.5 33 41
1F09-16-120G 1.7/16"X12 1.1/16"X12 0021 0912 445 59 36 32
1F09-160G 1.7/16"X12 1.5/16"X12 0021 0916 445 59 36 41
1F09-200G 1.11/16"X12 1.5/8"X12 0025 0920 47.5 60.5 41 50
1F09-20-240G 1.11/16"X12 1.7/8"X12 0025 0924 51.5 66.5 48 55
1F09-24-200G 2"X12 1.5/8"X12 0029 0920 53.5 67.5 50 50
1F09-240G 2"X12 1.7/8"X12 0029 0924 53.5 67.5 50 55

E: Fig5ISO 11926-1 ifiAMHE, Note: F end is connected with ISO 11926-1port.



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EHIORFSHMENON B FE LS / ORFSPILELN

ORFS MALE O-RING / ORFS FEMALE

L B

7
L '; ﬂ_t_/L 3 \
S1 S2

2F
K= 42 57 THREAD O O-RING R < DIMENSIONS
PART NO. E F Eif A B L St s2
2F-04 9/16"X18 9/16"X18 0011 9.8 8.5 33 17 19
2F-04-06 9/16"X18 11/16"X16 0011 9.8 10 345 17 22
2F-04-08 9/16"X18 13/16"X16 0011 9.8 11 36.5 19 27
2F-06-04 11/16"X16 9/16"X18 0012 11.2 85 355 19 19
2F-06 11/16"X16 11/16"X16 0012 11.2 10 385 19 22
2F-06-08 11/16"X16 13/16"X16 0012 11.2 11 37.7 19 27
2F-06-10 11/16"X16 1"X14 0012 11.2 135 437 24 30
2F-08-06 13/16"X16 11/16"X16 0014 13 10 41 22 22
2F-08 13/16"X16 13/16"X16 0014 13 11 43 22 27
2F-08-10 13/16"X16 1"X14 0014 13 135 455 24 30
2F-08-12 13/16"X16 1.3/16"X12 0014 13 15 49 30 36
2F-10-08 1"X14 13/16"X16 0016 15.5 11 475 27 27
2F-10 1"X14 1"X14 0016 155 135 515 27 30
2F-10-12 1"X14 1.3/16"X12 0016 15.5 15 51.5 30 36
2F-10-16 1"X14 1.7/16"X12 0016 155 15 56 36 41
2F-12-08 1.3/16"X12 13/16"X16 0018 17 11 50.5 32 27
2F-12-10 1.3/16"X12 1"X14 0018 17 135 54.5 32 30
2F-12 1.3/16"X12 1.3/16"X12 0018 17 15 56 32 36
2F-12-16 1.3/16"X12 1.7/16"X12 0018 17 15 58 36 41
2F-16-12 1.7/16"X12 1.3/16"X12 0021 17.5 15 58 38 36
2F-16 1.7/16"X12 1.7/16"X12 0021 17.5 15 60 38 41
2F-16-20 1.7/16"X12 1.11/16"X12 0021 17.5 15 62 41 50
2F-20-16 1.11/16"X12 1.7/16"X12 0025 175 15 58.5 46 41
2F-20 1.11/16"X12 1.11/16"X12 0025 17.5 15 62 46 50
2F-20-24 1.11/16"X12 2"X12 0025 17.5 16 65.5 50 60
2F-24-20 2"X12 1.11/16"X12 0029 17.5 15 64 55 50
2F-24 2"X12 2"X12 0029 17.5 16 64 55 60

B63



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

45°Z L HIORFS JMRLIORZ B FEH S / ORFSAIIRL

B64

45° ELBOW ORFS MALE O-RING / ORFS FEMALE

Q
A
] S2
N\
| —
S1
A
2F4
RE 12 41 THREAD O O-RING R ~F DIMENSIONS
PART NO. E F Ei A B S S2
2F4-04 9/16X18 9/16X18 0011 18.3 8.5 14 19
2F4-06 11/16"X16 11/16"X16 0012 20.5 10 19 22
2F4-08 13/16"X16 13/16"X16 0014 24 11 22 27
2F4-10 1"X14 1"X14 0016 28 15 27 30
2F4-12 1.83/16"X12 1.3/16"X12 0018 30.7 15 30 36
2F4-16 1.7/16"X12 1.7/16"X12 0021 33 15 36 41
2F4-20 1.11/16"X12 1.11/16"X12 0025 35.5 15 41 50
90°ZXHIORFS JMELIOR B EEZE / ORFSPIIELN
90° ELBOW ORFS MALE O-RING / ORFS FEMALE
2F9
®r =2 42 41 THREAD OF.E O-RING R ~F DIMENSIONS
PART NO. E F Eif A B S1 S2
2F9-04 9/16X18 9/16X18 0011 23 8.5 14 19
2F9-04-06 9/16X18 11/16"X16 0011 23 10 14 22
2F9-06-04 11/16"X16 9/16X18 0012 275 8.5 19 19
2F9-06 11/16"X16 11/16"X16 0012 27.5 10 19 22
2F9-06-08 11/16"X16 13/16"X16 0012 27 11 19 27
2F9-08-06 13/16"X16 11/16"X16 0014 31 10 22 22
2F9-08 13/16"X16 13/16"X16 0014 31 11 22 27
2F9-10-08 1"X14 13/16"X16 0016 36.5 11 27 27
2F9-10 1"X14 1"X14 0016 36.5 15 27 30
2F9-10-12 1"X14 1.3/16"X12 0016 36.5 15 27 36
2F9-12 1.3/16"X12 1.3/16"X12 0018 41 15 30 36
2F9-12-16 1.83/16"X12 1.716"X12 0018 425 15 33 41
2F9-16-12 1.7/16"X12 1.3/16"X12 0021 445 15 36 36
2F9-16 1.7/16"X12 1.7/16"X12 0021 445 15 36 41
2F9-20 1.11/16"X12 1.11/16"X12 0025 44.5 15 41 50
2F9-24 2"X12 2"X12 0029 53.5 15 50 60




Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

ORFS JMZEL /JIC RIRN 74°AHE

ORFS MALE/JIC FEMALE 74°SEAT

L B
’ N
/
W~ - N L 74°
{
S1 S2
2FJ

g = ¥ 4 THREAD O O-RING R ~F DIMENSIONS

PART NO. E F Eif A B L S1 S2
2FJ-04 9/16X18 7/16"X20 0011 10 9 24 17 17
2FJ-04-06 9/16X18 9/16X18 0011 10 10.5 25 17 19
2FJ-06-04 11/16"X16 7/16"X20 0012 1.2 9 255 19 17
2FJ-06 11/16"X16 9/16"X18 0012 11.2 10.5 26 19 19
2FJ-06-08 11/16"X16 3/4"X16 0012 11.2 10.5 30 19 24
2FJ-08-06 13/16"X16 9/16"X18 0014 13 10.5 28 22 19
2FJ-08 13/16"X16 3/4"X16 0014 13 10.5 315 22 24
2FJ-08-10 13/16"X16 7/8"X14 0014 13 12 34 22 27
2FJ-10-08 1"X14 3/4"X16 0016 15.5 10.5 36 27 24
2FJ-10 1"X14 7/8"X14 0016 15.5 12 36.5 27 27
2FJ-10-12 1"X14 1.1/16"X12 0016 15.5 15 39 27 32
2FJ-12-10 1.3/16"X12 7/8"X14 0018 17 12 39 32 27
2FJ-12 1.3/16"X12 1.1/16"X12 0018 17 15 405 32 32
2FJ-12-16 1.3/16"X12 1.5/16"X12 0018 17 16 40.5 32 41
2FJ-16-12 1.7/16"X12 1.1/16"X12 0021 17.5 15 41 38 32
2FJ-16 1.7/16"X12 1.5/16"X12 0021 17.5 16 41 38 41
2FJ-20 1.11/16"X12 1.5/8"X12 0025 17.5 17 475 46 50
2FJ-24 2"X12 1.7/8"X12 0029 17.5 20 50 55 55

B65



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EH S IMRAS /ORFS RIS

NPT MALE/ORFS FEMALE

N - -

¥ s
S1 52

2NF
r = # 4 THREAD R <t DIMENSIONS
PART NO. E F A B L St S2
2NF-02-04 Z1/8"X27 9/16"X18 10.5 8.5 32 14 19
2NF-04 Z1/4"'X18 9/16"X18 15 8.5 36.5 17 19
2NF-04-06 Z1/4"X18 11/16"X16 15 10 39.5 17 22
2NF-06 Z3/8"'X18 11/16"X16 16 10 40.5 19 22
2NF-06-08 73/8'X18 13/16"X16 16 11 42.5 19 27
2NF-08 Z1/2'X14 13/16"X16 19.5 11 48 22 27
2NF-08-10 Z1/2"X14 1"X14 19.5 13 52 24 30
2NF-12 Z3/4"X14 1.3/16"X12 19.5 15 55.5 30 36
2NF-12-16 Z3/4"X14 1.7/16"X12 19.5 15 58.5 36 41
2NF-16 Z1"X11.5 1.7/16"X12 255 15 64.5 36 41
2NF-16-20 Z1"X11.5 1.11/16"X12 255 15 66 41 50
2NF-20 Z1.1/4"X11.5 1.11/16"X12 26.5 15 67 46 50
2NF-24 Z1.1/2"X11.5 2"X12 27.5 15 72.5 50 60




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

E#l SAE JMENTHFOREERFIISO 11926-2 / ORFSPIIRLAL

SAEO-RING BOSS S-SERIES ISO 11926-2 / ORFS FEMALE

Tt

w w
i
20F
®e 42 5 THREAD O O-RING R ~f DIMENSIONS
PART NO. E F Ei A B L S1 S2
20F-04 7/16"X20 9/16"X18 0904 11 85 325 17 19
20F-04-06 7/16"X20 11/16"X16 0904 11 10 355 17 22
20F-06-04 9/16'X18 9/16'X18 0906 12 85 335 17 19
20F-06 9/16"X18 11/16"X16 0906 12 10 365 19 22
20F-06-08 9/16"X18 13/16"X16 0906 12 11 385 19 27
20F-08-06 3/4"X16 11/16"X16 0908 14 10 405 22 22
20F-08 3/4"X16 13/16"X16 0908 14 11 425 22 27
20F-10-08 7/8"X14 13/16"X16 0910 16 11 465 27 27
20F-10 7/8"X14 1"X14 0910 16 135 50.5 27 30
20F-12-10 1.1/16'X12 1"X14 0912 18.5 135 54 32 30
20F-12 1.1116"X12 1.3/16"X12 0912 18.5 15 56 32 36
20F-16-12 1.5/16"X12 1.3/16"X12 0916 18.5 15 555 38 36
20F-16 1.5/16"X12 1.7/16"X12 0916 18.5 15 575 38 41
20F-20-16 1.5/8"X12 1.7/16"X12 0920 18.5 15 615 50 41
20F-20 1.5/8"X12 11/16'X12 0920 18.5 15 65 50 50
20F-24 2'X12 1.7/8"X12 0924 18,5 16 65 55 60

B67



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

% ORFS WIEKIEE

B68

ORFS FEMALE FLAT

3F
g = 42 4 THREAD R~ DIMENSIONS
PART NO. E F A B L St $2,83
3F-04 9/16"X18 9/16"X18 8.5 8.5 335 19 19
3F-06 11/16"X16 11/16"'X16 10 10 40.5 22 22
3F-08 13/16"X16 13/16"X16 11 11 445 27 27
3F-10 1"X14 1"X14 13.5 13.5 52.5 30 30
3F-12 1.3/16"X12 1.3/16"X12 15 15 56 36 36
3F-16 1.7/16"X12 1.7/16"X12 15 15 60 41 41
3F-20 1.11/16"X12 1.11/16"X12 15 15 59.5 50 50
3F-24 2"X12 2"X12 16 16 64 60 60
EHIORFSHMBL OB FHE 1tk
ORFS MALE O-RING PLUG
L
A
—\
L
\S1
4F
R =2 #2 4L THREAD O#2F O-RING R < DIMENSIONS
PART NO. E Eif A L S1
4F-04 9/16"X18 0011 9.8 16.8 17
4F-06 11/16"X16 0012 11.2 19.2 19
4F-08 13/16"X16 0014 12.8 21.8 22
4F-10 1"X14 0016 15.5 25.9 27
4F-12 1.3/16"X12 0018 17 27.4 32
4F-16 1.7/16"X12 0021 17.5 27.9 38
4F-20 1.11/16"X12 0025 17.5 27.9 46
4F-24 2"X12 0029 17.5 27.9 55




Sl B gk

AMERICA ADAPTOR

5§l ORFS JMRLORZ B T B i th %Sk

ORFS MALE O-RING BULKHEAD

£ &b i Jx

XINDU HYDRAULIC

L EiRELOCK NUT
O Y
L - | LL ] - T r1r—1r
S1 “s2
6F 6F-LN
RE2 2 57 THREAD OB O-RING R ~f DIMENSIONS
PART NO. E F Eif Fifs A B L S1 S2

6F-04 9/16"X18 9/16"X18 0011 0011 98 315 48.2 22 22
6F-06 11/16"X16 11/16"X16 0012 0012 11.2 34 53.2 27 27
6F-08 13/16"X16 13/16"X16 0014 0014 12.8 36.5 58.3 30 30
6F-10 1"X14 1"X14 0016 0016 15.5 40.6 66.6 36 36
6F-12 1.3/16"X12 1.3/16"X12 0018 0018 17 41.7 69.2 38 38
6F-16 1.7/16"X12 1.7/16"X12 0021 0021 175 422 70.2 46 46
6F-20 1.11/16"X12 1.11/16"X12 0025 0025 175 422 70.2 50 50
6F-24 2"X12 2"X12 0029 0029 175 422 70.2 60 60

i WMEEETE, WiEEKSEM

“LN” , fneF-16LN, K-S 8F,

Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our part no.,for example 6F-16LN, The

lock nut no. is 8F.

45°F £ ORFS JMENOR: B T HZH I iRk

45° ELBOW ORFS MALE O-RING BULKHEAD

A
S1 e
/
5
N :
A
6F4 6F4-LN
= 42 4 THREAD O O-RING R <t DIMENSIONS
PART NO. E F Ei% Fif A B S1 S2
6F4-04 9/16"X18 9/16"X18 0011 0011 18.5 424 14 22
6F4-06 11/16"X16 11/16"X16 0012 0012 20.5 485 19 27
6F4-08 13/16"X16 13/16"X16 0014 0014 24 51 22 30
6F4-10 1"X14 1"X14 0016 0016 28 56.6 27 36
6F4-12 1.3/16"X12 1.3/16"X12 0018 0018 30.7 60.7 30 38
6F4-16 1.7/16"X12 1.7/16"X12 0021 0021 33 65.2 36 46
i MEFERENTE, WEERSEM “LN” , f16F4-16LN, iS4 8F,

Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our part no.,for example 6F4-16LN, The

lock nut no. is 8F.

B69



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

90°% £ ORFSHMEN OB FHZEH T hiEk

90° ELBOW ORFS MALE O-RING BULKHEAD

F |
L |0 E S2
= 7
Y
— Y
S1
LA
6F9 6F9-LN
ke 82 47 THREAD O O-RING R~ DIMENSIONS
PART NO. E F Ei% Fi% A B S1 S2
6F9-04 9/16"X18 9/16"X18 0011 0011 23 47 14 22
6F9-06 11/16"X16 11/16"X16 0012 0012 27.5 52 19 27
6F9-08 13/16"X16 13/16"X16 0014 0014 31 55.5 22 30
6F9-10 1"X14 1"X14 0016 0016 36.5 63 27 36
6F9-12 1.3/16"X12 1.3/16"X12 0018 0018 38.5 67.2 30 38
6F9-16 1.7/16"X12 1.7/16"X12 0021 0021 44.5 71.2 36 46
6F9-20 1.11/16"X12 1.11/16"X12 0025 0025 47.5 75.5 41 50
6F9-24 2"X12 2"X12 0029 0029 53.5 79.5 50 60

i ETHEITE, MWEERSEM “LN” , 6F9-16LN, #iHKSA4 8F,
Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our part no.,for example 6F9-16LN, The
lock nut no. is 8F.

=il ORFS R4 i3

ORFS LOCK NUT
A

(7

i
———
§ S1

8F

T, 42 4 THREAD R~ DIMENSIONS
PART NO. E A s

8F-04 9/16"X18 7 22
8F-06 11/16"X16 8 27
8F-08 13/16"X16 9 30
8F-10 1"X14 10.4 36
8F-12 1.3/16"X12 10.4 38
8F-16 1.7116"X12 10.4 46
8F-20 1.11/16"X12 10.4 50
8F-24 2'X12 10.4 60

7¥: 8F-04 5 8J-06 El, Note: 8F-04 is the same as 8J-06.

B70



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

ihl ORFS MRS HE Ak

ORFS FEMALE FLAT PLUG

L A

S2
9F

® e 2 47 THREAD R <t DIMENSIONS

PART NO. E A L S2
9F-04 9/16"X18 8.5 10.5 19
9F-06 11/16"X16 10 13 22
9F-08 13/16"X16 11 14 27
9F-10 1"X14 13.5 16 30
9F-12 1.3/16"X12 15 15 36
9F-16 1.7/16"X12 15 18 41
9F-20 1.11/16"X12 15 19 50
9F-24 2"X12 16 21 60

EHJORFSHMEN OB FHEH =&

ORFS MALE O-RING TEE

F
E g H ; N
w{l . ___L:L___
A C
AF
[t =1 42 47 THREAD O, O-RING R st DIMENSIONS
PART NO. E F G Eif Fim Gifg A B (] S1
AF-04 9/16"X18 9/16"X18 9/16"X18 0011 0011 0011 23 23 23 14
AF-06 11/16"X16 11/16"X16 11/16"X16 0012 0012 0012 27 27 27 19
AF-08 13/16"X16 13/16"X16 13/16"X16 0014 0014 0014 31 31 31 22
AF-10 1"X14 1"X14 1"X14 0016 0016 0016 36.5 36.5 36.5 27
AF-12 1.3/16"X12 1.3/16"X12 1.3/16"X12 0018 0018 0018 40.3 40.3 40.3 30
AF-16 1.7/16"X12 1.7/16"X12 1.7/16"X12 0021 0021 0021 44.5 44.5 445 36
AF-20 1.11/16"X12 1.11/16"X12 1.11/16"X12 0025 0025 0025 47.5 47.5 47.5 41
AF-24 2"X12 2"X12 2"X12 0029 0029 0029 53.5 53.5 5385 50

B71



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EHIORFSHMELN OFZ B EEm S /EZHISAE JMREFHORBEE RS IS0 11926-2 =iF
ORFS MALE O-RING / SAE O-RING BOSS S- SERIES 1SO 11926-2 BRANCH TEE

F
i
|
S2 !
i s1 ®
i
w4 N L O
A C
AFOF-0G
® = 42 40 THREAD O O-RING R ~+ DIMENSIONS
PART NO. E F G Eif Fif Gif A B © S1 S2
AFOF-040G 9/16"X18 7/16"X20 9/16"X18 0011 0904 0011 23 | 303 | 23 14 17
AFOF-04-06-040G 9/16"X18 9/16"X18 9/16"X18 0011 0906 0011 23 | 32 23 14 19
AFOF-060G 11/16"X16 9/16"X18 11/16"X16 0012 0906 0012 | 275 | 355 | 275 | 19 19
AFOF-06-08-060G 11/16"X16 3/4"X16 11/16"X16 0012 0908 0012 27 | 38 27 19 24
AFOF-080G 13/16"X16 3/4"X16 13/16"X16 0014 0908 0014 31 | 405 | 31 22 24
AFOF-08-10-080G 13/16"X16 7/8"X14 13/16"X16 0014 0910 0014 31 | 453 | 31 22 27
AFOF-08-12-080G 13/16"'X16 | 1.1/16"X12 | 13/16"X16 0014 0912 0014 | 345 | 54 | 345 | 27 32
AFOF-100G 1"X14 7/8"X14 1"X14 0016 0910 0016 | 36.5 | 50.8 | 36.5 | 27 27
AFOF-10-12-100G 1"X14 1.1/16"X12 1"X14 0016 0912 0016 | 365 | 52 | 365 | 27 32
AFOF-120G 1.3/16'X12 | 1.1/16"X12 | 1.3/16"X12 0018 0912 0018 | 40.3 | 55.3 | 40.3 | 30 32
AFOF-160G 1.7116"'X12 | 1.5/16"X12 | 1.7/16"'X12 0021 0916 0021 | 415 | 59.3 | 415 | 36 4
AFOF-200G 1.11/16"X12 | 1.5/8"X12 | 1.11/16"X12 0025 0920 0025 | 475 | 605 | 475 | 41 50
AFOF-240G 2"X12 1.7/8"X12 2"X12 0029 0924 0029 | 535 | 68 | 535 | 50 55

iE: Fis51S0 11926-1 i O4HEL, Note: F end is connected with ISO 11926-1 port.



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

ORFSHMRL/ORFSAILRLL/ ORFSHMEL

ORFS MALE/ORFS FEMALE/ORFS MALE

F
m I
S1 \
w1
A C
BF
g = 2 47 THREAD OB O-RING R <t DIMENSIONS
PART NO. E F G Eify Gify A B © S1 S2
BF-04 9/16"X18 9/16"X18 9/16"X18 7.65X1.78 7.65X1.78 23 8.5 23 14 19
BF-06 11/16"X16 11/16"X16 11/16"X16 9.25X1.78 9.25X1.78 27 10 27 19 22
BF-08 13/16"X16 13/16"X16 13/16"X16 12.42X1.78 12.42X1.78 31 11 31 22 27
BF-10 1"X14 1"X14 1"X14 15.6X1.78 15.6X1.78 36.5 13.5 36.5 27 30
BF-12 1.3/16"X12 1.3/16"X12 1.3/16"X12 | 18.77X1.78 18.77X1.78 40.3 15 40.3 30 36
BF-16 1.7/16"X12 1.7/16"X12 1.7/16"X12 | 23.52X1.78 | 23.52X1.78 445 15 445 36 41
BF-20 1.11/16"'X12 | 1.11/16"X12 | 1.11/16"X12 | 29.87X1.78 | 29.87X1.78 475 15 475 41 50
BF-24 2"X12 2"X12 2'X12 37.82X1.78 | 37.82X1.78 53.5 15 53.5 50 60
A + — 4
SEHIORFSHMEL OFZEFmEEE] /2HIORFS PIRLISFEHE =18
ORFS MALE O-RING / ORFS FEMALE RUN TEE
CF
g2 12 57 THREAD OFE O-RING R <t DIMENSIONS
PART NO. E F G Ei Fi A B o] St S2
CF-04 9/16"X18 9/16"X18 9/16"X18 0011 0011 23 23 8.5 14 19
CF-06 11/16"X16 11/16"X16 11/16"X16 0012 0012 275 | 275 10 19 22
CF-08 13/16"X16 13/16"X16 13/16"X16 0014 0014 31 31 11 22 27
CF-10 1"X14 1"X14 1"X14 0016 0016 365 | 365 | 135 27 30
CF-12 1.3/16"X12 1.3/16"X12 1.3/16"X12 0018 0018 403 | 40.3 15 30 36
CF-16 1.7/16"X12 1.7/16"X12 1.7/16"X12 0021 0021 445 | 445 15 36 41
CF-20 1.11/16"X12 1.11/16"X12 1.11/16"X12 0025 0025 475 | 475 15 41 50
CF-24 2"'X12 2'X12 2"X12 0029 0029 535 | 535 15 50 60

B73




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

ORFS 123

ORFS TUBE END NUT

S2
a
L
NN
L
NB200-F

g 2y E ZFHI#EINCH SLEEVE AHIFEMETRIC SLEEVE R~FDIMENSIONS
PART NO. THREAD EFIMEOD. HERS NO. EFIMEOD. HERS NO. L s2
NB200-04F 9/16"X18 1/4" NB300-04F 6 NB500-06F 14.7 19
NB200-06F 11/16"X16 3/8" NB300-06F 10 NB500-10F 17 22
NB200-08F 13/16"X16 1/2" NB300-08F 12 NB500-12F 21 27
NB200-10F 1"X14 5/8" NB300-10F 16 NB500-16F 235 30
NB200-12F 1.3/16"X12 3/4" NB300-12F 20 NB500-20F 26 36
NB200-16F 1.7/16"X12 1" NB300-16F 25 NB500-25F 27.8 41
NB200-20F 1.11/16'X12 1.1/4" NB300-20F 30 NB500-30F 27.8 50
NB200-24F 2"X12 1.1/2" NB300-24F 38 NB500-38F 27.8 60

ORFS HFIEWE
ORFS INCH SLEEVE

a
NB300-F
= R THREAD BEFIMZE TUBE 0O.D. R <t DIMENSIONS
PART NO. in D L
NB300-04F 9/16"X18 1/4" 12.8 8.5
NB300-06F 11/16"X16 3/8" 15.8 8.5
NB300-08F 13/16"X16 12" 18.9 8.5
NB300-10F 1"X14 5/8" 23.4 9
NB300-12F 1.3/16"X12 3/4" 27.9 12,5
NB300-16F 1.7/16"X12 1 34.2 14
NB300-20F 1.11/16"X12 1.1/4" 40.6 14
NB300-24F 2"X12 1.1/2" 485 14




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

ORFS AFIEWE
ORFSMETRIC SLEEVE

L

N

~
o
\] e
NB500-F
= &F4PMZ TUBE O.D. R~ DIMENSIONS
K #2457 THREAD SRR
PART NO. MM D L
NB500-06F 9/16"X18 6 12.8 8.5
NB500-10F 11/16"X16 10 15.8 8.5
NB500-12F 13/16"X16 12 18.9 8.5
NB500-16F 1"X14 16 23.4 9
NB500-20F 1.3/16"X12 20 27.9 125
NB500-25F 1.7/16"X12 25 34.2 14
NB500-30F 1.11/16"X12 30 40.6 14
NB500-38F 2"X12 38 485 14
SEih ORFS JMEN
ORFS MALE
F
% IR
i
% ‘ 4
L ‘ — O 4
S1 o
||
T
H
A | C
XF
g =2 2 4 THREAD O, O-RING R =t DIMENSIONS
PART NO. E F G H E. F. G. Hi# A.B.C. D S1
XF-04 9/16"X18 9/16"X18 9/16"X18 9/16"X18 0011 21.5 14
XF-06 11/16"X16 11/16"X16 11/16"X16 11/16"X16 0012 25 19
XF-08 13/16"X16 13/16"X16 13/16"X16 13/16"X16 0014 28 22
XF-10 1"X14 1"X14 1'X14 1"X14 0016 335 27
XF-12 1.3/16"X12 1.3/16"X12 1.3/16"X12 1.3/16"X12 0018 37.5 30
XF-16 1.7/16"X12 1.7/16"X12 1.7/16"X12 1.7/116"X12 0021 415 36
XF-20 1.11/16"X12 1.11/16"X12 1.11/16"X12 1.11/16"X12 0025 445 41

B75



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EHHHEE MR

NPT MALE
L
A B
|
ﬁ?ﬁ
i Jﬁ i
L
E/s1 ) F/
1N
K s #2 40 THREAD R ~f DIMENSIONS
PART NO. E F A B L S1
1N-02 Z1/8"X27 Z1/8"X27 10.5 10.5 27 12
1N-02-04 Z1/8"X27 Z1/4"X18 10.5 15 31 17
1N-02-06 Z1/8"X27 Z3/8"X18 10.5 16 32 19
1N-04 Z1/4"X18 Z1/4"X18 15 15 35 17
1N-04-06 Z1/4"X18 Z3/8"X18 15 16 37 19
1N-04-08 Z1/4"X18 Z1/2"X14 15 19.5 415 22
1N-06 73/8"X18 73/8"X18 16 16 38 19
1N-06-08 Z3/8"X18 Z1/2"X14 16 19.5 435 22
1N-06-12 Z3/8"X18 Z3/4"X14 16 19.5 455 27
1N-08 Z1/2"X14 Z1/2"X14 19.5 19.5 47 22
1N-08-12 Z1/2"X14 Z3/4"X14 19.5 19.5 49 27
1N-08-16 Z1/2"X14 Z1"X11.5 19.5 25.5 56 36
1N-12 Z3/4"X14 Z3/4"X14 19.5 19.5 49 27
1N-12-16 Z3/4"X14 Z1"X11.5 19.5 25.5 55 36
1N-12-20 Z3/4"X14 Z1.1/4"X11.5 19.5 26.5 59 46
1N-16 Z1"X11.5 Z1"X11.5 25.5 25.5 61 36
1N-16-20 Z1"X11.5 Z1.1/4"X11.5 25.5 26.5 64 46
1N-16-24 Z1"X11.5 Z1.1/2"X11.5 25.5 27.5 68 50
1N-20 Z1.1/4"X11.5 Z1.1/4"X11.5 26.5 26.5 65 46
1N-20-24 Z1.1/4"X11.5 Z1.1/2"X11.5 26.5 27.5 69 50
1N-24 Z1.1/2"X11.5 Z1.1/2"X11.5 27.5 27.5 69 50
1N-24-32 Z1.1/2"X11.5 Z2"X11.5 27.5 27.5 72 65
1N-32 72"X11.5 72"X11.5 27.5 27.5 71 65




Sl B gk

AMERICA ADAPTOR

45° Tt EIMBEN / HHE IMEN

45°NPT MALE/NPT MALE
F
E //ﬂ\
>
mmwﬁ\/
[T =

£ &b i Jx

XINDU HYDRAULIC

1N4
® = #2 g THREAD R <t DIMENSIONS
PART NO. E F A B S1
1N4-02 71/8"X27 Z1/8"X27 17 17 11
1N4-04 Z1/4"X18 Z1/4"X18 21 21 14
1N4-06 73/8"X18 73/8"X18 24 24 19
1N4-08 Z1/2"X14 Z1/2"X14 29.5 29.5 22
1N4-12 Z3/4"X14 Z3/4"X14 35 35 27
1N4-16 Z1"X11.5 Z1"X11.5 39 39 33
1N4-20 Z1.1/4"X11.5 Z1.1/4"X11.5 425 425 41
1N4-24 Z1.1/2"X11.5 Z1.1/2"X11.5 45 45 48
1N4-32 72"X11.5 Z2"X11.5 50 50 63

B77



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

90 T HEE IMBLL

90° ELBOW NPT MALE

B78

1N9
g 2 ¥ 4 THREAD R ~F DIMENSIONS
PART NO. E F A B St
1N9-02 Z1/8"X27 Z1/8"X27 21 21 1
1N9-02-04 Z1/8"X27 Z1/4"X18 235 255 14
1N9-04 Z1/4"X18 Z1/4"X18 25.5 25.5 14
1N9-04-06 Z1/4"X18 Z3/8"X18 28 31 19
1N9-04-08 Z1/4"X18 Z1/2"X14 305 36.5 22
1N9-06 Z3/8"X18 Z3/8"X18 31 31 19
1N9-06-08 Z3/8"X18 Z1/2"X14 33.8 37.3 22
1N9-08 Z1/2"X14 Z1/2"X14 37.3 37.3 22
1N9-08-12 Z1/2"X14 Z3/4"X14 40 44 27
1N9-12 Z3/4"X14 Z3/4"X14 44 44 27
1N9-12-16 Z3/4"X14 Z1"X11.5 465 50 33
1N9-16 Z1"X11.5 Z1"X11.5 50 50 33
1N9-20 Z1.1/4"X11.5 Z1.1/4"X11.5 54 54 4
1N9-24 Z1.1/2"X11.5 Z1.1/2"X11.5 63 63 48
1N9-32 Z2"X11.5 Z2"X11.5 68 68 63




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EHI S IMREIE L

NPT MALE PLUG

E
st

4N

g = ¥ 4 THREAD R <t DIMENSIONS

PART NO. E A L St
4N-02 Z1/8"X27 10.5 16 12
4N-04 Z1/4"X18 15 20 17
4N-06 73/8"X18 16 21 19
4N-08 Z1/2"X14 19.5 27 22
4N-12 Z3/4"X14 19.5 29.5 27
4N-16 Z1"X11.5 25.5 36.5 36
4N-20 Z1.1/4"X11.5 26.5 385 46
4N-24 Z1.1/2'X11.5 27.5 43 50
4N-32 Z2'X11.5 275 435 65

EMEIMRAN A AIEL

NPT MALE HOLLOW HEX PLUG

E
i
L
4NN

g = #2 4 THREAD R <t DIMENSIONS
PART NO. E L S1
4NN-02 Z1/8"X27 8 5
4NN-04 Z1/4"X18 10 6
4NN-06 Z3/8"X18 12 8
4NN-08 Z1/2"X14 15 10
4ANN-12 Z3/4"X14 16 12
4NN-16 Z1"X11.5 18 17

B79



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

I EIMRN /M E PIIRN

NPT MALE / NPT FEMALE

L

A

E
=
K

i,

5N
re= #2 51 THREAD R <t DIMENSIONS
PART NO. E F A L S1
5N-02 Z1/8"X27 Z1/8"X27 10.5 255 17
5N-02-04 Z1/8"X27 Z1/4"X18 105 31 19
5N-02-06 Z1/8"X27 73/8"X18 11 31 24
5N-04-02 Z1/4"X18 Z1/8"'X27 15 22 17
5N-04 Z1/4"X18 Z1/4"X18 15 35.3 19
5N-04-06 Z1/4"X18 Z3/8"X18 15 36.6 24
5N-04-08 Z1/4"X18 Z1/2"'X14 15 43 30
5N-06-02 73/8"'X18 Z1/8"X27 16 22 19
5N-06-04 73/8"X18 Z1/4"X18 16 22 19
5N-06 73/8"'X18 73/8"X18 16 37.6 24
5N-06-08 Z3/8"'X18 Z1/2"X14 17 43.7 30
5N-06-12 73/8"'X18 Z3/4"X14 17 47 36
5N-08-04 Z1/2'X14 Z1/4"X18 19.5 28 24
5N-08-06 Z1/2'X14 73/8"X18 19.5 28.5 24
5N-08 Z1/2"X14 Z1/2"X14 195 475 30
5N-08-12 Z1/2"X14 Z3/4"X14 19.5 49 36
5N-12-06 Z3/4"X14 73/8"X18 19.5 30.5 27
5N-12-08 Z3/4"X14 Z1/2'X14 19.5 30.5 27
5N-12 Z3/4"X14 Z3/4"X14 19.5 49 36
5N-12-16 Z3/4"X14 Z1"X11.5 195 55.4 41
5N-16-08 Z1"X11.5 Z1/2"X14 25.5 35.5 36
5N-16-12 Z1"X11.5 Z3/4"X14 25.5 36.5 36
5N-16 Z1"X11.5 Z1"X11.5 25.5 60.7 41
5N-16-20 Z1"X11.5 Z1.1/4"X11.5 25.5 63.5 50
5N-20-12 Z1.1/4"X11.5 Z3/4"X14 26.5 38.5 46
5N-20-16 Z1.1/4"X11.5 Z1"X11.5 26.5 41 46
5N-20 Z1.1/4"X11.5 Z1.1/4"X11.5 26.5 61.5 50
5N-20-24 Z1.1/4"X11.5 Z1.1/2"X11.5 26.5 62.5 60
5N-24-16 Z1.1/2"X11.5 Z1"X11.5 27.5 415 50
5N—24-20 Z1.1/2"X11.5 Z1.1/4"X11.5 27.5 41 50
5N-24 Z1.1/2"X11.5 Z1.1/2"X11.5 27.5 62.5 65
5N-24-32 Z1.1/2"X11.5 Z2"X11.5 27.5 66.5 70
5N-32-20 Z2'X11.5 Z1.1/4"X11.5 27.5 44.5 65
5N-32-24 Z2'X11.5 Z1.1/2"X11.5 27.5 45 65
5N-32 Z2'X11.5 Z2'X11.5 27.5 62.5 70




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

AS EHmEEIMEL /AHERIRY

45° ELBOW NPT MALE / NPT FEMALE

S1 F
E /
/
| Q
|
A
5N4
g =2 ¥ 4 THREAD R =t DIMENSIONS
PART NO. E F A B S1
5N4-02 Z1/8"X27 Z1/8"X27 19 17 16
5N4-04 Z1/4"X18 Z1/4"X18 22 20 19
5N4-06 Z3/8"X18 Z3/8"X18 27 19 24
5N4-08 Z1/2"X14 Z1/2"X14 31.7 28 30
5N4-12 Z3/4"X14 Z3/4"X14 36.5 30 33
5N4-16 Z1"X11.5 Z1'X11.5 425 37.5 41
5N4-20 Z1.1/4"X11.5 Z1.1/4"X11.5 44 30 48
5N4-24 Z1.1/2'X11.5 Z1.1/2'X11.5 51 36 63

B81



B82

Sl B gk

AMERICA ADAPTOR

90°E M E IMBEL/ i E PIIEN

90° ELBOW NPT MALE/NPT FEMALE

£ &b i Jx

XINDU HYDRAULIC

F
E
N — m
<t
I AN
|
— )<ﬂ
A
5N9

r = #24. THREAD R~ DIMENSIONS
PART NO. E E A B S1

5N9-02 Z1/8"X27 Z1/8"X27 24.5 17.8 16
5N9-04-02 Z1/4"X18 Z1/8"X27 26.5 16.8 16

5N9-04 Z1/4"X18 Z1/4"X18 28 22.4 19
5N9-04-06 Z1/4"X18 Z3/8"X18 31 25 24
5N9-06-04 Z3/8"X18 Z1/4"X18 31 22.4 19

5N9-06 73/8"X18 73/8"X18 33.5 25 24

5N9-08 Z1/2"X14 Z1/2"X14 41.2 31.2 30
5N9-12-08 Z3/4"X14 Z1/2"X14 45 31.2 30

5N9-12 Z3/4"X14 Z3/4"X14 452 34.5 33

5N9-16 Z1"X11.5 Z1"X11.5 54.5 41.1 41

5N9-20 Z1.1/4"X11.5 Z1.1/4"X11.5 63 43.2 48

5N9-24 Z1.1/2"X11.5 Z1.1/2"X11.5 71.5 52.8 63

5N9-32 Z2"X11.5 Z2"X11.5 73.5 62 65




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

HEEIMEL /5EH SAERIZEL 1SO 11926-1

NPT MALE / SAE FEMALE ISO 11926-1

5NO
g =2 8 4 THREAD R <t DIMENSIONS

PART NO. E F A L S
5NO-02-04 z1/8"X27 7/16"X20 10.5 29.5 17
5NO-02-05 Z1/8"X27 1/2"X20 10.5 30.5 17
5NO-04 Z1/4"X18 7/16"X20 15 34 17
5NO-04-06 Z1/4"X18 9/16"X18 15 36 19
5NO-04-08 Z1/4"X18 3/4"X16 15 41 27
5NO-06-04 Z3/8"X18 7/16"X20 16 22 19
5NO-06 Z3/8"'X18 9/16"X18 16 345 19
5NO-06-08 Z3/8"X18 3/4"X16 16 40 24
5NO-08-06 Z1/2"X14 9/16"X18 19.5 27.5 24
5NO-08 Z1/2"X14 3/4"X16 19.5 415 27
5NO-08-10 Z1/2"X14 7/8"X14 19.5 46.5 30
5NO-12-08 Z3/4"X14 3/4"X16 19.5 29.5 30
5NO-12-10 Z3/4"X14 7/8"X14 19.5 425 30
5NO-12 Z3/4"X14 1.1/16"X12 19.5 47 36
5NO-16-12 Z1"X11.5 1.1/16"X12 255 365 36
5NO-16 Z1"X11.5 1.5/16"X12 25.5 53 4
5NO-20 Z1.1/4"X11.5 1.5/8"X12 26.5 55.5 50

B83



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

X SAE JMESHFORER RSO 11926-3 /i ERIRN

SAE O-RING BOSS L-SERIES ISO 11926-3 / NPT FEMALE

50N
rE #2 4 THREAD OFE O-RING R ~f DIMENSIONS
PART NO. E F Ei A L S1
50N-02 5/16"X24 Z1/8"X27 0902 7.54 245 17
50N-02-04 5/16"X24 Z1/4"x18 0902 7.54 29 19
50N-03-02 3/8"X24 Z1/8"X27 0903 7.54 245 17
50N-03-04 3/8"X24 Z1/4"x18 0903 7.54 29 19
50N-04-02 7/16"X20 Z1/8"X27 0904 9.1 245 17
50N-04 7/16"X20 Z1/4"x18 0904 9.1 30.5 19
50N-04-06 7/16"X20 Z3/8'x18 0904 9.1 30.7 24
50N-05-02 1/2"X20 Z1/8"X27 0905 9.1 26 17
50N-06-04 9/16"X18 Z1/4"x18 0906 9.9 315 19
50N-08-04 3/4"X16 Z1/4"x18 0908 11.1 325 22
50N-08-06 3/4"X16 Z3/8'x18 0908 11.1 34 22
50N-08 3/4"X16 Z1/2"X14 0908 11.1 40 30
50N-08-12 3/4"X16 Z3/4"x14 0908 11.1 40.1 36
50N-10-08 7/8"X14 Z1/2"x14 0910 12.7 415 30
50N-10-06 7/8"X14 73/8'x18 0910 12.7 35.5 27
50N-10-12 7/8"X14 Z3/4"x14 0910 12.7 41 36
50N-12-08 1.1/16"X12 Z1/2"x14 0912 15.1 42 32
50N-12 1.1/16"X12 Z3/4"x14 0912 15.1 455 36
50N-12-16 1.1/16"X12 Z1"X11.5 0912 15.1 50.5 41
50N-16-12 1.5/16"X12 Z3/4"x14 0916 15.1 43 38
50N-16 1.5/16"X12 Z1"X11.5 0916 15.1 51.5 41
50N-20-16 1.5/8"X12 Z1"X11.5 0920 15.1 40 50
50N-20 1.5/8"X12 Z1.1/4"X11.5 0920 15.1 53.5 50
50N-24-16 1.7/8"X12 Z1"X11.5 0924 15.1 34 55
50N-24-20 1.7/8"X12 Z1.1/4"X11.5 0924 15.1 48 55
50N-24 1.7/8"X12 Z1.1/2"X11.5 0924 15.1 535 60
50N-32 2.1/2"X12 2"X11.5 0932 15.1 50 70




Sl B gk

AMERICA ADAPTOR

i E RIRL

£ &b i Jx

XINDU HYDRAULIC

NPT FEMALE
L
Y
E F
\
\ S$1
7N
= 42 41 THREAD R <t DIMENSIONS
PART NO. E F L S1
7N-02 Z1/8"X27 Z1/8"X27 24 17
7N-02-04 Z1/8"X27 Z1/4"X18 27 19
7N-02-06 Z1/8"X27 Z3/8"X18 30 22
7N-04 Z1/4"X18 Z1/4"X18 29 19
7N-04-06 Z1/4"X18 Z3/8"X18 31 22
7N-04-08 Z1/4"X18 Z1/2"X14 35 30
7N-06 Z3/8"X18 Z3/8"X18 29 22
7N-06-08 Z23/8"X18 Z1/2"X14 38 30
7N-06-12 Z3/8"X18 Z3/4"X14 40 36
7N-08 Z1/2"X14 Z1/2"X14 38 30
7N-08-12 Z1/2"X14 Z3/4"X14 43 36
7N-12 Z3/4"X14 Z3/4"X14 39 36
7N-12-16 Z3/4"X14 Z1"X11.5 45.5 41
7N-16 Z1"'X11.5 Z1"X11.5 48 41
7N-20 Z1.1/4"X11.5 Z1.1/4"X11.5 49 50
7N-24 Z1.1/2"X11.5 Z1.1/2"X11.5 49 60
7N-32 Z2"'X11.5 Z2"X11.5 50 70
o &
45° SHEE R
45° ELBOW NPT FEMALE
F
E N7
S1
7N4-PK
A= 12 5 THREAD R <+ DIMENSIONS
PART NO. E F A B S1
7N4-02PK Z1/8"X27 Z1/8"X27 18.5 18.5 16
7N4-04PK Z1/4"X18 Z1/4"X18 20 20 19
7N4-06PK Z3/8"X18 Z3/8"X18 25 25 24
7N4-08PK Z1/2"X14 Z1/2"X14 27.5 27.5 27
7N4-12PK Z3/4"X14 Z3/4"X14 315 31.5 33
7N4-16PK Z1"X11.5 Z1"X11.5 37.5 8485 41

B85




B86

Sl B gk

AMERICA ADAPTOR

90° T i E MIEW

90° ELBOW NPT FEMALE

e/

£ &b i Jx

XINDU HYDRAULIC

A
7N9-PK
R = 2 4 THREAD R <t DIMENSIONS
PART NO. E F A B S1
7N9-02PK Z1/8"X27 Z1/8"X27 20 20 16
7N9-02-04PK Z1/8"X27 Z1/4"'X18 20 225 19
7N9-04PK Z1/4"'X18 Z1/4"X18 22,5 225 19
7N9-04-06PK Z1/4"'X18 Z3/8"'X18 25 26 24
7N9-06PK 73/8"X18 73/8"X18 26 26 24
7N9-06-08PK Z3/8"X18 Z1/2'X14 26 31 27
7N9-08PK Z1/2'X14 Z1/2'X14 31 31 27
7N9-08-12PK Z1/2'X14 Z3/4"X14 34 34 33
7N9-12PK Z3/4"X14 Z3/4"X14 34 34 33
7N9-12-16PK Z3/4"X14 Z1'X11.5 42 42 4
7N9-16PK Z1"X11.5 Z1"X11.5 42 42 41
7N9-20PK Z1.1/4'X11.5 Z1.1/4'X11.5 48 48 50
7N9-24PK Z1.1/2'X11.5 Z1.1/2'X11.5 53 53 60
7N9-32PK Z2'X11.5 Z2'X11.5 62 62 70
XHl i ERIRNEL
NPT FEMALE PLUG
L
9N-CAP
® = 2 5 THREAD R < DIMENSIONS

PART NO. E L St

9N-02CAP Z1/8"'X27 17.5 17

9N-04CAP Z1/4'X18 23 19

9N-06CAP 73/8'X18 24 24

9N-08CAP Z1/2'X14 28 30

9N-12CAP Z3/4"X14 28 36

9N-16CAP Z1"X11.5 34 46

9N-20CAP Z1.1/4'X11.5 37 55

9N-24CAP Z1.1/2'X11.5 37 65

9N-32CAP Z2'X11.5 40.5 75




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EHIf HEE JMR AL

NPT MALE

L
|
|
ET
1
E $1 i/ | G m
|
éL TN |
A C
AN
= 12 57 THREAD R ~t DIMENSIONS
PART NO. E F G A B © S1
AN-02 Z1/8"X27 Z1/8"X27 Z1/8"X27 21 21 21 11
AN-04 Z1/4"X18 Z1/4"X18 Z1/4"X18 25.5 25.5 25.5 14
AN-06 Z3/8"X18 Z3/8"X18 Z3/8"X18 31 31 31 19
AN-08 Z1/2"X14 Z1/2"X14 Z1/2"X14 36.7 36.7 36.7 22
AN-12 Z3/4"X14 Z3/4"X14 Z3/4"X14 44 44 44 27
AN-16 Z1"X11.5 Z1"X11.5 Z1"X11.5 50 50 50 33
AN-20 Z1.1/4"X11.5 Z1.1/4"X11.5 Z1.1/4"X11.5 545 54.5 54.5 41
AN-24 Z1.1/2"X11.5 Z1.1/2"X11.5 Z1.1/2"X11.5 59.5 59.5 59.5 48

i ERRY=E

NPT FEMALE TEE

A C
GN-PK
re #2 5 THREAD R~ DIMENSIONS
PART NO. E F G A B 8 s1
GN-02PK Z1/8"X27 Z1/8"X27 Z1/8"X27 20 20 20 16
GN-04PK Z1/4"X18 Z1/4"X18 Z1/4"X18 225 225 225 19
GN-06PK Z3/8"X18 Z3/8"X18 Z3/8"X18 26 26 26 24
GN-08PK Z1/2"X14 Z1/2"X14 Z1/2"X14 31 31 31 27
GN-12PK Z3/4"X14 Z3/4"X14 23/4"X14 34 34 34 33
GN-16PK Z1"X11.5 Z1"X11.5 Z1"X11.5 42 42 42 4
GN-20PK Z1.1/4'X11.5 Z1.1/4'X11.5 Z1.1/4'X11.5 48 48 48 50
GN-24PK Z1.1/2'X11.5 Z1.1/2'X11.5 Z1.1/2'X11.5 53 53 53 60
GN-32PK Z2'X11.5 Z2'X11.5 Z2'X11.5 62 62 62 70

B87



Sl B gk

AMERICA ADAPTOR XINDU HYDRAULIC

£ &b i Jx

R EIMRLL / HEERIRL / HHEEIMRA

NPT MALE/NPT FEMALE/NPT MALE

F
mt
] !
E G

J} ,ﬂzr?m
1T Tl

A C
KN

R = #2 47 THREAD R ~F DIMENSIONS

PART NO. E F G A B © S1
KN-02 71/8"X27 71/8"X27 71/8"X27 245 17.8 245 16
KN-04 Z1/4"X18 Z1/4"X18 Z1/4"X18 28 22.4 28 19
KN-06 Z3/8"X18 73/8"X18 Z3/8"X18 335 25 335 24
KN-08 Z1/2"X14 Z1/2'X14 Z1/2"X14 412 31.2 412 30
KN-12 Z3/4"X14 Z3/4"X14 Z3/4"X14 452 345 452 33
KN-16 Z1"X11.5 Z1"X11.5 Z1"X11.5 54.5 411 54.5 41

hEE R

NPT FEMALE CROSS

EiGIns

| C
ZN
K= 42 47 THREAD R st DIMENSIONS
PART NO. E, F, G, H A, B, C, D St
ZN-04 Z1/4"X18 22,5 19
ZN-06 Z3/8"X18 26 24
ZN-08 Z1/2"X14 31 27
ZN-12 Z3/4"X14 34 33
ZN-16 Z1"X11.5 42 41
ZN-20 Z1.1/4"X11.5 48 50

B88



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

e EIMRLL /5ZHINPSMALRLL60°FhitE

NPT MALE / NPSM FEMALE 60° CONE

60°
2NU
® = # 4 THREAD R <t DIMENSIONS
PART NO. E F A B L St s2
2NU-02 z1/8"x27 1/8"X27 10.5 35 255 12 15
2NU-02-04 z1/8"x27 1/4"X18 105 46 27.5 12 19
2NU-04-02 Z1/4"X18 1/8"X27 15 35 30 14 15
2NU-04 Z1/4"X18 1/4"X18 15 46 32 17 19
2NU-04-06 Z1/4"X18 3/8'X18 15 6 33 17 22
2NU-04-08 Z1/4"X18 1/2'X14 15 7.5 35 19 27
2NU-06 73/8"X18 3/8'X18 16 6 34.5 19 22
2NU-06-04 73/8"X18 1/4"X18 16 46 33 19 19
2NU-06-08 73/8"X18 1/2'X14 16 75 36 19 27
2NU-08 Z1/2"X14 1/2"X14 195 75 415 22 27
2NU-08-04 Z1/2'X14 1/4"X18 195 46 38.5 22 19
2NU-08-06 Z1/2"X14 3/8'X18 195 6 39.5 22 22
2NU-12 Z3/4"X14 3/4"X14 19.5 8.9 445 30 32
2NU-12-06 Z3/4"X14 3/8'X18 195 6 415 30 22
2NU-12-08 Z3/4"X14 1/2'X14 19.5 75 435 30 27
2NU-12-16 Z3/4"X14 1"X11.5 195 105 465 32 41
2NU-16-12 Z1"X11.5 3/4"X14 215 8.9 51.5 36 32
2NU-16 Z1"X11.5 1"X11.5 255 105 52.5 36 41
2NU-16-20 Z1"X11.5 1.1/4"X11.5 255 1.2 58.5 41 50
2NU-20-16 Z1.1/4"X11.5 1"X11.5 265 10.5 56.5 36 41
2NU-20 Z1.1/4"X11.5 1.1/4"X11.5 265 1.2 59.5 46 50
2NU-20-24 Z1.1/4"X11.5 1.1/2"X11.5 26.5 1.2 59.5 46 55
2NU-24-20 Z1.1/2'X11.5 1.1/4"X11.5 275 11.2 62.5 50 50
2NU-24 Z1.1/2'X11.5 1.1/2"X11.5 27.5 1.2 62.5 50 55
2NU-32 Z2'X11.5 2'X11.5 27.5 1.2 64.5 65 70

B89



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

A5 SHEEIMRL /EH NPSM MRS 60°5h

45° ELBOW NPT MALE / NPSM FEMALE 60° CONE

2NU4
R =2 ¥ 4 THREAD R~ DIMENSIONS
PART NO. E F A B St S2
2NU4-02 Z1/8"X27 1/8"X27 17 3.5 11 15
2NU4-04 Z1/4"X18 1/4"x18 21 46 14 19
2NU4-04-06 Z1/4"X18 3/8'x18 21 6 14 22
2NU4-06 Z3/8"X18 3/8"x18 24 6 19 22
2NU4-06-04 73/8"'X18 1/4"x18 24 46 19 19
2NU4-06-08 73/8"'X18 1/2"x14 24 7.5 19 27
2NU4-08 Z1/2"X14 1/2"x14 29.5 7.5 22 27
2NU4-08-06 Z1/2"X14 3/8'x18 29.5 6 22 22
2NU4-08-12 Z1/2"X14 3/4"x14 31 8.9 27 32
2NU4-12 Z3/4"X14 3/4"x14 35 8.9 27 32
2NU4-12-08 Z3/4"X14 1/2"x14 35 7.5 27 27
2NU4-12-16 Z3/4"X14 1"x11.5 35.5 10.5 30 41
2NU4-16 Z1"X11.5 1"x11.5 39 10.5 33 41
2NU4-16-12 Z1"X11.5 3/4"x14 39 8.9 33 32
2NU4-20 Z1.1/4"X11.5 1.1/4"x11.5 42.5 11.2 41 50
2NU4-24 Z1.1/2'X11.5 1.1/2"x11.5 45 11.2 48 55
2NU4-32 z2"X11 2'x11.5 50 11.2 63 70




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

90° S EIMRN /EFINPSMMALRLI60°FhHE

90° ELBOW NPT MALE / NPSM FEMALE 60° CONE

60°

2NU9
g = # 4 THREAD R <t DIMENSIONS
PART NO. E F A B s1 s2
2NU9-02 z1/8"X27 1/8'X27 21 35 11 15
2NU9-02-04 z1/8"x27 1/4"X18 21 4.6 11 19
2NU9-04-02 Z1/4"X18 1/8'X27 255 35 14 15
2NU9-04 z1/4"X18 1/4"X18 255 4.6 14 19
2NU9-04-06 z1/4"X18 3/8"X18 255 6 14 22
2NU9-06 73/8"X18 3/8"X18 31 6 19 22
2NU9-06-04 73/8"X18 1/4"X18 31 46 19 19
2NU9-06-08 73/8"X18 1/2'X14 31 75 19 27
2NU9-08 z1/2"X14 1/2'X14 37.3 75 22 27
2NU9-08-06 z1/2"X14 3/8"X18 36.7 6 22 22
2NU9-08-12 z1/2"X14 3/4"X14 375 8.9 24 32
2NU9-12 Z3/4"X14 3/4"X14 44 8.9 27 32
2NU9-12-08 73/4"X14 1/2'X14 44 75 27 27
2NU9-12-16 Z3/4"X14 1"X11.5 45 10.5 30 41
2NU9-16 Z1"X11.5 1"X11.5 50 10.5 33 4
2NU9-16-12 Z1"X11.5 3/4"X14 50 8.9 33 32
2NU9-20-16 Z1.1/4"X11.5 1"X11.5 54.5 10.5 41 41
2NU9-20 Z1.1/4"X11.5 1.1/4'X11.5 54.5 11.2 41 50
2NU9-24 Z1.1/2"X11.5 1.1./2"X11.5 59.5 11.2 48 55
2NU9-32 72'X11.5 2'X11.5 735 11.2 63 70

B91



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SAEIMENHOMRBEERFIISO 11926-3 /3EHINPSMMALRLI60°Fh
SAE O-RING BOSS L-SERIES ISO 11926-3 / NPSM FEMALE 60° CONE

L B

)
& _
w ] —LL<}60°

A

S1 S2
20U

R 2 #2 4 THREAD OE O-RING R < DIMENSIONS

PART NO. E F E i A B L S1 S2
20U-04 7/16"X20 1/4"X18 0904 9.1 4.6 26 14 19
20U-04-06 7/16"X20 3/8"X18 0904 9.1 6 27.5 17 22
20U-06 9/16"X18 3/8"X18 0906 9.9 6 28.5 17 22
20U-06-08 9/16"X18 1/2"X14 0906 9.9 75 30 19 27
20U-08 3/4"X16 1/2"X14 0908 1.1 75 33 22 27
20U-08-06 3/4"X16 3/8"X18 0908 1.1 6 31 22 22
20U-10-08 7/8"X14 1/2"X14 0910 12.7 7.5 36.5 27 27
20U-12-08 1.1/16"X12 1/2"X14 0912 15.1 75 40 32 27
20U-12 1.1/16"X12 3/4"X14 0912 15.1 8.9 4 32 32
20U-12-16 1.1/16"X12 1"X11.5 0912 15.1 10.5 425 32 41
20U-16 1.5/16"X12 1"X11.5 0916 15.1 10.5 425 38 41
20U-20 1.5/8"X12 1.1/4"X11.5 0920 15.1 11.2 50 50 50
20U-24 1.7/8"X12 1.1/2"X11.5 0924 15.1 11.2 50 55 55




EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

EHINPSM PAI2%Y / 555 NPSM RIIRLL

NPSM FEMALE/NPSM FEMALE

A L B

)

60°

2 e
—
||

F
3

3uU

It 2 40 THREAD R <t DIMENSIONS

PART NO. E F A B L S1 S2
3U-02 1/8"X27 1/8"X27 35 35 21 15 15
3U-04 1/4"X18 1/4"X18 4.6 46 25 19 19
3U-06 3/8"X18 3/8"X18 6 6 28 22 22
3U-08 1/2"X14 1/2"X14 75 75 315 27 27
3U-12 3/4"X14 3/4"X14 8.9 8.9 34 32 32
3U-16 1"X11.5 1"X11.5 10.5 10.5 36.5 41 41
3U-20 1.1/4"X11.5 1.1/4"X11.5 11.2 11.2 44 50 50
3U-24 1.1/2"X11.5 1.1/2"X11.5 11.2 1.2 44 55 55
3U-32 2"X11.5 2'X11.5 11.2 1.2 44 70 70

s E PIIRLL /55 NPSMMAERL 60°h i

NPT FEMALE / NPSM FEMALE 60° CONE

L B
N

. S2
S1
7NU-S
= 42 4 THREAD R ~f DIMENSIONS
PART NO. E F B L St s2
7NU-02S Z1/8"X27 1/8"X27 3.5 24 17 15
7NU-04-028 Z1/4"X18 1/8"X27 35 29 19 15
7NU-04S Z1/4"'X18 1/4"X18 4.6 315 19 19
7NU-04-06S Z1/4"X18 3/8"X18 6 33 19 22
7NU-06S Z3/8"X18 3/8"X18 6 34 22 22
7NU-06-08S 73/8"X18 1/2'X14 7.5 34 22 27
7NU-08-06S Z1/2'X14 3/8"X18 6 39 30 22
7NU-08S Z1/2'X14 1/2'X14 7.5 41 30 27
7NU-128 Z3/4"X14 3/4"X14 8.9 44 36 32
7NU-16S Z1'X11.5 1"X11.5 10.5 51.5 4 4
7NU-20S Z1.1/4'X11.5 1.1/4"X11.5 1.2 55 50 50
7NU-248 Z1.1/2'X11.5 1.1/2"X11.5 11.2 55.5 60 55
7NU-32S 72'X11.5 2"X11.5 1.5 57 70 70

B93



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

90° St EMIRN /55 NPSM MIRLL 60°7hif

B94

90° ELBOW NPT FEMALE / NPSM FEMALE 60° CONE

60°
F;
. ‘
E
N
A
7NU9-S
re 32 41 THREAD R <t DIMENSIONS
PART NO. E F A B St s2
7NU9-02S Z1/8"X27 1/8"X27 17.8 3.5 16 15
7NU9-04-02S Z1/4"X18 1/8"X27 225 3.5 19 15
7NU9-04S Z1/4"X18 1/4"X18 225 46 19 19
7NU9-04-06S Z1/4"X18 3/8"X18 225 6 19 22
7NU9-06S Z3/8"X18 3/8"X18 25 6 24 22
7NU9-06-08S Z3/8"X18 1/2"X14 25 75 24 27
7NU9-08-06S Z1/2"X14 3/8"X18 31.2 6 30 22
7NU9-08S Z1/2"X14 1/2"X14 31.2 75 30 27
7NU9-08-12S Z1/2"X14 3/4"X14 31.2 8.9 30 32
7NU9-12-08S Z3/4"X14 1/2"X14 345 75 33 27
7NU9-12S Z3/4"X14 3/4"X14 345 8.9 33 32
7NU9-12-16S 73/4"X14 1"X11.5 345 10.5 33 41
7NU9-16S Z1"X11.5 1"X11.5 41 10.5 41 41
7NU9-20S Z1.1/4"X11.5 1.1/4"X11.5 432 11.2 50 50
7NU9-24S Z1.1/2"X11.5 1.1/2"X11.5 52.8 1.2 63 55
=i ok o
TS JMBLY/EFISAE JMREI90°5p i
BSPT MALE/SAE MALE 90° CONE
L
A | , B
1TP-SP
® = ¥ 47 THREAD R <t DIMENSIONS
PART NO. E F A B L S1
1TP-04SP R1/4"X19 7/16"X20 14.5 12.7 33 17
1TP-04-06SP R1/4"X19 5/8"X18 14.5 15.7 36 17
1TP-06SP R3/8"X19 5/8"X18 15 15.7 37 19
1TP-06-10SP R3/8"X19 7/8"X14 15 22.4 455 24
1TP-08SP R1/2"X14 3/4"X16 20 19 465 22
1TP-08-06SP R1/2"X14 5/8"X18 20 15.7 435 22
1TP-08-10SP R1/2"X14 7/8"'X14 20 22.4 50 24
1TP-08-12SP R1/2"X14 1.1/16"X14 20 25.4 55 30




Sl B gk

AMERICA ADAPTOR

90°SAE JMZRSL /SAE FIIRSL

90°SAE MALE/SAE FEMALE

900 OLL]

£ &b i Jx

XINDU HYDRAULIC

2P9
® = # 5 THREAD R <t DIMENSIONS
PART NO. E F A B St S2
2P9-04 7/16"X20 7/16"X20 225 9 11 17
2P9-06 5/8"X18 5/8"X18 30 11.3 16 22
2P9-08 3/4"X16 3/4"X16 35 10.5 19 24
2P9-12 1.1/16"X14 1.1/16"X14 46.5 14.3 27 32
o S
SEH SAESMESL 90°4pitEtESk SAE J513
SAE MALE 90° CONE PLUG SAE J513
L
A
/
90" ( w4 -—-4t
\i
\S1
4P
® = #2 50 THREAD R <t DIMENSIONS
PART NO. E A L St
4P-04 7/16"X20 12.7 18.5 14
4P-05 1/2"X20 14.2 20 14
4P-06 5/8"X18 15.7 22 17
4P-08 3/4"X16 19 27 22
4P-10 7/8"X14 22.4 30.5 24
4P-12 1.1/16"X14 25.4 35.5 30

B95



Sl B gk

AMERICA ADAPTOR

£ &b i Jx

XINDU HYDRAULIC

SAE JMZSL 90° JhitEid HRig L

SAE MALE 90° CONE BULKHEAD

L
A : P e D
; ]
90°® | | U—i>90° Jq—”=| | ”_I)
st “s2
6P 6P-LN
g = #2 4 THREAD R ~f DIMENSIONS
PART NO. E F A B L St s2
6P-06 5/8"X18 5/8"X18 15.7 36 60 24 24

i MEFPIEEEEITER, WEEKSEM “LN” , WM6P-06LN,

Note: In case if you are interested to order the adapter in complete set with lock nut ,it is necessary to insert suffix "LN" after our part no.,for
example 6P-06LN,

90°3<H SAE JMBSLI tri%k

90°SAE MALE BULKHEAD

90°
<7V
_F_
- N
|| | S2
7 ﬂ v
90“@“ (1~
J
AT \S L/
6P9 6P9-LN
R = 2 4 THREAD R =t DIMENSIONS
PART NO. E [F A B S1 S2
6P9-06 5/8"X18 5/8"X18 30.5 54.5 19 24

i METHIREEEITS, WEEKRSEM “LN” , 1M6P9-06LN,

Note: In case if you are interested to order the adapter in complete set with lock nut ,it is necessary to insert suffix "LN" after our part no.,for
example 6P9-06LN,

B96



EHEEL & 2% IE

AMERICA ADAPTOR XINDU HYDRAULIC

SEHl SAE P24 90° sEIE Sk

SAE FEMALE 90° SEATPLUG

R = #2 4 THREAD R st DIMENSIONS
A L PART NO. E A L s2
9P-04 7/16"X20 9 10 17
9P-05 1/2"X20 9 11 17
9P-06 5/8"X18 11.3 12.5 22
9P-08 3/4"X16 10.3 13 24
90° 9P-10 7/8"X14 12 14 27
9P-12 1.1/16"X14 14.3 15.5 32

SAE JME2S /SAE RIIESL /SAE MBS

SAE MALE/SAE FEMALE/SAE MALE

T #8 47 THREAD R <t DIMENSIONS
90° PART NO. E F G A B | Cc | s1]| s2
F S2 BP-04 7/16"X20 7/16"X20 716'X20 | 225 | 9 | 225 11 | 17
o BP-06 5/8"X18 5/8"X18 5/8"X18 30 | 113 30 | 16 | 22
BP-08 3/4"X16 3/4"X16 3/4"X16 35 | 105| 35 | 19 | 24
! S1 BP-12 1.1/16"X14 1.1/16"X14 1.1/16"X14 | 465 | 14.3 | 465 | 27 | 32
O e O
A C
BP

SAE §MBSI /SAE MBS /SAE RILBESL

SAE MALE/SAE MALE/SAE FEMALE

K= # 47 THREAD R ~t DIMENSIONS
90° PART NO. E F G A B c | st| s2
CP-04 7/16"X20 7/16"X20 7116'X20 | 225|225 | 9 | 11 | 17
CP-06 5/8"X18 5/8"X18 5/8"X18 30 | 30 |11.3] 16 | 22
CP-08 3/4"X16 3/4"X16 3/4"X16 35 | 35 | 105 | 19 | 24
cP-12 1.1/16"X14 11/16"'X14 | 1.1/16"X14 | 465 | 465 | 143 | 27 | 32

B97



B L & 3% IE

British Adaptor XINDU HYDRAULIC

HEZEIMRE 60°5ptE

JIS GAS MALE 60°CONE

60° Lu-:”--— —- —-H: U-K 60°

S1
18
k2 42 4 THREAD R st DIMENSIONS
PART NO. E F A B L S1
18-02 G1/8"X28 G1/8"X28 12 12 30 14
1S-04 G1/4"X19 G1/4"X19 16 16 38 17
1S-06 G3/8"X19 G3/8"X19 18 18 42 19
1S-08 G1/2"X14 G1/2"X14 20 20 48 22
18-12 G3/4"X14 G3/4"X14 22 22 54 30
18-16 G1"X11 G1"X11 24 24 59 36
18-20 G1.1/4"X11 G1.1/4"X11 27 27 67 46
18-24 G1.1/2"X11 G1.1/2"X11 27 27 69 50
18-32 G2"X11 G2"X11 30 30 77 65

HIUREIMBO60°5pE / HEIMEN60° A

JIS GAS MALE 60°CONE/BSP MALE 60°SEAT

S1

60°) 4 \H- - 60°

L
1SB
® 2 42 4 THREAD R <F DIMENSIONS

PART NO. E F A B L S1
1SB-04 G1/4"X19 G1/4"X19 16 12 34 19
1SB-04-06 G1/4"X19 G3/8"X19 16 13.5 37.5 22
1SB-06 G3/8"X19 G3/8"X19 18 13.5 39.5 22
1SB-06-04 G3/8"X19 G1/4"X19 18 12 36 19
1SB-06-08 G3/8"X19 G1/2"X14 18 16 44 27
1SB-08 G1/2"X14 G1/2"X14 20 16 46 27
1SB-08-06 G1/2"X14 G3/8"X19 20 13.5 41.5 22
1SB-08-12 G1/2"X14 G3/4"X14 20 18.5 49.5 32
1SB-12 G3/4"X14 G3/4"X14 22 18.5 515 32
1SB-12-06 G3/4"X14 G3/8"X19 22 13.5 45.5 30
1SB-12-08 G3/4"X14 G1/2"X14 22 16 48 30
1SB-12-16 G3/4"X14 G1"X11 22 20.5 5585 41
1SB-16 G1"X11 G1"X11 24 20.5 57.5 4
1SB-16-08 G1"X11 G1/2"X14 24 16 51 36
1SB-16-12 G1"X11 G3/4"X14 24 18.5 53.5 36




B L & 3% IE

British Adaptor XINDU HYDRAULIC

AAREIMBL60°IME / REIMERONE

JIS GAS MALE 60°CONE / BSP MALE O-RING

L
A B
60°) W i T - -
;31
1SG

g2 # 4 THREAD O B O-RING R <t DIMENSIONS

PART NO. E [F Fif A B L S1
1SG-02 G1/8"X28 G1/8"X28 0011 12 9.5 29 14
1SG-04 G1/4"X19 G1/4"X19 o111 16 11 33.5 19
1SG-06 G3/8"X19 G3/8"X19 0113 18 1.5 37.5 22
1SG-08 G1/2"X14 G1/2"X14 0115 20 14 44 27
1S8G-12 G3/4"X14 G3/4"X14 o119 22 15.5 48.5 32
1SG-16 G1"X11 G1"X11 0217 24 18 55 41
18G-20 G1.1/4"X11 G1.1/4"X11 0222 27 20 59 50
1SG-24 G1.1/2"X11 G1.1/2"X11 0224 27 215 62.5 55}

iE£: Fi%5 DIN 3852 il A4HEE, F end is connected with DIN 3852 port.



Rl B Sk

British Adaptor

BFEEIMRN 60°hifE / S IMRLY

JIS GAS MALE 60°CONE / BSPT MALE

£ &b i Jx

XINDU HYDRAULIC

60° L J
st F/
1ST-SP
® = #2 5 THREAD R <t DIMENSIONS
PART NO. E F A B L St
1ST-02SP G1/8"X28 R1/8"X28 12 10 28 14
1ST-02-04SP G1/8"X28 R1/4"X19 12 145 325 17
1ST-04SP G1/4"X19 R1/4"X19 16 145 36.5 17
1ST-04-02SP G1/4"X19 R1/8"X28 16 10 32 17
1ST-04-06SP G1/4"X19 R3/8"X19 16 15 37 19
1ST-04-08SP G1/4"X19 R1/2"X14 16 20 44 22
1ST-06SP G3/8"X19 R3/8"X19 18 15 39 19
1ST-06-04SP G3/8"X19 R1/4"X19 18 145 405 22
1ST-06-08SP G3/8"'X19 R1/2'X14 18 20 46 22
1ST-08SP G1/2"X14 R1/2'X14 20 20 48 22
1ST-08-04SP G1/2'X14 R1/4"X19 20 145 425 22
1ST-08-06SP G1/2"X14 R3/8"X19 20 15 45 27
1ST-08-12SP G1/2'X14 R3/4"X14 20 20 50 27
1ST-12SP G3/4"X14 R3/4"X14 22 20 53 30
1ST-12-08SP G3/4"X14 R1/2'X14 22 20 52 30
1ST-12-16SP G3/4"X14 R1"X11 22 255 58.5 36
1ST-16SP G1"X11 R1"X11 24 255 62.5 41
1ST-16-12SP G1"X11 R3/4"X14 24 20 57 41
1ST-20SP G1.1/4"X11 R1.1/4"X11 27 265 66 46
1ST-24SP G1.1/2"X11 R1.1/2"X11 27 265 67.5 50
1ST-32SP G2"X11 R2'X11 30 30 77 65




B L & 3% IE

British Adaptor XINDU HYDRAULIC

AS°BHFREIMEN 60°5hfE / FHEIMRA

45°ELBOW JIS GAS MALE 60°CONE / BSPT MALE

F
X
60°(> w —]'—‘ 7 < )
A S1
1ST4-SP
®r = #2 4 THREAD R <t DIMENSIONS
PART NO. E F A B S1
1ST4-02SP G1/8"X28 R1/8"X28 19 17 11
1ST4-02-04SP G1/8"X28 R1/4"X19 19.8 21 14
1ST4-04SP G1/4"X19 R1/4"X19 24 21 14
1ST4-04-02SP G1/4"X19 R1/8"X28 24.5 17.5 14
1ST4-04-06SP G1/4"X19 R3/8"X19 245 23 16
1ST4-04-08SP G1/4"X19 R1/2"X14 26.5 29.5 22
1ST4-06SP G3/8"X19 R3/8"X19 26 23 16
1ST4-06-04SP G3/8"X19 R1/4"X19 26 21 16
1ST4-06-08SP G3/8"X19 R1/2"X14 28.5 29.5 22
1ST4-08SP G1/2"X14 R1/2"X14 31 29.5 22
1ST4-08-06SP G1/2"X14 R3/8"X19 30.5 25 22
1ST4-12SP G3/4"X14 R3/4"X14 345 30.5 27
1ST4-12-08SP G3/4"X14 R1/2"X14 34 30 27
1ST4-16SP G1"X11 R1"X11 375 38 33
1ST4-16-12SP G1"X11 R3/4"X14 375 32 33
1ST4-20SP G1.1/4"X11 R1.1/4"X11 44.5 43 41
1ST4-24SP G1.1/2"X11 R1.1/2"X11 47.5 47 48
1ST4-32SP G2"X11 R2"X11 54 53 63




Rl B Sk

British Adaptor

90°ZHFEEIMBLH 60°/Mt / RIS JMEWN

90°ELBOW JIS GAS MALE 60°CONE / BSPT MALE

so°(>w

£ &b i Jx

XINDU HYDRAULIC

1ST9-SP
® =2 #2 4 THREAD R < DIMENSIONS
PART NO. E F A B S1
1ST9-02SP G1/8"X28 R1/8"X28 21.8 21 11
1ST9-02-04SP G1/8"X28 R1/4"X19 24.3 255 14
1ST9-04SP G1/4"X19 R1/4"X19 29 255 14
1ST9-04-02SP G1/4"X19 R1/8"X28 29 23.5 14
1ST9-04-06SP G1/4"X19 R3/8"X19 30 28.5 16
1ST9-06SP G3/8"X19 R3/8"X19 31.5 28.5 16
1ST9-06-04SP G3/8"X19 R1/4"X19 31.5 26.5 16
1ST9-06-08SP G3/8"X19 R1/2"X14 36 36 22
1ST9-08SP G1/2"X14 R1/2"X14 38 36 22
1ST9-08-06SP G1/2"X14 R3/8"X19 38 32.5 22
1ST9-08-12SP G1/2"X14 R3/4"X14 41 435 27
1ST9-12SP G3/4"X14 R3/4"X14 43 43.5 27
1ST9-12-08SP G3/4"X14 R1/2"X14 43 39.5 27
1ST9-12-16SP G3/4"X14 R1"X11 47 50 33
1ST9-16SP G1"X11 R1"X11 48.5 50 33
1ST9-20SP G1.1/4"X11 R1.1/4"X11 57 56.5 41
1ST9-24SP G1.1/2"X11 R1.1/2"X11 61 62.5 48
1ST9-32SP G2"X11 R2"X11 73.2 74.2 63




B L & 3% IE

British Adaptor XINDU HYDRAULIC

HREEIMRL / HAEERIEN

JIS GAS MALE/NIS GAS FEMALE

L B

A
s

so- Sl | [
ey 3
28

g = ¥ 4 THREAD R <+ DIMENSIONS
PART NO. E F A B S1 S2 L

25-02 G1/8"X28 G1/8"X28 12 6.5 14 14 26

258-04 G1/4"X19 G1/4"X19 16 8 17 19 30.5
25-04-06 G1/4"X19 G3/8"X19 16 9 17 22 315
25-06-04 G3/8"X19 G1/4"X19 18 8 19 19 335

25-06 G3/8"X19 G3/8"X19 18 9 19 22 33.5
2S5-06-08 G3/8"X19 G1/2"'X14 18 12 19 27 35
25-08-06 G1/2"X14 G3/8"X19 20 9 22 22 375

25-08 G1/2"X14 G1/2"X14 20 12 22 27 39
25-08-12 G1/2"X14 G3/4"X14 20 13.5 27 32 425
25-12-08 G3/4"X14 G1/2"'X14 22 12 30 27 43

25-12 G3/4"X14 G3/4"X14 22 13.5 30 32 445
25-12-16 G3/4"X14 G1"X11 22 16 32 4 47
25-16-12 G1"X11 G3/4"X14 24 13.5 36 32 475

25-16 G1"X11 G1"'X11 24 16 36 41 49
25-16-20 G1"X11 G1.1/4"X11 24 18.5 41 50 54

25-20 G1.1/4"X11 G1.1/4"X11 27 18.5 46 50 54.5
28-20-24 G1.1/4"X11 G1.1/2'X11 27 19 46 55 57.5

25-24 G1.1/2"X11 G1.1/2"X11 27 19 50 55 59.5




B L & 3% IE

British Adaptor XINDU HYDRAULIC

A5°HAEEIMBL / HAEERIEN

45°JIS GAS MALE/NIS GAS FEMALE

x%o
60°>u / S2

A \S1

)

2S84
K= 42 41 THREAD R ~t DIMENSIONS
PART NO. E F A B St S2
254-02 G1/8"X28 G1/8"X28 19 6.5 11 14
254-04 G1/4"X19 G1/4"X19 24 8 14 19
284-04-06 G1/4"X19 G3/8"X19 24 9 14 22
254-06 G3/8"X19 G3/8"X19 26 9 16 22
254-06-04 G3/8"X19 G1/4"X19 26 8 16 19
254-06-08 G3/8"X19 G1/2"X14 26 12 16 27
254-08 G1/2"X14 G1/2"X14 305 12 22 27
254-08-06 G1/2"X14 G3/8"X19 305 9 22 22
254-12 G3/4"X14 G3/4"X14 34 135 27 32
254-16 G1"X11 G1"X11 37.5 16 33 4
254-20 G1.1/4"X11 G1.1/4"X11 445 18.5 4 50
254-24 G1.1/2"X11 G1.1/2"X11 475 19 48 55
90°HAEEIMEL / HRXEEPIIEN
90°JIS GAS MALE/JIS GAS FEMALE
60°
r._F_
LN Lz
S2
R I
S1
A
289
® = 42 40 THREAD R <t DIMENSIONS
PART NO. E F A B St s2
259-02 G1/8"'X28 G1/8"X28 218 6.5 11 14
259-04 G1/4"X19 G1/4"X19 285 8 14 19
259-04-06 G1/4"X19 G3/8"X19 285 9 14 22
259-06 G3/8"'X19 G3/8"X19 315 9 16 22
259-06-04 G3/8"X19 G1/4"X19 315 8 16 19
259-06-08 G3/8"'X19 G1/2"X14 315 12 16 27
259-08 G1/2'X14 G1/2"X14 38 12 22 27
259-08-06 G1/2'X14 G3/8"X19 38 9 22 22
259-12 G3/4"X14 G3/4"X14 43 135 27 32
259-16 G1"X11 G1"X11 485 16 33 4
259-20 G1.1/4"X11 G1.1/4"X11 57 18.5 4 50
259-24 G1.1/2"X11 G1.1/2'X11 61 19 48 55




B L & 3% IE

British Adaptor XINDU HYDRAULIC

HEZEIMRE 60°5ptE

JIS GAS MALE 60°CONE

4S

R = 32 4 THREAD R st DIMENSIONS

PART NO. E A L S1
45-02 G1/8"X28 12 18 14
4S-04 G1/4"X19 16 24 17
45-06 G3/8"X19 18 24 19
4S-08 G1/2"X14 20 28 22
45-12 G3/4"X14 22 32 30
45-16 G1"X11 24 35 36
45-20 G1.1/4"X11 27 40 46
45-24 G1.1/2"X11 27 42 50
45-32 G2"X11 30 47 65

BFEEIMEL 60°5h I HREL

JIS GAS MALE 60°CONE BULKHEAD

#iEE LOCK NUT

60°<>'-U <> 60°

6S 6S-LN
R = #2 4 THREAD R <t DIMENSIONS

PART NO. E F A B L S1 S2
6S-04 G1/4"X19 G1/4"X19 16 32 56 19 19
6S-06 G3/8"X19 G3/8"X19 18 36 62 22 22
6S-08 G1/2"X14 G1/2"X14 20 40 70 27 27
6S-12 G3/4"X14 G3/4"X14 22 41 74 32 32
6S-16 G1"X11 G1"X11 24 45 88 41 41

i MEHHEEERITS, MEEKRSEM “LN” , 0 6S-16LN, HiFHKS4 8B,

Note: In case if you are interested to order the adapter in complete set with lock nut ,it is necessary to insert suffix"LN" after our part no.,for
example 6S-16LN, The lock nut no. is 8B,



B L & 3% IE

British Adaptor XINDU HYDRAULIC

BFEERIRN 60° AHEIEL

JIS GAS FEMALE 60°SEAT PLUG

K S 32 4 THREAD R ~F DIMENSIONS
A L PART NO. E A L S1 S2
9S-04 G1/4"X19 8 14.5 17 19
N 9S5-06 G3/8"X19 9 155 19 22
9S-08 G1/2"X14 12 19 22 27
9S-12 G3/4"X14 13.5 28.5 32 32
. w 95-16 G1"X11 16 25 36 41
60 9S8-20 G1.1/4"X11 18.5 29.5 50 50
Vo0 9S-24 G1.1/2"X11 19 29.5 55 55
98-32 G2"X11 23 32 70 70
Tz s
98

HFEEIMREN60°I it /HFRERIEN 60°AHE =&

JIS GAS MALE 60°CONE / JIS GAS FEMALE 60°SEAT BRANCH TEE

60" k= #2 5 THREAD R <t DIMENSIONS
= PART NO. E F G A B C | s1| s2
‘ BS-04 G1/4"X19 G1/4"X19 G1/4'X19 | 28 | 8 | 28 | 14 | 19
® ‘ S2 BS-06 G3/8"X19 G3/8"X19 G3/8'X19 | 29 | 9 | 29 | 16 | 22
S1 BS-08 G1/2'X14 G1/2"X14 G1/2'X14 38 | 12 | 38 | 22 | 27
. . BS-12 GB/4"X14 G3/4"X14 G3/4"X14 | 43 | 185 | 43 | 27 | 32
GOOD w4 ) . . o <]60° BS-16 G1"X11 G1"X11 G1"X11 485| 16 | 485| 33 | 41

T S D
A C
BS

HAEEEIMRN60° i /HFHEERIEN 60°AHE =8

JIS GAS MALE 60°CONE / JIS GAS FEMALE 60°SEAT RUN TEE

60° K= #2 4 THREAD R = DIMENSIONS
<_7 PART NO. E F G A B ¢ St S2
E CS-04 G1/4"X19 G1/4"X19 G1/4"X19 28 28 8 14 19
CS-06 G3/8"X19 G3/8"X19 G3/8"X19 29 29 Q) 16 22
CS-08 G1/2"X14 G1/2"X14 G1/2"X14 38 38 12 22 27
CS-12 G3/4"X14 G3/4"X14 G3/4"X14 43 43 | 185 | 27 32
CS-16 G1"X11 G1"X11 G1"X11 485 | 485 | 16 33 41




Rl B Sk

British Adaptor

REJMRN60° A< ik EAES BB

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL

£ 8B if7 &

XINDU HYDRAULIC

L
A _ B
4 7% %
60°| W | - -| - 60°
;81
1B

® = 2 4 THREAD R ~F DIMENSIONS
PART NO. E F A B L St

1B-02 G1/8"X28 G1/8"X28 10 10 26 14
1B-02-04 G1/8"X28 G1/4"X19 10 12 28 19
1B-02-06 G1/8"X28 G3/8"X19 10 13.5 315 22
1B-02-08 G1/8"X28 G1/2"X14 10 16 36 27

1B-04 G1/4"X19 G1/4"X19 12 12 30 19
1B-04-06 G1/4"X19 G3/8"X19 12 13.5 33.5 22
1B-04-08 G1/4"X19 G1/2"X14 12 16 38 27
1B-04-10 G1/4"X19 G5/8"X14 12 17.5 39.5 30

1B-06 G3/8"X19 G3/8"X19 13.5 13.5 35 22
1B-06-08 G3/8"X19 G1/2"X14 13.5 16 39.5 27
1B-06-10 G3/8"X19 G5/8"X14 13.5 17.5 42 30
1B-06-12 G3/8"X19 G3/4"X14 13.5 18.5 43 32

1B-08 G1/2"X14 G1/2"X14 16 16 42 27
1B-08-10 G1/2"X14 G5/8"X14 16 17.5 43.5 30
1B-08-12 G1/2"X14 G3/4"X14 16 18.5 45.5 32

1B-10 G5/8"X14 G5/8"X14 17.5 17.5 45 30
1B-10-12 G5/8"X14 G3/4"X14 17.5 18.5 47 32
1B-10-16 G5/8"X14 G1"X11 17.5 20.5 51.5 4

1B-12 G3/4"X14 G3/4"X14 18.5 18.5 48 32
1B-12-16 G3/4"X14 G1"X11 18.5 20.5 52.5 4
1B-12-20 G3/4"X14 G1.1/4"X11 18.5 20.5 56 50

1B-16 G1"X11 G1"X11 20.5 20.5 54 4
1B-16-20 G1"X11 G1.1/4"X11 20.5 20.5 58 50
1B-16-24 G1"X11 G1.1/2"X11 20.5 23 60.5 55

1B-20 G1.1/4"X11 G1.1/4"X11 20.5 20.5 58 50
1B-20-24 G1.1/4"X11 G1.1/2"X11 20.5 23 60.5 55

1B-24 G1.1/2"X11 G1.1/2"X11 23 23 63 55
1B-24-32 G1.1/2"X11 G2"X11 23 25.5 66.5 70

1B-32 G2"X11 G2'X11 25.5 25.5 68 70

1B-40 G2.1/2"X11 G2.1/2"X11 32 32 81 90

1B-48 G3"X11 G3"X11 36 36 92 100

C10



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REJMEN60° A A iR EAES BB /AEIMIARE R

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / BSP MALE CAPTIVE SEAL

L
N
60° LLI L

® = # 4 THREAD i3 #  CAPTIVE R <& DIMENSIONS

PART NO. E F Fi% A B L St

1B-04WD G1/4"X19 G1/4"X19 WD-B04 12 12 32 19
1B-04-06WD G1/4"X19 G3/8"X19 WD-B06 12 12 34.5 22
1B-04-08WD G1/4"X19 G1/2"X14 WD-B08 12 14 39 27
1B - 06WD G3/8"X19 G3/8"X19 WD-B06 135 12 34 22
1B-06-08WD G3/8"X19 G1/2"'X14 WD-B08 135 14 405 27
1B - 08WD G1/2"X14 G1/2"X14 WD-B08 16 14 43 27
1B-08-12WD G1/2'X14 G3/4"X14 WD-B12 16 16 46 32
1B - 12WD G3/4"X14 G3/4"X14 WD-B12 18.5 16 465 32
1B-12-16WD G3/4"X14 G1"X11 WD-B16 18.5 18 525 41
1B - 16WD G1"X11 G1"X11 WD-B16 205 18 54.5 41
1B-16-20WD G1"X11 G1.1/4"X11 WD-B20 205 20 58.5 50
1B - 20WD G1.1/4"X11 G1.1/4"X11 WD-B20 205 20 58.5 50




B L & 2% IE

British Adaptor XINDU HYDRAULIC

HEIMRL60° R KRB ZET

BSP MALE 60° SEAT CAPTIVE SEAL

60° - 60°
S1
1B-2WD
® = #2 4 THREAD B #CAPTIVE R <t DIMENSIONS

PART NO. E F Ei Fif A B L St
1B - 02/2WD G1/8"X28 G1/8"X28 WD-B02 WD-B02 8 8 25 14
1B-02-04/2WD G1/8"X28 G1/4"X19 WD-B02 WD-B04 8 12 29.5 19
1B - 04/2WD G1/4"X19 G1/4"X19 WD-B04 WD-B04 12 12 34 19
1B - 04-06/2WD G1/4"X19 G3/8"X19 WD-B04 WD-B06 12 12 36.5 22
1B - 06/2WD G3/8"X19 G3/8"X19 WD-B06 WD-B06 12 12 37 22
1B - 06-08/2WD G3/8"X19 G1/2"'X14 WD-B06 WD-B08 12 14 415 27
1B - 08/2WD G1/2"X14 G1/2"X14 WD-B08 WD-B08 14 14 44 27
1B - 08-12/2WD G1/2"'X14 G3/4"X14 WD-B08 WD-B12 14 16 46 32
1B - 12/2WD G3/4"X14 G3/4"X14 WD-B12 WD-B12 16 16 47 32
1B - 12-16/2WD G3/4"X14 G1"X11 WD-B12 WD-B16 16 18 52 41
1B - 16/2WD G1"X11 G1"X11 WD-B16 WD-B16 18 18 55 41
1B - 16-20/2WD G1"X11 G1.1/4"X11 WD-B16 WD-B20 18 20 57 50
1B - 20/2WD G1.1/4"X11 G1.1/4"X11 WD-B20 WD-B20 20 20 61 50
1B-20-24/2WD | G1.1/4"X11 G1.1/2"X11 WD-B20 WD-B24 20 22 63 55
1B - 24/2WD G1.1/2"X11 G1.1/2"X11 WD-B24 WD-B24 22 22 65 55
1B-24-32/2WD | G1.1/2"X11 G2"X11 WD-B24 WD-B32 22 20 66 75
1B - 32/2WD G2"X11 G2"X11 WD-B32 WD-B32 20 20 65 75

C12



B L & 2% IE

British Adaptor XINDU HYDRAULIC

45° IR EJMRL60° M

45° BSP MALE 60° SEAT

60°
A
C
o0 w| -1 —X
R
A s1
1B4

® = 12 4 THREAD R~F DIMENSIONS
PART NO. E F A B s1
1B4-02 G1/8"X28 G1/8"X28 17 17 11
1B4-04 G1/4"X19 G1/4"X19 20.3 20.3 14
1B4-04-06 G1/4"X19 G3/8"X19 20.5 22 16
1B4-06 G3/8"X19 G3/8"X19 22 22 16
1B4-06-08 G3/8"X19 G1/2"X14 24 27 22
1B4-08 G1/2"X14 G1/2"X14 27 27 22
1B4-08-12 G1/2"X14 G3/4"X14 28.5 31 27
1B4-10 G5/8"X14 G5/8"X14 28.5 28.5 22
1B4-10-12 G5/8"X14 G3/4"X14 30 31 27
1B4-12 G3/4"X14 G3/4"X14 31 31 27
1B4-12-16 G3/4"X14 G1"X11 325 35 33
1B4-16 G1"X11 G1"X11 35 35 33
1B4-16-20 G1"X11 G1.1/4"X11 38.5 38.5 41
1B4-20 G1.1/4"X11 G1.1/4"X11 38.5 38.5 41
1B4-20-24 G1.1/4"X11 G1.1/2"X11 41.5 44 48
1B4-24 G1.1/2"X11 G1.1/2"X11 44 44 48
1B4-32 G2"X11 G2"X11 51 51 63

C13



B L & 2% IE

British Adaptor XINDU HYDRAULIC

90°SHEIMRLI60° Rt

90° ELBOW BSP MALE 60° SEAT

oo w [ TN
f 1 oA

A
1B9
K = # 4 THREAD R < DIMENSIONS
PART NO. E F A B St
1B9-02 G1/8"X28 G1/8X28 19.8 19.8 11
1B9-02-04 G1/8"X28 G1/4"X19 23 25 14
1B9-04 G1/4"X19 G1/4"X19 245 245 14
1B9-04-06 G1/4"X19 G3/8"X19 26.5 275 16
1B9-06 G3/8"X19 G3/8"X19 27.5 275 16
1B9-06-08 G3/8"X19 G1/2'X14 31 345 22
1B9-08 G1/2'X14 G1/2'X14 345 345 22
1B9-08-12 G1/2"X14 G3/4"X14 37.5 40 27
1B9-10 G5/8"X14 G5/8"X14 35 35 22
1B9-10-12 G5/8"X14 GB/4"X14 37.5 39 30
1B9-12 G3/4"X14 GB/4"X14 40 40 27
1B9-12-16 G3/4"X14 G1"X11 435 46 33
1B9-16 G1"X11 G1"X11 46 46 33
1B9-16-20 G1"X11 G1.1/4"X11 50.5 50.5 41
1B9-20 G1.1/4"X11 G1.1/4"X11 50.5 50.5 41
1B9-20-24 G1.1/4"X11 G1.1/2'X11 54.5 57.5 48
1B9-24 G1.1/2'X11 G1.1/2'X11 57.5 57.5 48
1B9-32 G2'X11 G2'X11 68 68 63

C14



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REJMEN60° A3/ HIORFSHMEL

BSP MALE 60° SEAT/ORFS MALE

L
A B
C .
600 1] | | L
: b
s1
1BF

R 2 12 4 THREAD O, O-RING R = DIMENSIONS
PART NO. E F F i A B L S1
1BF-02-06 G1/8"X28 11/16"X16 9.25X1.78 10 11.2 27.5 19
1BF-04 G1/4"X19 9/16"X18 7.65X1.78 12 10 28 19
1BF-04-06 G1/4"X19 11/16"X16 9.25X1.78 12 11.2 29.5 19
1BF-04-08 G1/4"X19 13/16"X16 12.42X1.78 12 12.8 33 22
1BF-06 G3/8"X19 11/16"X16 9.25X1.78 13.5 11.2 32.7 22
1BF-06-04 G3/8"X19 9/16"X18 7.65X1.78 13.5 10 31.5 22
1BF-06-08 G3/8"X19 13/16"X16 12.42X1.78 13.5 12.8 34.5 22
1BF-06-10 G3/8"X19 1"X14 15.6X1.78 13.5 155 39 27
1BF-08 G1/2"X14 13/16"X16 12.42X1.78 16 12.8 38.8 27
1BF-08-06 G1/2"X14 11/16"X16 9.25X1.78 16 11.2 37 27
1BF-08-10 G1/2"X14 1"X14 15.6X1.78 16 155 41.5 27
1BF-08-12 G1/2"X14 1.3/16"X12 18.77X1.78 16 17 44 32
1BF-12-08 G3/4"X14 13/16"X16 12.42X1.78 18.5 12.8 42 32
1BF-12 G3/4"X14 1.3/16"X12 18.77X1.78 18.5 17 46.5 32
1BF-16 G1"X11 1.7/16"X12 23.52X1.78 20.5 17.5 51 41
1BF-16-12 G1"X11 1.3/16"X12 18.77X1.78 20.5 17 50.5 41
1BF-20-16 G1.1/4"X11 1.7/16"X12 23.52X1.78 20.5 17.5 53 50
1BF-20 G1.1/4"X11 1.11/16"X12 29.87X1.78 20.5 175 53 50
1BF-24 G1.1/2"X11 2"X12 37.82X1.78 23 17.5 55.5 55

C15



B L & 2% IE

British Adaptor XINDU HYDRAULIC

90°IEJMEL60° M5 E/EHIORFSHMRLL

90°BSPP MALE 60° SEAT/ORFS MALE

F
|
Y =
I
m
60° (W -
S
A
1BF9
® =2 12 &L THREAD OB O-RING R ~+ DIMENSIONS

PART NO. E F Fig A B St
1BF9-04 G1/4"X19 9/16"X18 0011 245 23 14
1BF9-06-04 G3/8"X19 9/16"X19 0011 27.5 24 16
1BF9-06 G3/8"X19 11/16"X16 0012 28.5 27 19
1BF9-06-08 G3/8"X19 13/16"X16 0014 31 31 22
1BF9-08 G1/2"X14 13/16"X16 0014 345 31 22
1BF9-08-10 G1/2"X14 1"X14 0016 375 36.5 27
1BF9-10 G5/8"X14 1"X14 0016 39 36.5 27
1BF9-10-12 G5/8"X14 1.3/16"X12 0018 39.5 40.5 30
1BF9-12 G3/4"X14 1.3/16"X12 0018 41 40.5 30
1BF9-12-16 G3/4"X14 1.7/16"X12 0021 435 445 36
1BF9-16 G1"X11 1.7/16"X12 0021 475 445 36
1BF9-20 G1.1/4"X11 1.11/16"X12 0025 50.5 475 41
1BF9-20-24 G1.1/4"X11 2'X12 0029 55.5 53.5 50
1BF9-24 G1.1/2"X11 2"X12 0029 58.5 53.5 50

C16



Rl B Sk

British Adaptor

£ &b i Jx

XINDU HYDRAULIC

REIMEN60° AN/ AinE AAESREN /AEIMENOKE

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / BSP MALE O-RING

L

A _ B
C 5 )

C17

60°| W - |” - L
S1
1BG
r = # % THREAD O@E O-RING R st DIMENSIONS
PART NO. E F F it A B L S1
1BG-02 G1/8"X28 G1/8"X28 0011 10 9.5 27 14
1BG-04 G1/4"X19 G1/4"X19 0111 12 11 31 19
1BG-04-06 G1/4"X19 G3/8"X19 0113 12 1.5 32 22
1BG-06 G3/8"X19 G3/8"X19 0113 13.5 1.5 33 22
1BG-06-04 G3/8"X19 G1/4"X19 o111 13.5 11 325 22
1BG-06-08 G3/8"X19 G1/2"X14 0115 13.5 14 385 27
1BG-08 G1/2"X14 G1/2"X14 0115 16 14 41 27
1BG-08-06 G1/2'X14 G3/8"X19 0113 16 1.5 36 27
1BG-08-12 G1/2'X14 G3/4"X14 0119 16 15.5 455 32
1BG-10-08 G5/8"X14 G1/2"X14 0115 17.5 14 445 30
1BG-12 G3/4"X14 G3/4"X14 0119 18.5 15.5 46 32
1BG-12-08 G3/4"X14 G1/2"X14 0115 18.5 14 455 32
1BG-16-08 G1"X11 G1/2"X14 0115 205 14 50.5 41
1BG-16 G1"X11 G1"X11 0217 205 18 53 41
1BG-16-12 G1"X11 G3/4"X14 0119 20.5 15.5 52 41
1BG-20 G1.1/4"X11 G1.1/4"X11 0222 20.5 20 58.5 50
1BG-24 G1.1/2"X11 G1.1/2"X11 0224 23 215 62.5 55




B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMEN60° AN/ AinE AAESREN /AEIMENOKE

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / BSP MALE O-RING

L
A B
SR
60° W [l W
i
S1 S2
1BG-0G
g2 ¥ 4 THREAD O O-RING R ~F DIMENSIONS
PART NO. E F Fif A B L St S2
1BG-040G G1/4"X19 G1/4"X19 o111 12 21 39 19 19
1BG-04-060G G1/4"X19 G3/8"X19 0113 12 24 42 19 22
1BG-06-040G G3/8"X19 G1/4"X19 o111 135 21 425 22 19
1BG-060G G3/8"X19 G3/8"'X19 0113 135 24 455 22 22
1BG-06-080G G3/8"X19 G1/2'X14 0115 135 28 495 22 27
1BG-08-060G G1/2'X14 G3/8"X19 0113 16 24 50 27 22
1BG-080G G1/2'X14 G1/2"X14 0115 16 28 54 27 27
1BG-120G G3/4"X14 G3/4"X14 0119 18.5 32.5 62 32 32
1BG-16-080G G1"X11 G1/2'X14 0115 20.5 28 61.5 4 27
1BG-16-120G G1"X11 G3/4"X14 0119 20.5 32.5 66 4 32
1BG-160G G1"X11 G1"X11 0217 20.5 32.5 66 41 4
1BG-20-080G G1.1/4"X11 G1/2'X14 0115 20.5 33 63.5 50 27
1BG-200G G1.1/4"X11 G1.1/4"X11 0222 20.5 30 68.5 50 50
1BG-240G G1.1/2"X11 G1.1/2"X11 0224 23 34 72 55 55

i£: Fim5DIN 3852ifiA#HAL, F end is connected with DIN 3852 port.

C18



B L & 2% IE

British Adaptor XINDU HYDRAULIC

45°BREIMRN60° A / HEIMRSIORE

45° ELBOW BSP MALE 60° SEAT / BSP MALE O-RING

A
S2
//,
C ¢
g
= )
\S1
A
1BG4-0G
= 12 4 THREAD OB O-RING R <+ DIMENSIONS

PART NO. E F Fim A B S1 S2
1BG4-040G G1/4"X19 G1/4"X19 o111 22 28 14 19
1BG4-04-060G G1/4"X19 G3/8"X19 0113 21 30 16 22
1BG4-04-080G G1/4"X19 G1/2"X14 0115 22.5 36 22 27
1BG4-060G G3/8"X19 G3/8"X19 0113 21 30 16 22
1BG4-06-080G G3/8"X19 G1/2"X14 0115 23.5 36 22 27
1BG4-080G G1/2"X14 G1/2"X14 0115 27 36 22 27
1BG4-120G G3/4"X14 G3/4"X14 0119 32 42 27 32
1BG4-12-160G G3/4"X14 G1"X11 0217 32.5 44 33 41
1BG4-160G G1"X11 G1"X11 0217 34 44 33 41
1BG4-200G G1.1/4"X11 G1.1/4"X11 0222 38.5 47.5 41 50
1BG4-240G G1.1/2"X11 G1.1/2"X11 0224 44 51.5 48 55

7E: Fim5DIN 3852jh O#HAL, Note: F end is connected with DIN 3852 port.

90° SHEEIMEN60° M / HEIMENORE

90° ELBOW BSP MALE 60° SEAT / BSP MALE O-RING

|
|
s2 =
| m
I
|
60° (W 4d- — -3‘* _
|/
S1
1BG9-0G
/R = ¥ 4 THREAD OF.E O-RING R~ DIMENSIONS

PART NO. E F Fi A B S1 s2
1BG9-040G G1/4"X19 G1/4"X19 0111 25 315 14 19
1BG9-04-060G G1/4"X19 GB3/8"X19 0113 265 36.8 16 22
1BG9-060G G3/8"X19 G3/8"X19 0113 28 36.8 16 22
1BG9-06-080G G3/8"X19 G1/2"X14 0115 31 432 22 27
1BG9-080G G1/2"X14 G1/2"X14 0115 345 432 22 27
1BG9-08-120G G1/2'X14 G3/4"X14 0119 40 49.3 27 32
1BG9-120G G3/4"X14 G3/4"X14 0119 40 49.3 27 32
1BG9-12-160G G3/4"X14 G1"X11 0217 45 53 33 41
1BG9-160G G1"X11 G1"X11 0217 46 53 33 41
1BG9-20-160G G1.1/4"X11 G1"X11 0217 50.5 58 41 41
1BG9-200G G1.1/4"X11 G1.1/4"X11 0222 51.5 58 41 50
1BG9-240G G1.1/2"X11 G1.1/2"X11 0224 58.5 63 48 55

iE£: Fin5DIN 3852i#1 O#8EL, Note: F end is connected with DIN 3852 port.

C19



Rl B Sk

British Adaptor

£ &b i Jx

XINDU HYDRAULIC

REIMBEN60°AHE 7S A ik AHS B R/ QM IMRLIZERFIISO 6149-3

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / METRIC MALE L-SERIES ISO 6149-3

ol W - - - L
‘ ]
S1
1BH
® = #2 47 THREAD O & O-RING R <t DIMENSIONS
PART NO. E F Fi A B S1 L
1BH-02-10 G1/8"X28 M10X1 008.1X1.6 10 8.5 14 25
1BH-02-12 G1/8"X28 M12X1.5 009.3X2.4 10 11 17 28
1BH-04-12 G1/4"X19 M12X1.5 009.3X2.4 12 11 19 30
1BH-04-14 G1/4"X19 M14X1.5 011.3X2.4 12 11 19 31.5
1BH-04-16 G1/4"X19 M16X1.5 013.3X2.4 12 1.5 22 31.5
1BH-06-14 G3/8"X19 M14X1.5 011.3X2.4 13.5 11 22 35
1BH-06-16 G3/8"X19 M16X1.5 013.3X2.4 13.5 11.5 22 33
1BH-06-18 GB3/8"X19 M18X1.5 015.3X2.4 13.5 12.5 24 36.5
1BH-08-18 G1/2"X14 M18X1.5 015.3X2.4 16 12.5 27 41
1BH-08-22 G1/2'X14 M22X1.5 019.3X2.4 16 13 27 415
1BH-10-22 G5/8"X14 M22X1.5 019.3X2.4 17.5 13 30 43
1BH-12-16 G3/4"X14 M16X1.5 013.3X2.4 18.5 11.5 32 435
1BH-12-22 G3/4"X14 M22X1.5 019.3X2.4 18.5 13 32 45
1BH-12-27 G3/4"X14 M27X2 023.5X3.0 18.5 16 32 455
1BH-16-27 G1"X11 M27X2 023.5X3.0 20.5 16 41 49
1BH-16-33 G1"X11 M33X2 029.5X3.0 20.5 16 41 49.5
1BH-20-42 G1.1/4"X11 M42X2 038.5X3.0 205 16 50 51.5
1BH-24-48 G1.1/2"X11 M48X2 044.5X3.0 23 17.5 55 55.5

. AT5IS0 9974-1iM O4AEE, £iF#4E 51S0O 6149-1;H 048R, Note: fit for ISO 9974—1 port or ISO

6149-1 port when useless of retaining ring.

C20



Rl B Sk

British Adaptor

£ &b i Jx

XINDU HYDRAULIC

45°THEEIMEN60 M/ A FI IMRLZERFIISO 6149-3

45°ELBOW BSP MALE 60° SEAT / METRIC MALE L-SERIES ISO 6149-3

A
S2
///
/
607 W [ )
A |\st
1BH4-0G
R = 12 4 THREAD O @ O-RING R <t DIMENSIONS
PART NO. E F Fif A B St S2
1BH4-02-100G G1/8"X28 M10X1 008.1X1.6 17 23.5 11 14
1BH4-02-120G G1/8"X28 M12X1.5 009.3X2.4 17 27.5 11 17
1BH4-04-120G G1/4"X19 M12X1.5 009.3X2.4 20.3 28.3 14 17
1BH4-04-140G G1/4"X19 M14X1.5 011.3X2.4 20.3 28.3 14 19
1BH4-04-160G G1/4"X19 M16X1.5 013.3X2.4 20.8 29.3 16 22
1BH4-06-140G G3/8"X19 M14X1.5 011.3%X2.4 22.3 28.8 16 19
1BH4-06-160G G3/8"X19 M16X1.5 013.3X2.4 22.3 29.3 16 22
1BH4-06-180G G3/8"X19 M18X1.5 015.3X2.4 23 31 19 24
1BH4-08-180G G1/2"X14 M18X1.5 015.3X2.4 27.3 33.3 22 24
1BH4-08-220G G1/2"X14 M22X1.5 019.3X2.4 27.3 33.3 22 27
1BH4-10-220G G5/8"X14 M22X1.5 019.3X2.4 27.8 33.3 22 27
1BH4-12-220G G3/4"X14 M22X1.5 019.3X2.4 31 34.5 27 27
1BH4-12-270G G3/4"X14 M27X2 023.5X3.0 31 39.5 27 32
1BH4-16-270G G1"X11 M27X2 023.5X3.0 34.5 40.5 33 32
1BH4-16-330G G1"X11 M33X2 029.5X3.0 34.5 41 33 41
1BH4-20-420G G1.1/4"X11 M42X2 038.5X3.0 39 455 41 50
1BH4-24-480G G1.1/2"X11 M48X2 044.5X3.0 44 49.5 48 55

iE: AT5ISO 9974-15H O48EL, EHEHE51SO 6149-15H O4BAL, Note: fit for ISO 9974-1 port or 1ISO 6149-1 port when useless of
retaining ring.



B L & 2% IE

British Adaptor XINDU HYDRAULIC

90° ZIREIMEN60° At/ AHIIMELNRE RSO 6149-3

90° ELBOW BSP MALE 60° SEAT / METRIC MALE L-SERIES ISO 6149-3

60°| WY

1BH9-0G
g = ¥ 4 THREAD OB O-RING R ~F DIMENSIONS

PART NO. E F Fi A B S1 S2
1BH9-02-100G G1/8"X28 M10X1 008.1X1.6 20 26.5 11 14
1BH9-02-120G G1/8"X28 M12X1.5 009.3X2.4 20 30.5 11 17
1BH9-04-120G G1/4"X19 M12X1.5 009.3X2.4 245 32 14 17
1BH9-04-140G G1/4"X19 M14X1.5 011.3X2.4 245 325 14 19
1BH9-04-160G G1/4"X19 M16X1.5 013.3X2.4 26.5 34.8 16 22
1BH9-06-140G G3/8"X19 M14X1.5 011.3X2.4 275 34 16 19
1BH9-06-160G G3/8"X19 M16X1.5 013.3X2.4 275 34.8 16 22
1BH9-06-180G G3/8"X19 M18X1.5 015.3X2.4 28.5 37 19 24
1BH9-08-180G G1/2'X14 M18X1.5 015.3X2.4 345 39.5 22 24
1BH9-08-220G G1/2'X14 M22X1.5 019.3X2.4 345 40.2 22 27
1BH9-10-220G G5/8"X14 M22X1.5 019.3X2.4 35 40.2 22 27
1BH9-12-220G G3/4"X14 M22X1.5 019.3X2.4 40 435 27 27
1BH9-12-270G G3/4"X14 M27X2 023.5X3.0 40 48.5 27 32
1BH9-16-270G G1"X11 M27X2 023.5X3.0 46 52 33 32
1BH9-16-330G G1"X11 M33X2 029.5X3.0 46 52.5 33 41
1BH9-20-420G G1.1/4"X11 M42X2 038.5X3.0 50.5 57.2 41 50
1BH9-24-480G G1.1/2"X11 M48X2 044.5X3.0 575 62.5 48 55

iE: AT51SO 9974-1iH O4BAL, EHEHE51SO 6149-1iM O4BAL, Note: fit for ISO 9974-1 port or ISO 6149-1 port when useless of
retaining ring.

c22



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMRN60° A< ik EAES BB

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL

L

A B

C x& >
60°| w | - | w| |60°

S1
1B-HS
® 2 ## 4 THREAD R st DIMENSIONS
PART NO. E F A B L St
1B-02HS G1/8"X28 G1/8"X28 10.2 10.2 27.9 14
1B-02-04HS G1/8"X28 G1/4"X19 10.2 11 30.2 19
1B-02-06HS G1/8"X28 G3/8"X19 10.2 12.7 32.7 22
1B-02-08HS G1/8"X28 G1/2"X14 10.2 15.2 38.1 27
1B-04HS G1/4"X19 G1/4"X19 11 11 31.1 19
1B-04-06HS G1/4"X19 G3/8"X19 11 12.7 33.5 22
1B-04-08HS G1/4"X19 G1/2"X14 11 15.2 39.4 27
1B-04-12HS G1/4"X19 G3/4"X14 11 16 42.7 32
1B-06HS G3/8"X19 G3/8"X19 12.7 12.7 35.3 22
1B-06-08HS G3/8"X19 G1/2"X14 12.7 15.2 411 27
1B-06-10HS G3/8"X19 G5/8"X14 12.7 16 41.9 30
1B-06-12HS G3/8"X19 G3/4"X14 12.7 16 445 32
1B-06-16HS G3/8"X19 G1"X11 12.7 19.1 47.5 41
1B-08HS G1/2"X14 G1/2"X14 15.2 15.2 43.2 27
1B-08-10HS G1/2"X14 G5/8"X14 15.2 16 44.5 30
1B-08-12HS G1/2"X14 G3/4"X14 15.2 16 47 32
1B-08-16HS G1/2"X14 G1"X11 15.2 19.1 50.3 41
1B-10HS G5/8"X14 G5/8"X14 16 16 45.2 30
1B-10-12HS G5/8"X14 G3/4"X14 16 16 47.6 32
1B-12HS G3/4"X14 G3/4"X14 16 16 47.6 32
1B-12-16HS G3/4"X14 G1"X11 16 19.1 50.8 41
1B-12-20HS G3/4"X14 G1.1/4"X11 16 20.3 55.6 50
1B-16HS G1"X11 G1"X11 19.1 19.1 53.8 41
1B-16-20HS G1"X11 G1.1/4"X11 19.1 20.3 58.7 50
1B-16-24HS G1"X11 G1.1/2"X11 19.1 229 61.2 55
1B-16-32HS G1"X11 G2"X11 19.1 26 67 70
1B-20HS G1.1/4"X11 G1.1/4"X11 20.3 20.3 59.9 50
1B-20-24HS G1.1/4"X11 G1.1/2"X11 20.3 229 62.5 55
1B-20-32HS G1.1/4"X11 G2"X11 20.3 26 68.4 70
1B-24HS G1.1/2"X11 G1.1/2"X11 22.9 22.9 60 55
1B-24-32HS G1.1/2"X11 G2"X11 229 26 70.9 70
1B-32HS G2"X11 G2"X11 26 26 70.1 70

C23



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMEN60° AN A IRE AES BEE /SEHIJICHMRLT4°5h

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / JIC MALE 74° CONE

L
IERENUT
A B -
Z AQ \ﬁ #% SLEEVE
60°| W b 74 | | e
/
S1
1BJ
® =2 2 4 THREAD R st DIMENSIONS
PART NO. E F A B L S1
1BJ-02-04 G1/8"X28 7/16"X20 10 14 30 14
1BJ-02-05 G1/8"X28 1/2"X20 10 14 30 14
1BJ-02-06 G1/8"X28 9/16"X18 10 141 30 17
1BJ-04 G1/4"X19 7/16"X20 12 14 32 19
1BJ-04-05 G1/4"X19 1/2"X20 12 14 32 19
1BJ-04-06 G1/4"X19 9/16"X18 12 141 32 19
1BJ-04-08 G1/4"X19 3/4"X16 12 16.7 36.5 22
1BJ-04-10 G1/4"X19 7/8"X14 12 19.3 39 24
1BJ-06 G3/8"X19 9/16"X18 13.5 14.1 35.5 22
1BJ-06-04 G3/8"X19 7/16"X20 13.5 14 35.5 22
1BJ-06-05 G3/8"X19 1/2"X20 13.5 14 35.5 22
1BJ-06-08 G3/8"X19 3/4"X16 13.5 16.7 38.5 22
1BJ-06-10 G3/8"X19 7/8"X14 13.5 19.3 4 24
1BJ-06-12 G3/8"X19 1.1/16"X12 13.5 21.9 45 30
1BJ-08 G1/2"X14 3/4"X16 16 16.7 43 27
1BJ-08-04 G1/2"X14 7/16"X20 16 14 40 27
1BJ-08-05 G1/2"X14 1/2"X20 16 14 40 27
1BJ-08-06 G1/2"X14 9/16"X18 16 141 40 27
1BJ-08-10 G1/2"X14 7/8"X14 16 19.3 45.5 27
1BJ-08-12 G1/2"X14 1.1/16"X12 16 21.9 48 30
1BJ-08-14 G1/2"X14 1.3/16"X12 16 22.6 49.5 32
1BJ-08-16 G1/2"X14 1.5/16"X12 16 23.1 50 36
1BJ-10 G5/8"X14 7/8"X14 17.5 19.3 47 30
1BJ-10-08 G5/8"X14 3/4"X16 17.5 16.7 44 30
1BJ-10-12 G5/8"X14 1.1/16"X12 17.5 21.9 49.5 30
1BJ-10-16 G5/8"X14 1.5/16"X12 17.5 231 51.5 36
1BJ-12 G3/4"X14 1.1/16"X12 18.5 21.9 51.5 32
1BJ-12-06 G3/4"X14 9/16"X18 18.5 141 43.5 32
1BJ-12-08 G3/4"X14 3/4"X16 18.5 16.7 46.5 32
1BJ-12-10 G3/4"X14 7/8"X14 18.5 19.3 49 32
1BJ-12-14 G3/4"X14 1.3/16"X12 18.5 22.6 52 32
1BJ-12-16 G3/4"X14 1.5/16"X12 18.5 231 52.5 34
1BJ-12-20 G3/4"X14 1.5/8"X12 18.5 24.3 55.5 46
1BJ-16 G1"X11 1.5/16"X12 20.5 23.1 57 4
1BJ-16-08 G1"X11 3/4"X16 20.5 16.7 50 4
1BJ-16-10 G1"X11 7/8"X14 20.5 19.3 53 41
1BJ-16-12 G1"X11 1.1/16"X12 20.5 21.9 55.5 4
1BJ-16-14 G1"X11 1.3/16"X12 20.5 22.6 56 4
1BJ-16-20 G1"X11 1.5/8"X12 20.5 24.3 58 46
1BJ-20 G1.1/4"X11 1.5/8"X12 20.5 243 62 50
1BJ-20-12 G1.1/4"X11 1.1/16"X12 20.5 21.9 57.5 50
1BJ-20-16 G1.1/4"X11 1.5/16"X12 20.5 23.1 60.5 50
1BJ-20-24 G1.1/4"X11 1.7/8"X12 20.5 27.5 63 50
1BJ-24-16 G1.1/2"X11 1.5/16"X12 23 231 61 55
1BJ-24-20 G1.1/2"X11 1.5/8"X12 23 24.3 62.5 55
1BJ-24 G1.1/2"X11 1.7/8"X12 23 27.5 67.5 55
1BJ-24-32 G1.1/2"X11 2.1/2"X12 23 33.9 74 65
1BJ-32 G2"X11 2.1/2"X12 25.5 33.9 77.5 70
1BJ-32-24 G2"X11 1.7/8"X12 25.5 27.5 70 70

T BERFAEFSHITIISR. ETHRE DAXTN, ERAESRHESHIER NB200. NB500, EFEHEAEFHN, EABSRMES ST
A NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.

C24



C25

B L & 2% IE

British Adaptor XINDU HYDRAULIC

45° T EJMRLI60° P/ HIIICHMRLLT 45t

45° BSP MALE 60° SEAT/ JIC MALE 74° CONE

S

KDQ

o W
PV TR

1BJ4
® 2 12 4 THREAD R < DIMENSIONS

PART NO. E F A B S1
1BJ4-04 G1/4"X19 7/16"X20 20.3 223 14
1BJ4-04-05 G1/4"X19 1/2"X20 20.5 22,5 14
1BJ4-06 G3/8"X19 9/16"X18 21 23 16
1BJ4-06-08 G3/8"X19 3/4"X16 23 26.8 19
1BJ4-08 G1/2"X14 3/4"X16 27 28 22
1BJ4-08-10 G1/2"X14 7/8"X14 27 32 22
1BJ4-10 G5/8"X14 7/8"X14 28.5 31 22
1BJ4-12 G3/4"X14 1.1/16"X12 31 35.5 27
1BJ4-16 G1"X11 1.5/16"X12 35 38.5 33

i BERFAEERTITS, EFTEEDAXGN, RABERAESAEANB200. NB500, BEFEEAXFIN, EABERFAESSER
NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.

90°STHEIMBLI60°FIHE / SEHIJICHMRLT 4°5ME

90° ELBOW BSP MALE 60° SEAT / JIC MALE 74° CONE

74
<k 4 SLEEVEF

IZEENUT

m VA

N AT éé

[ T T 2

60°|w | I | l—J [
— A st <z
L [
1BJ9
g = 2 4 THREAD R <t DIMENSIONS

PART NO. E F A B S1
1BJ9-04 G1/4"X19 7/16"X20 24.5 26.5 14
1BJ9-04-05 G1/4"X19 1/2"X20 23.5 28 14
1BJ9-04-06 G1/4"X19 9/16"X18 24.5 26.9 14
1BJ9-06 G3/8"X19 9/16"X18 27.5 28.5 16
1BJ9-06-08 G3/8"X19 3/4"X16 28.5 32 19
1BJ9-08 G1/2"X14 3/4"X16 32.5 35 22
1BJ9-08-10 G1/2"X14 7/8"X14 34.5 37.8 22
1BJ9-10 G5/8"X14 7/8"X14 32.7 38.1 22
1BJ9-12 G3/4"X14 1.1/16"X12 37 44.2 27
1BJ9-16 G1"X11 1.5/16"X12 46 49 33
1BJ9-16-20 G1"X11 1.5/8"X12 50.5 55.5 41

i BERFAEERTITS, EFTEEDAXGN, RABERAESAEANB200. NB500, BEFEEAXTN, EABEBRAESER
NB200. NB300,

Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300
is suitable for inch tube.



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMRB60°AHE/ B F2HIMEN60°

BSP MALE 60° SEAT/JIS METRIC MALE 60° CONE

S1
1BK
R 2 12 4 THREAD R =+ DIMENSIONS
PART NO. E F A B L S1
1BK-04-14 G1/4"X19 M14X1.5 12 15.5 33.5 19
1BK-04-18 G1/4"X19 M18X1.5 12 18 38 22
1BK-06-18 G3/8"X19 M18X1.5 13.5 18 39.5 22
1BK-06-22 G3/8"X19 M22X1.5 13.5 20 415 24
1BK-08-18 G1/2'X14 M18X1.5 16 18 44 27
1BK-08-20 G1/2"X14 M20X1.5 16 20 46 27
1BK-08-22 G1/2"X14 M22X1.5 16 20 46 27
1BK-08-24 G1/2"X14 M24X1.5 16 22 48 27
1BK-10-24 G5/8"X14 M24X1.5 17.5 22 49.5 30
1BK-12-30 G3/4"X14 M30X1.5 18.5 23 52,5 32
1BK-16-33 G1"X11 M33X1.5 20.5 27 60.5 4
1BK-20-36 G1.1/4"X11 M36X1.5 20.5 28 63.5 50

C26



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMEN60° AN A iR EAES BB /2HIMRSESEE

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / METRIC MALE WITH BONDED SEAL

1BL
R = 12 4 THREAD BB SEAL R st DIMENSIONS
PART NO. E F Fif A B L St
1BL-02-10 G1/8"X28 M10x1 ZHD-10 10 8 25 17
1BL-04-10 G1/4"X19 M10x1 ZHD-10 12 8 27 19
1BL-04-14 G1/4"X19 M14x1.5 ZHD-14 12 12 31 19
1BL-06-14 G3/8"X19 M14x1.5 ZHD-14 13.5 12 35 22
1BL-06-16 G3/8"X19 M16x1.5 ZHD-16 135 12 34 22
1BL-06-18 G3/8"X19 M18x1.5 ZHD-18 13.5 12 335 24
1BL-08-16 G1/2"'X14 M16x1.5 ZHD-16 16 12 38 27
1BL-08-18 G1/2"X14 M18x1.5 ZHD-18 16 12 38 27
1BL-08-22 G1/2"X14 M22x1.5 ZHD-22 16 14 415 30
1BL-10-33 G5/8"X14 M33x2 ZHD-33 17.5 18 485 41
1BL-12-16 G3/4"X14 M16X1.5 ZHD-16 18.5 12 415 32
1BL-12-22 G3/4"X14 M22x1.5 ZHD-22 18.5 14 435 30
1BL-12-27 G3/4"X14 M27x2 ZHD-27 18.5 16 455 36
1BL-12-33 G3/4"X14 M33x2 ZHD-33 18.5 18 49.5 41
1BL-16-27 G1"X11 M27x2 ZHD-27 20.5 16 515 41
1BL-16-33 G1"X11 M33x2 ZHD-33 20.5 18 535 41
1BL-20-42 G1.1/4"X11 M42x2 ZHD-42 20.5 20 56.5 50

Cc27



Rl B Sk

British Adaptor

REIMRN60° M AR EAASEEE /A IMRA60° itk A inE AES BB
BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / METRIC MALE DOUBLE

USE FOR 60° CONE SEAT OR BONDED SEAL

£ 8B if7 &

XINDU HYDRAULIC

L
B
60°| w L 60°
S1
1BM
R = #2 4 THREAD R st DIMENSIONS
PART NO. E F A B L S1
1BM-02-10 G1/8"X28 M10X1 10 8 25 14
1BM-02-12 G1/8"X28 M12X1.5 10 10 27 17
1BM-04-12 G1/4"X19 M12X1.5 12 10 29 19
1BM-04-14 G1/4"X19 M14X1.5 12 11 30 19
1BM-04-16 G1/4"X19 M16X1.5 12 12 33 22
1BM-04-18 G1/4"X19 M18X1.5 12 12 33 24
1BM-06-10 G3/8"X19 M10X1 13.5 8 29.5 22
1BM-06-12 G3/8"X19 M12X1.5 13.5 10 315 22
1BM-06-14 G3/8"X19 M14X1.5 13.5 11 325 22
1BM-06-16 G3/8"X19 M16X1.5 13.5 12 335 22
1BM-06-18 G3/8"X19 M18X1.5 13.5 12 34.5 24
1BM-06-20 G3/8"X19 M20X1.5 13.5 14 38.5 27
1BM-06-22 G3/8"X19 M22X1.5 13.5 14 38.5 27
1BM-08-14 G1/2"X14 M14X1.5 16 11 38 27
1BM-08-16 G1/2"X14 M16X1.5 16 12 39 27
1BM-08-18 G1/2"X14 M18X1.5 16 12 39 27
1BM-08-20 G1/2"X14 M20X1.5 16 14 41 27
1BM-08-22 G1/2"X14 M22X1.5 16 14 41 27
1BM-08-24 G1/2"X14 M24X1.5 16 14 41 30
1BM-08-26 G1/2"X14 M26X1.5 16 16 44 32
1BM-08-27D G1/2"X14 M27X1.5 16 16 44 32
1BM-08-30 G1/2"X14 M30X1.5 16 18 45 36
1BM-10-22 G5/8"X14 M22X1.5 17.5 14 425 30
1BM-10-26 G5/8"X14 M26X1.5 17.5 16 455 32
1BM-12-18 G3/4"X14 M18X1.5 18.5 12 425 32
1BM-12-20 G3/4"X14 M20X1.5 18.5 14 445 32
1BM-12-22 G3/4"X14 M22X1.5 18.5 14 445 32
1BM-12-24 G3/4"X14 M24X1.5 18.5 14 445 32
1BM-12-26 G3/4"X14 M26X1.5 18.5 16 46.5 32
1BM-12-27 G3/4"X14 M27X2 18.5 16 46.5 32
1BM-12-27D G3/4"X14 M27X1.5 18.5 16 46.5 32
1BM-12-30 G3/4"X14 M30X2 18.5 18 47.5 36
1BM-12-30D G3/4"X14 M30X1.5 18.5 18 47.5 36
1BM-16-14 G1"X11 M14X1.5 20.5 11 455 41
1BM-16-22 G1"X11 M22X1.5 20.5 14 48.5 41
1BM-16-26 G1"X11 M26X1.5 20.5 16 50.5 41
1BM-16-30 G1"X11 M30X2 20.5 18 53 41
1BM-16-30D G1"X11 M30X1.5 20.5 18 53 41

C28



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMRGY/ AHIIME R Z

BSPP MALE/METRIC MALE CAPTIVE SEAL

. : i 60°
[
;S'l

60° wl {1
|

1BM-WD
® = #2 4 THREAD Bt #  CAPTIVE R ~ DIMENSIONS

PART NO. E F Fis A B L st
1BM-04-12WD G1/4"X19 M12X1.5 WD-M12 12 12 32 19
1BM-06-14WD G3/8"X19 M14X1.5 WD-B04 135 12 355 22
1BM-06-18WD G3/8"X19 M18X1.5 WD-M18 135 12 36 24
1BM-06-20WD G3/8"X19 M20X1.5 WD-M20 135 14 40 27
1BM-08-16WD G1/2'X14 M16X1.5 WD-M16 16 12 405 27
1BM-08-18WD G1/2'X14 M18X1.5 WD-M18 16 12 405 27
1BM-08-20WD G1/2'X14 M20X1.5 WD-M20 16 14 425 27
1BM-08-22WD G1/2'X14 M22X1.5 WD-M22 16 14 425 27
1BM-10-20WD G5/8"X14 M20X1.5 WD-M20 17.5 14 445 30
1BM-10-22WD G5/8"X14 M22X1.5 WD-M22 17.5 14 44.5 30
1BM-12-22WD G3/4"X14 M22X1.5 WD-M22 185 14 465 32

C29



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMRN60° AN AinE BESREH /EHHHEEIMRL

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / NPT MALE

fiiea
S

60°
S1
1BN

® 2 12 4 THREAD R =t DIMENSIONS
PART NO. E E A B L S1

1BN-02 G1/8"X28 Z1/8"X27 10 10.5 26 14
1BN-02-04 G1/8"X28 Z1/4"X18 10 15 31 17

1BN-04 G1/4"X19 Z1/4"X18 12 15 33 19
1BN-04-02 G1/4"X19 Z1/8"X27 12 10.5 28 19
1BN-04-06 G1/4"X19 Z3/8"X18 12 16 34 19
1BN-04-08 G1/4"X19 Z1/2"X14 12 19.5 39.5 22

1BN-06 G3/8"X19 Z3/8"X18 13.5 16 37.5 22
1BN-06-04 G3/8"X19 Z1/4"X18 13.5 15 36 22
1BN-06-08 G3/8"X19 Z1/2"X14 13.5 19.5 41 22
1BN-06-12 G3/8"X19 Z3/4"X14 13.5 19.5 43 30

1BN-08 G1/2"X14 Z1/2"X14 16 19.5 45.5 27
1BN-08-06 G1/2"X14 Z3/8"X18 16 16 42 27
1BN-08-12 G1/2"X14 Z3/4"X14 16 19.5 45.5 30
1BN-08-16 G1/2"X14 Z1"X11.5 16 25.5 52.5 36
1BN-10-08 G5/8"X14 Z1/2"X14 17.5 19.5 47 30
1BN-10-12 G5/8"X14 Z3/4"X14 17.5 19.5 47 30

1BN-12 G3/4"X14 Z3/4"X14 18.5 19.5 49 32
1BN-12-06 G3/4"X14 Z3/8"X18 18.5 16 45.5 32
1BN-12-08 G3/4"X14 Z1/2"X14 18.5 19.5 49 32
1BN-12-16 G3/4"X14 Z1"X11.5 18.5 25.5 3 36

1BN-16 G1"X11 Z1"X11.5 20.5 25.5 59 41
1BN-16-12 G1"X11 Z3/4"X14 20.5 19.5 53 41
1BN-16-20 G1"X11 Z1.1/4"X11.5 20.5 26.5 60 46

1BN-20 G1.1/4"X11 Z1.1/4"X11.5 20.5 26.5 62 50
1BN-20-16 G1.1/4"X11 Z1"X11.5 20.5 25.5 61 50
1BN-20-24 G1.1/4"X11 Z1.1/2"X11.5 20.5 27.5 63 50

1BN-24 G1.1/2"X11 Z1.1/2"X11.5 23 27.5 65.5 55
1BN-24-20 G1.1/2"X11 Z1.1/4"X11.5 23 26.5 64.5 55
1BN-24-32 G1.1/2"X11 Z2"X11.5 23 27.5 67.5 65

1BN-32 G2"X11 Z2"X11.5 255 27.5 70 70
1BN-32-20 G2"X11 Z1.1/4"X11.5 255 26.5 69 70
1BN-32-24 G2"X11 Z1.1/2"X11.5 255 27.5 70 70

C30



B L & 2% IE

British Adaptor XINDU HYDRAULIC

90°SHEIMRLI60°Mitsk M inH A S BB /K EIMEN

90° ELBOW BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL /NPT MALE

£ |

60 °| W D,
A st
A
1BN9
g = # 4 THREAD R <t DIMENSIONS
PART NO. E F A B St
1BN9-04 G1/4"X19 Z1/4"X18 24.5 25.5 14
1BN9-04-02 G1/4"X19 Z1/8"X27 24.5 23.5 14
1BN9-06 G3/8"X19 Z3/8"X18 28.5 31 19
1BN9-06-04 G3/8"X19 Z1/4"X18 27.5 26.5 16
1BN9-06-08 G3/8"X19 Z1/2"'X14 31 36.5 22
1BN9-06-12 G3/8"X19 Z3/4"X14 34.5 44 27
1BN9-08 G1/2"X14 Z1/2"X14 34.5 37.5 22
1BN9-08-06 G1/2"X14 Z3/8"X18 34.5 33 22
1BN9-12 G3/4"X14 Z3/4"X14 38 435 27
1BN9-12-08 G3/4"X14 Z1/2"'X14 39 40 27
1BN9-12-16 G3/4"X14 Z1"X11.5 43 50 33
1BN9-16 G1"X11 Z1"X11.5 46 50 33
1BN9-16-12 G1"X11 Z3/4"X14 46 46.5 33




B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMEN60° MR AIREAE SRR /EHISAEIMREIHORBER RSSO 11926-3
BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDEDSEAL / SAE O-RING BOSS L-SERIES ISO 11926-3

L
| \
60° W L
S1
1BO

® = ¥ 4 THREAD OFE O-RING R <t DIMENSIONS
PART NO. E F Fis A B L S1
1BO-04 G1/4"X19 7/16"X20 0904 12 9.1 29.5 19
1BO-04-05 G1/4"X19 1/2"X20 0905 12 9.1 29.5 19
1BO-04-06 G1/4"X19 9/16"X18 0906 12 9.9 32 19
1BO-04-08 G1/4"X19 3/4"X16 0908 12 11.1 31 22
1BO-06 G3/8"X19 9/16"X18 0906 13.5 9.9 335 22
1BO-06-04 G3/8"X19 7/16"X20 0904 13.5 9.1 33 22
1BO-06-08 G3/8"X19 3/4"X16 0908 135 11.1 36 24
1BO-06-10 G3/8"X19 7/8"X14 0910 13.5 12.7 39.5 27
1BO-08 G1/2"X14 3/4"X16 0908 16 11.1 38 27
1BO-08-06 G1/2"X14 9/16"X18 0906 16 9.9 36 27
1BO-08-10 G1/2"X14 7/8"X14 0910 16 12.7 42 27
1BO-08-12 G1/2"X14 1.1/16"X12 0912 16 15.1 425 36
1BO-10 G5/8"X14 7/8"X14 0910 17.5 12.7 435 30
1BO-10-08 G5/8"X14 3/4"X16 0908 17.5 11.1 415 30
1BO-10-12 G5/8"X14 1.1/16"X12 0912 17.5 15.1 a7 34
1BO-12 G3/4"X14 1.1/16"X12 0912 18.5 15.1 48 34
1BO-12-08 G3/4"X14 3/4"X16 0908 18.5 11.1 405 32
1BO-12-10 G3/4"X14 7/8"X14 0910 18.5 12.7 455 32
1BO-12-14 G3/4"X14 1.3/16"X12 0914 18.5 15.1 48 38
1BO-12-16 G3/4"X14 1.5/16"X12 0916 18.5 15.1 50.7 41
1BO-16 G1"X11 1.5/16"X12 0916 20.5 15.1 52.6 41
1BO-16-10 G1"X11 7/8"X14 0910 20.5 12.7 495 41
1BO-16-12 G1"X11 1.1/16"X12 0912 205 15.1 52 41
1BO-16-14 G1"X11 1.3/16"X12 0914 20.5 15.1 52 41
1BO-16-20 G1"X11 1.5/8"X12 0920 205 15.1 54.7 50
1B0O-20 G1.1/4"X11 1.5/8"X12 0920 20.5 15.1 54.7 50
1BO-20-16 G1.1/4"X11 1.5/16"X12 0916 20.5 15.1 547 50
1BO-24 G1.1/2"X11 1.7/8"X12 0924 23 15.1 57 55

C32



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMRN60° AN/ AinE BES R /AHEEIMRL

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / BSPT MALE

L
A __ B
|
C < 2
609 W| L S ll B
L
./ F/
s1/
1BT-SP
® =2 %2 4 THREAD R ~F DIMENSIONS

PART NO. E F A B L S1
1BT-02SP G1/8"X28 R1/8"X28 10 10 26 14
1BT-02-04SP G1/8"X28 R1/4"X19 10 14.5 30.5 14
1BT-04SP G1/4"X19 R1/4"X19 12 14.5 32 19
1BT-04-02SP G1/4"X19 R1/8"X28 12 10 28 19
1BT-04-06SP G1/4"X19 R3/8"X19 12 15 32 19
1BT-04-08SP G1/4"X19 R1/2"X14 12 20 40 24
1BT-06SP G3/8"X19 R3/8"X19 13.5 15 35.5 22
1BT-06-04SP G3/8"X19 R1/4"X19 13.5 14.5 35.5 22
1BT-06-08SP G3/8"X19 R1/2"X14 13.5 20 40.5 24
1BT-08SP G1/2"'X14 R1/2"X14 16 20 45 27
1BT-08-04SP G1/2"X14 R1/4"X19 16 14.5 40.5 27
1BT-08-06SP G1/2"X14 R3/8"X19 16 15 40 27
1BT-08-12SP G1/2"X14 R3/4"X14 16 20 45 30
1BT-10-06SP G5/8"X14 R3/8"X19 17.5 15 41.5 30
1BT-10-08SP G5/8"X14 R1/2"X14 17.5 20 46.5 30
1BT-10-12SP G5/8"X14 R3/4"X14 17.5 20 46.5 30
1BT-10-16SP G5/8"X14 R1"X11 17.5 255 54 36
1BT-12SP G3/4"X14 R3/4"X14 18.5 20 48.5 32
1BT-12-08SP G3/4"X14 R1/2"X14 18.5 20 49.5 32
1BT-12-16SP G3/4"X14 R1"X11 18.5 25.5 53.5 36
1BT-12-20SP G3/4"X14 R1.1/4"X11 18.5 26.5 58 46
1BT-16SP G1"X11 R1"X11 20.5 25.5 58 41
1BT-16-12SP G1"X11 R3/4"X14 20.5 20 53 41
1BT-16-20SP G1"X11 R1.1/4"X11 20.5 26.5 60 46
1BT-20SP G1.1/4"X11 R1.1/4"X11 20.5 26.5 62 50
1BT-20-12SP G1.1/4"X11 R3/4"X14 20.5 20.5 56 50
1BT-20-16SP G1.1/4"X11 R1"X11 20.5 25.5 61 50
1BT-20-24SP G1.1/4"X11 R1.1/2"X11 20.5 26.5 62 50
1BT-24SP G1.1/2"X11 R1.1/2"X11 23 26.5 64.5 55
1BT-24-16SP G1.1/2"X11 R1"X11 23 25.5 63.5 55
1BT-24-20SP G1.1/2"X11 R1.1/4"X11 23 26.5 64.5 55
1BT-24-32SP G1.1/2"X11 R2"X11 23 30 70 65
1BT-32SP G2"X11 R2"X11 25.5 30 72.5 70
1BT-32-20SP G2"X11 R1.1/4"X11 25.5 27 68.5 70
1BT-32-24SP G2"X11 R1.1/2"X11 25.5 26.5 68.5 70
1BT-40SP G2.1/2"X11 R2.1/2"X11 32 34 83 90
1BT-48SP G3"X11 R3"X11 36 38 94 100

C33



B L & 2% IE

British Adaptor XINDU HYDRAULIC

45°TREIMBH60°RHE / RS IMBRY

45° ELBOW BSP MALE 60° SEAT / BSPT MALE

F
N
60°| ww ] [// >
A S1
1BT4-SP
g =2 2 4 THREAD R <t DIMENSIONS
PART NO. E F A B s1
1BT4-02SP G1/8"X28 R1/8"X28 17 17 11
1BT4-04SP G1/4"X19 R1/4"X19 20.3 21 14
1BT4-04-06SP G1/4"X19 R3/8"X19 20.5 23 16
1BT4-06SP G3/8"'X19 R3/8"X19 22 23 16
1BT4-06-04SP G3/8"X19 R1/4"X19 22 21 16
1BT4-06-08SP G3/8"X19 R1/2"X14 24 29.5 22
1BT4-06-12SP G3/8"X19 R3/4"X14 255 30.5 27
1BT4-08SP G1/2'X14 R1/2"X14 27 29.5 22
1BT4-08-06SP G1/2'X14 R3/8"X19 27 25 22
1BT4-08-12SP G1/2'X14 R3/4"X14 28.5 30.5 27
1BT4-10-08SP G5/8"X14 R1/2"X14 28.5 29.5 22
1BT4-10-12SP G5/8"X14 R3/4"X14 29 35 27
1BT4-12SP G3/4"X14 R3/4"X14 31 30.5 27
1BT4-12-08SP G3/4"X14 R1/2"X14 31 30.5 27
1BT4-12-16SP G3/4"X14 R1"X11 32.5 38 33
1BT4-16SP G1'X11 R1"X11 35 38 33
1BT4-16-12SP G1"X11 R3/4"X14 35 32.5 33
1BT4-16-20SP G1"X11 R1.1/4"X11 38.5 43 41
1BT4-20SP G1.1/4"X11 R1.1/4"X11 38.5 43 41
1BT4-20-16SP G1.1/4"X11 R1"X11 38.5 42 41
1BT4-20-24SP G1.1/4"X11 R1.1/2"X11 415 47.5 48
1BT4-24SP G1.1/2"X11 R1.1/2"X11 44 47.5 48
1BT4-24-20SP G1.1/2"X11 R1.1/4"X11 44 45.5 48
1BT4-24-32SP G1.1/2"X11 R2"X11 51 60.5 63
1BT4-32SP G2'X11 R2"X11 49.5 55.5 63
1BT4-32-24SP G2'X11 R1.1/2"X11 51 52.5 63

C34



B L & 2% IE

British Adaptor XINDU HYDRAULIC

90°THEIMBL60° I / TS JMEWN

90° ELBOW BSP MALE 60° SEAT / BSPT MALE

C i m
<z |
60| W __L_[___' B}
s
S1
A
1BT9-SP
g =2 12 4 THREAD R =t DIMENSIONS
PART NO. E F A B Sq
1BT9-02SP G1/8"X28 R1/8"X28 20 21 11
1BT9-02-04SP G1/8"X28 R1/4"X19 22.3 25.5 14
1BT9-04SP G1/4"X19 R1/4"X19 24.5 255 14
1BT9-04-02SP G1/4"X19 R1/8"X28 25 23.5 14
1BT9-04-06SP G1/4"X19 R3/8"X19 25 28.5 16
1BT9-04-08SP G1/4"X19 R1/2"X14 30 36 22
1BT9-06SP G3/8"X19 R3/8"X19 27.5 28.5 16
1BT9-06-04SP G3/8"X19 R1/4"X19 27.5 26.5 16
1BT9-06-08SP G3/8"X19 R1/2"X14 31 36 22
1BT9-08SP G1/2"X14 R1/2"X14 34.5 36 22
1BT9-08-04SP G1/2"X14 R1/4"X19 34.5 30.5 22
1BT9-08-06SP G1/2"X14 R3/8"X19 34.5 32.5 22
1BT9-08-12SP G1/2"X14 R3/4"X14 37.5 435 27
1BT9-08-16SP G1/2"X14 R1"X11 41 50 33
1BT9-10-08SP G5/8"X14 R1/2"X14 35 36 22
1BT9-10-12SP G5/8"X14 R3/4"X14 39 43.5 27
1BT9-12SP G3/4"X14 R3/4"X14 40 43 27
1BT9-12-06SP G3/4"X14 R3/8"X19 40 36 27
1BT9-12-08SP G3/4"X14 R1/2"X14 40 39.5 27
1BT9-12-16SP G3/4"X14 R1"X11 43.5 50 33
1BT9-12-20SP G3/4"X14 R1.1/4"X11 48 56.5 41
1BT9-16SP G1"X11 R1"X11 46 50 33
1BT9-16-08SP G1"X11 R1/2"X14 46 43 33
1BT9-16-12SP G1"X11 R3/4"X14 46 47.5 33
1BT9-16-20SP G1"X11 R1.1/4"X11 50.5 56.5 41
1BT9-20SP G1.1/4"X11 R1.1/4"X11 52 59 41
1BT9-20-12SP G1.1/4"X11 R3/4"X14 50.5 54 41
1BT9-20-16SP G1.1/4"X11 R1"X11 52 56.5 41
1BT9-20-24SP G1.1/4"X11 R1.1/2"X11 54.5 62.5 48
1BT9-24SP G1.1/2"X11 R1.1/2"X11 57.5 62 48
1BT9-24-20SP G1.1/2"X11 R1.1/4"X11 57.5 61 48
1BT9-24-32SP G1.1/2"X11 R2"X11 66 75 63
1BT9-32SP G2"X11 R2"X11 67 75 63
1BT9-32-24SP G2"X11 R1.1/2"X11 68 72 63

C35



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMRLORE

BSP MALE O-RING

L
A B
w - - W
S1
1G

k= #2 4 THREAD OB O-RING R <t DIMENSIONS

PART NO. E F Eifs F i A B L St
1G-02 G1/8"X28 G1/8"X28 0011 0011 9.5 9.5 28 14
1G-04 G1/4"X19 G1/4"X19 0111 0111 11 11 32 19
1G-06 G3/8"X19 G3/8"X19 0113 0113 115 1.5 36 22
1G-08 G1/2"X14 G1/2"X14 0115 0115 14 14 44 27
1G-12 G3/4"X14 G3/4"X14 0119 0119 15.5 15.5 48 32
1G-16 G1"X11 G1"X11 0217 0217 18 18 55 41
1G-20 G1.1/4"X11 G1.1/4"X11 0222 0222 20 20 61 50
1G-24 G1.1/2"X11 G1.1/2"X11 0224 0224 215 215 64 55

C36



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMEN60° A<M iR EAES BB /HEEREN60

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / BSP FEMALE 60° CONE

L B
A

C s

60° | w | -k e 60°

S1 S2
2B

® = ¥ % THREAD R <t DIMENSIONS
PART NO. E F A B L S1 S2
2B-02 G1/8"X28 G1/8"X28 10 55 25 14 14
2B-02-04 G1/8"'X28 G1/4"X19 10 5.5 27 14 19
2B-04 G1/4"X19 G1/4"X19 12 5.5 29 19 19
2B-04-06 G1/4"X19 G3/8"X19 12 6.3 30.5 19 22
2B-04-08 G1/4"X19 G1/2"X14 12 7.5 32 19 27
2B-06 G3/8"'X19 G3/8"X19 135 6.3 34 22 22
2B-06-08 G3/8"'X19 G1/2"X14 135 7.5 355 22 27
2B-06-10 G3/8"'X19 G5/8"X14 135 9.5 36 22 30
2B-08 G1/2'X14 G1/2"X14 16 7.5 40 27 27
2B-08-06 G1/2"X14 G3/8"X19 16 6.3 385 27 22
2B-08-12 G1/2'X14 G3/4"X14 16 10.9 41 27 32
2B-10 G5/8"X14 G5/8"X14 17.5 9.5 42 30 30
2B-10-08 G5/8"X14 G1/2"X14 175 7.5 415 30 27
2B-10-12 G5/8"X14 G3/4"X14 17.5 10.9 425 30 32
2B-12 G3/4"X14 G3/4"X14 18.5 10.9 445 32 32
2B-12-10 G3/4"X14 G5/8"X14 18.5 9.5 44 32 30
2B-12-16 G3/4"X14 G1"X11 18.5 1.7 46 32 41
2B-16 G1"X11 G1"X11 205 1.7 50 41 41
2B-16-12 G1"X11 G3/4"X14 205 10.9 49 41 32
2B-16-20 G1"X11 G1.1/4"X11 205 11 53 41 50
2B-20 G1.1/4"X11 G1.1/4"X11 20.5 11 55 50 50
2B-20-16 G1.1/4"X11 G1"X11 20.5 11.7 52 50 41
2B-20-24 G1.1/4"X11 G1.1/2'X11 205 13 55.5 50 55
2B-24 G1.1/2"X11 G1.1/2'X11 23 13 58 55 55
2B-32 G2"X11 G2"X11 255 16 63.5 70 70

C37



Rl B Sk

British Adaptor

45°THEEIMEN60° A / HERLRL60°IME

45° ELBOW BSP MALE 60° SEAT / BSP FEMALE 60° CONE

3

£ &b i Jx

XINDU HYDRAULIC

/>60“
S2 A
60°| W T —-[—-—- a
S1
A
2B4
R = # 40 THREAD R <+ DIMENSIONS
PART NO. E F A B S1 S2
2B4-04 G1/4"X19 G1/4"X19 20.3 5.5 14 19
2B4-04-06 G1/4"X19 G3/8"X19 20.3 6.3 14 22
2B4-06 G3/8"X19 G3/8"X19 22 6.3 16 22
2B4-06-04 G3/8"X19 G1/4"X19 22 55 16 19
2B4-08 G1/2"X14 G1/2"X14 27 75 22 27
2B4-08-06 G1/2"X14 G3/8"X19 27 6.3 22 22
2B4-10 G5/8"X14 G5/8"X14 28.5 9.5 22 30
2B4-10-08 G5/8"X14 G1/2"X14 285 75 22 27
2B4-12 G3/4"X14 G3/4"X14 31 10.9 27 32
2B4-16 G1"X11 G1"X11 35 1.7 33 41
2B4-20 G1.1/4"X11 G1.1/4"X11 385 11 41 50
2B4-24 G1.1/2'X11 G1.1/2'X11 44 13 48 55
2B4-32 G2"X11 G2"X11 51 16 63 70
o == ot o == fafc o
90° SHEIMEL60° A / REMRIRLL60°M i
90° ELBOW BSP MALE 60° SEAT / BSP FEMALE 60° CONE
¢
F
N
S
N
600 1] _]_l_] ___\__ —
S1
A
2B9
R = ¥ 4 THREAD R ~F DIMENSIONS
PART NO. E F A B S1 s2
2B9-02 G1/8"X28 G1/8"X28 19.8 55 11 14
2B9-04 G1/4"X19 G1/4"X19 245 55 14 19
2B9-04-06 G1/4"X19 G3/8"X19 25 6.3 14 22
2B9-06 G3/8"'X19 G3/8"X19 27.5 6.3 16 22
2B9-06-04 G3/8"X19 G1/4"X19 275 55 16 19
2B9-08 G1/2'X14 G1/2'X14 345 75 22 27
2B9-08-06 G1/2'X14 G3/8"X19 345 6.3 22 22
2B9-10 G5/8"'X14 G5/8"'X14 35 9.5 22 30
2B9-10-08 G5/8"X14 G1/2"X14 35 75 22 27
2B9-12 G3/4"X14 G3/4"X14 40 10.9 27 32
2B9-16 G1"X11 G1"X11 46 1.7 33 41
2B9-20 G1.1/4"X11 G1.1/4"X11 50.5 11 41 50
2B9-24 G1.1/2"X11 G1.1/2"X11 57.5 13 48 55
2B9-32 G2"X11 G2"X11 725 16 63 70

C38



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REJMEN60°AHE/EERIRNIKE

BSP MALE 60° SEAT/BSP FEMALE MULTISEAL

L B

2BA
g =2 ¥ 4L THREAD R <+ DIMENSIONS
PART NO. E F A B L S1 S2
2BA-02 G1/8"X28 G1/8"X28 10 2 28.5 14 14
2BA-04 G1/4"X19 G1/4"X19 12 4 30.5 19 19
2BA-06 G3/8"X19 G3/8"X19 13.5 5 35 22 22
2BA-08 G1/2"X14 G1/2"X14 16 6 415 27 27
2BA-10 G5/8"X14 G5/8"X14 17.5 8 43.5 30 30
2BA-12 G3/4"X14 G3/4"X14 18.5 9 46.5 32 32
2BA-16 G1"X11 G1"X11 20.5 10.5 51 41 4
2BA-20 G1.1/4"X11 G1.1/4"X11 20.5 10 55 50 50
2BA-24 G1.1/2"X11 G1.1/2"X11 23 11 59 55 55
2BA-32 G2"X11 G2"X11 25.5 15 65.5 70 70

C39



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REJMEN60° A/ HIORFSHIRL

BSP MALE 60° SEAT/ORFS FEMALE

L B
A
<
60| wl Lo Ll
S1 S2
2BF

® B2 12 4 THREAD R < DIMENSIONS
PART NO. E F A B L S1 S2

2BF-04 G1/4"X19 9/16"X18 12 8.5 335 19 19
2BF-04-06 G1/4"X19 11/16"X16 12 10 36.5 19 22

2BF-06 G3/8"X19 11/16"X16 13.5 10 40 22 22
2BF-06-08 G3/8"X19 13/16"X16 13.5 11 42 22 27
2BF-08-06 G1/2"X14 11/16"X16 16 10 445 27 22

2BF-08 G1/2"X14 13/16"X16 16 11 46.5 27 27
2BF-08-10 G1/2'X14 1"X14 16 13.5 50.5 27 30

2BF-10 G5/8"X14 1"X14 17.5 13.5 52 30 30
2BF-12-10 G3/4"X14 1"X14 18.5 13.5 54 32 30

2BF-12 G3/4"X14 1.3/16"X12 18.5 15 55.5 32 36
2BF-12-16 G3/4"X14 1.7/16"X12 18.5 15 57.5 36 41
2BF-12-20 G3/4"X14 1.11/16"X12 18.5 15 63 41 50
2BF-16-12 G1"X11 1.3/16"X12 20.5 15 59.5 41 36

2BF-16 G1"X11 1.7/16"X12 20.5 15 60.5 41 41

2BF-20 G1.1/4"X11 1.11/16"X12 20.5 15 63 50 50
2BF-20-16 G1.1/4"X111 1.7/16"X12 20.5 15 63.5 50 4

2BF-24 G1.1/2"X11 2"X12 23 14.8 68 50 60

C40



Rl B Sk

British Adaptor

REIMEN 60°WiEkNAREAASE R /SHJICRIRY 74° Wi

£ &b i Jx

XINDU HYDRAULIC

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL / JIC FEMALE 74° SEAT

2BJ
g =2 # 4 THREAD R <t DIMENSIONS
PART NO. E F A B L S1 S2
2BJ-02-04 G1/8"X28 7/16"X20 10 9 24 14 15
2BJ-02-06 G1/8"X28 9/16"X18 10 10.5 245 14 19
2BJ-04 G1/4"X19 7/16"X20 12 9 26 19 15
2BJ-04-05 G1/4"X19 1/2"X20 12 9.5 26.5 19 17
2BJ-04-06 G1/4"X19 9/16"X18 12 10.5 27 19 19
2BJ-04-08 G1/4"X19 3/4"X16 12 11 29 19 24
2BJ-06 G3/8"X19 9/16"X18 13.5 10.5 30.5 22 19
2BJ-06-08 G3/8"X19 3/4"X16 13.5 11 325 22 24
2BJ-06-10 G3/8"X19 7/8"X14 13.5 13 33 22 27
2BJ-08 G1/2"X14 3/4"X16 16 11 37 27 24
2BJ-08-06 G1/2"X14 9/16"X18 16 10.5 35 27 19
2BJ-08-10 G1/2"X14 7/8"X14 16 13 37.5 27 27
2BJ-10 G5/8"X14 7/8"X14 17.5 14 37.5 30 27
2BJ-12 G3/4"X14 1.1/16"X12 18.5 15 42 32 32
2BJ-12-08 G3/4"X14 3/4"X16 18.5 11 40 32 24
2BJ-12-10 G3/4"X14 7/8"X14 18.5 13 4 32 27
2BJ-12-16 G3/4"X14 1.5/16"X12 18.5 16 42 32 41
2BJ-16 G1"X11 1.5/16"X12 20.5 16 46 41 41
2BJ-16-20 G1"X11 1.5/8"X12 20.5 17 50 4 50
2BJ-20 G1.1/4"X11 1.5/8"X12 20.5 17 52 50 50
2BJ-20-24 G1.1/4"X11 1.7/8"X12 20.5 20 53.5 50 55
2BJ-24 G1.1/2"X11 1.7/8"X12 23 20 56.5 55 55
2BJ-32 G2"X11 2.1/2"X12 25.5 245 60 70 75




B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMRGERER T /55 JIC RN 74° A

BSP MALE CAPTIVE SEAL / JIC FEMALE 74° SEAT

L B

2BJ-WD
K = #2 4 THREAD B # CAPTIVE R <t DIMENSIONS
PART NO. E F E A B L St S2
2BJ-02-04WD G1/8"X28 7/16"X20 WD-B02 8 9 235 14 15
2BJ-04-05WD G1/4"X19 1/2"X20 WD-B04 12 9.5 28.5 19 17
2BJ-04-06WD G1/4"X19 9/16"X18 WD-B04 12 10.5 28.5 19 19
2BJ-04-08WD G1/4"X19 3/4"X16 WD-B04 12 11 30.5 19 24
2BJ-04WD G1/4"X19 7/16"X20 WD-B04 12 9 28 19 15
2BJ-06-08WD G3/8"X19 3/4"X16 WD-B06 12 11 33 22 24
2BJ-06WD G3/8"X19 9/16"X18 WD-B06 12 10.5 31 22 19
2BJ-08-06WD G1/2"X14 9/16"X18 WD-B08 14 10.5 335 27 19
2BJ-08-10WD G1/2"X14 7/8"X14 WD-B08 14 13 38 27 27
2BJ-08WD G1/2"X14 3/4"X16 WD-B08 14 11 37.5 27 24
2BJ-12-16WD G3/4"X14 1.5/16"X12 WD-B12 16 16 425 32 41
2BJ-12WD G3/4"X14 1.1/16"X12 WD-B12 16 15 425 32 32
2BJ-16WD G1"X11 1.5/16"X12 WD-B16 18 16 46.5 4 4
2BJ-20-16WD G1.1/4"X11 1.5/16"X12 WD-B20 20 16 50.5 50 4
2BJ-20WD G1.1/4"X11 1.5/8"X12 WD-B20 20 17 54.5 50 50
2BJ-24WD G1.1/2"X11 1.7/8"X12 WD-B24 22 20 58.5 55 55

C42



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMRNRBZT / RERRL

BSP MALE CAPTIVE SEAL/BSP FEMALE

L B
A
o LI_ o
60°| w|4—'- 60
S1 S2
2B-WD
® = #2 47 THREAD B # CAPTIVE R <+ DIMENSIONS
PART NO. E F Eif A B L S1 S2
2B-02WD G1/8"X28 G1/8"X28 WD-B02 8 5.5 245 14 14
2B-04WD G1/4"X19 G1/4"X19 WD-B04 12 5.5 31 19 19
2B-06WD G3/8"X19 G3/8"X19 WD-B06 12 6.3 345 22 22
2B-08WD G1/2"'X14 G1/2"'X14 WD-B08 14 75 41 27 27
2B-12WD G3/4"X14 G3/4"X14 WD-B12 16 10.9 45 32 32
2B-16WD G1"X11 G1"X11 WD-B16 18 11.7 50 41 41
2B-20WD G1.1/4"X11 G1.1/4"X11 WD-B20 20 11 56.5 50 50
2B-24WD G1.1/2"X11 G1.1/2"X11 WD-B24 22 13 59 55 55

C43



Rl B Sk

British Adaptor

£ &b i Jx

XINDU HYDRAULIC

HEEIMRLL / REMIRN60°ME

NPT MALE / BSP FEMALE 60°CONE

L B
A
|
e
L] L e00
|
e/ g
S2
2NB
ke #2 40 THREAD R <t DIMENSIONS
PART NO. E F A B L S S2
2NB-02 z1/8"X27 G1/8"X28 10.5 5.5 25.5 12 14
2NB-02-04 Z1/8"X27 G1/4"X19 10.5 5.5 27 14 19
2NB-04 Z1/4"X18 G1/4"X19 15 5.5 31 17 19
2NB-04-06 Z1/4"X18 G3/8"X19 15 6.3 325 17 22
2NB-04-08 Z1/4"X18 G1/2"X14 15 75 35 19 27
2NB-06 Z3/8"X18 G3/8"X19 16 6.3 33.5 19 22
2NB-06-08 Z3/8"X18 G1/2"X14 16 75 36 19 27
2NB-08 Z1/2"X14 G1/2"X14 19.5 75 41 22 27
2NB-08-06 Z1/2"'X14 G3/8"X19 19.5 6.3 39.5 24 24
2NB-08-12 Z1/2"X14 G3/4"X14 19.5 10.9 445 27 32
2NB-12 Z3/4"X14 G3/4"X14 19.5 10.9 445 30 32
2NB-12-16 Z3/4"X14 G1"X11 19.5 11.7 46.5 32 41
2NB-16 Z1"X11.5 G1"X11 25.5 11.7 52.5 36 41
2NB-16-20 Z1'X11.5 G1.1/4"X11 25.5 11 59.5 41 50
2NB-20 Z1.1/4"X11.5 G1.1/4"X11 26.5 11 60.4 46 50
2NB-24 Z1.1/2"X11.5 G1.1/2"X11 27.5 13 62 50 55
2NB-32 Z2'X11.5 G2"X11 27.5 20 65.4 65 70

C44



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REEIMRL / REPIRN60°IME

BSPT MALE / BSP FEMALE 60°CONE

L B

C ) NP
| I _ b Joor

L/ 81/ S2
2TB-SP
® = ¥ 4 THREAD R ~F DIMENSIONS
PART NO. E F A B L St S2
2TB-02SP R1/8"X28 G1/8"X28 10 55 25 12 14
2TB-04SP R1/4"X19 G1/4"X19 14.5 55 315 17 19
2TB-06SP R3/8"X19 G3/8"X19 15 6.3 33 19 22
2TB-06-04SP R3/8"X19 G1/4"X19 15 5.5 32 19 19
2TB-06-08SP R3/8"X19 G1/2'X14 15 75 35 19 27
2TB-08SP R1/2'X14 G1/2'X14 20 75 42 22 27
2TB-08-06SP R1/2"X14 G3/8"X19 20 6.3 40 22 22
2TB-08-12SP R1/2'X14 G3/4"X14 20 10.9 45 27 32
2TB-12SP R3/4"X14 G3/4"X14 20 10.9 45 30 32
2TB-12-08SP R3/4"X14 G1/2'X14 20 75 44 30 27
2TB-12-16SP R3/4"X14 G1"X11 20 11.7 47 32 41
2TB-16SP R1"X11 G1"X11 255 1.7 525 36 41
2TB-16-12SP R1"X11 G3/4"X14 255 10.9 51.5 36 32
2TB-20-16SP R1.1/4"X11 G1"X11 26.5 11.7 55.5 46 41
2TB-20SP R1.1/4"X11 G1.1/4"X11 265 11 59 46 50
2TB-24SP R1.1/2"X11 G1.1/2"X11 26.5 13 61.5 50 55
2TB-32SP R2"X11 G2"X11 30 16 68 65 70

C45



Rl B Sk

British Adaptor

£ &b i Jx

XINDU HYDRAULIC

RERIRN 60°5hif

BSP FEMALE 60°CONE

A L
N
L L
60°(>< 60°
S1
3B
r = ¥ 4 THREAD R <t DIMENSIONS
PART NO. E F A B L S1 s2
3B-02 G1/8"X28 G1/8"X28 5.5 5.5 21 14 14
3B-02-04 G1/8"X28 G1/4"X19 55 55 23 14 19
3B-04 G1/4"X19 G1/4"X19 5.5 5.5 25 19 19
3B-04-06 G1/4"X19 G3/8"X19 55 6.3 26.5 19 22
3B-04-08 G1/4"X19 G1/2"X14 5.5 7.5 28.5 19 27
3B-06 G3/8"X19 G3/8"X19 6.3 6.3 27 22 22
3B-06-08 G3/8"X19 G1/2'X14 6.3 75 29.5 22 27
3B-08 G1/2"X14 G1/2"X14 7.5 7.5 31 27 27
3B-08-10 G1/2"X14 G5/8"X14 75 9.5 31.5 27 30
3B-08-12 G1/2"X14 G3/4"X14 7.5 10.9 32.5 27 32
3B-10 G5/8"X14 G5/8"X14 9.5 9.5 31.5 30 30
3B-10-12 G5/8"X14 G3/4"X14 95 10.9 33 30 32
3B-12 G3/4"X14 G3/4"X14 10.9 10.9 33.5 32 32
3B-12-16 G3/4"X14 G1"X11 10.9 11.7 35 32 41
3B-16 G1"X11 G1"X11 1.7 117 36.5 41 41
3B-16-20 G1"X11 G1.1/4"X11 117 11 37.5 41 50
3B-20 G1.1/4"X11 G1.1/4"X11 11 11 40 50 50
3B-24 G1.1/2"X11 G1.1/2"X11 13 13 42 55 55
3B-32 G2"X11 G2"X11 16 16 47 70 70

C46



B L & 2% IE

British Adaptor XINDU HYDRAULIC

90°THEE ML 60°IME

90°ELBOW BSP FEMALE 60° CONE

60°
\V4
_F
ol 7
C | s3
A S2
S |
1
60> w4 — -
S1
3B9
® = 2 41 THREAD R <t DIMENSIONS

PART NO. E F A B S1 S2 S3
3B9-02 G1/8"X28 G1/8"X28 5.5 5.5 11 14 14
3B9-04 G1/4"X19 G1/4"X19 545 55 11 19 19
3B9-06 G3/8"X19 G3/8"X19 6.3 6.3 14 22 22
3B9-08 G1/2"X14 G1/2"X14 7.5 7.5 19 27 27
3B9-10 G5/8"X14 G5/8"X14 9.5 9.5 19 30 30
3B9-12 G3/4"X14 G3/4"X14 10.9 10.9 24 32 32
3B9-16 G1"X11 G1"X11 1.7 1.7 30 41 41
3B9-20 G1.1/4"X11 G1.1/4"X11 11 11 41 50 50
3B9-24 G1.1/2"X11 G1.1/2"X11 13 13 48 55 55
3B9-32 G2"X11 G2"X11 16 16 63 70 70

REJMEN60° M7 inEAES BB Hk

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL PLUG

L
A
S S1
]
60°| w
4B
® =2 2 4 THREAD R st DIMENSIONS

PART NO. E A L S1
4B-02 G1/8"X28 10 16 14
4B-04 G1/4"X19 12 18 19
4B-06 G3/8"X19 13.5 215 22
4B-08 G1/2"'X14 16 26 27
4B-10 G5/8"X14 17.5 27.5 30
4B-12 G3/4"X14 18.5 29.5 32
4B-16 G1"X11 20.5 34 41
4B-20 G1.1/4"X11 20.5 37.5 50
4B-24 G1.1/2"X11 23 40 55
4B-32 G2"X11 25.5 435 70

C47



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMRG R I

BSP MALE CAPTIVE SEAL PLUG

L
A
S1
L~
N
JER
4B-WD
k= # 5 THREAD B # CAPTIVE R < DIMENSIONS

PART NO. E E i A . -
4B-02WD G1/8"X28 WD-B02 8 15.5 14
4B-04WD G1/4"X19 WD-B04 12 19.6 19
4B-06WD G3/8"X19 WD-B06 12 225 22
4B-08WD G1/2"X14 WD-B08 14 25 27
4B-12WD G3/4"X14 WD-B12 16 29 32
4B-16WD G1"X11 WD-B16 18 35 41
4B-20WD G1.1/4"X11 WD-B20 20 37 50
4B-24WD G1.1/2"X11 WD-B24 22 40 55

REIMEN60° AN A IREAASERIAAEL

BSP MALE DOUBLE USE FOR 60°CONE SEAT OR BONDED SEAL HOLLOW HEX PLUG

L
A
1 S S1
/—
L
4BN
g = #2 4 THREAD R < DIMENSIONS
PART NO. E A L S1
4BN-02 G1/8"X28 8 11 5
4BN-04 G1/4"X19 12 15 6
4BN-06 G3/8"X19 12 15 8
4BN-08 G1/2'X14 14 18 10
4BN-12 G3/4"X14 16 20 12
4BN-16 G1"X11 16 21 17

C48



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMROERBE BRI AN AEL

BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG

L
A
S1
L
4BN-WD
® = i 4 THREAD B # CAPTIVE R st DIMENSIONS

PART NO. E Eifs A L S
4BN-02WD G1/8"X28 WD-B02 8 12.2 5
4BN-04WD G1/4"X19 WD-B04 12 17.2 6
4BN-06WD G3/8"X19 WD-B06 12 17.2 8
4BN-08WD G1/2"X14 WD-B08 14 19.2 10
4BN-12WD G3/4"X14 WD-B12 16 212 12
4BN-16WD G1"X11 WD-B16 16 22.8 17
4BN-20WD G1.1/4"X11 WD-B20 20 26.8 22
4BN-24WD G1.1/2"X11 WD-B24 22 28.8 24

C49



Rl B Sk

British Adaptor

£ &b i Jx

XINDU HYDRAULIC

REIMEN 60°WiEk N AREAESERY / RERRH IS0 1179

BSP MALE DOUBLE USE FOR 60°CONE SEAT OR BONDED SEAL / BSP FEMALE ISO 1179

60° l b
S1 ;
5B

R =2 12 g THREAD R <+ DIMENSIONS
PART NO. E F A L S
5B-02-04 G1/8"X28 G1/4"X19 11 29 19
5B-04-02 G1/4"X19 G 1/8"X28 12 28 19

5B-04 G1/4"X19 G1/4"X19 12 33 19
5B-04-06 G1/4"X19 G3/8"X19 12 36 22
5B-06-04 G3/8"X19 G1/4"X19 135 33.5 22

5B-06 G3/8"X19 G3/8"X19 13.5 37.5 22
5B-06-08 G3/8"X19 G1/2"X14 13.5 42.5 27
5B-08-06 G1/2"X14 G3/8"X19 16 38 27

5B-08 G1/2"X14 G1/2"X14 16 45 27
5B-08-10 G1/2"X14 G5/8"X14 16 46 30
5B-08-12 G1/2"X14 G3/4"X14 16 44.5 36
5B-10-08 G5/8"X14 G1/2"X14 16 41.5 30
5B-12-08 G3/4"X14 G1/2"X14 18.5 44.5 32

5B-12 G3/4"X14 G3/4"X14 18.5 48 36
5B-12-16 G3/4"X14 G1"X11 18.5 53.5 41
5B-16-12 G1"X11 G3/4"X14 20.5 47.5 41

5B-16 G1"X11 G1"X11 20.5 55.5 41
5B-16-20 G1"X11 G1.1/4"X11 20.5 56.5 50
5B-20-16 G1.1/4"X11 G1"X11 20.5 49 50

5B-20 G1.1/4"X11 G1.1/4"X11 20.5 52.5 50
5B-20-24 G1.1/4"X11 G1.1/2"X11 20.5 57.5 55

5B-24 G1.1/2"X11 G1.1/2"X11 23 58 55
5B-32-24 G2"X11 G1.1/2"X11 26 59.5 70

5B-32 G2"X11 G2"X11 26 63 70




B L & 2% IE

British Adaptor XINDU HYDRAULIC

90° BHEEIMEM60°MH / HEMIEL IS0 1179
90° ELBOW BSP MALE 60° SEAT / BSP FEMALE ISO 1179

F
|
| oM
N —
60°| W —[— Y,
)(g
A
5B9
g = # 4 THREAD R~ DIMENSIONS
PART NO. E F A B S1
5B9-02 G1/8"X28 G1/8"X28 225 20 16
5B9-04 G1/4"X19 G1/4"X19 25.5 22 19
5B9-06 G3/8"X19 G3/8"X19 30.5 26 24
5B9-08 G1/2"X14 G1/2'X14 39 31 30
5B9-12 G3/4"X14 G3/4"X14 435 37 33
5B9-16 G1"X11 G1"X11 50.5 43 41
5B9-20 G1.1/4"X11 G1.1/4"X11 55 46 50

REIMRN60° AN/ AinE BASREH /EHHHEERRL

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL /NPT FEMALE

L
A
: }/ [ st
N
60° | W ir-- K
F
S5BN
g = #2 4 THREAD R =t DIMENSIONS
PART NO. E F A L St
5BN-04 G1/4"X19 Z1/4"X18 12 31 19
5BN-06 G3/8"X19 Z3/8"X18 135 33 22
5BN-08 G1/2"X14 Z1/2'X14 16 42 30
5BN-12 G3/4"X14 Z3/4"X14 185 445 36
5BN-16 G1"X11 Z1"X11.5 20.5 52 41
5BN-20 G1.1/4"X11 Z1.1/4"X11.5 205 55 50
5BN-24 G1.1/2"X11 Z1.1/2'X11.5 23 60 60
5BN-32 G2'X11 Z2'X11.5 255 62 70




Rl B Sk

British Adaptor

REIMRN60° AN/ AinE BASREH /AHEERIRY

£ &b i Jx

XINDU HYDRAULIC

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL /BSPT FEMALE

60°

777

5BT
g = ¥ 40 THREAD R st DIMENSIONS
PART NO. E F A L 31
5BT-04-02 G1/4"X19 Rc1/8"X28 12 28 19
5BT-04 G1/4"X19 Rc1/4"X19 12 335 19
5BT-04-06 G1/4"X19 Rc3/8"X19 12 34 22
5BT-04-08 G1/4"X19 Re1/2"X14 12 41 27
5BT-06-04 G3/8"X19 Rc1/4"X19 13.5 35 22
5BT-06 G3/8"X19 Rc3/8"X19 13.5 34 22
5BT-08-06 G1/2"X14 Rc3/8"X19 16 39.5 27
5BT-08 G1/2"X14 Re1/2"X14 16 45 27
5BT-10-08 G5/8"X14 Rc1/2'X14 17.5 435 30
5BT-12-08 G3/4"X14 Rc1/2'X14 18.5 47.5 32
5BT-12 G3/4"X14 Rc3/4"X14 18.5 49 36
5BT-16-12 G1"X11 Rc3/4"X14 20.5 47.5 4
5BT-16 G1'X11 Re1"X11 205 57 41
5BT-20 G1.1/"X11 Re1.1/4"X11 20.5 58.5 50
5BT-24 G1.1/2'X11 Re1.1/2"X11 23 61 55

C52



B L & 2% IE

British Adaptor XINDU HYDRAULIC

90°HEEIMRL60°MHE/ZEHEE MIRLL

90° BSP MALE 60° SEAT/BSPT FEMALE

=

C m
60" | W |
s1
A
5BT9
=] 12 4 THREAD R < DIMENSIONS
PART NO. E F A B s1
5BT9-04 G1/4"X19 Rc1/4"X19 27.5 25 19
5BT9-04-02 G1/4"X19 Rc1/8"X28 25.5 20 16
5BT9-04-06 G1/4"X19 Rc3/8"X19 30.5 27 24
5BT9-06 G3/8"X19 Rc3/8"X19 32 27 24
5BT9-06-04 G3/8"X19 Rc1/4"X19 28.5 25 19
5BT9-06-08 G3/8"X19 Rc1/2"X14 36 315 30
5BT9-08 G1/2"X14 Rc1/2"X14 38.5 31.5 30
5BT9-08-06 G1/2"X14 Rc3/8"X19 35.5 27 24
5BT9-08-12 G1/2"X14 Rc3/4"X14 41 37 33
5BT9-12 G3/4"X14 Rc3/4"X14 43.5 37 33
5BT9-12-08 G3/4"X14 Rc1/2"X14 41.5 315 30
5BT9-12-16 G3/4"X14 Rc1" X11 48 43 41
5BT9-16 G1"X11 Rc1" X11 50.5 43 41
5BT9-16-12 G1"X11 Rc3/4"X14 46 37 33

C53



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REIMRN LB ZE / RERIRL1SO 1179

BSP MALE CAPTIVE SEAL/BSP FEMALE ISO 1179

L
A
L
<
wl Lo
st
5B-WD
® = #2 4 THREAD B #  CAPTIVE R <t DIMENSIONS

PART NO. E F E i A L St
5B-02-04WD G1/8"X28 G1/4"X19 WD-B02 8 30.5 19
5B-02-06WD G1/8"X28 G3/8"X19 WD-B02 8 335 22
5B-04-02WD G1/4"X19 G 1/8"X28 WD-B04 12 315 19
5B-04-06WD G1/4"X19 G3/8"X19 WD-B04 12 37 22
5B-04-08WD G1/4"X19 G1/2'X14 WD-B04 12 43 27
5B-06-02WD G3/8"X19 G1/8"X28 WD-B06 12 35.5 22
5B-06-04WD G3/8"X19 G1/4"X19 WD-B06 12 375 22
5B-06-08WD G3/8"X19 G1/2'X14 WD-B06 12 435 27
5B-08-04WD G1/2'X14 G1/4"X19 WD-B08 14 38 27
5B-08-06WD G1/2'X14 G3/8"X19 WD-B08 14 41 27
5B-08—12WD G1/2'X14 G3/4"X14 WD-B08 14 46 36
5B—12-08WD G3/4"X14 G1/2'X14 WD-B12 16 475 32
5B-12-16WD G3/4"X14 G1"X11 WD-B12 16 53.5 41
5B-12-20WD G3/4"X14 G1.1/4"X11 WD-B12 16 54.5 50
5B-16-12WD G1"X11 G3/4"X14 WD-B16 18 50.5 41
5B-16-20WD G1"X11 G1.1/4"X11 WD-B16 18 56.5 50
5B-20-16WD G1.1/4"X11 G1"X11 WD-B20 20 57.5 50
5B-20-24WD G1.1/4"X11 G1.1/2"X11 WD-B20 20 59.5 55
5B-20-32WD G1.1/4"X11 G2'X11 WD-B20 20 64 70
5B-24-16WD G1.1/2"X11 G1"X11 WD-B24 22 59.5 55
5B-24-20WD G1.1/2"X11 G1.1/4"X11 WD-B24 22 60 55
5B-24-32WD G1.1/2"X11 G2'X11 WD-B24 22 66 70

C54



C55

Rl B Sk

British Adaptor

REJMRLORE / HERIEN IS0 1179

BSP MALE O-RING / BSP FEMALE ISO 1179

L

£ &b i Jx

XINDU HYDRAULIC

w| 4—-
5GB
R S # 4 THREAD OB O-RING R st DIMENSIONS
PART NO. E F E iy A L S1
5GB-04 G1/4"X19 G1/4"X19 o111 11 32 19
5GB-04-06 G1/4"X19 G3/8"X19 o111 11 35 22
5GB-06 G3/8"X19 G3/8"X19 0113 115 36 22
5GB-06-08 G3/8"X19 G1/2"X14 0113 11.5 41 27
5GB-08 G1/2"X14 G1/2"X14 0115 14 41 27
5GB-08-12 G1/2"X14 G3/4"X14 0115 14 46 36
5GB-12 G3/4"X14 G3/4"X14 0119 15.5 46 36
5GB-12-16 G3/4"X14 G1"X11 0119 15.5 50 41
5GB-16-12 G1"X11 G3/4"X14 0217 18 47 41
5GB-16 G1"X11 G1"X11 0217 18 52.5 41




B L & 3% IE

British Adaptor XINDU HYDRAULIC

R EIMRL / HE AR

NPT MALE/BSP FEMALE

L
A S1
. */ 7
V
I i 1.
|
7 )
5NB
K] 5 12 4 THREAD R ~F DIMENSIONS
PART NO. E F A L S1
5NB-02 21/8"X27 G1/8"X28 10.5 28 14
5NB-02-04 21/8"X27 G1/4"X19 10.5 32 19
5NB-04 Z1/4"X18 G1/4"X19 15 35 19
5NB-04-02 Z1/4"X18 G1/8"X28 15 32 17
5NB-04-06 Z1/4"X18 G3/8"X19 15 38 22
5NB-06 Z3/8"X18 G3/8"X19 15 38 22
5NB-06-04 Z3/8"X18 G1/4"X19 15 32 19
5NB-06-08 Z3/8"X18 G1/2"X14 15 43 27
5NB-08 Z1/2"X14 G1/2"X14 19.5 47.5 27
5NB-08-04 Z21/2"X14 G1/4"X19 19.5 28 22
5NB-08-06 Z1/2"X14 G3/8"X19 19.5 40 22
5NB-08-10 Z1/2"X14 G5/8"X14 19.5 48.5 36
5NB-08-12 Z1/2"X14 G3/4"X14 19.5 48.5 36
5NB-12 723/4"X14 G3/4"X14 19.5 48.5 36
5NB-12-04 23/4"X14 G1/4"X19 19.5 30 30
5NB-12-06 23/4"X14 G3/8"X19 19.5 32 30
5NB-12-08 723/4"X14 G1/2"X14 19.5 32 30
5NB-12-16 23/4"X14 G1"X11 19.5 54 41
5NB-12-20 23/4"X14 G1.1/4"X11 19.5 54 50
5NB-16 Z1"X11.5 G1"X11 25.5 60 44
5NB-16-04 Z1"'"X11.5 G1/4"X19 25.5 37 36
5NB-16-06 Z1"X11.5 G3/8"X19 25.5 37 36
5NB-16-08 Z1"X11.5 G1/2"X14 25.5 37 36
5NB-16-12 Z1"'"X11.5 G3/4"X14 25.5 37 36
5NB-16-20 Z1"X11.5 G1.1/4"X11 25.5 60 50
5NB-16-24 Z1"'X11.5 G1.1/2"X11 25.5 62 55
5NB-20 Z1.1/4"X11.5 G1.1/4"X11 26.5 61 50
5NB-20-16 Z1.1/4"X11.5 G1"X11 26.5 42 46
5NB-20-24 Z1.1/4"X11.5 G1.1/2"X11 26.5 63 55
5NB-20-32 Z1.1/4"X11.5 G2"X11 26.5 67 70
5NB-24 Z1.1/2"X11.5 G1.1/2"X11 27.5 64 55
5NB-24-20 Z1.1/2"X11.5 G1.1/4"X11 27.5 58 50
5NB-24-32 Z1.1/2"X11.5 G2"X11 27.5 68 70
5NB-32 Z2"X11.5 G2"X11 27.5 68 70
5NB-32-16 Z2"X11.5 G1"X11 27.5 46 65
5NB-32-20 Z2"X11.5 G1.1/4"X11 27.5 46 65
5NB-32-24 Z2"X11.5 G1.1/2"X11 27.5 46 65




B L & 3% IE

British Adaptor XINDU HYDRAULIC

REEIMRL / RERRY

BSPT MALE/BSP FEMALE

E
N )
C A
|
; T st
A
L
5TB-SP
g = #2 4 THREAD R ~F DIMENSIONS
PART NO. E F A L St
5TB-02-04SP R1/8"X28 G1/4"X19 10 31.5 19
5TB-04-06SP R1/4"X19 G3/8"X19 14.5 38.5 22
5TB-04SP R1/4"X19 G1/4"X19 14.5 35 19
5TB-06-04SP R3/8"X19 G1/4"X19 15 36 19
5TB-06-08SP R3/8"X19 G1/2"X14 15 43 27
5TB-06-12SP R3/8"X19 G3/4"X14 15 44 36
5TB-06SP R3/8"X19 G3/8"X19 15 39 22
5TB-08-06SP R1/2"X14 G3/8"X19 20 44 22
5TB-08-12SP R1/2"X14 G3/4"X14 20 50 36
5TB-08-16SP R1/2"X14 G1"X11 20 54.5 4
5TB-08SP R1/2"X14 G1/2"X14 20 48 27
5TB-12-08SP R3/4"X14 G1/2"X14 20 48 30
5TB-12-16SP R3/4"X14 G1"X11 20 54.5 4
5TB-12SP R3/4"X14 G3/4"X14 20 49 36
5TB-16-12SP R1"X11 G3/4"X14 25.5 55 36
5TB-16-20SP R1"X11 G1.1/4"X11 25.5 61.5 50
5TB-16SP R1"X11 G1"X11 25.5 60 41
5TB-20-08SP R1.1/4"X11 G1/2"X14 26.5 39 46
5TB-20-12SP R1.1/4"X11 G3/4"X14 26.5 39 46
5TB-20-24SP R1.1/4"X11 G1.1/2"X11 26.5 63 55
5TB-20SP R1.1/4"X11 G1.1/4"X11 26.5 61.5 50
5TB-24-16SP R1.1/2"X11 G1"X11 26.5 40.5 55
5TB-24-20SP R1.1/2"X11 G1.1/4"X11 26.5 61 55
5TB-24-32SP R1.1/2"X11 G2"X11 26.5 63.5 70
5TB-24SP R1.1/2"X11 G1.1/2"X11 26.5 63 55
5TB-32-24SP R2"X11 G1.1/2"X11 30 45 65

C57



B L & 3% IE

British Adaptor XINDU HYDRAULIC

REIMBH 60° T IRIEL

BSP MALE 60°SEAT BULKHEAD

L HiRE LOCK NUT

: : N // W41

60°| L || | || wl | 60° |
281 S2

6B 6B-LN

® =2 2 4L THREAD R <+ DIMENSIONS

PART NO. E F A B L S1 S2
6B-02 G1/8"X28 G1/8"X28 10 33 49 14 14
6B-04 G1/4"X19 G1/4"X19 12 35 53 19 19
6B-06 G3/8"X19 G3/8"X19 13.5 35 56.5 22 22
6B-08 G1/2"X14 G1/2"X14 16 39 65 27 27
6B-10 G5/8"X14 G5/8"X14 17.5 40 67.5 30 30
6B-12 G3/4"X14 G3/4"X14 18.5 42 71.5 32 32
6B-16 G1"X11 G1"X11 20.5 50 84 4 4
6B-20 G1.1/4"X11 G1.1/4"X11 20.5 52 89.5 50 50
6B-24 G1.1/2"X11 G1.1/2"X11 23 55 93 55 55
6B-32 G2"X11 G2'X11 25.5 55 97.5 70 70

C58



B L & 3% IE

British Adaptor XINDU HYDRAULIC

HERELN IS0 1179
BSP FEMALE ISO 1179

w
/
st/
7B

= #2 4 THREAD R < DIMENSIONS
PART NO. E F L S

7B-02 G1/8"X28 G1/8"X28 22 14
7B-02-04 G1/8"X28 G1/4"X19 24 19

7B-04 G1/4"X19 G1/4"X19 24 19
7B-04-06 G1/4"X19 G3/8"X19 29 22

7B-06 G3/8"X19 G3/8"X19 26 22
7B-06-08 G3/8"X19 G1/2'X14 33 27

7B-08 G1/2'X14 G1/2'X14 32 27
7B-08-10 G1/2'X14 G5/8"X14 36 30

7B-10 G5/8"X14 G5/8"X14 36 30

7B-12 G3/4"X14 G3/4"X14 36 32
7B-12-16 G3/4"X14 G1"X11 43 41

7B-16 G1'X11 G1"X11 40 41
7B-16-20 G1'X11 G1.1/4"X11 46 50

7B-20 G1.1/4"X11 G1.1/4"X11 44 50
7B-20-24 G1.1/4"X11 G1.1/2"X11 48 55

7B-24 G1.1/2"X11 G1.1/2"X11 45 55
7B-24-32 G1.1/2"X11 G2"X11 56 70

7B-32 G2'X11 G2"X11 54 70




Rl B Sk

British Adaptor

£ &b i Jx

XINDU HYDRAULIC

90°WEMIAL ISO 1179
90°BSP FEMALE ISO 1179

= ¥ 4 THREAD R < DIMENSIONS
PART NO. E F A B S1
7B9-02PK G1/8"X28 G1/8"X28 20 20 16
7B9-04PK G1/4"X19 G1/4"X19 225 225 19
7B9-06PK G3/8"X19 G3/8"X19 26 26 24
7B9-08PK G1/2"X14 G1/2"X14 31 31 27
7B9-12PK G3/4"X14 G3/4"X14 34 34 33
7B9-16PK G1"X11 G1"X11 42 42 41
7B9-20PK G411 | G1.1/4"X11 48 48 50
7B9-PK 7B9-24PK | G1.1/2°X11 | G1.1/2"X11 53 53 60
7B9-32PK G2"X11 G2"X11 62 62 70
HEIRLHE
BSP LOCK NUT
® = #8 5 THREAD R <t DIMENSIONS
7_ PART NO. E A st
S$1/ 8B-02 G1/8"X28 55 14
8B-04 G1/4"X19 6.5 19
" 8B-06 G3/8"X19 7 22
8B-08 G1/2'X14 9 27
\ ] 8B-10 G5/8"X14 9 30
8B-12 G3/4"X14 105 32
N 8B-16 G1"X11 10.5 41
A 8B-20 G1.1/4"X11 105 50
8B-24 G1.1/2"X11 105 55
8B
8B-32 G2'X11 10.5 70
HEEPIIRS 60°5pitkiE sk
BSP FEMALE 60°CONE PLUG
K= #2 5 THREAD R <t DIMENSIONS
. A PART NO. E A L s2
9B-02 G1/8"X28 55 15 14
2 9B-04 G1/4"X19 55 135 19
9B-06 G3/8"X19 6.3 145 22
. 9B-08 G1/2"'X14 75 16 27
ﬂ R I 60 9B-10 G5/8"X14 9.5 16.5 30
>—'—< 9B-12 G3/4"X14 10.9 17.5 32
S2 1 9B-16 G1"X11 1.7 19 41
9B-20 G1.1/4"X11 11 215 50
9B 9B-24 G1.1/2"X11 13 22 55
9B-32 G2"X11 16 265 70




Rl B Sk

British Adaptor

REJMRL 60°RE=1E

BSP MALE 60°SEAT TEE

60°

60° | w

F
|
|
|

o

7_. _TirO6m

£ &b i Jx

XINDU HYDRAULIC

C
AB

® e #2 5 THREAD R <t DIMENSIONS
PART NO. E F G A B © st
AB-02 G1/8"X28 G1/8"X28 G1/8"X28 19.8 19.8 19.8 11
AB-04 G1/4"X19 G1/4"X19 G1/4"X19 24.5 24.5 24.5 14
AB-04-06-04 G1/4"X19 G3/8"X19 G1/4"X19 26.5 275 26.5 16
AB-06-04-06 G3/8"X19 G1/4"X19 G3/8"X19 275 26.5 275 16
AB-06 G3/8"X19 G3/8"X19 G3/8"X19 275 275 275 16
AB-06-08-06 G3/8"X19 G1/2'X14 G3/8"X19 31 34.5 31 22
AB-08-06-08 G1/2'X14 G3/8"X19 G1/2'X14 34.5 31 34.5 22
AB-08 G1/2'X14 G1/2'X14 G1/2'X14 34.5 34.5 34.5 22
AB-10 G5/8"X14 G5/8"X14 G5/8"X14 35 35 35 22
AB-12 G3/4"X14 G3/4"X14 G3/4'X14 40 40 40 27
AB-12-16-12 G3/4"X14 G1'X11 G3/4"X14 435 46 435 33
AB-16-12-16 G1'X11 G3/4"X14 G1"X11 46 435 46 33
AB-16 G1'X11 G1'X11 G1"X11 46 46 46 33
AB-20 G1.1/4"X11 G1.1/4"X11 G1.1/4"X11 50.5 50.5 50.5 41
AB-24 G1.1/2'X11 G1.1/2"X11 G1.1/2"X11 57.5 57.5 57.5 48
AB-32 G2'X11 G2'X11 G2'X11 72.5 725 725 63




Rl B Sk

British Adaptor

£ &b i Jx

XINDU HYDRAULIC

REIMRN60°AHE / HEPIIEN60°IME =iF

BSP MALE 60°SEAT / BSP FEMALE 60°CONE BRANCH TEE

4
F
s2 NI
|
60°| Wiy -—r—>——4 ©| | 60°
|
\
RS
BB
® 2 42 47 THREAD R <t DIMENSIONS
PART NO. E F G A B © S1 S2
BB-02 G1/8"X28 G1/8"X28 G1/8"X28 19.8 55 19.8 11 14
BB-04 G1/4"X19 G1/4"X19 G1/4"X19 24.5 515/ 24.5 14 19
BB-06 G3/8"X19 G3/8"X19 G3/8"X19 27.5 6.3 27.5 16 22
BB-08 G1/2"X14 G1/2"X14 G1/2"X14 345 7.5 345 22 27
BB-12 G3/4"X14 G3/4"X14 G3/4"X14 40 10.9 40 27 32
BB-16 G1"X11 G1"X11 G1"X11 46 11.7 46 33 41
BB-20 G1.1/4"X11 G1.1/4"X11 G1.1/4"X11 50.5 11 50.5 41 50
BB-24 G1.1/2"X11 G1.1/2"X11 G1.1/2"X11 57.5 13 57.5 48 55
BB-32 G2"X11 G2"X11 G2"X11 725 16 725 63 70
b= ok ° ok ° —n
HWEIMEL 60° A / HERIEL 60°JMEE =18
BSP MALE 60°SEAT / BSP FEMALE 60°CONE RUN TEE
60°
F
:
i C
N |
60° | w |J—[— | o 60°
N
A \S1 S2
CB
® = ¥ 4 THREAD R <+ DIMENSIONS
PART NO. E F G A B (o] S1 S2
CB-02 G1/8"X28 G1/8"X28 G1/8"X28 19.8 19.8 55 11 14
CB-04 G1/4"X19 G1/4"X19 G1/4"X19 25 25 55 14 19
CB-06 G3/8"X19 G3/8"X19 G3/8"X19 27.5 27.5 6.3 16 22
CB-08 G1/2"X14 G1/2"X14 G1/2"X14 34.5 34.5 7.5 22 27
CB-10 G5/8"X14 G5/8"X14 G5/8"X14 34.5 345 9.5 22 30
CB-12 G3/4"X14 G3/4"X14 G3/4"X14 40 40 10.9 27 32
CB-16 G1"X11 G1"X11 G1"X11 46 46 1.7 33 41
CB-20 G1.1/4"X11 G1.1/4"X11 G1.1/4"X11 50.5 50.5 11 41 50
CB-24 G1.1/2"X11 G1.1/2"X11 G1.1/2"X11 57.5 57.5 13 48 55
CB-32 G2"X11 G2"X11 G2"X11 72.5 72.5 16 63 70

C62



B L & 3% IE

British Adaptor XINDU HYDRAULIC

REMRIRN 60°5biE =18

BSP FEMALE 60°CONE TEE

60°
<7
F oM
N
C s4 C
| .
R n e VL
|
\S1
DB
= # 45 THREAD R <t DIMENSIONS
PART NO. E F G A,B,C S1 S2,83,54
DB-02 G1/8"X28 G1/8"X28 G1/8"X28 55 11 14
DB-04 G1/4"X19 G1/4"X19 G1/4"X19 5.5 11 19
DB-06 G3/8"X19 G3/8"X19 G3/8"X19 6.3 14 22
DB-08 G1/2'X14 G1/2'X14 G1/2'X14 7.5 19 27
DB-10 G5/8"X14 G5/8"X14 G5/8"X14 9.5 22 30
DB-12 G3/4"X14 G3/4"X14 G3/4"X14 10.9 24 32
DB-16 G1"X11 G1"X11 G1"X11 11.7 30 41
DB-20 G1.1/4"X11 G1.1/4"X11 G1.1/4"X11 11 36 50
DB-24 G1.1/2"X11 G1.1/2"X11 G1.1/2"X11 13 48 55
DB-32 G2"X11 G2"X11 G2"X11 16 55 70
b g
HEERIEY
BSP FEMALE
F
7]
| 2
w4 ‘ Y ‘ 4o
A C
GB-PK
= # & THREAD R < DIMENSIONS
PART NO. E F G A B B st
GB-02PK G1/8"X28 G1/8"X28 G1/8"X28 20 20 20 16
GB-04PK G1/4"X19 G1/4"X19 G1/4"X19 225 225 225 19
GB-06PK G3/8"X19 G3/8"X19 G3/8"X19 26 26 26 24
GB-08PK G1/2'X14 G1/2'X14 G1/2"X14 31 31 31 27
GB-12PK G3/4"X14 G3/4"X14 G3/4"X14 34 34 34 33
GB-16PK G1"X11 G1"X11 G1"X11 42 42 42 4
GB-20PK G1.1/4"X11 G1.1/4"X11 G1.1/4"X11 48 48 48 50
GB-24PK G1.1/2"X11 G1.1/2"X11 G1.1/2"X11 53 53 53 60
GB-32PK G2'X11 G2'X11 G2"X11 62 62 62 70

C63



B L & 3% IE

British Adaptor XINDU HYDRAULIC

REIJMEN 60° M

BSP MALE 60°SEAT

60°
F
60°w|4 1 — N T1i0|g0°
LY | (A
)
S1 !
H
(\/ok
A 60" C
i_
XB
® = 12 41 THREAD R ~t DIMENSIONS
PART NO. E,F.GH AB,C.D S1
XB-04 G1/4"X19 245 14
XB-06 G3/8"X19 275 16
XB-08 G1/2"X14 345 22
XB-10 G5/8"X14 35 22
XB-12 G3/4"X14 40 27
XB-16 G1"X11 46 33
XB-20 G1.1/4"X11 505 4
XB—24 G1.1/2"X11 575 48
- fn
HEREN
BSP FEMALE
. F
S1 )
¢ ) ©
o LN Dol
\T\ D
L H]
A C
ZB
K = # 4 THREAD R ~ DIMENSIONS
PART NO. E, F, GH AB,C,D S1
ZB-02 G1/8"X28 20 16
ZB-04 G1/4"X19 225 19
ZB-06 G3/8"X19 26 24
ZB-08 G1/2"X14 32 30
ZB-12 G3/4"X14 34 33
ZB-16 G1"X11 42 4
ZB-20 G1.1/4"X11 48 50
ZB-24 G1.1/2"X11 53 60
ZB-32 G2'X11 62 70

C64



Rl B Sk

British Adaptor

£ &b i Jx

XINDU HYDRAULIC

S E IMELN

BSPT MALE

C65

1T-SP
® = ¥ % THREAD R st DIMENSIONS
PART NO. E F A B L S1
1T-02SP R1/8"X28 R1/8"X28 10 10 26 12
1T-02-04SP R1/8"X28 R1/4"X19 10 14.5 30.5 14
1T-02-06SP R1/8"X28 R3/8"X19 10 15 31 17
1T-04SP R1/4"X19 R1/4"X19 145 14.5 34 14
1T-04-06SP R1/4"X19 R3/8"X19 14.5 15 35 17
1T-04-08SP R1/4"X19 R1/2"X14 15 20 43 22
1T-06SP R3/8"X19 R3/8"X19 15 15 36 17
1T-06-08SP R3/8"X19 R1/2"X14 15 20 43 22
1T-08SP R1/2"X14 R1/2"X14 20 20 46 22
1T-08-12SP R1/2"X14 R3/4"X14 20 20 48 27
1T-12SP R3/4"X14 R3/4"X14 20 20 48 27
1T-12-16SP R3/4"X14 R1"X11 20 25.5 55.5 36
1T-16SP R1"X11 R1"X11 25.5 255 61 36
1T-16-20SP R1"X11 R1.1/4"X11 25.5 26.5 64.5 46
1T-20SP R1.1/4"X11 R1.1/4"X11 26.5 26.5 65.5 46
1T-20-24SP R1.1/4"X11 R1.1/2"X11 26.5 26.5 67 50
1T-24SP R1.1/2"X11 R1.1/2"X11 26.5 26.5 67 50
1T-24-32SP R1.1/2"X11 R2"X11 26.5 30 715 65
1T-32SP R2"X11 R2"X11 30 30 75 65




B L & 2% IE

British Adaptor XINDU HYDRAULIC

45° i EIMEL

45°BSPT MALE

] T[ >

A S1
1T4-SP
® = #2 4 THREAD R <t DIMENSIONS
PART NO. E F A B S1
1T4-02SP R1/8"X28 R1/8"X28 17 17 11
1T4-04SP R1/4"X19 R1/4"X19 21 21 14
1T4-04-06SP R1/4"X19 R3/8"X19 21 23 16
1T4-06SP R3/8"X19 R3/8"X19 23 23 16
1T4-06-08SP R3/8"X19 R1/2"X14 25 29.5 22
1T4-08SP R1/2'X14 R1/2"X14 29.5 29.5 22
1T4-08-12SP R1/2'X14 R3/4"X14 30 30.5 27
1T4-12SP R3/4"X14 R3/4"X14 30.5 30.5 27
1T4-12-16SP R3/4"X14 R1"X11 32,5 38 33
1T4-16SP R1"X11 R1"X11 38 38 33
1T4-16-20SP R1"X11 R1.1/4"X11 42 43 4
1T4-20SP R1.1/4"X11 R1.1/4"X11 43 43 4
1T4-24SP R1.1/2"X11 R1.1/2"X11 475 475 48
1T4-32SP R2"X11 R2"X11 53 53 63




C67

Rl B Sk

British Adaptor

90 T HEEIMELL

90°ELBOW BSPT MALE

£ &b i Jx

XINDU HYDRAULIC

1T9-SP
® 5 #2 4 THREAD R st DIMENSIONS
PART NO. E F A B St
179-02SP R1/8"X28 R1/8"X28 21 21 11
1T9-02-04SP R1/8"X28 R1/4"X19 23.5 25.5 14
1T9-04SP R1/4"X19 R1/4"X19 25.5 25.5 14
1T9-04-06SP R1/4"X19 R3/8"X19 26.5 28.5 16
1T9-04-08SP R1/4"X19 R1/2"X14 30.5 36 22
1T9-06SP R3/8"X19 R3/8"X19 28.5 28.5 16
1T9-06-08SP R3/8"X19 R1/2"X14 325 36 22
1T9-08SP R1/2"X14 R1/2"X14 36 36 22
1T9-08-12SP R1/2"X14 R3/4"X14 39.5 435 27
1T9-12SP R3/4"X14 R3/4"X14 435 435 27
1T9-12-16SP R3/4"X14 R1"X11 48 50 33
1T9-16SP R1"X11 R1"X11 50 50 33
1T9-16-20SP R1"X11 R1.1/4"X11 56.5 57.5 4
1T9-20SP R1.1/4"X11 R1.1/4"X11 57.5 57.5 41
1T9-24SP R1.1/2"X11 R1.1/2"X11 62.5 62.5 48
1T9-32SP R2"X11 R2"X11 68 75 63




B L & 2% IE

British Adaptor XINDU HYDRAULIC

REEIMREIE L

BSPT MALE PLUG

N\S1
4T-SP
g =2 12 4 THREAD R <t DIMENSIONS
PART NO. E A L S1
4T-02SP R1/8"X28 10 16 12
4T-04SP R1/4"X19 14.5 20 14
4T-06SP R3/8"X19 15 21 17
4T-08SP R1/2"X14 20 27 22
4T-12SP R3/4"X14 20 29 27
4T-16SP R1"X11 25.5 36.5 36
4T-20SP R1.1/4"X11 26.5 38.5 46
4T-24SP R1.1/2"X11 26.5 42 50
4T-32SP R2"X11 30 47 65

90°SIEEIMAN / HIEEMIRN

90°ELBOW BSPT MALE / BSPT FEMALE

F
m
E
S1
A
5T9-SP
® = # 5 THREAD R <t DIMENSIONS
PART NO. E F A B st
5T9-02SP R1/8"'X28 Rc1/8"X28 24.5 23 16
5T9-04SP R1/4'X19 Rc1/4"X19 285 25 19
5T9-06SP R3/8"X19 Rc3/8"'X19 335 25 24
5T9-08SP R1/2"X14 Rc1/2'X14 408 315 30
5T9-12SP R3/4"X14 Rc3/4"X14 475 37 33
5T9-16SP R1"X11 Rel"X11 56.5 43 4
5T9-20SP R1.1/4"X11 Re1.1/4"X11 61 50 48
5T9-24SP R1.1/2"X11 Ret.1/2'X11 75 55 63

C68



B L & 2% IE

British Adaptor XINDU HYDRAULIC

REEIMRLL / KHEERIRL

BSPT MALE / BSPT FEMALE

| o
' ~Js1
£/ - )
5T-SP
= #2 4 THREAD R <t DIMENSIONS

PART NO. E B A L S1
5T-02-04SP R1/8"X28 Rc1/4"X19 11 325 19
5T-04-02SP R1/4"X19 Rc1/8"X28 14.5 20.5 14
5T-04SP R1/4"X19 Rc1/4"X19 14.5 36 19
5T-04-06SP R1/4"X19 Rc3/8"X19 14.5 38 22
5T-06-02SP R3/8"X19 Rc1/8"X28 15 23 19
5T-06-04SP R3/8"X19 Rc1/4"X19 15 23 19
5T-06SP R3/8"X19 Rc3/8"X19 15 385 22
5T-06-08SP R3/8"X19 Rc1/2"X14 15 44 27
5T-08-04SP R1/2"X14 Rc1/4"X19 20 30 24
5T-08-06SP R1/2"X14 Rc3/8"X19 20 30 24
5T-08SP R1/2"X14 Re1/2"X14 20 49 27
5T-08-12SP R1/2"X14 Rc3/4"X14 20 51 36
5T-12-06SP R3/4"X14 Rc3/8"X19 20 31 30
5T-12-08SP R3/4"X14 Rc1/2"X14 20 31 30
5T-12SP R3/4"X14 Rc3/4"X14 20 51 36
5T-12-16SP R3/4"X14 Rc1"X11 20 56.5 41
5T-16-08SP R1"X11 Rc1/2'X14 25.5 37 36
5T-16-12SP R1"X11 Rc3/4"X14 25.5 37 36
5T-16SP R1"X11 Rc1"X11 25.5 60 41
5T-16-20SP R1"X11 Rc1.1/4"X11 25.5 64 50
5T-20-12SP R1.1/4"X11 Rc3/4"X14 26.5 38 46
5T-20-16SP R1.1/4"X11 Rc1"X11 26.5 38 46
5T-20SP R1.1/4"X11 Rc1.1/4"X11 26.5 64.5 50
5T-24-16SP R1.1/2"X11 Rc1"X11 26.5 41 50
5T-24-20SP R1.1/2"X11 Re1.1/4"X11 26.5 41 50
5T-32-20SP R2"X11 Rc1.1/4"X11 30 45 65
5T-32-24SP R2"X11 Re1.1/2"X11 30 45 65

C69



Rl B Sk

British Adaptor

S E IR

BSPT FEMALE

£ &b i Jx

XINDU HYDRAULIC

T
g = # 4 THREAD R~ DIMENSIONS
PART NO. E F L S1
7T-02 Rc1/8"X28 Rc1/8"X28 20 14
7T-02-04 Rc1/8"X28 Rc1/4"X19 30 19
7T-04 Rc1/4"X19 Rc1/4"X19 30 19
7T-04-06 Rc1/4"X19 Rc3/8"X19 30 22
7T-04-08 Rc1/4"X19 Rc1/2"X14 40 27
7T-06 Rc3/8"X19 Rc3/8"X19 30 22
7T-06-08 Rca/8"X19 Rc1/2"X14 40 27
7T-06-12 Rc3/8"X19 Rc3/4"X14 37 36
7T-08 Rc1/2"X14 Rc1/2"X14 40 27
7T-08-12 Rc1/2"X14 Rc3/4"X14 42 36
7T-12 Rc3/4"X14 Rc3/4"X14 42 36
7T-12-16 Rc3/4"X14 Re1"X11 50 4
7T-16 Rc1"X11 Rc1"X11 50 41
7T-16-20 Re1"X11 Rc1.1/4"X11 52 50
7T-20 Rc1.1/4"X11 Rc1.1/4"X11 55 50
7T-24 Re1.1/2"X11 Re1.1/2"X11 55 55
7T-32 Rc2"X11 Rc2"X11 65 70




B L & 2% IE

British Adaptor XINDU HYDRAULIC

45° T E PR

45° BSPT FEMALE

7T4-PK
® =2 12 4 THREAD R < DIMENSIONS

PART NO. B E A B S1
7T4-04PK R1/4"X19 R1/4"X19 20 20 19
7T4-06PK R3/8"X19 R3/8"X19 22 22 24
7T4-08PK R1/2"X14 R1/2"X14 275 275 27
7T4-12PK R3/4"X14 R3/4"X14 315 315 33
7T4-16PK R1"X11 R1"X11 35 35 41

90 TR E PIRW

90°ELBOW BSPT FEMALE

F
/[
aa]
= |
S1
A
7T9-PK
= # 45 THREAD R ~t DIMENSIONS
PART NO. E F A B St
7T9-02PK Rc1/8"X28 Rc1/8"X28 20 20 16
7T9-02-04PK Re1/8"X28 Re1/4'X19 20 225 19
7T9-04PK Rc1/4"X19 Rc1/4"X19 225 225 19
7T9-06PK Rc3/8"X19 Rc3/8"X19 26 26 24
7T9-08PK Re1/2'X14 Re1/2'X14 31 31 27
7T9-12PK Rc3/4'X14 Re3/4"X14 34 34 33
7T9-16PK Re1"X11 Re1"X11 42 42 41
7T9-20PK Re1.1/4"X11 Re1.1/4"X11 48 48 50
7T9-24PK Re1.1/2"X11 Re1.1/2°X11 53 53 60
7T9-32PK Re2"X11 Re2'X11 62 62 70




Rl B Sk

British Adaptor

S E IMELN

£ &b i Jx

XINDU HYDRAULIC

BSPT MALE
;
|
F |
E S1 | G m
1
A C
I
AT-SP
® 5 2 4y THREAD R =~ DIMENSIONS
PART NO. E F G A B C S1
AT-02SP R1/8"X28 R1/8"X28 R1/8"X28 21 21 21 11
AT-04SP R1/4"X19 R1/4"X19 R1/4"X19 25.5 25.5 2515; 14
AT-06SP R3/8"X19 R3/8"X19 R3/8"X19 28.5 28.5 28.5 16
AT-08SP R1/2"X14 R1/2"X14 R1/2"X14 36 36 36 22
AT-12SP R3/4"X14 R3/4"X14 R3/4"X14 43.5 43.5 43.5 27
AT-16SP R1"X11 R1"X11 R1"X11 50 50 50 86}
AT-20SP R1.1/4"X11 R1.1/4"X11 R1.1/4"X11 57.5 57.5 57.5 41
AT-24SP R1.1/2"X11 R1.1/2"X11 R1.1/2"X11 62.5 62.5 62.5 48
AT-32SP R2"X11 R2"X11 R2"X11 75 75 75 63
e M — Y
RIEERIEN =18
BSPT FEMALE TEE
F
A
s1 |
| )
| /)
L ]
E/
A C
GT-PK
K = 2 47 THREAD R ~t DIMENSIONS
PART NO. E F G A B C S1
GT-02PK Rc1/8"X28 Rc1/8"X28 Rc1/8"X28 20 20 20 16
GT-04PK Rc1/4"X19 Rc1/4"X19 Rc1/4"X19 22.5 22.5 22.5 19
GT-06PK Rc3/8"X19 Rc3/8"X19 Rc3/8"X19 26 26 26 24
GT-08PK Rc1/2"X14 Rc1/2"X14 Rc1/2"X14 31 31 31 27
GT-12PK Rc3/4"X14 Rc3/4"X14 Rc3/4"X14 34 34 34 33
GT-16PK Rc1"X11 Rc1"X11 Rc1"X11 42 42 42 41
GT-20PK Rc1.1/4"X11 Rc1.1/4"X11 Rc1.1/4"X11 48 48 48 50
GT-24PK Rc1.1/2"X11 Rc1.1/2"X11 Rc1.1/2"X11 58 53 53 60
GT-32K Rc2"X11 Rc2"X11 Rc2"X11 62 62 62 70

C72



B L & 2% IE

British Adaptor XINDU HYDRAULIC

HRHEERIRL B

BSPT FEMALE CROSS

Ei

H
A C
ZT
k= 2 40 THREAD R <t DIMENSIONS
PART NO. E,F.GH AB,C,D St
zT-02 Rc1/8"X28 20 16
ZT-04 Rc1/4"X19 225 19
zT-06 Rc3/8"X19 26 24
ZT-08 Rel/2'X14 31 27
zT-12 Rc3/4"X14 34 33
zT-16 Re1"X11 42 4
ZT-20 Re1.1/4"X11 48 50

REWIROIKEE L

BSP FEMALE MULTISEAL PLUG

A L

||

9A

= #2 & THREAD R =t DIMENSIONS

PART NO. E A L S2
9A-02 G1/8"X28 2 14.5 14
9A-04 G1/4"X19 4 15 19
9A-06 G3/8"X19 5 16 22
9A-08 G1/2"X14 6 18 27
9A-10 G5/8"X14 8 19 30
9A-12 G3/4"X14 9 20 32
9A-16 G1"X11 10.5 21 41
9A-20 G1.1/4"X11 10 235 50
9A-24 G1.1/2"X11 11 25 55
9A-32 G2"X11 15 27 70

C73



	1.DIN卡套式
	前言
	DIN卡套式管接头

	2美制
	美制过渡接头
	英制过渡接头
	公制过渡接头
	法兰接头


